Heating elements

Bottom heaters

Ceramic heaters

Chargrill heating
elements

Coffee machine
heating elements

Coil heating
elements

Contact grill
heating elements
Contact heaters
Convection
heating elements
Dry heating
elements

Flow heaters
Foil heating
elements

Fryer heating
elements

Grooved tubular
heating elements

Gyro grill
heating elements

Heating cables

Heating cartridges

page 737
page 502
page 616
page 503
page 523
page 627
page 524
page 525
page 543
page 687
page 584
page 586
page 623
page 631
page 623

page 626

Heater batteries
Heating rods
Heating units
Hot plates

Immersion heaters

Large hob heating
elements

Oven heating
elements

Pasta cooker
heating elements

Pilot heating
elements

Pizza oven heating
elements

Pizza press
heating elements

Quartz heating
elements

Rechaud heating
elements

Refrigeration
heating elements

Salamander/toaster
heating elements

Accessories

page 633
page 634
page 636
page 638
page 639
page 689
page 693
page 711
page 719
page 720
page 732
page 734
page 739
page 740
page 745

page 754

C




Heating elements ceramic heaters

ELECTRIC

-

-
N

Heating elements

ceramic heaters
28.5x330mm

ower oltage L ower oltage L
No. Part No. p(\ﬁ) v (V)g cable (mm) No. Part No. pow v (V)g cable (mm)
1 415307 250 230 beaded cord 330 2 415125 400 230 beaded cord 330
2312x245mm
i
‘ No. Part No. ‘ pm;!r ‘ vogla)ge ’ cable ‘ (ml;“) ‘ ‘ No. ‘ Part No. ’ power ‘ vo:t\:)ge ‘ cable ‘ (ml;“)
1 415304 250 230 beadedcod 245 2 415305 400 230  beadedcod 245
125x60mm
Ita Ita
No. Part No. pm)er voMge cable (mm) (mm) (mm) No. Part No. power vo(v)ge cable (mm) (mm) (mm)
1 415105 125 230 beaded cord 125 60 35 4 418404 400 230 beaded cord 125 60 35
2 415106 200 230 beaded cord 125 60 35 5 415108 500 230 beaded cord 125 60 35
3 415107 325 230 beaded cord 125 60 35
245x60mm
ta Ita
No. Part No. power votage cable (mm) (mm) (mm) No. Part No. power vo(v)ge cable (mm) (mm) (mm)
1 415101 250 230 beaded cord 245 60 35 4 415103 650 230 beaded cord 245 60 35
2 415102 400 230 beaded cord 245 60 35 5 418403 800 230 beaded cord 245 60 35
3 418402 500 230 beaded cord 245 60 35 6 415104 1000 230 beaded cord 245 60 35

502




ELECTRIC coffee machine heating Heating elements

accessories )

No. Part No. Description
560020 | carriage bolts M5 L 30mm head @ 13mm A/F 5, Qty 10 pieces

-

415109 | clamp spring

560023 | distance washers L 13mm aluminium int. @ 5mm, Qty 10 pieces

415111 | reflector L 125mm W 95mm H 30mm thickness 0.8mm
415110 | reflector L 245mm W 95mm H 31mm thickness 0.75mm

2
3
4
5

coffee machine heating elements

2 hole fixing
L .
B C—r——q
i
T J
}: ([ m
- L -
No. Part No. p?w)mr vog’a)ge (mLm) (mBm) (mHm) (mg‘) t(u"t:;)a TS windings suitable for equiv. no.
1 417126 1300 230 215 39 21 31 8.5 Va* 2 Marzocco -
2 417307 2200 230 157 38 37 40 6.5 M14x1.5 4 Animo 03184
Coffee Queen 160110
3 417443 3000 230 280 30 60 52 8.5 M14x1.5 3 Crem Int. 160110
e 8
- — B2
— ™ =t []
P -
E*— = 3 2=
. . 3
H (T 1; —(m
I
- L -
It: L B H L3 B2 P 0
No. Part No. pm)er vo(va)ge (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 417308 3000 230 180 62 47 138 48 M14x1.5 Animo 03198
12
| [
B B2
i ¥
| B,
%: s 2
=
(]
 BPES
— :
L L J ©
(=]
=t
.'g
Ita L B H L3 B2 o .
No. Part No. pt()w)er ‘ vo(v)ge () e ) ) = TS suitable for equiv. no. %
Bremer -
1 415440 3300 220 255 67 20 210 33 M12x1 Palux 372749

503



Heating elements: coffee machine heating

ELECTRIC

= =
'
H(C—
o,
L L2 | ]
ower oltage L B H MD n o
No. Part No. pos v (V)g (mm) (mm) (mm) (mm) TS suitable for equiv. no.
Bremer -
1 415436 1600 220 240 33 30 25 M12x1 Eloma R0285
Palux 381268
Eloma R0296
2 415439 2000 230 342 33 26 25 M12x1 Palux 378577
3 415437 3000 220 350 33 32 25 M12x1 Palux 017299
| -
B | ﬁ"
i I
- L -
1
:} (:) H1
i%_//- ! H2
LA e
L3 L3 =211~
ower voltage L B H MD n o
No. Part No. P (V)g (mm) (mm) (mm) (mm) TS suitable for equiv. no.
Bremer -
1 415438 4000 220 430 30 37 22 M12x1 Eloma R0295
Palux 187003
- Bl =
1
H1 i
jE H
H ——
t ——— ¢
i
Ita [] H B1 H2 MD q 8 .

No. Part No. pm)er voMge (mm) (mm) (mm) (mm) (mm) TS material suitable for equiv. no.
1 417175 800 220 50 41 38 22 32 Va* stainless steel Elektra 01192035
2 417115 850 230 65 44 37 21 23 Va* stainless steel Faema -

3 417453 1000 220 55 62 44 30 40 M10x1 stainless steel N&W 098645
4 417113 1000 230 57 59 50 30 44 M12x1.25 stainless steel Faema -
5 417114 1000 230 57 60 38 31 32 Va* stainless steel Faema -
6 417035 1200 230 55 66 55 36 42 Va* copper Brasilia 00625.2.00.08
7 417132 1200 230 88 42 70 22 62 Va* copper Nuova Simonelli 14100008
1 2 8 417189 1800 230 57 83 42 52 36 M10x1 stainless steel Brasilia 10246.2.00.08

Heating elements

504




ELECTRIC

coffee machine heating

Heating elements

- Bl =
i i
H1 |
H
I'
H ——
 — ]
- @ -
ower oltage [ H B1 H2 MD : o P
No. Part No. [ v (V)g ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) TS material suitable for equiv. no.
1 417180 1700 230 105 190 85 50 76 Va* copper Rancilio 33122017
2 | 417327 1710 240 108 255 126 68 120 M14x1.5 stainless steel Bonamat 6.000.256.083
3 417038 2700 230 133 203 70 38 40 3/8° copper La Spaziale -
4 417169 3000 230 1M1 280 1M1 105 66 Va* stainless steel Bezzera 5722212
5 417328 3000 240 110 248 138 73 132 M14x1.5 stainless steel Bonamat 6.000.256.030
6 417314 3200 230 - - - - - - stainless steel Animo 03204
i
B
'
No. Part No. powey poltage (ml;“) (mm) (mm) ("I;J“) (nl;rzn) suitable for equiv. no.
1 417313 1500 230 123 1M1 22 46 77 M14x1.5 Animo 03100
/—m '
H1 |
: A i
J i
| / L { vy
= L3 2 =L1~
- L -
It: L L3 MD P .
No. Part No. Powey vo(va)ge (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 417027 1250 220 298 70 205 25 M10x1 San Marco -
2 417142 1850 230 525 62 440 25 M10x1 San Marco -
. - —m
B % )
T .;.C I T
: - L -
T L
<_/w !
) T 1
b L3 -l 2w L]
ower oltage L B H L3 MD q 5
No. Part No. p(vv\;) v (v)g (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 417026 1000 230 205 50 18 140 28 M10x1 San Marco -

505

12

Heating elements



Heating elements: coffee machine heating

ELECTRIC

"2 hole flange 58mm

-T =

i 40mm

-

"58mm>
- L -
ower oltage L B H LTS TSe o .
No. Part No. p(v"\;) v (V)g HC (mm) (mm) ‘ (mm) (mm) (mm) suitable for equiv. no.
1 417185 2000 230 1 183 28 38 145 5 San Marco 108414
2 | 417029 3000 230 2 325 33 28 125 5 San Marco 108350
3 | 417186 4500 230 3 355 39 39 - - San Marco 108351
2 hole flange 74mm
=
H |
i 22mr1
T
» ——
P
- L -
1
No. Part No. p?vv\;)er ‘ wallEr HC (ml}n) (mBm) (mHm) suitable for equiv. no.
1 | 417090 1450 230 1 132 36 40 Astoria i
Wega -
!
HH1
1H2
r
B
i
- L -
Ita L B H L3 TS LTS ; .
No. Part No. pm)er voMge HC (mm) (mm) (mm) (mm) (m':) (mm) suitable for equiv. no.
1 417002 1500 230 2 140 25 58 70 - - Faema -
Faema -
Futurmat -
2 417116 1800 230 1 240 36 44 173 6 205 Italcrem -
Mairali -
Visacrem -
3 | 417074 1800 230 2 235 33 33 170 - - VFA Express -
4 | 417003 1800 230 2 250 28 66 180 - - Faema -
Astoria 17006
12 5 | 417043 1800 230 3 175 35 30 115 - - CMA 17006
Wega W10451
Astoria 17002
6 | 417039 2000 230 2 185 30 45 87 - - CMA 17002
..g 7 417174 2000 230 3 152 35 58 58 4 150 Elektra 01195035
g 8 | 417215 2500 230 3 150 31 57 50 135 Elektra 01197035
() Astoria 17051
b 9 | 417107 2600 230 2 295 36 41 235 6 186 Wega W10454
(2] Astoria 17051
-‘g 10 = 417040 2600 230 2 300 26 37 205 - - CMA 17051
g Wega WY17051
T Faema 3541133003
11 417001 2600 230 2 330 30 52 255 7 210 Futurmat 02212439
Italcrem 02212439
12 417008 2600 230 2 360 26 155 260 - - Futurmat -
13 417042 2600 230 3 320 31 45 227 - - Wega W10456
14 417154 2700 230 3 185 32 50 129 - - Wega -




ELECTRIC coffee machine heating Heating elements

v ]

P pe— g

vj-g'é = T A2mm,
: =13 ==l2~L1=
G B L=
i @ jm} 74mm
e N

L

ower oltage L B H L3 TSe LTS q .
No. Part No. P(,XI') v (V)g HC ‘ (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
15 | 415193 3000 230 3 310 35 43 230 - - OEM EE003
Elektra 00127035
16 417155 3000 230 3 315 32 45 220 - - Wega W05152
17 = 417233 3000 230/400 3 315 30 45 225 6 150 CMA 17058
18 = 417000 3400 230 3 305 35 38 205 6 155 Wega WY17059
Astoria 17054
19 = 417087 3400 230 3 332 39 48 267 - - CMA 17054
20 417108 3500 230 2 370 30 50 275 7 210 Faema -
Faema 3541133004
Futurmat 02212538
21 417109 3700 230 2 445 26 54 367 7 208 Mairali 02212538
Visacrem 02212538
22 417156 3700 230 2 565 32 40 470 - - Wega W10461
23 417187 3700 230 2 570 38 48 485 - - Futurmat F..13
Astoria 17101
24 | 417064 3700 230 2 575 34 47 510 6.5 205 CMA 17101
Astoria 17104
25 417088 3700 230 3 570 35 46 485 - - CMA 17104
26 417202 4000 230 3 290 34 63 190 6.5 199 Faema 2841135092
27 @ 415194 4500 230 3 318 32 44 235 - - OEM EEO005
28 417112 4500 230 3 390 35 70 300 6.5 200 Faema i
| Wega -
Faema 3581130091
Futurmat 02212637
29 417110 5000 230 2 525 26 45 420 7 210 Gaggia 02212637
| Visacrem 02212637
30 417157 5000 230 3 478 38 55 420 - - Wega W10466

power voltage L B H L3 thermostat o n
No. Part No. W) (V)g HC (mm) (mm) (mm) (mm) o eeTan suitable for equiv. no.
1 417004 2400 230 2 155 27 58 90 M10x1 Faema 3541116635
2 417103 2600 230 2 360 26 49 264 M10x1 Faema -
Faema 3541133004
3 417104 3700 230 2 367 27 49 280 M10x1 Futurmat 02212538
4 417106 5000 230 2 566 28 75 380 M10x1 Faema -

507

12

Heating elements



-
N

Heating elements

It: L B H L3 . n
No. | PartNo. power vo(\;n)ge HC (s, ) ) (e suitable for equiv. no.
1 417117 3700 230 1 570 35 153 460 Futurmat F.1157
2 hole flange
Kl i
B Q [9)
ﬁ ; % o
ls . . 68mm
1
No. Part No. pm)er vo(lt\f)ge HC (ml;‘,') (mBm) suitable for equiv. no.
1 417034 1400 230 1 228 45 Brasilia 05430.0.00.04
'
; ]
i
’ L—L3 —J L2 L=
e
B 68mm
IRC—
L]
No. Part No. powey wallir HC (mLm) (mBm) (":‘m) (mL?n) suitable for equiv. no.
1 417033 3200 230 2 415 44 25 330 Brasilia 04995
2 417086 4200 230 2 535 44 23 465 Brasilia 04996

508




ELECTRIC

coffee machine heating

Heating elements

3 hole flange 830mm

T —
H —
[ | 1] 30mm
-3 e=l2elle -~
O
b § :
==
- -L -
ower oltage L B H L3 . o
No. Part No. pows v (v)g ‘ HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417017 750 230 1 130 235 38 70 Gaggia -
2 417018 1250 230 1 315 24 32 225 Gaggia -
3 417118 1750 230 1 525 25 40 440 Gaggia -
3 hole flange g¢40mm
v I
H E
i b 40mm
e v :
i ™ . C—':H: g0,
i i - -
L L o 52mm
No. Part No. power vo:l\:)ge HC (ml}n) (mBm) (mHm) suitable for equiv. no.
1 417071 1000 230 2 150 40 26 Marcfi-Ancas -
2 417072 3000 230 2 355 36 25 Marcfi-Ancas -
3 417073 3000 400 2 339 37 26 Marcfi-Ancas -
FHi 7 “;
e (o
-2 Ll |
HON
! j S—— |
f f_f’:::‘lﬁ =58mm-~
- —fi— .y
1
ower oltage L2 . o
No. Part No. pow, ‘ v (v)g HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417075 2500 220 1 190 25 55 170 - -
o | s
T Hf h T g iDmnl
w =13 =al2ell= f
v i |
B (I —|F samm-
l -.
- L -
1
No. Part No. pm)er vog,a)ge ‘ HC (ml;n) (mBm) (mHm) (nl;;) suitable for equiv. no.
1 417150 2600 230 2 235 26 55 172 Vibiemme ELETRES2G2724

509

12

Heating elements



Heating elements coffee machine heating ELECTRIC

L] . |
A ———
vy =" somm,
B e ] L ) =
8
B K
L L |

=58mm=

ower oltage L B H L3 . o
No. Part No. p(‘ﬁ) v (v)g ‘ HC (mm) (mm) (mm) (mm) suitable for equiv. no.
Brasilia 00614.2.00.02
1 417030 1800 230 2 177 26 53 74 Vibiemme ELETRES1G1822
2 417170 2000 230 3 150 39 56 55 Brasilia 08159.2.00.08
Brasilia 00615.2.00.08
3 417031 3000 230 3 327 28 52 240 Crem Int. 38027000
Expobar 38027000
4 417171 3500 230 2 330 30 55 258 Brasilia 01834.2.00.08
5 417095 3500 230 2 330 34 53 225 Brasilia 01834.2.00.08
6 417348 4000 230 2 330 28 55 235 Vibiemme ELETRES2G3522
Brasilia 00616.2.00.08
7 417446 4000 230 2 342 26 51 257 Expobar 38040000
Vibiemme ELETRES2G4023
8 417159 4000 400 2 492 26 72 397 Vibiemme -
9 417439 5000 230 2 445 25 51 335 Vibiemme ELETRES3G4522
10 417213 5000 230 2 485 25 53 385 - -
1 417172 5500 230 3 460 39 58 360 Brasilia 05391.2.00.08

- L3 a2l (D\
g O
v f 9/

L]

hSZmrﬁ‘

No. Part No. p‘(w)er vo(l:la)ge HC (mLm) (mBm) (mHm) ("I;?“) suitable for equiv. no.
1 417068 650 230 1 145 34 43 80 Marcfi-Ancas -
2 417069 1100 230 1 330 38 56 268 Marcfi-Ancas -
3 417133 1300 230 1 323 31 59 235 Pavoni -
4 417070 1350 230 1 334 38 30 270 Marcfi-Ancas -
5 417092 3000 230 2 358 41 50 287 Azkoyen -
6 417059 3000 230 3 223 30 67 128 Pavoni -
7 417093 4000 230 2 468 39 52 405 Azkoyen -
8 417060 4000 230 3 290 30 65 189 Pavoni -

3 hole flange g42mm

—
N

-

-
.
]
El
3

[72] 1/

)

g ¢ , A@

E B |C B j - '.

o© o 56mm

) - L -

(=]

=

=

©

% No. Part No. p?vv\;)er vo(ltla)ge HC (ml}") (mBm) (mHm) suitable for equiv. no.
Gaggia -

1 417120 1500 230 1 190 20 40 Italcrem -

Visacrem -

510



ELECTRIC coffee machine heating Heating elements

No. | PartNo. p‘(";'v';" vog,a)ge HC (ml}n) (mBm) (mHm) suitable for equiv. no.
1 417083 1500 230 1 165 25 29 Faema -
v
H [ 42mm
=] .
i A
' )
B (C—— B J L
i_'l 56mm
- L |
No. Part No. p(ovv’;)er vo(l:ia)ge ‘ (mLm) ‘ HC (mBm) (mHm) (;:1) suitable for equiv. no.
Gaggia -
1 417121 1000 230 406 1 39 40 316 Italcrem -
Visacrem -
Gaggia -
2 417123 1250 230 580 1 40 43 490 Italcrem -
Visacrem -
3 417151 1300 230 350 1 38 110 220 Gaggia -
4 417152 1900 230 590 1 37 112 480 Gaggia -
5 417153 1900 400 545 1 39 99 425 Gaggia -
Gaggia -
6 417124 2500 230 545 1 40 42 455 Italcrem -
Visacrem -
2 Hlii L
Hyg J || 42mm
S S — Meg T
L---u—--le Lt!- ‘ o\
2 L & &
e &—F J L
FT 1 Tsemm
e
1
ower voltage L B H H2 L3 a a
No. Part No. p(W) (V)g (mm) HC (mm) (mm) (mm) (mm) suitable for equiv. no.
Gaggia -
1 417122 1500 230 400 1 42 44 35 315 Italcrem -
Visacrem -

12

Heating elements

511



Heating elements

coffee machine heating

ELECTRIC

"3 hole flange @44mm

- - }
) =}
e %[9
vH‘Z = = J

-3 == 2+L1=

v +h
s =—1F -
- L -
ower oltage L B H HD LTS TSe L3 0 n
No. Part No. pow v (v)g HC (mm) ‘ (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417181 2100 230 3 215 34 60 62 - - 110 Rancilio 33322022
2 417009 2100 230 3 220 29 50 62 - - 130 Rancilio 36322022
3 417010 2700 230 3 390 31 51 62 - - 295 Rancilio 36322027
4 417176 3000 230 3 215 42 50 62 - - 135 Rancilio 33322028
5 417343 3000 230 3 225 35 50 62 215 4 125 - -
6 417135 3900 230 3 391 35 51 63 - - 295 Rancilio 33322039
7 417178 4300 230 3 380 34 52 65 - - 280 Rancilio 33322040
8 417179 4300 230 3 400 34 51 62 202 5 298 Rancilio 33323430
3 hole flange g46mm
L]
H B 46mm
i - -
,_ ®)
B || [ |
i T - -
| 56mm
- L -
No. Part No. pm)er vog[a)ge HC (mm) (mm) (mm) suitable for equiv. no.
1 417449 2100 230 2 185 28 36 Reneka 9005365
2 417136 2100 230 3 172 35 34 Reneka -
3 417137 3100 230 3 230 37 42 Reneka -
4 417138 5500 230 3 463 36 34 Reneka -
dermm,
. i
o |
@ i [
- L- - o L
60mm
ower voltage [} a a
1 2 No. Part No. P (V)g HC (mm) (mm) suitable for equiv. no.
1 417023 1750 230 1 123 41 San Marco -

Heating elements

512




ELECTRIC

==4

coffee machine heating

Heating elements

H

T v 0 Jj
H1
*"hgi ﬁ[ =

13 eel2eLr-

v

=]
B F
i GEF

@

?1 mm-
-~ L -
1 2
No. Part No. power vog;n)ge HC (:E‘) (mLm) (mBm) (mHm) (r:l-gn) suitable for equiv. no.
1 417450 3800 230 3 57 325 35 34 240 Reneka 9005367
2 417451 5500 230 3 57 550 35 34 465 Reneka 9005354
_¥ -
i =]
H1
H -
13- mel2-Lim z/éx
¥ )
B
: (Ez{b ~61mm-
- L -
Ita HD L B H L3 TS LTS . .
No. Part No. pm)er vo(v)ge HC (mm) (mm) (mm) (mm) ‘ (mm) ‘ (mr:) (mm) suitable for equiv. no.
1 417024 2600 230 2 60 375 30 56 285 - - San Marco OMM14138
2 417025 2600 230 3 62 380 35 58 290 7 208 San Marco 108143
3 417028 3000 230 3 62 341 33 46 291 7 186 San Marco 0796FS
4 417140 4000 220 2 61 555 26 59 470 - - San Marco -
5 417141 4500 400 3 60 578 34 62 490 - - San Marco 108141
3 hole flange g60mm
v 1L
! H1 =
HB‘?_ ZRa gomm,
- |3 = [2L1= & — 0
( )
J " N Qj
e——r L
- - -
ta L3 p o
No. Part No. povey vo(v)ge HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417143 2500 230 2 373 38 48 278 Solenry -
2 417144 3000 230 2 470 40 52 394 Solenry -
3 hole flange
L £
H
[} =)
: v
g
=W,
- L -
1
ower oltage L B H . n
No. Part No. p(vv\;) v (v)g HC (mm) (mm) (mm) suitable for equiv. no.
1 417014 1300 230 1 185 40 18 Cimbali 442-501-005

513

12

Heating elements



elements coffee machine heating ELECTRIC

I D ———
HEe—————°
i /ﬂ*\
h | =
g | — | g”’ﬁ; ~
e i .
ower oltage L B H TSe LTS 0 n
No. Part No. p(#) v (v)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Cimbali 421-601-010
1 417011 1800 230 3 170 34 35 7 170 Faema F421601010
2 417013 2850 230 3 320 27 35 - - Cimbali -
3 417012 3750 230 3 315 35 41 - - Cimbali -
4 417099 5790 230 3 577 35 34 7 170 Cimbali -
T i
H —1|O
| 51 mm
— ¥ o)
8 C—' 1
£ &Smm
- L
ower voltage L B TSe LTS 0 0
No. Part No. p(W) (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1| 417036 2800 230 3 342 37 60 7.3 235 Carimali -
La Spaziale
2 417147 3800 230 3 550 38 65 7 245 La Spaziale -
v —
H J -H
i
# -~ 13- 12 L1= :
L L &
jm}
B (C——f
PR
1
ower voltage L B H L3 0 n
No. Part No. p(W) ‘ (V)g HC (mm) ‘ (mm) (mm) (mm) suitable for equiv. no.
1 417066 1300 400 1 Italcrem -
4 hole flange
12
- L -
()
)
=
[}
ower voltage I8 B H TSe LTS a n
g No. Part No. p(W) (v)g HC ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
L 1 417015 2700 230 1 232 35 43 7 230/240 Cimbali -
(=]
£ 2 417098 5000 220/380 3 355 33 33 6.5 230/240 Cimbali -
i
g 3 417212 5000 230 3 343 43 38 7 230/240 Cimbali -
I

514



ELECTRIC

coffee machine heating

Heating elements

) r
= fm
Iy i " “
B I T
S Sm— | |
4 “a3mm”
- L -
No. Part No. power vo:t\:)ge HC (mLm) (mBm) (mHm) suitable for equiv. no.
1 417349 2000 230 3 105 33 30 Gaggia -
2 417019 2000 230 3 139 30 30 Gaggia -
3 417231 2350 230 3 180 30 30 CMA 17007
4 417020 4000 230 3 318 32 30 Gaggia -
5 417119 5000 220 2 398 32 33 Gaggia -
6 417230 6000 230 3 575 33 33 CMA 17052
7 417234 6000 230 3 575 33 33 CMA 17102
! Fl 57mm
H < g4 = =
i & n
. o " g
b = T63mm
- L
No. Part No. povey vo(l:la)ge HC (mLm) (mBm) (mHm) suitable for equiv. no.
1 417148 2500 230 3 243 29 63 Unic -
2 417149 4000 230 3 275 47 42 Unic -
. |
3 H1 JE
- L3 -==l2~L1= @
v f
B .
T—==;
- L -
Ita ti HD L L3 " .
No. Part No. Powey ‘ vo(v)ge HC m°2",:,:;9 2 (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417084 2000 220 2 - 55 220 35 65 140 - -
2 417055 2000 230 2 - 54 215 38 58 175 Aurora 000644
3 417050 2000 230 2 42 40 165 34 52 103 Bezzera 5722220
4 417211 2000 230 2 42.5 40 167 33 52 107 Aurora -
5 417163 2300/2732 220/240 2 42 55 225 28 60 125 Bezzera 5722215 1 2
Aurora -
6 417056 2500 230 2 - 54 328 37 56 263 Bezzera 5722921
7 417051 3300 240 42 39 338 28 57 235 Bezzera 5722221
417091 4000 230 - 53 455 39 58 380 Aurora -
417094 5000 230 2 42 40 550 27 56 450 Bezzera 5722222

515

Heating elements




Heating elements coffee machine heating ELECTRIC

er oltage HD L B H L3 . n
No. Part No. p‘(’v"\;) ‘ v (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417100 2800 230 3 66 245 43 4l 180 Conti -
2 | 417101 5000 230 3 64 480 42 68 410 Conti -
6 hole flange
- b
e —
[ S 54
e ﬁ Z mm,
: e
s (——F ]
b | “ssmm.
L -
ta o .
No. Part No. pm)er vo(v)ge HC (mm) (mm) (mm) suitable for equiv. no.
1 417182 3400 230 3 340 39 24 Nuova Simonelli 14100004
e ()
2 |
P ?
44mm
power voltage HD L ] o o
No. Part No. w) (V)g HC (mm) (mm) (mm) suitable for equiv. no.
1 417168 1300 240 1 44 47 67 Bezzera 5722205
12
ower voltage L B H L3 n n
No. Part No. p(W) (V)g HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417052 1800 230 2 180 31 46 120 Nuova Simonelli 14100024
o 2 | 417183 2700 230 3 178 35 51 63 Nuova Simonelli 14100027
=
g 3 417131 2700 230 3 182 32 52 120 Nuova Simonelli 14100027
[ 4 | 417053 3000 230 3 330 38 55 237 Nuova Simonelli 14100011
g 5 417184 4500 230 2 335 37 51 255 Nuova Simonelli 14100031
c
=
©
()]
I

516



ELECTRIC coffee machine heating Heating elements

- L -
ower oltage L B H . o
No. Part No. p(‘x,') ‘ v (v)g HC (mm) (mm) (mm) suitable for equiv. no.
1 417021 1500 230 3 145 34 30 Gaggia -
2 417022 2000 220 3 228 36 34 Gaggia -
8 hole flange
(c 1 = =
g | 30mm
- L -
Ita H o .
No. Part No. pm)er vo(v)ge HC (mm) (mm) (mm) suitable for equiv. no.
1 417130 5000 230 3 522 27 38 Nuova Simonelli 14100012
with compression flange
£
H1
| : H
£ =
———
———— vy
B
0 olta ] fla H H1 H2 p o
No. Part No. p(‘ﬁ;er v Mge (mm) (,,I‘,ﬁf (mm) (mm) (mm) suitable for equiv. no.
Astoria 17301
1 417162 800 230 40 11.5x27 55 25 30 CMA 17301
2 417454 2000 230 93 50x26 63 29 34 Melitta 15633
12
(7]
i
=
(]
£
K-
()
(=]
c
power voltage [} H flange ﬁ
No. Part No. W) v) (mm) (mm) (mm) suitable for equiv. no. %
1 417329 1250 240 120 36 50x26 Bonamat 6.236.098.000
2 417326 2160 230 125 35 50x26 Bonamat 6.236.011.000

517



12

Heating elements

Heating elements: coffee machine heating

ELECTRIC

(] —

L=

i L

No. Part No. power vogla)ge f(l:‘nmg)e (mLm) (mBm) (erZn) windings suitable for equiv. no.
1 415547 2280 220 50x26 310 140 100 3 Melitta -
2 415548 2660 220 50x26 370 173 150 4 Melitta -
with screw flange
3/8"
| B -
- L -
1
No. Part No. p?‘)fvl)er vo(l:la)ge (mm) (mum) suitable for equiv. no.
1 417194 600 230 74 10 Nuova Simonelli 14100037
3/4“
L
H1
g H
—— H2 |
[
- %) -
power voltage ] H H2 o . power voltage ] H H2 P n
No. Part No. (V)g (mm) (mm) (mm) suitable for equiv. no. No. Part No. (V)g (mm) (mm) (mm) suitable for equiv. no.
1 417302 1600 230 127 100 40 Animo 03133 3 417304 2400 220 130 100 32 Animo 03196
2 417303 2100 230 128 100 40 Animo 03115
]
H
T
| L -
‘ No. Part No. ‘ pt()‘ﬁ;!r vo;\';a)ge ‘ (ml;“) ‘ (mBm) ’ (mHm) suitable for equiv. no. ‘ ‘ No. Part No. ’ p(('%er vogla)ge ’ (ml}n) ‘ (n?m) ‘ (mHm) suitable for equiv. no. ‘
1 415778 3000 230 | 160 140 26  Melta 212113 2 417315 3200 230 137 122 26 Anmo 03022

518




coffee machine heating

ELECTRIC

Heating elements

1 “* \
-
i
- L -
4
'
H
; @EML
ower voltage L B H TSo LTS o .
No. Part No. p (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415216 1200 220 1 165 22 20 - - - -
2 | 417195 1200 230 1 155 22 22 - - Nuova Simonelli 14100040
3 | 417220 1250 220 1 160 21 22 - - Bezzera 5722240
4 | 417049 1350 220 1 163 24 25 8 135 Bezzera 5722208
Brasilia 01911
5 | 417081 1350 230 1 140 22 23 - - Vibiemme ELETRESD1422
6 | 417190 1800 220 1 175 20 28 7 180 Nuova Simonelli 14100029
7 | 415202 2000 230 1 170 22 23 - - - -
v
—— [ nﬁﬂj
- L -
1
‘ No. Part No. ‘ pm)er wallEr ‘ HC ‘ (mam) ’ (ml}n) cab;;ﬁr)\gth suitable for ‘ equiv. no.
1 w191 2500 230 20 185 55 Nuova Simonelli 14100038
1 %“
! =
H = o
1 —2
’ (:M{“
B r 1l i
- I o]
- -L -
It TSe LTS " .
No. Part No. power v°(‘7)9° HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Astoria 17201
1 417089 1300 230 1 105 26 25 - - CMA 17201
Wega W17201
2 | 417006 1300 230 1 106 27 27 - - Wega WY17201
3 | 417459 1300 240 1 107 26 26 - - Wega WY17202 12
4 | 417127 1400 230 1 395 32 - - - Marzocco LR365/220
5 | 417347 1500 220 1 140 27 25 - - Vibiemme ELETRESSM1822
6 = 417057 1500 230 2 145 23 37 - - Gaggia - ‘g
7 | 417452 1600 230 1 160 32 23 6.6 140 Carimali - g
8 | 417129 1600 230 1 660 34 - - - Marzocco LR362/220 9
[
9 | 417173 1700 230 3 135 26 29 - - Brasilia 02286.2.00.08 o))
Carimali - g
10 = 417045 1800 230 1 135 36 39 - - Marzocco LR340/220B g
Pavoni - T
11 = 415006 1880 230 1 147 35 26 - - - -
12 417125 2000 220 2 285 27 29 - - Marzocco LR342/220B
13 417032 2000 230 1 170 35 33 - - Brasilia 00613.2.00.08
14 = 417046 2000 230 1 200 32 26 6.5 152 Carimali 95.00985

519




Heating elements coffee machine heating ELECTRIC

- i -

No. Part No. pm)" vo(l:la)ge HC ‘ (ml}n) (mBm) (mHm) (Tmsn?) (Ir.';l':) suitable for equiv. no.

15 | 417145 2000 230 1 328 25 37 - - Solenry -

16 = 417080 2400 220 1 225 24 38 - - Brasilia 01378

17 417196 2400 220 2 230 33 23 - - Brasilia 00627.2.00.08
18 = 417048 2400 230 2 252 27 24 - - Carimali -

19 = 417058 2500 230 2 330 38 22 - - Aurora -
20 417146 2500 230 3 385 20 38 - - Solenry -
21 417062 3000 230 3 238 32 26 - . - Pavoni -
22 417047 3000 230 3 405 29 29 6.5 195 Carimali 95.01348.10
23 417128 4000 220 1 ‘ 495 35 28 - . - Marzocco LR356/220B
24 | 417063 4500 230 3 280 37 28 - - Carimali 95.01202
25 | 417345 5000 230 3 575 34 30 6.5 200 Carimali 95.01202

1
o |
I i
- L -

No. Part No. "?‘x,'fr vo(l:,a)ge HC (ml'm) (mam) (T"?"‘:) (Ir;;r"s') suitable for equiv. no.

1 417228 2600 230 1 155 35 8 150 Nuova Simonelli 14100050

175"
! !
- L -
L. 3
No. Part No. pm;” vog;l)ge ‘ HC (mLm) (mBm) (mHm) (T:"“’) (II'J:) suitable for equiv. no.
1 2 1 417306 3000 230 3 180 33 35 8.8 190 Animo 03027A

2 417300 4500 220 3 280 32 40 9 300 Animo 03028

3 417310 6000 230 . 3 285 37 33 9 . 270 Animo 03118

Heating elements

520



ELECTRIC

2

coffee machine heating

Heating elements

No. Part No. power vogla)ge HC (mLm) (mom) (1:"?) (Il,;‘r;) suitable for equiv. no.
1 417312 9000 230 3 300 54 9 255 Animo 03029
without screw connection
No. Part No. powey V°P\7)9° (ml;") (mBm) suitable for equiv. no.
1 415546 1000 220 435 120 Melitta -
( [
D]
|G
‘ No. Part No. powey vo(l:la)ge (ml}n) (mBm) suitable for equiv. no.
‘ 1 417458 200 230 500 160 Wega WY17022
No. Part No. BOwey oltage ;::mﬂ; ?r)::m? (nl;:n) ("I;ﬁ') suitable for equiv. no.
1 417305 160 230 138 150 40 105 Animo 03002
2 417309 275 230 222 235 62 173 Animo 03003
3 417311 385 230 212 225 50 170 Animo 03004

521

12

Heating elements



-
N

Heating elements

Heating elements: coffee machine heating

ELECTRIC

power voltage ext. o . 5
No. Part No. V) (mm) suitable for equiv. no.
Coffee Queen 160101
1 417444 95 230 100 Crem Int. 160101
it s e s, N—
power voltage ] . .
No. Part No. W) W) (mm) (mm) suitable for equiv. no.
1 417192 12 230 12 64 Nuova Simonelli 14100030
2 417193 14 230 12 64 Nuova Simonelli 14100035
3 400338 80 240 12 55 Gaggia -
other
hot plates
power voltage ] p o power voltage ] o P
No. Part No. W) (mm) suitable for equiv. no. No. Part No. W) ) (mm) suitable for equiv. no.
1 417232 60 230 150 Bonamat 6.301.023.000 2 417325 130 230 150 Bonamat 6.301.023.000
Part No. powey voltage (mm) (mm) (mm) version suitable for equiv. no.
417319 - - 150 150 20 without heating element Bonamat 6.401.001.000

522




ELECTRIC

coil heating

elements Heating elements

1 2
No. Part No. pm)er vogla)ge (mum) suitable for equiv. no. No. Part No. povel vo;\'?)ge (m':n) suitable for equiv. no.
1 417301 82 230 134 Animo 03105 2 417455 90 240 99 Melitta 11533
1
No. Part No. power vona)ge (ml}n) (mBm) cab:;l;r)ngth suitable for equiv. no.
1 417456 70 230 128 38 350 Melitta 11624
coil heating elements
e R M
ower voltage L mounting ') tube . .
No. Part No. P (v)g (mm) e Hio (mm) (mm) TS suitable for equiv. no.
1 418183 1250 230 1032 upper 34 16 M20x1.5 Moretti 74420850
2 418182 1400 230 775 bottom 34 16 M20x1.5 Moretti 74420750
3 418181 1600 230 770 upper 34 16 M20x1.5 Moretti 74420740
4 418184 1900 230 1030 bottom 34 16 M20x1.5 Moretti 74420860
ower voltage L ] P n
No. Part No. P! (V)g (mm) (mm) (mm) TS suitable for equiv. no.
1 416328 2000 230 345 70 26 3/8" Silanos TRO359

523

12

Heating elements



Heating elements, contact heaters ELECTRIC

: (€ IIf

No.  PartNo. i ‘ "°R,a)9e (m'-m) (mBm) (m“m) ‘(‘mf’ TS suitable for equiv. no.
1 418392 250 230 185 50 25 8.5 M14x1.5 - -
2 | 418393 500 230 305 50 25 85 M14x1.5 Morice RS0880
3 | 418394 750 230 410 50 25 85 M14x1.5 - -
4 418398 1000 230 290 80 40 12 M24x1.5mm - -
Comenda 110704
5 | 418823 1000 230 405 50 25 8.5 M14x1.5 Hoonved H110704
Lamber 0303100
6 | 418395 1000 230 505 50 25 85 M14x1.5 Morice RS0881
7 | 418593 1200 230 305 50 25 85 M12x1 ssp 0617303100
8 | 418399 1500 230 440 80 40 12 M24x1.5mm - -
9 | 418824 1500 230 475 50 25 85 M14x1.5 a‘;’:s‘;‘;’: J:?gf&
10 | 418396 1500 230 748 50 25 85 M14x1.5 Morice RS0892
11 418400 1750 230 515 80 40 10 M24x1.5mm - -
12 | 418401 2000 230 590 80 40 10 M24x1.5mm - -
13 | 418397 2000 230 994 50 25 8.5 M14x1.5 - -

No. Part No. p((:vv;er vo(l:la)ge (ml'm) (mBm) (mHm) suitable for equiv. no.
1 418719 1000 230 180 80 84 Hatco X02.05.620.00
contact heaters

12

No. Part No. pc()vwv)er vo(ltva)ge HC (mLm) (mBm) (mHm) ‘;’,2:‘;’ suitable for equiv. no.
1 490038 1500 220 - - - - - EGO 10.34560.000
2 490007 2000 220 2 210 205 20 5 EGO 10.38420.000

Heating elements

524



ELECTRIC convection heating elements Heating elements

1 2 3 4 5
No. Part No. p?w)mr vog;n)ge HC (mLm) (mBm) (mHm) ‘z‘;:: application suitable for equiv. no.
1 416160 300 230 1 54 35 8 - - Star10 079251
Colged 230104
2 416237 1400 230 1 133 120 10 - dishwasher Elettrobar 999206
Eurotec 999206
3 418810 1500 400 1 565 71 - - - Ambach 5060818231
4 416056 1800 230 2 257 112 27 - dishwasher Winterhalter 61005231
5 | 418024 2200 230 2 194 - 27 170 steam generator Inoxtrend RRC5451-00

convection heating elements
ring elements

with flange

compression flange 50x26mm elbow

<
AD
LB
l-:"l' f':' i
y—
| I i
- L -
No. Part No. p‘("ﬁfr vo:l\:)ge ;"mtm”) ((Er):m? (ml'm) (mHm) (,E:“) ("":;‘;‘) suitable for equiv. no.
1 418281 1600 240 163 176 188 25 5 20 Rieber 33010163
2 418288 2400 240 163 176 188 25 5 20 Rieber -
with rectangular flange
1 2
ower voltage int. 0 L H (Ll FL FW HD tube o 0 o
No. Part No. p(W) (V)g HC (mm) (mm) (mm) (mm) (mm) ‘ (mm) ‘ (mm) (mm) suitable for equiv. no.
Modular 66500800
1 415925 1260 230 1 180 380 19 188 100 » 22 ‘ 86 6.3 Multi 665008 12
Inoxtrend RRC6015-00
2 418018 2800 230 1 192 290 37 85 100 22 86 6.3 Whirlpool 483286008226

Heating elements

525



Heating elements convection heating elements ELECTRIC

1
ower oltage int. L H L1 FL FwW tube o . n
No. Part No. p(vv\;) v (v)g HC ;mm) (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 418635 2600 230 1 215 325 12 55 40 20 6.6 Wiesheu -
’!1 e =
'S i > =
- L- -
ower oltage int. L H L1 FL FW HD tube o " .

No. Part No. p(ﬁ) A (v)g HC ;mm) (mm) (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 420006 6000 230 - - - - - - - - - Morice RS 0933
2 420007 7500 230 3 300 460 57 148 120 72 100 6.6 Morice RS 0930

power voltage L B H L1 B2 FL FW P n
No. Part No. W) (V)g HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 24.10007.700
1 415351 2500 230 1 544 350 9 100 160 70 22 Electrolux 054610
Zanussi 054610
Electrolux 056930
2 415368 3750 220 3 535 348 34 95 33 78 50 Zanussi 056930
@._. H
==
=L2~L1=
- L o=
12
ower oltage L B H L1 H1 FL Fw HD . n
No. Part No. p(v'\;) v (V)g HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 056970
1 415393 8000 230 2 150 545 134 33 19 76 50 60 Zanussi 056970
Electrolux 054051
2 415391 8000 230 2 170 505 128 33 13 76 50 60 Zanussi 054051

Heating elements

526



convection heating elements

Heating elements

e
\ \\k

I T
o=
T

No. Part No. powey vo(l\l;a)ge ;rr:mﬂ; ‘ ((er):\tm? (mLm) (mHm) (nl;:n) (rlr::n) (;;) (;\:\ln) (:3) suitable for equiv. no.
1| 418042 | 1200 230 180 194 | 245 34 44 15 70 22 56 Tecnoeka 01951147000
2 416770 | 1500 230 175 = 188 | 256 @ 25 60 5 47 17 36 Roller-Grill D02144
Dexion 3710004
3 | 418345 | 1600 230 178 | 191 | 250 40 50 16 70 22 56 Emainox 3710004
MBM ltalien RTBF900218
4 415119 | 1600 230 179 197 | 254 | 30 51 9 70 22 56 Eé‘:‘;t{;':lx 82581;
5 418043 1600 230 180 192 | 245 25 45 12 70 22 56 Tecnoeka 09950987000
6 416976 = 1800 230 167 | 182 | 220 @ 29 32 12 70 22 56 A’é‘g‘gh 25:‘153822?01120
7 | 416030 | 1900 230 175 192 | 255 | 42 47 16 70 22 56 Dexion 011482-01-R
8 415777 | 2000 230 178 | 190 | 245 | 32 50 3 70 22 56 Lotus 537006500
9 416118 | 2000 230 180 192 | 245 34 45 10 70 22 56 Gico 284203511
10 | 416119 | 2000 240 182 | 195 245 | 34 43 10 70 22 56 Gico 238200212
11 | 418601 | 2200 220 179 | 192 - 39 46 10 70 22 56 Angelo-Po 32G0550
12 | 416788 | 2400 230 175 | 193 245 | 35 45 33 70 22 56 Olis A037600
13 | 415139 | 2400 230 184 | 199 257 | 28 58 9 70 22 56 EGO 20.23077.000
14 | 416988 2400 230 186 192 | 255 26 56 75 46 - 36 EGO 20.29477.000
15 | 416405 | 2400 230 190 | 204 216 | 30 5 10 70 22 56 Imperial - Germany 8346760
16 | 416852 | 2500 220 183 | 195 240 | 26 45 6 70 22 56 Bagssclher 03300000088446611
17 | 415117 | 2500 230 175 | 195 = 245 55 50 25 70 22 56 Ez'z‘;t[l‘;':lx 82331;
18 | 416730 | 2500 230 177 | 189 | 253 | 53 58 28 47 17 36 Roller-Grill D02143
Bertos 22015500
Giga 50039
19 415251 2500 230 178 190 | 242 | 30 46 5 70 22 56 Msair|:2° 10031703105062400
Star10 X68002
Tecnoinox 00568
20 | 415138 2500 230 179 | 192 250 | 22 50 6 70 22 56 EGO 20.21693.000
21 | 415127 | 2500 230 179 | 194 243 | 31 45 11 70 22 60 Zanussi -
22 | 415132 | 2500 230 180 | 192 234 | 35 42 12 70 22 56 EGO 24.33190.010
23 | 418044 | 2500 230 180 | 192 245 | 28 45 3 70 22 56 Tecnoeka 09950977000
24 | 415134 | 2500 230 180 | 193 245 28 54 18 70 22 55 Bé’g’gt 20_?%2;_10 10
25 415135 | 2500 230 183 195 | 255 20 55 2 47 17 36 EGO 20.17983.000
26 415137 | 2800 230 177 | 190 | 235 28 45 6 81 23 60 EGO 20.21403.000
27 416031 | 2800 230 187 | 200 = 250 | 39 46 12 70 22 56 Dexion 011482-00-R
28 416120 | 2800 240 185 = 198 | 245 @ 34 42 12 70 22 56 Gico 284201560
EGO 20.30404.000
29 418083 | 3000 230 179 | 190 | 245 | 35 45 10 70 22 56 Electrolux 054980
Zanussi 054980
30 415126 | 3200 230 180 195 | 244 | 30 49 7 70 22 56 EGO 20.19279.020

527




Heating elements convection heating elements

T
o
=
o
D Eon
DO
w
=

N s
\

ower oltage int. o ext. o L H L1 H1 FL FW HD 5 n
No. Part No. p(W) v (v)g imm) (:‘:m) ‘ (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415128 1250 230 198 210 228 30 12 10 70 22 56 - -
Bartscher 030008381
2 | 416850 1260 230 182 194 252 30 48 10 70 22 56 RS 30008381
3 | 416784 1300 230 178 194 245 25 51 6 70 22 56 Olis A037650
4 | 418240 1300 230 194 207 217 28 10 10 70 22 56 Roka 8900327
Modular M563000900
5 | 418317 1450 240 178 189 210 30 12 25 70 22 56 Multinox 563000900
6 | 418274 1500 230 189 202 225 31 15 20 70 22 56 Hupfer 014001107
7 | 418584 1550 230 180 192 210 28 12 1 70 22 28 Smeg 806890593
8 | 418536 1550 230 188 195 215 32 15 9 100 22 83 Smeg 693490094
Bartscher A030008458
9 | 416851 1600 230 183 195 250 51 47 15 70 22 56 RS 30008458
Electrolux 0700214759E
Juno 0H6212
10 | 415123 1750 220 186 199 222 29 14 9 70 22 56 Mobile Containing 957226
Zanussi 0H6212
Blanco 00105672
11 = 415893 1800 230 190 204 216 25 7 10 70 22 56 EGO 20.28907.000
12 418133 2000 220 187 | 200 215 25 15 5 100 | 22 86 Bertos 23019200
Foinox 0022
13 | 418535 2000 230 180 192 210 24 13 6 70 22 28 Smeg 806890397
14 | 418275 2000 230 194 207 220 32 5 10 70 22 56 Hupfer 014041047-03
EGO 20.21834.010
15 | 418468 2100 230 192 203 215 32 8 12 70 22 56 Electrolux 0H6210
Juno 0H6210
16 | 418045 2200 230 175 187 246 25 58 7 70 22 56 Tecnoeka 01950137000
17 | 418146 2200 230 180 195 210 36 10 8 70 22 56 MBM ltalien RTCU700451
18 | 416532 2300 230 183 197 212 30 15 5 70 22 56 Modular 66506100
19 | 415124 2300 230 183 198 215 28 11 15 70 22 56 Saro 20-2057
20 415136 2300 230 188 202 232 25 50 12 70 22 56 EGO 20.19121.000
21 418861 2400 220 175 190 210 35 10 5 100 22 86 Emmepi 828041
22 418887 2400 240 179 192 227 33 10 5 100 22 86 SSP 0617301601
23 415120 2450 230 192 204 225 30 12 10 70 22 56 EGO 20.19579.050
Electrolux 004934
Mareno 1037300200
MBM ltalien RIC0001835
24 415966 2500 230 176 188 210 28 22 3 70 22 56 Modular M563000800
Multinox 563000800
Tecnoinox 00568
Zanussi 004934
Piron RES30003
25 418267 2500 230 181 193 208 30 10 6 70 22 56 Star10 071041
Bertos 22015500
26 416040 2500 230 185 198 212 30 17 6 70 22 56 Giga X68002
27 = 418689 2500 230 185 200 217 19 22 28 70 22 56 - -
Electrolux 031485
28 415118 2500 230 186 200 221 28 15 11 100 22 86 Zanussi 031483
29 416412 2500 230 188 200 215 30 3 5 100 22 86 Foinox 0159
30 418417 2580 230 - - - - - - - - - CB 07030065
31 416842 2600 230 177 194 212 28 18 5 70 22 55 MBM ltalien RTCU700650
32 418571 2600 230 180 192 212 34 10 10 100 22 86 Smeg 806890378
EGO 20.20219.050
33 415116 2600 230 190 210 220 28 10 5 70 22 56 Electrolux 0H6157
Juno 0H6157
34 | 418509 2660 230 212 224 245 34 14 6 100 23 86 Smeg 64102
35 418507 2700 230 180 195 210 30 10 11 70 22 26 Smeg 46286
36 418508 2700 230 181 194 208 30 10 10 70 22 56 Smeg 40656

528



convection heating

elements Heating elements

Vo o P e e ete LR UL R i
37 | 418099 | 2800 230 217 230 249 72 1 1 142 25 63 Angelo-Po 3260430
38 418745 = 2900 230 220 238 268 45 32 13 100 22 86 Unox KRS016
39 | 418746 | 2900 230 225 220 266 42 235 1 100 22 87 Unox KRS020
40 416773 3000 230 175 190 210 35 22 7 70 22 56 Roller-Gril D02034
41| 417224 3000 230 180 194 205 32 1 10 70 22 56 Piron RES30005
42 | 418662 3000 230 186 200 217 31 17 6 70 22 56 RM-Gastro 401033000
43 415841 3000 230 192 | 205 220 36 17 12 70 22 28 W | 2020245000
44 | 418633 3000 230 200 213 228 30 15 4 70 22 32 Wiesheu 38134
45 | 418894 = 3000 230 210 225 260 45 30 325 70 22 56 Tecnoeka 11950537000
Bertos 23020500
46 | 418134 | 3300 240 185 200 215 30 - 25 100 22 85 Emmepi 808778
Foinox 0508
47 | 417225 | 3500 230 215 232 265 48 25 10 70 22 56 Piron RES30001
48 | 418537 = 3990 230 222 235 245 38 10 13 100 22 86 Smeg 806890437
49 | 415643 = 4000 400 224 235 260 30 15 5 70 22 56 Wiesheu 33155
50 416774 | 5000 230 224 242 273 41 25 3 101 22 86 Roller-Gril D02045
TN
AD \Ill ) /::% ;1
A\ / al v
t \,L_,/ ey
I
F A |
L L N
e | T e g e ete Ll MR e . o
1 415845 3150 230 3 201 215 272 35 57 8 95 22 Lainox R65010280
Electrolux 0K3049
2 418487 | 3150 230 3 201 218 275 41 54 3 93 22 Juno 0K3049
Sogeco RESISTENZA002
3 418019 3900 230 3 | 206 | 218 | 275 40 48 10 142 25 {/'\‘/‘r’]’l(rtlf:j 4'252%%%1)%'336
4 | 415843 | 4500 230 3 240 257 306 @ 44 100 37 121 40 Wiesheu 36518
5 418191 | 5400 230 3 194 205 270 85 65 20 140 22 Lainox R50303560
6 418647 | 6000 230 3 240 257 305 @ 44 48 37 121 40 - -
7 418858 | 7350 230 3 215 230 267 85 38 5 142 25 Giorik 6002100
8 418143 | 7500 230 3 250 265 @ 282 85 17 17 142 25 MBM ltalien RTFOC00433
9 418503 | 7500 230 3 209 316 350 106 27 16 142 25 Gierre RES101
10 | 416121 7500 230 3 315 332 370 101 25 14 143 26 Gico 293200380
11 | 418107 7500 230 3 | 368 | 38 | 405 135 24 35 142 24 Bglri‘;“ gﬁgg;ﬁgg
12 | 418753 8000 230 3 287 300 345 ) 39 20 142 25 Foinox 10628
13 | 418101 8700 230 3 | 317 333 | 375 100 | 42 82 142 25 Angelo-Po 32G1691
14 | 415097 | 9000 400 3 | 265 283 | 401 137 11 100 | 125 25 Mareno 5152400
15 | 416122 10500 230 3 | 373 390 124 124 38 36 142 25 Gico 293201430
16 | 418021 11000 230 3 | 208 314 355 105 34 28 142 25 Inoxtrend RRC2538-00
17 418022 | 14000 230 3 368 388 420 128 35 38 142 25 Inoxtrend RRC7170-00
18 416123 | 15000 230 1 428 443 482 158 27 32 142 25 Gico 293200340
19 418087 | 15000 400 3 | 398 415 | 452 121 32 80 142 25 Giorik 6002125

529




Heating elements convection heating elements ELECTRIC

B
kf ]
pgel
Hl - 3 J‘ ;‘
H2 ¢ —
Af T Y
- L -
ower oltage int. o ext. o L H L1 H1 FL FwW n .
No. Part No. p(”) v (V)g HC Emm) (mm) ‘ (mm) ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
20 | 418129 = 16000 230 3 337 358 450 100 84 15 142 25 Bertos 10638
Foinox 10638
21 | 418102 | 16400 230 3 441 458 492 143 34 128 142 25 Angelo-Po 32G1701
22 | 418142 | 21600 230 3 398 415 465 148 50 28 142 25 MBM lItalien RTFOC00307
23 | 418103 | 24000 400 3 518 535 590 143 38 120 142 25 Angelo-Po 32G1711
24 | 418088 = 25000 400 3 388 406 452 150 35 21 142 25 Giorik 6002121
H1 N —IJ;[
H2 ¢ 1
.lf A |
- L -
Itas int. @ t. o L H L1 H1 FL FW n .
No. Part No. pm)er voMge HC anm) ?:'m) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418127 1600 230 3 300 410 | 430 99 15 15 142 25 Bertos 10641
Foinox 10641
2 | 418100 4150 230 3 214 226 248 70 15 5 142 25 Angelo-Po 32G1940
3 | 418196 6000 230 3 215 228 266 78 38 10 142 25 Lainox R65011530
4 | 415871 6000 230 3 217 230 267 75 38 65 140 23 Lainox R50303270
Bertos 23021300
5 | 418131 6000 230 3 217 231 271 90 41 24 140 22 EGO 24.30055.310
Foinox 1023
6 | 415993 7200 230 3 215 230 270 78 30 10 140 22 Lainox R50303570
7 | 418132 7350 230 3 250 265 277 75 17 12 143 25 Bertos 25021400
| Foinox 3016
Ambach R65011540
8 | 415829 7500 230 3 248 260 287 88 20 23 142 25 Krefft 72-65011540
Lainox R65010570
Baron 0A037480
9 | 418108 7500 230 3 475 495 515 143 15 43 142 25 olia 6A037480
Inoxtrend C2036-00
10 | 418020 7800 230 3 264 277 315 100 17 29 142 23 Whirlpool 483986008722
11 | 418086 8400 230 3 218 235 275 112 40 32 142 25 Giorik 6002001
Baron 0A037475
12 | 418109 9000 230 3 470 485 520 155 18 50 142 25 Olie 6A037472
13 418128 9000 230 3 50 515 535 95 13 15 142 25 Bertos 10633
Foinox 10633
14 wisex 9000 230 3 508 526 550 122 24 26 140 25 Lainox R65011210
15 | 418749 9900 400 3 450 465 500 115 35 26 130 70 MKN 574176
Baron 0A037470
16 | 418110 10500 230 3 370 384 405 141 20 41 142 25 olia 6A037470
“2 17 | 418739 10500 230 3 411 428 480 110 52 18 130 54 Palux 722414
g 18 | 418023 12000 230 3 408 425 451 134 18 46 142 25 Inoxtrend RRC7172-00
° Ambach R65011310
19 415828 15000 230 3 388 408 428 132 20 114 140 25 Lo RE2011310
o Ambach R65011250
£ 20 418197 15000 230 3 512 530 545 130 15 25 142 25 L 62011250
©
L}
I

530



ELECTRIC

convection heating elements Heating elements

ower oltage int. o ext. o L H L1 H1 FL FwW . n
No. Part No. pows v (V)g HC ‘ zmm) (:‘m) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418684 10500 230 3 402 420 475 100 55 25 90 Convotherm 2619192
2 418768 18900 230 3 467 484 545 99 6 14 90 Convotherm 2619181
3 418876 18900 230 3 470 486 540 100 48 27 90 Convotherm 5017016
[
| B
T
[
H
1
ower oltage int. ¢ ext. o L H L1 H1 FL FW . a
No. Part No. POW v (v)g HC Emm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415805 5700 230 3 206 245 290 42 45 2 110 20 Eloma 318078
ower oltage int. ext.o L H L1 H1 FL FW : o
No. Part No. pow M (v)g HC Emm) (r)r(lm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416918 4000 230 1 - - - - - - - - Kuppersbusch 182331
2 415603 4000 400 1 176 210 240 42 25 5 70 22 Kuppersbusch 182324
3 416917 6000 230 2 180 215 240 42 20 5 70 22 Kuppersbusch 182523
EGO 20.19696.020
4 415601 6000 400 1 210 175 240 46 65 43 70 22 Kiippersbusch 182522
5 415823 8000 380 2 288 300 335 48 20 30 70 22 Wiesheu -
i
g1
a
i
H
h
Ita int. t. L1 H1 FL FwW " .
No. Part No. POwel ‘ vo(v)ge HC ;:m:; ?r;m? (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415855 3900 230 3 176 244 282 43 38 13 92 22 Lainox R65010430

531

12

Heating elements



Heating elements convection heating elements ELECTRIC

P _
D
Mg B;
\/D
- L] o=
Hi N } ;‘
He ¢ O
- L -
ower oltage int. ext. o L H L1 H1 FL FW . n
No. Part No. p(W) v (v)g HC ‘ zmm) (r)r(|m) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Bertos 25020800
1 418130 3900 230 3 175 245 285 32 60 10 93 22 EGO 24.30081.430
Foinox 10601
i
AD
r
T
H1
H2
i
- L -
Ita int. t. L H L1 H1 FL FW o .
No. Part No. p?‘ﬁ)er V°M9° HC E:ms ?:Imﬁ)’ (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415744 4800 230 2 182 214 266 37 42 16 70 22 Kippersbusch 182663
Krefft 49-182662
2 415602 4800 400 2 200 213 265 30 45 23 70 22 Kilppersbusch 182662
Hi- =t )
H —
e
- L -
Ita int. t. L H H1 FL FW n .
No. Part No. pm)er vo(v)ge HC E:ms ‘ ?r)v(nm'), (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 0H6168
1 418470 3000 230 2 350 365 390 118 34 85 30 Juno OHB168
2 418377 6000 230 3 404 420 440 107 20 140 61 Rational 4000271
3 415830 7000 230 3 385 400 400 80 15 170 30 Wiesheu 34948
4 415831 7000 230 3 438 460 460 92 26 170 30 Wiesheu 34949
5 418374 9000 230 3 407 420 443 105 21 140 62 Rational 4000261
6 418378 9000 230 3 410 420 435 108 15 140 60 Rational 4000077
7 415913 9000 230 3 504 516 535 130 35 210 25 Rational 32001001

-
N

Heating elements

532



ELECTRIC

convection heating elements Heating elements

AD ||

X
T

-

O
=]

O

[ACT

HI )
H2 i
2 =

L ) ]
No.  Patho Py ‘ W m fm em em m em S eauiv: 0.
1 415912 9000 230 3 445 458 474 130 33 210 24 Rational 32001000
2 418382 18000 230 6 | 407 485 485 106 1 140 72 Rational 4000597
3 418380 18000 230 6 415 480 480 110 10 140 61 Rational 4000075
4 418376 18000 400 - - - - - - - - Rational 4000265
5 = 418375 20000 400 3 410 470 480 125 15 140 65 Rational 4000263
6 418385 30000 230 6 573 630 655 120 15 160 75 Rational 4000267
No. | Parth. "W e He () i (mm) (mm) (m) (om) m | sutablefor LI
1 418750 15400 400 6 450 530 540 113 23 130 70 MKN 574177
2 | 418748 20400 400 6 450 525 107 113 28 130 70 MKN 574181
3 418751 30000 400 6 380 450 535 120 20 130 70 MKN 574189
L L N
No.  PartNo. powey ‘ "°;v”)95 HC ;',‘r:"s ?r)::tr'nﬂ), (o) (m"m) ("’1','“) (;h‘) (m) suitable for equiv. no.
1 415914 15000 230 6 505 520 615 180 35 210 24 Rational 32001002
2 417198 15000 230 6 508 515 605 205 35 210 30 Fagor T323002
3 415915 15000 230 6 635 650 696 200 35 210 24 Rational 32001003
4 | 417199 15000 230 6 650 668 670 213 35 210 30 Fagor T323000
—— [}
7N
|
L _
g e
L . L§
Vo PaiNo | powr K S L T A s, o
1 418192 7500 230 3 525 250 130 20 100 80 Lainox R65010620
2 | 418193 7500 230 3 560 255 135 17 100 80 Lainox R65010610
3 418195 12000 230 3 520 255 135 100 100 72 Lainox R65010870
4 | 418194 12000 230 3 540 260 135 100 100 82 Lainox R65010880

533

12

Heating elements



Heating elements convection heating elements ELECTRIC

ki
=}
5o
— 1 -
::f F‘ H
L -
Ital int. xt. L H L1 H1 FL n .
No. Part No. pt()vv;)er voMge HC E:"'S ?mmg (mm) ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 006984
1 418150 3200 400 2 383 400 536 60 136 36 80 45 Zanussi 006984
Electrolux 053839
2 415389 5666 230 2 470 487 590 66 105 37 80 45 Zanussi 053839
Electrolux 007064
3 418151 5670 400 2 467 483 585 60 102 32 80 45 Zanussi 007064
Electrolux 002688
4 415654 5700 230 2 465 480 580 65 90 34 80 45 Whirlpool 771985000168
Zanussi 002688
Electrolux 07800A5330.710A5330
5 415656 8000 400 2 560 580 630 68 50 37 80 45 Juno 0K0553
Zanussi 0A5330
Electrolux 0C1173
6 418152 8000 400 2 569 580 700 60 120 34 80 45 Zanussi 0C1173
i . !
B1
- -
B E B2
f—ﬁ. i
L
- L2 = L] =
H’T - ]9 1
———"
i i
- L -
ower voltage L L1 B2 H1 n 5
No. Part No. p(W) (V)g HC (mm) ’ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 002757
1 415657 4500 230 3 534 350 70 96 33 37 Zanussi 002757
with screw connection
i ’\
AD L\'i’/ I:
' \_/_HL
-l 1=
v | C—
H ————— i
LI |
- L -l
ta int. xt. L L1 H o n
No. Part No. pt(:‘ﬁ)er vo(v)ge ;"mm") ?mmg (mm) (mm) (mm) TS suitable for equiv. no.
1 416124 4000 230 465 482 655 160 17 M14x1.5 Gico 293201010
2 418766 4500 230 380 405 530 100 17 M14x1.5 Eloma 318002
12
i
o
[7] r\g
)
g - ) AD D :
£
[} |
° v
2 '
g la L _ul
El= 2
ower voltage int. o ext. g MD . a
No. Part No. P (V)g (mm) (mm) ‘ (mm) ‘ (mm) ‘ TS (mm) suitable for equiv. no.
1 418301 480 230 152 164 160 20 Va" 47 Coreco resistenza para DPC-34
2 418135 920 230 200 215 255 40 z 24 Bertos 23016600
Foinox 1126




ELECTRIC convection heating elements Heating elements
ower oltage L B H H1 H2 MD 0 "
No. Part No. p(W) v (v)g (mm) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 418849 1500 230 335 90 80 24 50 328 M12x1 Capic E150850
2 418848 1500 230 335 100 75 18 55 328 M12x1 Capic E150848
i i
l B
L
5
T -
AR ; b
‘ H ~—t : 3
; L. A4
- L -
ower oltage L H H1 H2 tube o . .
’ No. Part No. ‘ p(V‘:II) ‘ M (v)g ’ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ (umm) ‘ suitable for ‘ equiv. no. ‘
1 41896 2700 230 410 130 102 42 60 135 Capc | E151131
i =
AD D
' \_
r—=
H2 H
[
- i -
ower voltage int. @ w L H H1 n 5
No. Part No. p(W) (V)g HK (mm) ‘ (mm) (mm) (mm) (mm) G suitable for equiv. no.
Bourgeois RC023
1 418929 6000 240 3 395 ‘ 415 415 100 15 M12x1 Hobart 845265-05
Bourgeois RC022
2 418930 6000 240 3 430 450 470 115 43 M12x1 Hobart 845265-04
Bourgeois RC018
3 418916 9000 240 3 390 405 410 100 25 M12x1 Bonnet 72104E
Hobart 845265-02
Bourgeois RC017
4 418928 9000 240 3 458 475 475 114 31 M12x1 Hobart 845265-01
12
[7]
i
(=
[
£
K
[
(=]
(=
=
©
- L - I
ta int. xt. L H L1 H1 o .
No. Part No. pt()wer vo(v)ge HK ;:'“m”; ?mmg (mm) (mm) (mm) (mm) G suitable for equiv. no.
Bourgeois RC019
1 418926 8000 240 3 301 317 328 95 21 12 M12x1 Hobart 845265-03
2 418927 12000 240 3 440 458 472 80 15 8 M12x1 Bourgeois RCO081

535



Heating elements convection heating

elements

ELECTRIC

L -
ower oltage int. o ext. o L H L1 H1 n 0
No. Part No. p(vv\;) u (V)g ‘ HC imm) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
Kuppersbusch 407449
1 415911 9000 230 4 310 333 410 115 77 15 M14x1.5 Rational 30043507
er oltage int. ext. o L H L1 H1 0 o
No. Part No. pow: v (v)g HC zmm) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 415240 9000 230 3 385 400 420 125 20 20 M14x1.5 Rational 30043529
2 415241 9000 230 3 440 453 470 140 20 30 M14x1.5 Rational 30043528
3 415238 9000 400 3 385 400 402 112 30 15 M14x1.5 Rational 30043531
4 415239 9000 400 3 440 453 465 140 15 30 M14x1.5 Rational 30043528
Z
AD
L 4
T
I-P ;
H2
r
ower oltage int. o ext. o L H L1 H1 . n
No. Part No. pow v (v)g HC Emm) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 415384 9000 230 3 390 403 440 88 30 18 M14x1.5 Convotherm 5007033
2 416028 12000 220 3 558 572 610 85 38 20 M14x1.5 Convotherm 5007043
3 416027 12000 230 3 438 450 480 100 30 35 M14x1.5 Convotherm 5007043
4 415899 15000 220 3 437 454 475 98 18 19 M14x1.5 Convotherm 5007044
5 415906 15000 220 3 558 575 605 100 30 25 M14x1.5 Convotherm 5007044
6 415385 15000 230 3 390 405 435 110 22 22 M14x1.5 Convotherm 5007036
Convotherm 5007038
12 7 418886 18000 380 3 380 393 435 120 50 15 M14x1.5 Imperial - Germany 0001/08065794
without screw connection
[72]
)
=
[«})
£
2
m S
(=]
c
=
©
()]
El=
ower voltage int. 0 ext. o L1 p n
No. Part No. [ ’ (V)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415243 415 240 157 170 35 135 32 Rieber 33010105

536




ELECTRIC convection heating elements Heating elements

No. Part No. pm;“ ‘ vog,a)ge E"mtm’) ‘ ?r)r(:m? (mHm) (:'1“) suitable for equiv. no.
1 418256 1700 240 167 180 90 62 Rieber 33010115
2 415246 2400 230 165 180 90 60 Rieber 33010118
with flange
with compression flange 50 x 26mm
(' i
@ ———)) 82
D ] ' B
€ !
B1
—
Ind L2 ~L1=
- L -
ower voltage L B (Ll B2 FL FW a n
No. Part No. p(w) (v)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Bonnet 71844E
1 418925 1500 230 295 107 32 85 50 26 Bourgeois RC602
2 416500 2000 230 295 110 35 88 50 26 Bourgeois RC601
3 415998 3000 400 513 120 33 100 50 26 Mareno 5152100
with round flange
o,y
f J 8
—_—
) B (1 B2
( (,——)
_) \%—“\ L
¥ e
:(CD
- L -
No. Part No. p(ovv\;)e U vo(l:la)ge (mLm) (mBm) (mBr1n) t(u"l::‘;! (;:1) suitable for equiv. no.
1 418717 3000 208 395 395 45 1" 25 TurboChef NGC-3003
with rectangular flange
Va SSe——
B B2
C — 7 =
T | BN
i L3 =121
L -
N PartN power voltage L B FL itable f P 1 2
o. art No. w) ) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 0700214566
1 415487 1000 230 445 65 70 22 Juno 214566
(7]
il
c
i (]
9 E
e K
¥ i (]
— 2" e
- -; £
™ L2 = L1 = -
- L - ©
()
I
No. Part No. pm)er vo:l\;'a)ge (an|) (":“) (rh:n) (n?rzn) (;;) (;‘:vn) suitable for equiv. no.
Electrolux 0700214583.7D214583
1 415488 1500 230 435 175 55 30 70 22 Juno 0H6195
Electrolux 0H6197
2 415485 2000 230 360 155 35 30 70 22 Juno OH6197

537



-
N

Heating elements

Heating elements convection heating

elements

ELECTRIC

ower oltage L B L1 B2 FL FW P o 5
No. Part No. pow v (V)g (mm) (mm) (mm) (mm) (mm) (mm) windings suitable for equiv. no.
1 418144 1500 230 360 110 30 85 70 22 2 MBM ltalien RTFOC00628
2 | 415388 1500 230 415 125 30 93 70 22 2 Lainox R50303180
3 | 415387 1800 230 534 120 30 90 70 22 2 Lainox R50303160
4 | 418145 2500 230 600 120 30 85 70 22 2 MBM ltalien RTFOC00068
5 | 415737 2500 230 655 120 30 90 70 22 2 Lainox R50303150
Angelo-Po 32G1360
6 | 415736 3500 230 655 120 30 90 70 22 2 EGO 24.10022.730
Lainox R50303170
7 | 418139 3500 240 620 120 33 90 70 22 2 Bertos 25040000
e— e
1 2
It L1 B2 FL - ] .
No. Part No. powey vo(‘;a)ge (mm) (mm) (mm) (mm) (mm) (mm) windings suitable for equiv. no.
1 416634 1500 230 350 102 30 82 70 22 2 Fagor R663016
2 | 418469 1500 240 350 95 30 80 70 22 2 E"jﬁ;‘zux 822233
C
[
C
It L1 B2 FL FW - : .
No. Part No. powey vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) windings suitable for equiv. no.
1 415999 5000 400 575 174 33 158 50 27 3 Mareno 5152200
ower voltage L B L1 B2 FL FW n n
No. Part No. P (V)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415457 3000 230 2 330 135 60 110 85 30 Flectrolux Pl
Electrolux 0H6167
2 | 415523 3000 400 2 330 135 60 110 85 30 Juno 0H6167
Zanussi 0H6167

538




ELECTRIC

convection heating elements Heating elements

accessories )
1 \ 2 3
No. Part No. Description suitable for equiv. no.
Electrolux 0H6648
1 520239 | counterflange Zanussi OH6648
. Electrolux 0H6665
2 521142 | gasket for heating element Zanussi OHE665
. . . . Electrolux 0700457515.7D457515
3 510561 | O-ring silicone thickness 3mm int. @ 55mm (1pc) Juno OH7021
: = L
) Ao .3'1 L]
f o
. L |
1
ower voltage L B B1 FL FB o .
No. Part No. P (v)g HK (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418933 2000 240 1 390 134 34 50 20 Bourgeois RC154
)
C
- L -
No. Part No. power v°(|:7)9° HC (mLm) (mBm) (n:Ir;n) (m) suitable for equiv. no.
1 415458 3000 230 2 575 150 70 29 Electrolux 0700214494.7D214494
Juno 0H6188
Electrolux 0H6189
2 415616 3000 400 2 575 150 70 22 Juno 0H6189
Zanussi 0H6189
accessories
1
No. Part No. Description suitable for equiv. no.
Electrolux -
1 510368 | gasket L 56mm W 23mm hole @ 9mm hole distance 24mm Juno -
Zanussi -
le L il
1
12
No. Part No. powey voltage HK ‘ (mLm) (mBm) ("5“1“) (':;) (:&) suitable for equiv. no.
Bourgeois RC151
1 418917 3000 240 3 570 140 30 110 20 Bonnet 71241E "
Bourgeois RC515 c
2 418918 4000 240 3 570 140 30 110 20 Bonnet 71242E °
£
g g = P | %
3 | [s T B2
(: )\: F 5) 4 ¢ =]
e By £
Jgual L -
(1]
- 12 el (]
L L N o
ower oltage L B L1 B2 FL FW . q
No. Part No. POV M (V)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415833 3000 230 3 400 100 60 70 90 35 Wiesheu 34960
2 415834 4000 230 3 400 100 60 70 90 35 Wiesheu 34961



Heating elements convection heating elements ELECTRIC

Gccessories
1
No. Part No. Description suitable for equiv. no.
1 510251 | gasket L 90mm W 36mm thickness 1.7mm Wiesheu 36117
No. Part No. p?w)wer vo:t\:)ge HC (mLm) (mBm) (rlr;:n) (mBrl:n) (r::-n) (:“:vn) suitable for equiv. no.
1 416620 3000 230 2 570 100 70 70 100 22 Fagor R673002
2 416019 4000 230 2 570 100 70 70 100 22 Fagor R683000
3 416621 4000 230 2 1155 100 70 75 100 22 Fagor R093002
ower voltage L B H FL FW p .
No. Part No. p(W) (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415242 3500 230 2 240 390 30 70 2 Electrolux 0700214760.7D214760
Juno 0H6213
Electrolux 0H6176
2 415806 5200 230 2 240 390 30 70 22 Juno 0H6176
Zanussi 0H6176
accessories
12 \
[72]
)
=
(]
g No. Part No. Description suitable for equiv. no.
) Electrolux -
[e)] 1 510368 | gasket L 56mm W 23mm hole g 9mm hole distance 24mm Juno -
£ Zanussi -
i
©
()]
I

540



convection heating elements

ELECTRIC

Heating elements

with screw connection )
i 2 {m
c Ja .
- L -
Ita tub o .

No. Part No. pm)er vo(v)ge (mm) (mm) TS z‘m;;’ suitable for equiv. no.

1 418408 1500 230 527 42 M14x1.5 10 CB 07030017

2 418409 2480 230 690 43 M14x1.5 10 CB 07030564

3 418931 4000 230 1130 80 M14x1.25 10 Bourgeois 1500765

3 i
L &
: E
s T i
- L |
‘ No. Part No. pm)er vo(l%ge (ml'm) (mBm) G t;""l:;;' suitable for equiv. no.
‘ 1 418955 1500 230 393 70 M12x1 8 Capic E150824
g | —=
No. Part No. pm)er vo(l:la)ge (ml;“) (mBm) TS t(ur:;f suitable for equiv. no.
Eloma 318018
1 415222 2300 230 90 395 M14x1.5 8.5 Rational 1007.2454
2 415542 2500 230 131 485 M14x1.5 8.5 Eloma 318084
3 415543 4000 230 131 485 M14x1.5 8.5 Eloma 318083
12
.
(7]
i
=
] (]
e =
—) 7]
G o
= Z
i (== b=
[ — ()
I
No. Part No. pm)er vo(l:la)ge (mLm) (mBm) T8 tz.::em;; suitable for equiv. no.
Kippersbusch 407496
1 415554 2500 230 148 534 M14x1.5 6.3 Rational 30041001
2 415555 2500 400 148 545 M14x1.5 6.3 Rational 30044301

541




Heating elements convection heating

elements

ELECTRIC

s
g i
- 15 -
ower oltage L B tube o o .
No. Part No. p(vv\;) v (v)g (mm) (mm) TS (umm) suitable for equiv. no.
1 415133 1430 230 85 395 M10x1 6.3 E'gl’:: g;gg;;
Eloma R0305
2 415221 1430 230 90 390 M10x1 6.3 Meiko 9502869
Palux 332429
Kippersbusch 407299
3 415469 2000 220 95 520 M14x1.5 6.3 Rational 30041403
4 415556 2000 400 85 530 M14x1.5 6.5 Rational 30041407
5 415840 2500 230 130 557 M14x1.5 8.6 Wiesheu 34891
6 415839 3000 400 160 550 M14x1.5 8.6 Wiesheu 34890
7
.4
It: tub o o
No. Part No. powey vo(‘;a)ge (mm) (mm) TS z‘ms; suitable for equiv. no.
1 415571 3000 230 360 120 M12x1 6.3 Kippersbusch 181740
2 415560 4000 230 353 80 M12x1 9 Kippersbusch 181741
- — - .
C: !
:_:) ’
o
No. Part No. pm;" vo(l:ia)ge TS t(un!:;;; suitable for equiv. no.
EGO 20.29651.000
1 418852 3000 230 M10x1 6.5 Meiko 0101135
12
[ &
)
[ &
)
2 C
=
[}
£
) L L2 -]
o - — -
c
=
©
% No. Part No. pm)er vo(l:la)ge ‘ (mLm) (mm) TS tz:'l:;)o suitable for equiv. no.
1 418634 2500 230 335 240 M14x1.5 8.5 Wiesheu -

542




ELECTRIC elements  Heating elements

Ital L B H tub n n
No. Part No. pmfr vo(v)ge (mm) (mm) (mm) (umrenf TS suitable for equiv. no.
1 418715 4800 240 250 180 53 1 5/8" UNF TurboChef 100652-1
dry heating elements
with flange

with rectangular flange

,.\
7N

ower oltage L B FL FW HD a n
No. Part No. p(‘m M (V)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416769 250 230 285 28 38 20 - Roller-Girill D02145
Blanco 00105911
2 418285 275 230 395 35 41 22 - EGO 20.29888.000
3 415706 275 230 399 31 41 22 - Blanco 105700
Electrolux 052416
4 415383 300 230 532 54 72 20 - Zanussi 052416
Bertos 22016400
5 416082 350 230 172 74 110 22 94 Giga X48400
| Star10 X48400
Blanco 00105677
6 415714 400 230 555 30 44 22 - EGO 20.28910.000
Alpeninox 0A2197
7 415096 550 230 438 44 60 40 - Electrolux 0A2197
8 416832 650 230 276 73 115 25 98 Silko 0109049
9 418319 666 230 515 80 117 29 103 Abner M113026
10 | 418694 750 230 410 63 100 22 86 Mareno CR0502320
Electrolux 0700214338
11 415479 750 230 471 30 44 20 36 Juno 0H6183
| Krefft 01-214338
12 | 416575 770 240 462 33 70 22 56 Mareno 1215400
Alpeninox 0A2137
13 | 415097 800 230 630 44 60 40 - Electrolux 0A2137
Coldmaster 3014801
14 | 418013 825 230 826 74 » 40 18 100 Tecfrigo 3014801
15 | 416665 1000 230 427 60 100 22 87 Mareno 1037041600
16 = 416683 1000 230 480 35 70 22 56 Angelo-Po 32G2220
17 | 418320 1000 230 745 83 118 32 104 Abner M113025
18 | 415048 1250 400 500 63 80 24 - Palux 2002075

543

12

Heating elements



elements

ELECTRIC

@—'?J =
(=
) —— ) | °®
~ [(:{1 B
- L -
ower oltage L B FL FW HD p o
No. Part No. POV v (v)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418302 1000 230 412 100 122 20 112 MKN 203492
2 416080 1000 240 315 75 110 22 98 Gico 284203390
3 415979 1500 230 497 90 124 30 108 Mareno 1634100
4 415992 1800 230 495 90 124 30 108 Mareno 1634200
5 415083 2100 220 500 90 124 30 108 Mareno 1368400
i —!
( B2
B —) ——
:: [ B
1 Q 1
™ L2 -+ L1 =
- L -
ower voltage L1 B2 FL FW HD n n
No. Part No. P (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418258 700 230 446 178 61 31 70 22 55 Hupfer 014001111
Electrolux 0C0685
2 418005 2500 400 545 80 25 34 70 22 56 Zanussi 0C0685
i e
[ B2
! ED ‘
—F— ' &
> | . A ]
- L2 -l
- L -
1
ower voltage I8 B ] B2 FL FW HD . 5
No. Part No. P (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 20.23781.000
1 418245 2800 230 687 115 25 31 40 22 12 Electrolux 0101012
King 0101012
i
12 &
!
[72]
)
=
[}
g ta L B L1 B2 FL FW HD
ower voltage " .
3 No. Part No. P (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
g’ 1 416719 600 230 259 275 45 29 44 22 - Roller-Grill D02014
"g 2 418471 600 230 355 215 38 33 70 22 56 MBM ltalien RTFOC00584
% 3 418844 700 230 395 105 35 36 70 22 56 Capic E150540
4 416554 1500 230 355 203 40 33 70 22 56 MBM ltalien RTCU700280
5 418201 2000 220 355 160 28 64 70 22 56 Electrolux 0700214476

544



ELECTRIC dry heating elements Heating elements

ower oltage L B L1 B2 FL FW HD P n
No. Part No. p(v'\;) v (V)g ‘ (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415340 400 230 477 172 37 30 70 22 56 Koéhler Esback 360060. 3000370
2 415339 600 230 477 175 34 31 70 22 56 Kohler Esback 360080. 3000352
3 415338 900 230 480 174 37 30 70 22 56 Kohler Esback 360100
Bl
i
B2
v

LI I
=

-] -

- L -

ower voltage L B L2 B2 FL FW HD p 0
No. Part No. p(w) (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Ambassade 6530624
1 418479 950 230 405 96 330 66 110 22 95 Bartscher 06530624
( 1
! ——)
Pe ) — B
( T 1 ¥
- L -
No. Part No. p?‘x’l;er vo(l:,a)ge (ml;“) (mBm) ("F‘:‘) (m) (:g) suitable for equiv. no.
1 415851 2000 230 483 138 175 16 160 Ambach 5060802391
J
D]
[
12
power voltage L B B1 B2 FL FW HD o .
No. Part No. W) (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416958 2000 230 450 240 44 196 70 22 56 Ambach 5060814436

Heating elements

545



elements ELECTRIC

- L2 =Ll
- L -
No. Part No. p?w)mr vo:t\:)ge (mLm) (mBm) (nl;:n) (n?rzn) (thl) (;\:\ln) (:z) suitable for equiv. no.
1 418257 700 230 345 254 35 30 70 22 56/28 Hupfer 014001104
2 418492 2000 230 521 133 43 33 70 22 56/28 MBM ltalien 160237
3 416772 2500 230 350 182 60 32 70 22 56 Roller-Girill D02011
4 418493 2500 230 418 133 41 33 70 22 56/28 MBM ltalien 160085

U

lta L B L3 B2 FL FW HD o n
No. Part No. pt()‘;vv)er vo(v)ge (mm) ‘ (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Bartscher 030008373
1 416855 2300 230 345 213 270 68 130 16 104 RSI 30008373
C "
H .
5 F S ::‘
- = =
'
7
ower voltage L B L2 B2 FL FW HD . n
No. Part No. p(W) (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418037 700 230 425 220 - 30 70 22 56 Baron 41826620031
2 415217 3100 400 309 295 285 33 70 22 28 Giorik 6003022
C
—>
c:D
- D]
12
lta L B L1 B2 FL FW HD r .
No. Part No. pm)er vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415988 3000 230 419 330 36 30 70 23 56 Kuppersbusch 182328
Krefft 49-182327
2 415589 3000 400 424 329 41 31 70 22 57 Kilppersbusch 182327

Heating elements

546



ELECTRIC

elements

Heating elements

o p——

T
[|
{l

dmlom

ower oltage L B L1 B2 FL FW HD q 3
No. Part No. pow v (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415325 1200 230 282 100 14 25 45 17 36 EGO 24.33119.000
2 418234 1200 230 385 70 15 24 46 17 36 Roka 8900323
EGO 24.33119.010
3 415224 1200 400 280 96 15 25 45 17 35 Lohberger 51440350
EGO 24.33117.000
4 415323 1600 230 383 96 14 24 45 12 36 Malag 105619
5 418235 1600 230 385 100 14 24 45 15 37 Roka 8900322
6 415324 1600 230 574 68 14 25 45 17 36 EGO 24.33118.000
7 415326 2000 230 375 128 15 25 45 12 36 EGO 24.33160.000
8 415824 2000 400 533 92 50 24 45 16 36 Kuppersbusch 182356
EGO 24.33116.010
9 415322 2600 230 468 130 13 25 45 17 36 Malag 105627
——
2
L
T
ower voltage L B (Ll B2 FL FW HD . n
No. Part No. P (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 20.11199.030
1 416919 500 230 405 260 375 207 70 22 56 Kiippersbusch 182475
2 415970 650 400 405 260 375 207 70 22 56 Kippersbusch 182476
=
:
1 ( =
I L2
| — — ) [ L -
ower voltage L B L1 B2 FL FW o n
No. Part No. P (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415892 900 230 628 669 26 33 70 15 Blanco 00146753

Heating elements

547

12




ELECTRIC

-
N

Heating elements

2
ower oltage L B L1 B2 FL FwW . n
No. Part No. pows v (v)g ‘ HC (mm) (mm) ‘ (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 20.20686.000
1 418244 2200 220 1 688 115 21 30 40 22 Electrolux 0101011
King 0101011
EGO 20.19855
2 418246 3000 230 1 696 203 25 31 70 22 Electrolux 0101064
King 0101064
K : o
MU, &
B B2
P |
- L -
T
- H
f —7
- L -
It: B2 FL FW HD o n
No. Part No. Bowel vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 0111051
1 415363 3000 230 450 242 20 31 70 23 56 King 0111051
~- L2 Ll
ALy
H. H
i
- L -
ower voltage I8 B H L1 B2 FL FwW HD n n
No. Part No. P (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418259 450 230 475 181 35 85 31 70 22 56 Hupfer 014001112
C 1
—
—
ower oltage L B H B2 FL FwW HD . o
No. Part No. P vv\; v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415983 1800 230 415 132 30 31 70 22 56 Kippersbusch 182333
EGO 20.27610.000
2 415964 2350 230 510 130 30 30 70 22 56 Kiippersbusch 181733
EGO 20.21759.0X0
3 415593 2565 230 554 125 30 45 70 22 56 Krefft 49-182330
Kippersbusch 160104
EGO 20.21759.0X0
Krefft 49-182329
4 415594 2565 400 556 126 33 30 70 22 56 Kiippersbusch 182329
Thielmann 143648

548




dry heating

ELECTRIC

elements

Heating elements

=L -

l v
N

- L -

ower oltage L B H FL FW HD . o
No. Part No. pows v (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Klppersbusch 540458
1 418238 2000 400 1 494 96 29 45 16 36 Thielmann 143831
V)
B
LIRS
- L -
ta B2 FL 0 .
No. Part No. p?‘)fvl)er vo(v)ge HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415869 5000 230 3 506 265 50 98 105 24 Ambach 5060803506
2 415856 5000 230 3 506 275 50 98 105 24 Ambach 5060903508
3 416951 6000 230 3 540 315 50 98 105 24 Ambach 5060803509
4 415870 7500 230 3 480 440 30 98 105 24 Ambach 5060807220
5 415900 9000 230/400 3 520 600 33 100 105 24 Ambach 5060807221
6 416960 9000 400 3 426 410 33 98 105 24 Ambach 5060808751
7 415901 12000 230/400 3 475 700 33 98 105 24 Ambach 5060803648
e | e AT
B1
| g
B~ o 8‘2
JL v
S
| BRI RN
e
It: L B H B2 FL FW HD q 5
No. Part No. powel vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 004469
1 418003 3000 230 137 515 48 31 70 22 57 Zanussi 004469
ower voltage L FL HD 0 n
No. Part No. p(W) (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415314 5500 230 2 375 380 35 60 25 41 Kuppersbusch 181730

549

12

Heating elements



elements

ELECTRIC

No. Part No. power voR,a)ge HC (mLm) (mBm) (mHm) suitable for equiv. no.
1 415754 600 230 1 138 134 29 Jinger 000420000
i - B
G E\‘—V—\ o
B C:\ B2
v G
C - Wi L -
s
C -
i
f M |
- L2 el B L)
ower oltage L B H L1 L2 B2 FL FW HD o 0
No. Part No. pow: v (v)g (mm) (mm) (mm) ’ (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no. ‘
1 418504 2500 230 538 81 44 18 520 33 70 22 28 Electrolux 0C0686 ‘
i i
-
- R
—1
B B2
I
! _:
L -
i
H
¢ S| L]
L~
ower oltage L B H L2 0 p
‘ No. Part No. ‘ p(#) ‘ M (v)g (mm) ‘ (mm) ‘ (mm) (mm) ‘ suitable for ‘ equiv. no. ‘
1 418720 350 220 13 16 13 16 Haco X02.05.619.00 |
with round flange
1 2 No. Part No. powey poltane (mm) (mam) (':;) suitable for equiv. no.
1 418348 1500 230 805 16 45 Chergui 03EFBL0030, RBL810R
2 418349 1700 230 918 16 45 Chergui 03EFBL0050

Heating elements

550



ELECTRIC

dry heating

elements

Heating elements

No.  PartNo. powey ‘ e ) ) () () suitable for equiv. no.
1 418297 175 230 290 244 58 90 Rieber 33010101
2 | 418298 416 240 290 250 58 90 Rieber 33010106
3 418299 600 240 290 240 61 90 Rieber 33010144
with screw connection
No. Part No. powel vo(l:,a)ge (mm) TS (mom) suitable for equiv. no.
1 416702 1400 230 595 M16x1.5 12 Roller-Grill D02068
i
C e
- L -
No. Part No. powey vo(lba)ge (ml;“) (mm) TS (mg) t(u"l:;;a suitable for equiv. no.
1 416523 320 230 316 96 M12x1.5 90 6.3 Lotus 537004400
2 418534 400 230 396 160 M14x1.25 152 8.5 VEGA Heizung zu 81231
3 | 416443 600 230 375 67 M14x1.5 59 8.5 MKN 574058
4 416498 600 230 440 120 M14x1.5 112 8.5 Suprema Heizk.600W Mod.901
5 | 418480 700 230 660 90 M10x1 - 6.6 Gayc 12430350
6 418946 700 230 755 110 M12x1 102 8 Capic E150532
7 | 418455 750 230 937 80 V" 72 8.5 Morice RS0923
8 418860 800 230 345 90 M12x1.5 83 6.5 Tecnoeka 10950017000
9 415852 800 230 545 40 V" 42 8.5 Ambach 5060808748
10 | 415853 800 400 545 40 2 32 8.5 Ambach 5060807674
11 | 418315 1000 230 385 68 M14x1.5 60 8.5 MKN 574054
12 | 418457 1000 230 550 40 M14x1.5 32 8.5 - -
13 | 416444 1000 230 627 70 M14x1.5 62 8.5 MKN 574059
14 | 415369 1350 230 435 46 Va' 38 8.5 Silko 0101529
15 | 416445 1400 230 875 70 M14x1.5 62 8.5 MKN 574060
16 | 418423 1450 230 675 37 Va' 31 6.3 CB 07030563
17 | 416657 1500 230 535 49 M14x1.25 39 10 Tecnoinox 00243
18 | 416016 1700 230 741 62 V' 54 8.4 Universo 0A0344
19 | 416446 1800 230 1125 70 M14x1.5 61 8.5 MKN 574061
20 418421 1900 230 680 40 2 32 8.5 cB 07031324
21 | 418869 1900 230 765 70 M14x1.5 61 8.5 CB 07032324
22 | 416026 2100 230 730 86 3/8" 76 10 Universo 0A0353

551

12

Heating elements




elements ELECTRIC

- L -
ower oltage L B MD tube o ; n
No. Part No. p(\XII) v (v)g (mm) (mm) TS (mm) (l:nm) suitable for equiv. no.
« Electrolux 0G3703
23 416017 2400 220 728 93 3/8 86 10 Universo 0A0352
24 416705 2500 230 557 53 3/8* 41 12 Roller-Girill D02074
25 418843 3000 230 705 175 3/8° 165 10 Roller-Grill D02016
26 = 416025 3200 230 1035 77 3/8" 67 10 Universo 0A0351
27 418426 3280 230 960 40 M14x1.5 56 8.5 CB 07030900
( N —
D) i
[N o]
( . - L -
It: L B MD tube o . .
No. Part No. p?‘xl’f' vo(va)ge (mm) (mm) TS (mm) ("m;) suitable for equiv. no.
CF 63.7.1090
1 415699 400 230 298 138 M12x1.25 132 6.3 RM-Gastro 401021200
2 418666 700 230 630 160 M12 154 6.3 RM-Gastro 401021701
3 418448 900 230 367 122 M14x1.5 113 8.5 Solymac Soly4002
EGO 20.21074.030
4 415635 1000 230 415 210 M14x1.5 202 8.5 Scholl 71.01.35
5 416509 1000 230 455 180 M14x1.5 172 8.5 Suprema -
6 420010 1200 230 400 70 - 64 6.3 Morice RS 0911
7 418845 1500 230 495 70 M11x1 64 6.3 Capic E150840
1 Electrolux 0K4982/077018011700
8 415350 1600 400 610 180 Va 173 6.5 Therma 18011700
9 418587 1800 230 390 92 M12x1 85 6.3 Angelo-Po 32G2910
10 = 418072 2000 230 498 92 M12x1 84 8.5 Lotus 537029500
1 418738 2500 208 450 170 Va" 162 8 TurboChef HHB-3202
12 418071 2600 230 665 95 M12x1 88 8.5 Lotus 537030300
| N
B N : 1
12 L- P —— ] m
- I L2 =11 =
- L -
[72]
)
=
£
ower voltage L B L1 B2 MD tube o . o
© No. Part No. p(w) ‘ (v)g (mm) (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
g 1 415567 2000 230 425 145 30 56 M14x1.5 48 8.5 Ubert 343102
c
=
©
()]
I

552



dry heating

ELECTRIC

elements

Heating elements

ower oltage L B L1 L3 B2 MD tube o . n
No. Part No. pow! v (v)g (mm) (mm) (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 418538 200 220 245 160 15 175 88 Va" 84 6.3 Smeg 806890454
2 416827 1000 230 375 95 40 320 51 1/8* 44 6.5 Silko 0101494
3 416828 1000 240 295 206 85 205 146 Va" 138 8.5 Silko 0101532
4 416107 1300 240 380 100 70 300 42 M10x1 36 6.5 Gico 241200562
‘ {1111
« ~
> ——=
C |  —_
J ((—j
| @ v i
- L -
No. Part No. Bowey vo:t\zge (ml;“) (mBm) TS (Mr[r’l) t(t::":l;’ suitable for equiv. no.
Eloma 318020
1 416510 1200 230 260 284 M14x1.5 275 8.5 Palux 371955
2 416515 1300 230 335 280 M14x1.5 272 8.5 Eloma 318041
3 418688 1500 230 470 305 Va* 297 8.5 Angelo-Po 32G1730
Eloma 318021
4 416511 1700 230 575 275 M14x1.5 266 8.5 Palux 371947
. NEF653E3770P1
5 420009 2250 230 590 110 M12x1 104 6.5 Morice RS0864
Electrolux 18011702
6 415624 2400 400 605 380 M14x1.5 374 6.5 Therma 18011702
Eloma 318022
7 416512 2700 230 822 300 M14x1.5 291 8.6 Palux 371939
1
— ="
—_—
B B2
L I N
- L3 L2l
- L -
R T T R .+ 1S Moo el s
1 418316 1500 230 455 212 40 380 147 M14x1.5 138 8.5 MKN 574104
¥ B'] B f‘m‘
P [}
B B2 | C—/
i %‘m
' | BN
b - L3 =2/l
- L -
1
No. Part No. p‘("ﬁfr vo(lba)ge (ml'm) (mBm) (HI;:") ("I;:‘) ('E;‘;) TS (,':,?1) tz"r::';’ suitable for equiv. no.
Eloma E318044
1 416429 1600 230 300 205 50 230 195 M14x1.5 202 8.5 Palux 647918

553

12

Heating elements



Heating elements dry heating elements ELECTRIC

I m
B
' iy
- L -
ower oltage L B MD tube o " n
No. Part No. p(w) v (v)g (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 415885 1000 230 805 400 M10x1 394 6.5 Mercury 03.7.5026.0
2 415886 1000 230 895 490 M10x1 484 6.5 Mercury 03.7.5027.0
i fa i
- ————
=
—
c—
— —
If
- -L -
Ita L B MD tub o .
No. Part No. pt(:w)er vo(v)ge (mm) (mm) TS (mm) z‘ms';' suitable for equiv. no.
1 415882 2000 230 568 340 M10x1 336 6.5 Mercury 03.7.5023.0
i {im
( L] T { C
_) [
C ! %
) i C—
¢ :
( ) L uy
b - L -
ower voltage L B MD tube ¢ o o
No. Part No. p(W) (V)g (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 416682 1450 230 378 252 Va* 245 8.5 Angelo-Po 32G0280
2 418414 1600 230 220 220 M10x1 214 6.3 CB 07030021
R .L tii
\d )
J
| G
I |
— [
- ' ]
- L -
12
ower oltage L B MD tube o . .
No. Part No. p(#) M (v)g (mm) (mm) TS (mm) me) suitable for equiv. no.
1 418342 2000 230 207 413 M14x1.5 404 8.7 Scholl 71.01.71
2 415881 2186 230 450 240 M10x1 234 6.3 Mercury 03.7.5028.0
3 418327 2800 230 - - - - - Scholl 71.01.72

Heating elements

554



dry heating elements

Heating elements

ELECTRIC

L=
=
| (<—> 1

No. Part No. powey vog;n)ge ‘ (mLm) (mBm) TS (mg) ‘("r::‘;’ suitable for equiv. no.
1 416431 1600 230 212 450 M14x1.5 442 8.5 Eloma E318042
2 | 418416 1700 230 221 326 M10x1 320 6.3 CB 07030023
IME Turbo -
3 415887 1750 230 232 302 M10x1 296 6.3 Mercury 03.7.5029.0
% L et -L
No. Part No. powel vo(lv)ge (ml;“) (mBm) TS (mg) tz""l:;;’ suitable for equiv. no.
1 415889 1960 230 257 390 M10x1 384 6.3 Mercury 03.7.5030.0
2 | 418415 2000 230 213 362 - 356 6.3 CB 07030022
Eloma E318043
3 416430 2000 230 215 415 M14x1.5 409 8.5 Palux 647926
§ A ] L -
No. Part No. powey vo(l:la)ge (mLm) (mBrn) TS (":‘Ir[:‘) t(u"l::‘;’ suitable for equiv. no.
1 415880 2000 230 260 416 M10x1 410 6.3 Mercury 03.7.5022.0
i ﬁ S ——
B 3 C B|1
— — W B2
No. Part No. powey vog,a)ge (mLm) (mBm) (:;‘:‘) TS (mr[r)n) '("nt:;;’ suitable for equiv. no.
1 416944 1800 235 565 85 28 1/8* 22 6.3 Kippersbusch 160114

555

12

Heating elements



elements ELECTRIC

- L2 -] -
- L -
No. Part No. pmf U vog;n)ge (mLm) (mBm) (nl;:n) TS (mg‘) '(l:gren;’ suitable for equiv. no.
1 420004 660 230 345 115 70 M12x1 104 8.8 Morice RS0886
2 420003 666 230 343 110 80 M12x1 102 8.5 Morice RS0888
3 418453 1150 230 735 128 75 M12x1 119 8.6 Morice RS0889
q‘ i
' i B
‘ No. Part No. ‘ p(ow)vnr ‘ (r:;:n) ’ ('E;‘:‘) ‘ TS ‘ (Mr[r)l) ‘ l;'"l:;;' ‘ suitable for ‘ equiv. no. ‘
1 4l6787 420 230 265 245 60 70 % 64 63 Ols  A036800
Ita L B L1 B2 MD tube o . .
No. Part No. pm)er voMge ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ TS (mm) ?'mm) suitable for equiv. no.
Bertos 22015800
" Giga X45900
1 415844 2600 230 410 300 27 60 3/8 50 8.5 Silko 0109061
Star10 X45900
f =
T ~
& £
'
12 i
T
- L -
2
ower voltage L B H MD tube o . n
g No. Part No. p(W) (V)g (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
g 1 416790 900 220 435 80 45 Va" 72 8.5 Olis A037250
g 2 415619 1000 400 605 200 20 M14x1.5 195 8.5 Therma 18011704
[= 1 EKU 4-FI-18
-‘g 3 415250 1650 230 490 42 45 Va v 47 8.5 Silko 0101527
(] 1y Tecno MCM 170109
T 4 416990 3300 220 1038 64 70 Ve 40 125 Tecno-MCM 170109

556



ELECTRIC dry heating elements Heating elements

ower oltage B H MD tube o . p
No. Part No. p(\XII) v (v)g (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 416196 700 230 245 140 25 M14x1.5 132 8.5 Suprema Heizk.oben Mod.HV60
2 418638 1000 230 250 144 22 M14x1.5 136 8.5 - -
3 418252 1000 230 330 177 25 M14x1.5 168 8.8 Haka 9008
4 418802 1000 230 385 80 35 M12x1 71 8.5 Fagor 6021250024
5 418039 1200 230 292 86 20 Va" 78 8.5 Baron 41826620090
6 415435 1500 220 425 100 28 M14x1.5 91 9 Palux 083577
7 418801 1500 230 390 80 35 M12x1 72 8.5 Fagor 6021250023
8 418451 1666 230 438 84 67 - 76 8.5 Solymac P37
9 416794 1750 230 464 82 45 M14x1.5 74 8.5 Olis 8217800
10 = 418268 2000 230 396 123 38 M14x1.5 115 8.5 Capito 63853
)]
(:/ B
© ) ————— |
( i3 L]
j - L2 - L1 -
— P :
. H
i
- L -
It: L B H L1 MD tub . .
No. Part No. pm)er vo(va)ge (mm) (mm) (mm) (mm) TS (mm) z‘m;‘;’ suitable for equiv. no.
1 416193 823 230 280 106 18 135 M10x1 100 6.3 CF 63.7.1051
EKU 1W217
2 415091 1000 230 295 85 18 145 M14x1 79 6.5 Mareno 1037039513
3 415700 1300 230 280 110 20 135 M10x1 104 6.3 Lotus 537004800
@.—) i
: —)
L]
L - ;
= i
- L -
ower voltage L B H tube o . o
No. Part No. p(W) (v)g (mm) (mm) (mm) TS (mm) suitable for equiv. no. 1 2
1 415292 1100 230 205 110 54 Va* 6.3 Tecnoinox 00528
(7]
i
=
(]
£
K-
()
(=]
c
=
(1]
()
I
ower oltage L B H B2 MD tube o " .
No. Part No. p(v\:,l) ‘ v (v)g (mm) (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 416964 2200 240 365 174 30 88 M14x1.5 82 8.5 Ubert 343126

557



elements ELECTRIC

No. Part No. p%er vo(l:la)ge ‘ (mLm) ‘ (mBm) ‘ (mHm) ‘ TS (mg) ‘(""l‘):‘;' suitable for equiv. no.
1 417164 2000 230 290 143 26 Va" 132 8.5 Baron 41826620120
2 415759 2000 230 455 153 20 M14x1.5 140 8.5 Th.SSG )
ielmann -
[
B B2
| —N ] >
C  [— A
) b L2 =11
C /
ﬁ 1]
—_——
i
- L -
No. Part No. p?vvvl)e r vog;n)ge (mLm) (mBm) (mHm) (:rzn) (rlr;:n) s (mg‘) windings suitable for equiv. no.
1 415767 1500 230 425 250 58 150 60 M14x1.5 142 3 MKN 573054
2 415733 2500 220 484 150 85 78 50 M10x1 72 3 Th.SSG -
ielmann
3 415768 2500 230 425 220 60 134 65 M14x1.5 126 4 MKN 573055
Y [
=/
B ) B2
C(:)ﬁ =1
TN
- L2 L=
8_ 5
I
c I ]
- L -
No. Part No. pm)er ‘ vog,a)ge (ml'm) (mBm) (mHm) (::1) (r:1-r1n) TS (mg) t(‘::l’;;' suitable for equiv. no.
1 415732 3000 230 440 180 176 160 40 M14x1.5 152 85 SSG -
Thielmann
ﬁ !
B B I
'
12 # H
T
- L -
..g No. Part No. pm)er vog,a)ge (ern) (mBm) (mHm) (er1n) T8 (mg) t(u"l::: suitable for equiv. no.
g 1 416796 1500 240 325 180 34 155 Va" 174 6.3 Olis A045700
K 2 415771 2000 230 280 170 23 135 M12x1 154 8.5 Lotus 537015100
()}
fe)) 3 416805 2350 230 400 160 55 210 A 152 8.5 Olis A050210
c
=
©
()]
I

558



ELECTRIC dry heating elements Heating elements
i i
B2
{
B
B1
P e— L !
1 D
C I
X
- H
- L -
ower oltage L B H B2 MD . n
No. Part No. pow! v (V)g (mm) (mm) ‘ (mm) (mm) TS (mm) suitable for equiv. no.
EGO 20.10333.000
1 418365 2000 230 444 127 20 34 M14x1.5 28 Kilppersbusch 182458
i 7 i
i £,
R @ B1
B
: 1
B2
' ;@ )
—
H
O
1 2 3 - - "
Ita L B H B2 MD o n
No. Part No. p?v\al)er vo(v)ge (mm) (mm) (mm) (mm) TS (mm) ‘ suitable for equiv. no.
1 418149 1800 230 255 238 88 34 Va" 34 MBM ltalien RTCP900050
2 416816 2000 230 270 242 44 43 Va" 43 Mareno 1414400
3 416111 2000 240 200 213 85 35 M14x1.5 34 Gico A00089
e f
- H
=1
= L- -
1
ta int. xt. H MD o .
No. Part No. pm)er vo(v)ge 2:1"3 ‘ ?mmg (mm) TS (mm) suitable for equiv. no.
1 415695 1500 230 175 268 21 Va* 38 Cidelcem-Iseco -
with lugs
£ o
%
12
ower voltage tube o lug length lug width n a
No. Part No. P (V)g (mm) (mm) g(mm? ?mm) suitable for equiv. no. .
1 418203 350 220 335 6.3 40 18 Hatco R02.08.138E.00 ‘E
2 418202 500 220 485 6.3 40 18 Hatco R02.08.103.00 g
3 416862 600 230 394 6.5 32 17 Inoksan 24307022 %
4 418204 660 220 634 6.5 40 18 Hatco R02.08.139E.00 g)
5 418205 800 220 790 6.3 40 18 Hatco R02.08.140E.00 'lg
6 418206 950 220 940 6.3 40 18 Hatco R02.08.141E.00 %
7 418207 1100 220 1095 6.3 40 18 Hatco R02.08.142E.00
8 418208 1250 220 1245 6.5 39 25 Hatco R02.08.143E.00
9 418209 1400 220 1400 6.5 39 25 Hatco R02.08.144E.00
10 = 418210 1560 220 1565 6.5 39 25 Hatco R02.08.145E.00

559



elements ELECTRIC

L
‘('
No. | PartNo. p?w)“' V°(|\'?)9e (mLm) '(l":;f Iug(lI:I:?th Iu%nm(;!h suitable for equiv. no.
1" 418211 1725 220 1715 6.8 39 25 Hatco R02.08.148E.00
b
(G
I v
(S ,
- L -
No. Part No. pt()vv\;)e U vo(l:ia)ge (ml:'n) (mBm) ‘("'::1;’ I"%m?th Iu?mw’z(;th suitable for equiv. no.
Coldmaster 3024801
1 418014 950 230 1032 85 8.5 40 18 Tecfrigo 3024801
i
|
: i
@ |
L
 —————— -
L ) J
No. Part No. pover vog;a)ge (mLm) (mBm) tz::le“;' Iug(rlf':?lh Iu%mw':Sth suitable for equiv. no.
1 415910 900 230 650 180 6.3 36 15 Blanco 00105723
2 418273 900 230 654 183 8.6 36 15 Hupfer 014040068
-
.o |
)
i
 —
L ) .I
1 2 N PartN power voltage L B tube o lug length lug width itable f n
o. art No. W) ) (mm) (mm) (mm) (mm) {mm) suitable for equiv. no.
Electrolux 004910
1 415293 1300 230 330 184 8.5 40 18 Tecnoinox 00269
Zanussi 004910

Heating elements

560



ELECTRIC dry heating elements Heating elements

/ i =
ot L ..,) B
D ( :
L —
1 2
No. Part No. p?w)mr vog;n)ge (mLm) (n?m) ‘z'"l::l;’ Iug(rlr:e'rrli)gth Iug(;"\‘ur::;th suitable for equiv. no.
Blanco 00105793
1 418278 350 230 422 306 6.3 42 10 EGO 20.29666.000
Blanco 00105794
2 418284 550 230 422 468 6.5 42 10 EGO 20.29667.000
=4
]
¢ N —
b » ] & =y
|
L L N
No. Part No. p‘("ﬁfr vo(lba)ge (ml'm) (mBm) t(u"I:;;’ Iu%rl:r:?th Iug(;mw"isth ;'r"?"s suitable for equiv. no.
1 418318 700 230 370 155 8.5 - - 32 Abner M113044
2 418036 2200 230 458 186 8.5 23 13 - Baron 41826620101
Electrolux 051998
3 415074 2300 230 641 180 8.5 40 18 - Zanussi 051998
=3
B (—
C— 8
P —
:) ]
l ( 1=
L L N
No. Part No. pm)er vo:!\zge (ern) (mBm) t(ur:le“;l Iu%:m?th Iu?"‘l'ﬂsth suitable for equiv. no.
1 418309 1600 230 465 257 6.5 30 16 Kohler Esback 3000349

12

Heating elements

561



elements

ELECTRIC

- L -
No. Part No. powey vo;tva)ge (mLm) (mBm) t(l::::‘f Iug(rlr:er:?th Iu?n\‘wni‘(;th suitable for equiv. no.
1 415894 150 230 295 200 6.5 30 16 Blanco 00105454
2 415895 250 230 200 490 6.5 30 10 Blanco 00105029
Blanco 00105020
3 415544 700 230 392 198 6.5 30 16 EGO 20.23487.040
Blanco 00105030
4 415587 1000 230 390 197 6.3 30 16 EGO 20.23487.010
Blanco 0105439
EGO 20.23487.000
5 415596 1500 230 395 198 6.5 31 16 Electrolux 0700213786
Juno 0G2290
Zanussi 0G2290
Electrolux 0G2290
6 416991 1500 230 396 198 6.3 30 20 Juno 213786
Zanussi 0G2290
= =
i N C‘.% : |
D —)
! = v
| i
No. Part No. power ‘ V°(I%9e (mLm) (mBm) t(u"l:;)a I"%I:r:?h Iug(;mwl:‘t;th suitable for equiv. no.
1 415688 2000 230 405 150 6.3 27 16 Ambach 5060801490
2 416957 2000 230 410 150 6.3 30 18 Ambach 5060811860
G -
| A
C T )
%
——— )
5 B
i =CA "‘,J T
No. Part No. powey vo(l%ge ‘ (ml;“) ‘ (mBm) ‘ ‘;‘":;)" Iug(::‘?th I"%"‘:’"igth suitable for equiv. no.
Coldmaster 3914801
12 1 418015 1600 220 227 313 6.3 35 20 Tecfrigo 3914801
[72]
)
= |
[} B
£
) :
()}
(=] <
c N
=
© - L -
()]
I
No. | PartNo. ooy V°(I:7)9° (ml}n) ‘ (mBm) '(unl:;f Iug(rlr:anr:)gth Iu?mwnisth suitable for equiv. no.
1 418517 650 230 180 320 6.4 33 16 VEGA fur 81141V1

562




ELECTRIC dry heating elements Heating elements

No. Part No. p?vv\;;er vo(l:ia)ge (mLm) (mBm) (mHm) Iug(rlner:?th I"?mwl:“;th suitable for equiv. no.
Modular 66500400
1 415927 1200 240 405 88 32 40 18 Multi 665004
2 418027 1250 230 407 88 20 25 15 Baron 41826620070
3 416538 1470 230 528 95 30 40 19 Modular 96500200
4 418444 2666 230 555 100 23 30 18 Baron 41826620061
f /'i—"
- + :)
|
3 D
C - : J
J'. '
. H
i
No. Part No. p(()vv’;)er vo;tva)ge (mLm) (mBm) (mHm) Iu%l:r:?th Iu%n\‘ﬂr:‘(;th suitable for equiv. no.
1 415583 1100 380 435 202 33 43 10 Blumauer 180355
S ==
\% :
B
C ¥ :)
C ) oL ol
J
C i L
\g H
T
- L -
ower voltage L B H lug length lug width . o
No. Part No. p(W) (v)g (mm) (mm) (mm) g(mm? ?mm) suitable for equiv. no.
Modular 66500300
1 415926 1800 240 403 128 32 40 18 Multi 665003
2 416537 2200 230 523 134 32 40 18 Modular 96500100
c———— 1
. (——]
M (__. |
\q |
C J L L2 _—L =
) [ ; 12
;‘u H
/ = Kt
- L .|
It: L B H lug length I idth ‘9
ower voltage ug len, ug wi n .
No. Part No. p(W) (V)g (mm) (mm) (mm) ?mm? ?mm) suitable for equiv. no. g
Bertos 22039800 £
EKU TYP 1-W-240 K-
1 415077 1300 230 280 150 40 25 15 Giga Y00100 L
Mareno 1037301713 g’
Star10 Y00100 =
2 416550 1500 230 350 155 30 40 18 MBM ltalien RTCU600125 8
I

563



elements

ELECTRIC

-
N

Heating elements

ower oltage L B H lug length I idth . a
No. Part No. P(VV\;) v (V)g (mm) (mm) (mm) ug(mm? u%r:r:l) suitable for equiv. no.
1 416942 1100 230 95 285 76 30 18 Kuppersbusch 182318
without screw connection
No. Part No. pm)er vog[a)ge (mLm) t(unl:;;a suitable for equiv. no.
1 416755 125 230 470 8 Roller-Girill D02037
2 416184 170 230 396 8.5 Silanos 905712
3 416183 170 230 470 8.5 Silanos 905710
4 416185 170 230 640 8.5 Silanos 905711
5 418419 200 230 472 8.5 CB 07030053
CB 07030052
6 416189 220 240 359 8.5 CF 63.7.1082
RM-Gastro 637108200
7 416427 400 230 405 8.5 FriFri 300009
14
|
{ N O
‘ v
L ) i
1
No. Part No. p‘(")'v’)er vogla)ge (ml;“) (mBm) t(u:::ren)a suitable for equiv. no.
EGO 20.26582.000
1 418241 500 230 385 105 6.3 Scholl 71.01.11

564




ELECTRIC

dry heating

elements

Heating elements

L -
No. Part No. power vo(l:la)ge (mLm) (n?m) t(l::::‘f suitable for equiv. no.
1 418276 200 230 400 75 8.5 Hupfer 0191010879
2 | 418305 200 230 442 38 8.5 Mobile Containing 957418
3 | 418321 250 230 438 82 8.5 Abner M113022
4 | 415948 400 230 260 47 8.5 - -
5 | 418627 440 115 560 25 6.3 Arris/Grillvapor 90.046
6 = 415949 500 230 280 46 8.5 - -
7 | 418277 500 230 480 75 8.5 Hupfer 014510023
8 | 418306 600 230 355 40 8.5 Mobile Containing 957420
9 | 418465 800 230 370 95 6.3 Salvis 178980
10 418314 950 230 390 36 8.5 MKN 573011
1 415532 1000 230 700 64 6.3 Eloma SGtY
12 415531 1000 230 725 50 6.3 Eloma St
13 | 415534 1000 230 795 64 8.5 Wiesheu 35100
14 | 415529 1000 230 917 90 8.5 Wiesheu 35157
15 | 415536 1100 220 760 44 6.5 Wiesheu 35126
16 | 415903 1100 220 869 48 7 - -
17 = 415952 1160 230 741 55 8.6 - -
18 | 418303 1200 230 510 45 8.5 MKN 574107
19 | 415953 1300 230 850 52 8.5 - -
20 | 415950 1500 230 580 55 8.5 - -
21 | 415535 1500 230 648 57 8.5 Wiesheu 35089
22 415749 1500 230 735 55 6.5 Haka 9011
23 | 418308 1600 230 685 53 8.5 Mobile Containing 957460
24 416492 1700 230 780 34 8.5 KSF 4.013.03.02
25 | 418066 2000 230 - - - KSF 4.013.03.01
26 | 415530 2000 230 940 43 8.5 Wiesheu 35158
27 | 415954 2000 230 1025 47 8.5 - -
28 | 415960 2000 230 1845 34 8.5 - -
29 | 418767 2200 265 715 40 12.5 Nieco 4075
30 | 415956 2800 230 1210 36 8.5 - -

L -
No. Part No. povey vo(l:la)ge (mm) (mm) t(l::l’:‘)a suitable for equiv. no.
1 418290 180 240 367 165 8.5 Rieber 33010125
2 | 418289 590 230 365 170 8.5 Rieber 33010128

565

12

Heating elements



-
N

Heating elements

elements

0

ELECTRIC

ower oltage L B tube o . o
No. Part No. p(vv\;) v (v)g (mm) (mm) (umm) suitable for equiv. no.
1 418575 100 230 94 68 6.5 Salvis 1V421471
2 416881 400 230 400 280 6.3 Forved VETRRESO1
Jiinger Rieber 33010104
3 415245 416 240 417 202 6.3 Rieber 33010104
4 416158 500 230 170 124 6.3 Star10 071033
5 416882 500 230 500 275 6.3 Forved VETRRES02
6 418851 700 230 430 200 6.3 Blanco 105881
7 416884 700 230 500 270 6.3 Forved VETRRES02
Rieber 33010111
8 415545 833 230 380 204 8.5 Stahl 160025
9 418791 900 230 615 265 6.3 Forved VETRES03
10 = 416491 1500 220 406 70 8.5 KSF 4.013.03.05
11 418307 1600 230 555 140 8.5 Mobile Containing 957500
12 = 415747 2500 230 518 95 8.5 Therma -
Electrolux 077018002052
13 415355 2500 230 612 130 8.5 Therma 18002052
( <:’ ¥
E
b <[ |
ower voltage tube o . "
No. Part No. P (V)g (mm) (mm) (mm) suitable for equiv. no.
1 418280 1200 230 410 233 8.5 Stahl 160031
2 416863 1500 230 232 161 6.5 Inoksan 24207022
— ——t ;J
=——>=x] ——
T
1
No. Part No. powey vo(l\l;a)ge (ml;“) (me;n) ‘(L":;;’ suitable for equiv. no.
1 416912 750 230 375 200 7 Ascobloc 09 1343
2 415612 2000 400 482 138 8.5 Ambach 5060802200

566




ELECTRIC dry heating elements Heating elements

1 2
ower oltage L B L1 B2 tube o o n
No. Part No. p(ﬁ) v (V)g (mm) ‘ (mm) (mm) (mm) ‘ (‘:nm) suitable for equiv. no.
Electrolux 0700214333
1 415499 1500 230 437 227 37 80 6.5 Juno OH6178
GGX 345981.532
2 415478 3000 230 475 176 45 45 8.5 Herzog & Langen 345981.532
i ]
B1
| 1
B D) B2
C mi |
T ‘:JV/
- L -
1
It: L B B2 tube o . .
No. Part No. pt(vvv)er vo(va)ge (mm) (mm) (mm) (umm) suitable for equiv. no.
1 416700 1750 240 275 270 170 6.3 Roller-Girill D02141
B
i i
: B2
= B1
T J L
L P e
L L -y
1
ta L B L1 B2 tub o .
No. Part No. p‘("ﬁ)er vo(v)ge (mm) ‘ (mm) (mm) (mm) ("m,en)’ suitable for equiv. no.
GGX 340640.532
1 415468 4500 400 520 239 45 50 8.5 Herzog & Langen 340640 532
(r =y |
\E.—
=
) |
— :
J B
(G
|
[ &
2
( f . |
- L -
12
No. Part No. pmfr vo(l\';fn)ge (ml}n) (mBm) ‘("":’:‘;’ suitable for equiv. no.
1 416936 2000 230 470 246 6.5 Kuppersbusch 540635

Heating elements

567



elements ELECTRIC

No. Part No. pm)er vo(l:,a)ge ‘ (mLm) (mBm) t(l::::‘f suitable for equiv. no.

1 415203 180 230 304 39 8.5 Rieber 33010102

2 418291 500 230 315 38 8.8 Rieber 33010107

1 2

No. Part No. pm)er vo:l\?)ge (ml;“) (mBm) tz‘nl:;l;’ suitable for equiv. no.

1 415618 3500 220 530 307 8.5 Therma 18002177

2 415617 3500 220 670 290 9 Therma 18002178

@- |

No. Part No. pt()vv\;)e u vogla)ge (mLm) (mBm) t(unl:em)” suitable for equiv. no.

1 416159 750 230 180 327 6.3 Star10 071015
Sirman ATHDO071015

2 416487 820 230 183 324 6.3 Star10 71015

%— -
12 \IL

1 2
ower oltage L B tube o . p
No. Part No. p(‘)fvl) v (v)g (mm) (mm) (mm) suitable for equiv. no.
1 416718 300 230 170 198 6.3 Roller-Girill D02002
2 416703 650 230 140 267 6.5 Roller-Grill D02001

Heating elements

568



dry heating elements

ELECTRIC

Heating elements

No. Part No. power ‘ vo(l:la)ge (ml;") (mBm) (rgrzn) t(u"l::")a suitable for equiv. no.
1 416903 4500 230 600 205 35 8.5 Palux 637785

S —

S;:,:_—:—:,—w

1 2 3 4 5
No. Part No. power vo(l\'?)ge (mLm) (mBm) ‘(L"::‘;’ suitable for equiv. no.
1 415218 500 230 440 155 6.5 Blanco 00252477
2 418754 1200 230 350 180 6.5 Star10 071110
3 418502 1200 230 410 195 6.5 VEGA 92028
Electrolux 0700249212.7D249212
4 415822 1800 230 540 105 8.5 Juno OH6707
5 416817 4000 230 619 150 8.5 Mareno CM096301
No. Part No. B vo:l\gge (mm) (mm) tz‘r:em)“ suitable for equiv. no.
1 416099 370 57.5 340 73 8.5 Gico 211200550
2 416097 450 57.5 438 72 8.5 Gico 270204500
3 416098 600 230 580 72 8.5 Gico 290204040
Tecno MCM 030137E
4 416856 1100 230 864 44 10 Tecno-MCM 030137E
i B |
[ é
= ol | 1 2
-
( _
v 2
H =
et (]
- L - E
1 K-
()
No. Part No. povey vo(l:la)ge (an|) (mBm) (n:lm) t;"r::';’ suitable for equiv. no. g’
1 418295 300 230 481 108 50 8.5 MKN 574109 '§
I

569



elements ELECTRIC

i
( ‘
/ v
/’;
[ & J v
]
i
- L -
ower oltage L B H tube o . o
No. Part No. pow! v (v)g (mm) (mm) (mm) (umm) suitable for equiv. no.
Electrolux 059681
1 418006 750 230 317 41 92 8.5 Zanussi 059681
2 416534 1000 230 422 70 66 8.5 Modular 66505700
3 418498 1000 230 472 76 38 8.5 Nayati PD411K
4 418283 1000 230 530 50 116 8.5 Hupfer 014001122
5 418062 1000 400 470 78 34 8.5 Nayati §S2027
Electrolux 059680
6 418007 1050 230 425 42 95 8.5 Zanussi 059680
7 418279 1200 230 502 50 58 8.5 MKN 574113
Electrolux 053393
8 415079 1250 230 473 52 43 8.5 Whirlpool 771985002659
Zanussi 053393
Electrolux 004649
9 416985 1250 230 482 54 55 8.5 Whirlpool 771985000474
Zanussi 004649
Electrolux 059679
10 418008 1250 230 485 44 95 8.7 Zanussi 059679
1 415085 1400 240 583 50 36 10 Mareno 167622
12 415442 1500 230 400 50 54 8.5 Palux -
13 | 418847 1500 230 455 60 90 16 Capic E150855
/_ . &
( 5
By \ o S |
C ) ' -
Y
x f
H
c A
-] -
Ita L B H L1 tube o .
No. Part No. p?‘ﬁ)e’ vo(v)ge (mm) (mm) (mm) (mm) zlmm)o suitable for equiv. no.
1 416955 500 230 450 50 90 25 10 Ambach 5060811140
Bertos 22039300
Giga X45700
2 415651 1500 230 425 72 53 22 8.5 Silko 0109041
Star10 X45700
3 416961 1500 230 530 45 90 20 10 Ambach 5060814355
4 415296 1580 230 460 65 71 20 8.5 Silko 0101563
5 418063 1900 240 600 65 75 30 9 Bertos 35039300

-
N

Heating elements

570



ELECTRIC

dry heating

elements

Heating elements

~l=

No. Part No. powey vo(lba)ge (mm) (mm) (mm) (rk:n) (nl;rzn) t(ur:em)a suitable for equiv. no.
1 | 418657 500 230 165 125 16 30 135 85 RM-Gastro 401021500
2 416777 500 230 245 147 28 38 195 6.3 Roller-Gril D02029
3 418335 500 230 430 280 16 38 392 8.5 Mst’;‘l?;‘r’ém EDF:11232204
4 418547 750 115 185 165 18 15 143 6.3 Techfood CE00092C
5 | 416032 850 230 430 145 16 30 400 6.5 Dexion 013448-00-R
6 418938 2500 230 520 110 35 40 480 135 Capic E151125
7 | 418939 2500 230 575 15 30 30 545 12.8 Capic E151112
8 | 418940 3500 230 515 150 36 35 480 135 Capic E151455
o
5} 8
Y, & oo
A > ]
€ S
fj
T &
No. Part No. powey vo;l\:)ge (mLm) (mBm) (nrim) ‘("“2:17 suitable for equiv. no.
1 415380 1000 230 600 54 82 85 EZ'Z?L‘;';X gggg}g
2 | 418489 1100 230 467 95 52 6.3 A&ﬁisrfedre 06655221111001111
3 | 416544 1250 240 416 70 65 85 MBM ltalien RTCUB00183
Electrolux 004918
4 415290 1300 230 473 80 55 6.5 Tecnoinox 00286
Zanussi 004918
5 | 416789 1300 230 475 83 66 8.5 Olis 8217700
6 | 416547 1350 230 450 82 64 8.5 MBM Italien RTCU700278
7 | 416698 1350 230 460 95 40 6.3 Mareno 1037317700
8 418016 1500 230 375 76 75 85 Flectrolux ooooo
9 | 416595 1500 230 415 82 50 8.5 Angelo-Po 32G1921
10 416607 1500 230 417 95 46 9 Fagor X273000
11 416986 1500 230 484 90 50 85 Flsctrolux s
12 416602 1500 230 517 87 71 9 Fagor R893000
13 | 416556 1500 230 570 90 68 8.9 MBM ltalien RTBF900068
14 417335 1500 240 500 9 70 85 MBM ltalien RTBF800026
15 416668 1600 230 366 65 62 8.5 Offcar 843627
16 416791 1700 230 440 90 64 85 Olis A044706
17 | 416678 1700 400 445 75 83 8.8 Angelo-Po 32G1040
18 415179 1750 230 445 82 50 8.5 Angelo-Po 32G1260
19 415928 1800 240 470 90 65 85 Modular sggggggo
20 415075 2000 220 573 80 70 9.2 EZ'Z‘::L‘;';X 83233:
21 417339 2000 230 448 93 60 8.5 E"j‘i};‘:”" 2'1(2232
22 | 416669 2000 230 520 83 64 8.5 Offcar 843629
23 416615 2000 230 523 95 81 8 Fagor X143000
24 416616 2000 230 525 82 46 8.5 Fagor X143010
25 416597 2000 230 530 93 70 8.5 Angelo-Po 32G2481
26 416610 2000 230 568 77 86 8.5 Fagor R573000

571

12

Heating elements



elements ELECTRIC

-
? } B
(8 |
¥
/
s o
C S
L]
i
I}
- L -
ower oltage L B H tube o . o
No. Part No. pow! v (v)g ‘ (mm) (mm) (mm) (umm) suitable for equiv. no.
Electrolux 059401
27 415184 2000 230 570 86 87 8.5 Whirlpool 771985003774
Zanussi 059401
28 416633 2000 230 585 100 100 8 Fagor R573010
Electrolux 055998
29 = 415382 2000 230 595 41 40 6.3 Zanussi 055998
30 415253 2000 240 548 72 70 8.5 Silko 0101521
31 416555 2000 240 570 92 65 8.5 MBM ltalien RTBF800038
Modular 96500000
32 415932 2000 240 650 78 72 8.5 Multi 965000
33 418481 2200 230 615 80 92 8.5 Angelo-Po 32G2371
34 416679 2200 400 572 81 85 8.5 Angelo-Po 32G1870
Giga 0000Y 10400
35 416046 2350/2560 220/240 590 77 80 8.5 Star10 Y10400
_ Whirlpool 483286009373
Electrolux 006681
36 416987 2500 400 567 90 91 9 Zanussi 006681
37 | 416792 2660 230 578 88 63 8.5 Olis A037450
10— |
B
'
- L -
[ = S
¢ D *
é )
L |
- L] =
It: L B H L1 tub o A
No. Part No. p?v\:,l)er vo(‘ia)ge ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) (umﬁlf suitable for equiv. no.
1 416095 1100 240 360 82 50 7 6.3 Gico 260200020
2 418650 1200 230 402 75 70 35 6.5 Giga DER001ZR10
3 418026 1250 230 450 94 99 25 8.5 Baron 41826620140
4 416175 1600 230 417 87 90 32 8.5 Mareno CM164800
5 416596 1750 230 500 81 50 18 8.5 Angelo-Po 32G0251
EGO 20.26576.000
6 415208 2000 230 641 87 43 10 6.3 Lohberger F2001128
| | | | Voss F2001128
7 416694 2200 230 570 110 90 20 8.5 Mareno CM164900
8 415973 2700 240 360 141 85 55 10 Mareno 1685100
1 2 9 416002 3000 240 390 120 68 30 10 Bertos 31927000
10 = 415084 3900 240 520 170 94 58 10 Mareno 1475600

Heating elements

572



ELECTRIC ing elements  Heating elements

It: L B H L1 B2 tub o 5
No. | PartNo. p(ov\;ll)er vo(va)ge (i, (@, (@, (i, (G (um:nf suitable for equiv. no.
1 416096 1370 240 430 100 60 10 80 6.3 Gico 270200662
2 416100 2020 240 550 100 60 10 80 6.3 Gico 290200112
a
(Eﬁ T
] 1
T
| :
- A ¥
4 L 4.J
It: L B H tub o .
No. Part No. pt(w)er vo(va)ge (mm) (mm) (mm) (umren)u suitable for equiv. no.
1 416613 3000 230 474 285 54 8.5 Tecnoinox 00767
1
Ita L B H tub . .
No. Part No. povey vo(v)ge (mm) (mm) (mm) z’m:; suitable for equiv. no.
Electrolux 058345
1 415273 1500 220 373 82 78 8.5 Zanussi 058345
1
Ita L B H tube : n
No. Part No. pm)er V°M9° (mm) (mm) (mm) (umm? suitable for equiv. no. 1 2
1 416140 2300 230 510 90 45 6.3 Gico 290202450

Heating elements

573



elements ELECTRIC

I N 4
B1
_r
B J B2
A
T : j
i
¥
(ﬁ H
[
1
ower oltage L B H B2 tube o . o
No. Part No. p(vv\;) v (V)g (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 416887 1350 230 385 225 22 125 8.5 Forved SNACKRESIS01
—_— v
( B1
—
B B2
¥
(= —
) T
o
J 4
€ E. |
ower oltage L B H B2 tube o o n
No. Part No. p(\XII) v (V)g (mm) ‘ (mm) (mm) (mm) (umm) suitable for equiv. no.
1 415703 1000 230 333 80 64 51 6.3 Lotus 537005100
2 416161 1000 230 404 95 36 39 6.3 Star10 071027
3 415087 1300 220 428 80 66 43 6.3 Mareno 892800
4 415982 1300 230 405 85 100 53 6.3 Mareno 1941800
EKU 373.007.0 1-W-237
5 415076 1300 230 490 78 70 44 6.3 Mareno 1037300713
Silko 1037300713
6 415367 1500 230 425 90 70 60 6.3 Lotus 537005200
7 416518 1500 230 498 158 59 67 6.3 Lotus 537021000
8 415975 1800 240 488 84 63 47 8.5 Mareno 1730000
9 415958 1900 230 585 90 80 50 6.3 Mareno 1941900
10 = 415086 2000 220 600 80 70 58 6.3 Mareno 1029200
1" 420008 2000 230 535 90 74 56 10 Morice RS 0856
EGO 33.90000.970
12 | 418069 2000 230 660 85 60 75 6.3 Lotus 537025200
13 | 415933 2580 240 530 130 65 50 8.5 Multi 965008
= 5
==
s
z )
q v
; H
- L -
12
Ita L B H tub o .
No. Part No. POwel vo(v)ge (mm) (mm) (mm) ;"m:; suitable for equiv. no.
1 415254 2000 230 550 93 72 8.5 Silko 0101520

Heating elements

574



dry heating

ELECTRIC

elements

Heating elements

/_ Ly
(_ - L = |
: 1
S |
T
- L2 =L
ower oltage L B H L2 B2 tube o p n
No. Part No. p(v'\;) v (V)g ‘ (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 416062 1000 230 220 103 32 178 45 6.3 Emmepi C10199
2 416075 1200 230 295 105 32 252 35 6.5 Emmepi C00650
1
- ) |
— é:u
| '
bl |
C c —=FH
- L2 ~ L.
No. Part No. powey vogla)ge (mm) (mm) (mm) (nl;:“) tz""':;;’ suitable for equiv. no.
1 418659 350 230 175 180 17 30 6.5 RM-Gastro 401021000
2 418668 700 230 370 230 15 35 6.3 RM-Gastro 40121700
Bartscher A0401022500
3 418661 1000 230 180 187 18 30 6.2 RM-Gastro 401022500
4 418431 1000 230 402 246 27 50 8.2 Nayati PD411J
Dexion 3710003
5 418344 1200 220 395 220 24 50 8 Emainox 3710003
6 418334 1400 230 555 270 20 45 8 Metalcarrelli 003001040005
CF resistenza p.BME11R
7 416195 1500 230 368 268 19 23 6.3 RM-Gastro 401023000
Electrolux 050933
8 415353 1500 230 395 205 25 50 8.5 Zanussi 050933
9 416798 2000 220 565 200 20 35 8.5 Olis A037420
C—\ 1
( B
)
C ¥ 8
)
A—r
:’] H
i T
- L -
No. Part No. powey vo:!\:)ge (mLm) (mBm) (mr:n) t(unl:;;a suitable for equiv. no.
Giga Y00700
1 416767 1500 230 460 205 52 6.3 Star10 Y00700

12

Heating elements

575



elements

ELECTRIC

-
N

Heating elements

i L
No. Part No. pover vo:t\:)ge (ml}n) (mBm) (mHm) t(u"l::")a suitable for equiv. no.
1 418644 450 230 440 350 45 6.3 Sirman V5253500
Ambassade 65211007
2 418478 1000 230 420 200 47 6.3 Bartscher 065211007
3 416898 1600 230 435 110 93 6.3 Palux 501808
4 416797 2000 230 480 275 60 8.5 Olis A037050
5 415572 2100 380 325 172 63 8.5 Therma 18011703
( o) mm— |
. SR |
>
C N t -
e
C ) ]
% !
= T I )
-] =
Ita L L1 tube o " .
No. Part No. power vo(v)ge (mm) (mm) (mm) (mm) ("m::) suitable for equiv. no.
1 416180 2200 230 420 130 92 24 8.5 Mareno CM165100
2 416695 3300 230 570 130 90 20 8.5 Mareno CM165200
3 415987 5850 230 530 295 90 80 10 Mareno 1878800
I e 1 'E'i!!
| 8]
(—/
B B2
C _\ \% |
) . ( b
) e |
J
ol
)] H
i
No. Part No. Bowey poitane (an|) (mm) (mm) (I:'z“) l;'"l:;;' suitable for equiv. no.
1 416539 2100 230 383 170 60 100 8.5 Modular 66502300
2 416540 3330 230 506 200 63 140 8.5 Modular 96500700
3 415930 3440 240 530 205 60 140 8.5 Multi 965007
¥ ( 3 B’z
m o |
B {(:/ B2
———— a=
“— ;% v C—’
[ j "
E\ H
[ |
- L2 = L1=
It: L B H L1 B2 tube o o 5
No. Part No. powey vo(va)ge ‘ (mm) (mm) (mm) (mm) (mm) (umren) suitable for equiv. no.
1 418218 1600 230 433 108 56 75 74 6.3 Palux 148040
2 416114 2600 230 375 152 58 25 100 8.5 Gico 270200812

576




elements

ELECTRIC

Heating elements

- L -
No. Part No. powey vo:t\:)ge (mLm) (mBm) ‘ (mHm) (IE;) ‘("r:fn)” suitable for equiv. no.
Firex 40400082
1 416692 2900 230 312 200 82 68 8.5 Lotus 40400082
Offcar FX40400082
2 | 418937 3000 230 430 320 58 156 135 Capic E151138
Giga X48100
3 | 416045 3400 230 313 195 82 61 10 Star10 X48100
4 | 415298 3400 230 315 195 85 58 100 Silko 0101526
5 416806 3490 230 480 185 65 30 8.5 Olis A050190
Giga 0000Y 10500
6 417344 4700 230 540 210 60 70 8.5 Star10 Y10500
Whirlpool 483286009389
o i
B
%}
P
 — S
-
2 S
T
- L -
No. Part No. p?vv\;)er vo(l:’a)ge (ml}n) (mBm) (mHm) l;'nl::‘;’ suitable for equiv. no.
1 418622 3000 230 277 245 55 8 Roller-Girill D02105
2 418463 3300 400 420 240 45 6.5 Salvis 1G563025
C F 7 }
B1
=) B
- [ D
1
) p AC .
1
C IR —
) o
i
ower voltage L B H B2 tube o . a
No. Part No. [ ‘ (V)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417219 1400 230 290 320 8 190 6.5 Roller-Girill D02101
c =1
12
- B
! %)
- -L - ‘E
L] (]
— it K-
L2 L1 ()
2
ower voltage L B H L1 tube o . o —
No. Part No. p(W) (v)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no. -a-
1 416778 1500 230 246 430 33 30 8 Roller-Grill D02073 %
2 | 420002 2000 230 383 235 15 20 8.5 Charvet 150390

S77



elements

ELECTRIC

Heating elements

- L

No. Part No. power vogla)ge (ml;n) (mBm) (nr'm) t(ur:;r suitable for equiv. no.

1 417333 3000 240 400 255 65 8.5 MBM ltalien RTCU700646

2 416899 3500 230 430 245 95 6.3 Palux 501816

=
B
1
Ita L B2 tub o .

No. Part No. powey ‘ vo(v)ge (mm) (mm) (mm) (mm) z‘msl;’ suitable for equiv. no.
1 416748 2000 240 285 370 40 165 6.3 Roller-Grill D02102
C
C
[ 4

C

[ ¢

wer voltage L B H B2 tube o n o
No. Part No. po (V)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415702 2400 230 342 227 53 165 6.3 Lotus 537004100
2 418658 3000 230 387 230 46 200 8.5 RM-Gastro 401025000
i ( . El1
.7% B 1
8
L )
LS.
- L -
| H
— D)
- —12 - L1
12
ower oltage L B L1 B2 tube o " .
‘ No. Part No. ‘ p(\XII) ‘ u (v)g ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ (umm) ’ suitable for ‘ equiv. no.
1 416896 3500 230 435 240 45 50 175 6.3 Palux 147990

578




ELECTRIC dry heating elements Heating elements

ower oltage L H L1 L2 tube o . 0
No. Part No. p(\ﬁ) v (v)g (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 415244 750 120 278 580 70 138 8.5 Rieber 33010109
2 415247 800 120 668 580 70 528 8.5 Rieber 33010110
3 418271 1250 120 1050 580 70 440 8.7 Rieber 33010123
- L -
1 2
ower oltage L B H tube o p .
No. Part No. p(‘x,') v (V)g ‘ (mm) (mm) (mm) (‘:nm) suitable for equiv. no.
1 416809 700 230 805 164 240 8.5 Star10 071080
2 416886 750 230 270 70 740 8.5 Forved SCALDRESIST
[ ——)
B
L L 4
il R
H
E i
|55 il -
ta L B H 0 .
No. Part No. p?‘)fvl)er voMge (mm) (mm) (mm) suitable for equiv. no.
1 418741 400 230 220 350 440 Bartscher 040827
2 418742 750 230 220 360 690 Bartscher 040577
3 418743 1400 230 220 680 700 Bartscher 040576
2
N
o
—— L _v
=t (K
i
12
NS/
9. .
2
Ita L B H tion dist: . .
No. Part No. powey vo(v)ge (mm) (mm) (mm) connec ('::":n) S1ance suitable for equiv. no. é
1 415480 1000 220 457 40 70 24 EIeJctrqux 0700214337.7D214337 o
uno 0H6182 °
Electrolux 0H6155 o
2 415482 1100 400 538 45 67 25 Juno 0HB211 c
=
(1]
()
I

579



ELECTRIC

Ita L B H tion distal tub . .
No. Part No. powey vo(v)ge (mm) (mm) (mm) connec (I:III.ITI) S ance ‘ (um:\;a suitable for equiv. no.
MKN 574085
1 415476 1670 220 650 470 35 37 8.5 Palux 200742
MKN 574084
2 415475 1670 230 430 110 45 22 8.5 Palux 290734
MKN 574102
3 | 415477 1670 230 465 95 45 16 8.5 Palux 194700
2N [
Y f‘F“\
- - 11
i . | H
é A
S
J 9 o =
1 2 - B -
ower voltage L B H B2 connection distance . o
No. Part No. p(W) (V)g ‘ (mm) ‘ (mm) ‘ (mm) (mm) (mm) suitable for equiv. no.
1 418875 3200 240 457 185 55 36 28 Falcon 731750420
2 | 418874 3200 240 457 185 55 36 28 Falcon 731750421
— ) 1
c B1
="
B ) B2
e = 1 (%; Q—}) 3
P i )
—== T - -
[ &
l: 3 L}
H
C = ‘
- L- -
power voltage L B H L1 B2 n .
No. Part No. W) v) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416072 1800 230 290 130 30 130 20 Emmepi C00644
)
| ¢
1 2
1 2 No. Part No. p?Vv\II;% u vo(lba;ge (mLm) (mBm) (mHm) suitable for equiv. no.
1 418646 2000 230 270 235 45 Sirman 1GS703103
2 | 416157 2400 230 305 250 60 Star10 071066
& i
=
[}
£ B
@ |
()}
fe)) ¥
c
=
S — YA a
£ H
o S |
- L -
No. Part No. pm)er vo:l\?)ge (ml'm) (mBm) (mHm) suitable for equiv. no. No. Part No. powey voR,a)ge (mm) (mm) (mm) suitable for equiv. no.
1 415748 3000 230 340 212 96 Silko 0108151 2 416829 3400 230 338 203 91 Silko 0108151

580



ELECTRIC

dry heating

elements

Heatine

elements

1 2
No. Part No. powey vo(l:la)ge (mLm) (n?m) ’ (mHm) suitable for ‘ equiv. no.
EGO 20.30162.000
1 415425 1250 220 470 64 60 MKN 574099
2 415446 1250 230 450 65 60 MKN 203550
j e}
é ,
<_—|j_1 H
1 i
No. Part No. power poliage (ern) (mBm) (rrrm) suitable for equiv. no.
1 418913 1800 230 507 70 92 Bonnet 311739
{om N "
D
= ol ¥
- L -
é
L]
[
1 o
No. Part No. povey porage (mLm) (mBm) (n:'m) suitable for equiv. no.
1 418922 1800 220 523 57 81 Bonnet 310128
1 z 2 v 3 [ j
No. Part No. pm)er voR,a)ge (mm) (mm) (mm) suitable for equiv. no.
1 416954 2000 230 480 154 92 Ambach 5060814403
2 416953 2000 230 550 230 90 Ambach 5060814402
3 416952 2000 230 600 305 90 Ambach 5060814401
[}
. 8
& "@
W v
T [
H
T > ¥
1 2 - -
No. Part No. powey vo(l:la)ge (mm) (mm) (mm) suitable for equiv. no. No. Part No. povey vog,a)ge (ml'm) (mm) (mm) suitable for equiv. no.
1 418437 3500 400 478 250 70 Salvis 178996 2 418436 3500 400 480 250 70 Salvis 178995

581

12

Heating elements



Heating elements

dry heating

elements

=

!

ELECTRIC

-
N

Heating elements

2 3
No. Part No. powey vo(l:la)ge (mLm) (mBm) (mHm) suitable for equiv. no. No Part No. povey vog;n)ge ‘ (ml}n) (mBm) (nrlm) suitable for equiv. no.
1 418435 3500 230 460 233 73 Salvis 178859 3 418434 3500 400 480 310 70 Salvis 178993
2 418406 3500 400 455 287 77 Salvis 178857
@ nD @
v
;ﬂ H
T
~ L -
1
Ita xt. H o .
No. Part No. pm’fr vo(v)ge ?mmg (mm) (mm) suitable for equiv. no.
Dihr 6006
1 416636 2000 230 305 34 280 Faba PR30001
Fimar C01765
T
@ é H
i
1 2 3 4
No. Part No. powen vo(ltla)ge ?r)r(:m? (mHm) suitable for equiv. no. No. Part No. p?vv\;)er vo(l:la)ge ?::‘tm')’ (mm) suitable for equiv. no.
1 418612 1400 230 258 85 VEMA XRCR6 3 416726 3000 230 310 65 Roller-Girill D02013
2 416780 2000 230 190 42 Roller-Grill D02012 4 416771 3600 230 375 40 Roller-Grill D02022
i
y B
15 Ly
2= -]
'
N I —
T
- AD -
1
power voltage ext. o H L1 L2 P 0
No. Part No. (V)g (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418272 550 230 138 50 40 40 Rieber 33010121

582




ELECTRIC

dry heating

elements

Heating elements

ower oltage L B H L1 p o
No. Part No. pow! v (v)g (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 051355
1 415381 1300 230 535 82 96 55 Zanussi 051355
Alpeninox 0A2068
Electrolux 0A2068
2 415098 1500 220 533 75 123 78 Juno 0A2068
Zanussi 0A2068
i
— B
'
= :
H
L]
No. Part No. [y voltage (mm) (mm) (mm) (nl;:n) ta:;f suitable for equiv. no.
Alpeninox 0A2208
1 415099 1500 220 380 90 124 80 8.5 Electrolux 0A2208
Alpeninox 0A2070
2 415100 1500 230 242 155 120 50 6.5 Electrolux 0A2070
—~
1
power voltage A n
No. Part No. (V)g (mm) (mm) suitable for equiv. no.
1 418656 110 230 131 140 RM-Gastro 401020500
L
C
C
[ o
<
ower voltage tube o . o
No. Part No. p(W) (V)g HC (mm) (mm) (mm) suitable for equiv. no.
1 416136 1500 230 384 274 8.5 Gico 270204530
2 416106 2700 240 3 490 274 8.5 Gico 290204050
3 416079 2700 240 3 503 274 8.5 Gico 292200160

12

Heating elements



foil heating elements

i ; o~ o
- U
i [\ I
cc=;:,J — 3 82
[ =y T . - N T3
—. = D fﬂ‘ﬂﬂi J
—— M N 4 - — | | R )
| - ! L
L e L 1
C i I |
T = ¢ - v
¥ v (s 1T HJ b B j H
f T
Ita L B H tube tion dist: q 5
No. Part No. powey vo(v)ge HC (mm) (mm) (mm) (umm;, °°"n°°(':‘rr'n) SHnce suitable for equiv. no.
1 415584 5000 400 3 460 295 75 6.5 108 Blumauer 180373
foil heating elements
aluminium
1 2
No. Part No. (ml}n) (mBm) povey ‘ vo(l:la)ge cab:;l:‘?glh suitable for equiv. no.
1 418472 400 230 175 230 490 Salvis 1G962947
2 418332 510 205 378 230 215 Groen 1092179
plastic
with temperature limiter
.
1 2
No. Part No. (mLm) (mBrn) powey vo(l:la)ge cabzeml:‘l)lg(h suitable for equiv. no.
1 416416 240 130 80 230 1270 Dexion 01233602R
2 416315 470 65 87 230 3400 Dexion 01233501R
without temperature limiter
12
[72]
)
=
(]
£
2
(]
o Part No. (ml'm) (mm) powey poliage se(':::‘; 2 cab::nl:lr)lgth suitable for equiv. no.
[=
= Coldmaster 3154802
"g' 418012 560 360 400 230 6 490 Tecfrigo 3154802
I

584




ELECTRIC

silicone

foil heating elements Heating elements

with temperature limiter

L B ower oltage sensor g cable length . n
No. Part No. (mm) (mm) pow v (v)g (mm) (mm)g suitable for equiv. no.
1 418867 465 260 900 230 6 1000 - -
L B ower oltage t.max. cable length . n
No. Part No. (mm) (mm) p(vv\;) v (v)g °c) (mm)g suitable for equiv. no.
1 416687 460 250 1000 230 175 500 Offcar 843613
2 416688 500 290 1350 230 175 500 Offcar 843611
L B power voltage sensor g t.max. cable length o o
No. Part No. (mm) (mm) (v)g (mm) (°c) (mm)g suitable for equiv. no.
1 418855 210 58 100 220 - - 500 Infrico 406x31
2 418856 210 116 200 220 - - 500 Infrico 406x32
416372 220 110 450 230 - - 1000 Luxia L7011
Electrolux 032086
4 418763 290 175 500 230 - - 1000 Zanussi 032086
418623 375 275 650 230 - 150 1000 - -
416406 400 240 1000 230 - 150 2000 Giga Y15900
7 415210 400 290 500 230 - 140 1000 Rieber 33010602
Electrolux 032094
8 416371 400 290 1000 230 - 140 2000 Zanussi 032094
9 418034 400 290 1500 230 - 175 1000 Baron 41826620170
10 = 418842 480 280 400 230 6 - - Emainox 3710036
1 418035 490 400 2500 230 - 175 1000 Baron 41826620160

585

12

Heating elements



Heating elements fryer heaters

ELECTRIC

-
N

Heating elements

No. Part No. (mLm) (mBm) power vomge cab::nlizr)ngth suitable for equiv. no.
1 416395 310 115 600 230 1950 Winterhalter 60003653
without temperature limiter
L B ower oltage sensor ¢ t.max. cable length : 0
No. Part No. (mm) (mm) pow! v (V)g (mm) °C) (mm)g suitable for equiv. no.
1 416249 120 120 100 230 - - 200 Aristarco 4761
Colged 230080AG
2 416236 130 84 130 230 - 175 200 Elettrobar 230080AG
Eurotec 230080.AG
3 418262 195 140 150 230 - 175 200 Naomi-Girills 165
4 415980 375 275 650 230 - 175 250 Lotus 537011900
5 418868 460 270 600 230 - - 2300 Tecfrigo 2304802
6 415981 460 375 1100 230 - 175 500 Lotus 537012000
7 418075 570 230 1500 230 6 - 600 Lotus 537026000
fryer heating elements
with rectangular flange
i g
H1
| H
1
2 -
- L -
| — = |
e ——— B
e —
————7iol ¥
1 B
It: L B H H1 HD o n
No. Part No. p?‘)'v’)er V°(‘7)9e (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 004767
1 416996 2900 230 285 82 245 207 68 Zanussi 004767
ower voltage H1 . 0
No. Part No. p(W) (V)g (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418460 2000 230 280 42 200 146 Salvis 178613

586



ELECTRIC

fryer heaters  Heating elements

ower oltage L B H H1 HD . n
No. Part No. pow, v (v)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416008 5000 230/400 3 245 200 170 143 60 Bertos 33026600
2 418104 6000 230/400 3 280 202 170 150 61 Bertos 33026700
3 418105 7000 230/400 3 300 240 200 175 85 Bertos 33026500
4 418106 9000 230/400 3 300 240 200 175 85 Bertos 33026900
i =
1
It: L B H B2 H1 HD e .

No. Part No. pt(w)er vo(va)ge HC ‘ (mm) (mm) (mm) (mm) ‘ (mm) (mm) suitable for equiv. no.
1 418432 6000 230/400 3 275 172 161 93 133 115 Nayati PD411L
2 418474 6000 230/400 3 285 155 173 90 151 124 Salvis 1G564035

Iy -
1
1 415741 7500 230/400 310 130 295 78 261 95 FriFri 100299
2 416426 11400 230/400 3 310 215 298 60 260 95 FriFri 300950
i =
H1 H
A
==
"L N
"g‘."_...l
D &
B
==y
al v
1 1 od
Ita H1 HD o .

No. Part No. powey V°M9° HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415357 8000 400 3 335 150 270 233 30 rna -

alentine -

587

12

Heating elements



Heating elements fryer heaters

ELECTRIC

ower oltage L B H B2 H1 HD . n
No. Part No. pow! v (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 059563
1 415377 5500 230 320 86 248 48 213 40 Inoksan 10070020
Zanussi 059563
Electrolux 006571
2 418002 5500 400 320 86 248 48 213 40 Zanussi 006571
i
H
]
.
I
o
- —L -
1
It: L B L1 H1 H2 HD q R
No. Part No. Bowel vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 004752
1 416993 1500 230 320 25 215 30 62 115 18 Zanussi 004752
T
H
L]
g
8
A
ower voltage I8 B H L1 H1 H2 HD . 5
No. Part No. P (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 20.40629.000
1 416995 2900 230 270 50 246 10 30 178 53 Electrolux 0A5565
Zanussi 0A5565
EGO 20.40453.000
2 416994 2900 230 310 60 195 5 30 125 51 Electrolux 005964
Zanussi 005964
3 ] 3
H1
i ¢
H2 H
v
1 2 - =L1=
=1
B
ai AN
G = -
)
=
£
Ita L1 H1 H2 HD q 5
2 No. Part No. power voMge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
[} Elettrobar 230069
g, 1 416499 3300 230 249 128 210 15 30 140 144 Eurotec 230069
= Elettrobar 230070
g 2 416504 3300 230 320 131 220 14 25 130 72 Eurotec 230070
I

588




ELECTRIC

fryer heaters  Heating elements

No. Part No. power vogla)ge HC (mLm) (mBm) (n:'m) (er1n) (':::n) (r;llzn) windings (:E\:) suitable for equiv. no.
Elettrobar 230068
1 416505 4950 230 3 315 115 220 15 26 154 6 144 Eurotec 230068
Elettrobar 230072
2 416506 6600 230/400 3 342 127 230 15 25 167 6 72 Eurotec 230072
Elettrobar 230073
3 416507 8250 230/400 3 322 126 238 15 20 178 9 144 Eurotec 230073
Elettrobar 230074
4 416508 10950 230/400 3 415 128 240 15 10 194 9 173 Eurotec 230074
o
H
)
ower oltage L B H L1 H2 A HD : n
No. Part No. P v'\; A (V)g i) (i, (G, ) (i windings (B suitable for equiv. no.
1 415717 1500 230 289 50 178 14 32 3 19 FriFri 09-08
2 416624 1500 230 300 50 180 20 30 3 18 Fagor X363023
3 416627 1500 230 300 50 180 22 30 3 18 Fagor X363005
4 416628 2000 230 298 49 179 19 31 3 18 Fagor X373005
5 415738 2000 230 302 51 177 15 25 3 18 FriFri 09-09
6 416625 2000 230 310 50 180 30 30 3 18 Fagor X373022
7 415739 3000 230 298 51 190 18 40 4 18 FriFri 09-10
8 416622 3000 230 303 45 190 20 42 4 18 Fagor X353024
9 416630 3000 230 335 47 226 45 44 4 18 Fagor X383020
10 | 416631 4250 - - - - - - 4 - Fagor X393010
1 2 - t -
ower oltage L B H L3 H1 H2 HD : o
No. Part No. pow A (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 054951
1 415354 1500 230 375 26 275 280 118 115 22 Whirlpool 771985003588
Zanussi 054951
Electrolux 054962
2 415274 3000 230 400 70 270 315 120 110 34 Zanussi 054962

589

12

Heating elements



-
N

Heating elements

Heating elements fryer heaters

ELECTRIC

1 2 - L -
ower oltage L B H L1 B2 H1 ] HD . .

No. Part No. P w) v (v)g (mm) (mm) (mm) (mm) (mm) (mm) windings (mm) suitable for equiv. no.
1 415742 2300 230 280 62 180 23 35 150 4 34 FriFri 100947
2 | 416632 4250 230 380 104 230 46 48 194 6 18 Fagor X393021

H
- L2 L1
‘ :
B
|
1 2 - L -
Ita L1 B1 HD Gl . .

No. Part No. powey vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) windings suitable for equiv. no.
1 415716 2000 230 290 130 160 23 19 35 2 FriFri 1145031
2 | 418350 2300 230 293 195 136 23 84 40 2 Valentine 9021-61
3 | 416746 3000 230 300 185 180 23 78 40 2 Roller-Grill D02023

Ita L B H L1 B1 HD T . .

No. Part No. p((:‘mer vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) windings suitable for equiv. no.

1 415342 2000 230 213 202 155 38 85 40 3 Jinger 000445258
2 | 418643 3000 230 275 185 165 20 78 40 3 Fimar co117
3 | 416424 3200 230 297 180 161 28 81 34 3 FriFri 300915
4 | 418818 3280 230 320 190 170 39 79 56 5 Giorik 6002054

4

B

'

- L3 =L2L1=
ower oltage L B H L3 B2 HD - . .

No. Part No. p(vv\;) v (V)g (mm) (mm) (mm) (mm) (mm) (mm) windings suitable for equiv. no.

1 415233 2000 230 280 125 170 205 28 25 2 EGO 20.40066.000
Fimar C01116

2 | 416744 2000 230 282 120 175 210 28 40 2 Roller-Grill D02010

3 | 416743 2000 230 285 118 142 210 28 40 2 Roller-Girill D02018

4 418817 2000 230 285 137 172 230 37 28 3 Giorik 6001129
Acopa 11020

5 418531 2000 230 296 120 170 212 27 40 2 VEGA -

6 416745 2500 230 285 125 177 210 28 40 3 Roller-Girill D02069




ELECTRIC

fryer heaters  Heating elements

- L3 -2
ower oltage L B H L3 B2 HD " o q
No. Part No. p(\XII) ‘ v (v)g (mm) (mm) (mm) (mm) (mm) (mm) for equiv. no.
7 415234 3000 220 - - - - - - 3 IME Turbo 202015
Acopa 11030
8 418501 3000 230 280 191 164 230 31 40 3 IME Turbo TF8/TF2x8
VEGA 93178
9 415719 3000 230 290 179 148 210 19 34 4 FriFri 09-26
10 | 418351 3000 230 293 200 135 240 28 40 5 Valentine 9022-61
1" 416423 3200 230 295 127 162 250 18 34 3 FriFri 300914
12 | 418833 3600 230 295 180 175 235 22 40 4 Roller-Grill D02070
i
H
1
1 2 3 4 L =
ower voltage L B L1 B2 FL HD 0 0
No. Part No. p(w) (v)g HC (mm) ‘ (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416739 3800 230/400 3 280 185 170 20 85 115 22 103 Roller-Girill D02025
2 416740 6000 230/400 3 292 186 170 28 85 115 23 103 Roller-Girill D02027
3 418352 6400 230/400 3 285 278 170 20 94 115 22 103 Valentine 9024-54
B
H
1
1
B1
1
B2
1
1 2 - t -
ower voltage L1 HD FL P n
No. Part No. P (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415444 6000 230/400 3 272 206 220 20 54 168 24 Palux 008591
2 | 415753 6000 400 3 324 195 265 64 27 9 40 oo -
ielmann
i
H
L
ower voltage L B H L1 B2 H1 - HD n n
No. Part No. P (V)g HC (mm) (mm) (mm) (mm) (mm) (mm) windings (mm) suitable for equiv. no.
EKU 1-W-218
1 415090 5500 230/400 3 320 200 210 13 38 185 12 95 Mareno 1037039900
EKU 4-102
2 415963 7250 230/400 3 330 194 212 20 68 177 12 95 Mareno 1037301615

591

12

Heating elements



Heating elements  fryer heaters ELECTRIC

- L -
No. Part No. pm)er vo(lsn)ge HC (ml}n) (n?m) (nrlm) (r:1-r1n) (nB“Zn) (r:::n) suitable for equiv. no.
1 415743 3750 230/400 3 284 203 164 19 75 140 FriFri 09-05
EGO 20.24338.602
2 415230 4500 230/400 3 260 115 225 25 55 200 IME Turbo 202006
3 418461 6000 230/400 3 357 208 210 7 74 178 Salvis 178871
EGO 20.24339.602
4 415229 9000 230/400 3 261 238 223 25 55 200 IME Turbo 202004
Ita L1 B2 H1 HD o 5
No. Part No. pm)er voMge HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417338 6000 230/400 3 270 188 265 28 82 230 120 Star10 071069
2 418269 7500 230/400 3 310 180 260 70 75 225 120 Star10 071028
i [}
H1 H
IZ.  o— ]
- L2 =L1=
- P -
A
—_—
f—§ 8
o
—)
S —
1 - L -
ower voltage L B H L1 H1 FL FW HD cable length . 0
No. Part No. p(W) (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)g suitable for equiv. no.
1 418532 6900 230/400 3 350 215 242 18 210 250 30 85 320 Gastrofrit 306010.024
12
1
ower voltage L B H L3 B2 H1 H2 HD p 5
No. Part No. p(W) (V)g HC ‘ (mm) (mm) (mm) ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418713 9000 230/400 3 395 135 267 320 90 40 195 121 Olis 9000482
2 418710 13000 230/400 3 385 200 265 315 92 30 200 122 Olis 9000483

Heating elements

592



ELECTRIC

fryer heaters

Heating elements

ower oltage L B H L3 B2 H1 H2 o 5
No. Part No. pows v (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415898 7500 400 3 335 135 340 308 98 28 280 106 Ambach 5060811194
i
H
L]
1
_B1
B2
i
1 2
ower oltage L B H H1 FL FW cable length P n
No. Part No. POV A (v)g ‘ HC (mm) (mm) (mm) (mm) (mm) (mm) (mm)gt suitable for equiv. no.
Kuppersbusch 540441
1 418263 7200 230/400 3 360 150 220 - 75 30 - Thielmann 144187
2 416517 13500 230/400 3 340 255 250 21 280 40 1550 Giga Y10300
1
ower oltage L B H L1 H3 a n
No. Part No. p(v"\;) v (v)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 054923
1 416992 9500 230/400 3 405 246 390 105 45 Zanussi 054923
with rotation flange
- —L
No. Part No. powey vo(lsa)ge HC (mm) (mm) (mm) (nl;:n) (nl;lzn) (::1) windings suitable for equiv. no.
1 415685 5000 400 3 445 185 277 180 285 113 4 Juno 214461
2 | 415684 | 5010 400 3 384 | 225 | 245 84 300 | 148 4 Electrolux 0700214324
Juno 214266
Electrolux 0H6192
3 415490 5100 230/400 3 345 168 246 70 275 137 6 Juno 0H6192
Krefft 01-214567
4 415752 6000 230/400 3 345 175 280 55 290 160 5 Haas + Sohn 19117
5 | 415484 6000 230/400 3 | 367 | 175 246 90 277 75 6 H?ﬁ.s + Sohn -
ielmann -
6 415745 6000 400 3 365 180 246 85 280 80 6 Imperial - Germany 8019117
Electrolux 0H6203
7 415611 7200 230/400 3 350 168 249 62 288 100 6 Juno OH6203

593

12

Heating elements



Heating elements fryer heaters

ELECTRIC

No. Part No. power vo;t\gge HC (mLm) (mBm) (mHm) (rrl;:n) (nB"Zn) (n':rzn) windings suitable for equiv. no.
1 415590 6000 230/400 3 395 175 275 145 97 25 12 Kippersbusch 182397
2 418226 6500 230/400 3 370 185 255 90 107 27 9 Malag 144436
EGO 20.27543.010
3 418630 7000 400 3 375 170 255 105 100 25 12 Wamsler 00011110092
No. Part No. pt(w)er vo:l\:)ge HC (ml'm) (mBm) (mHm) ("I;:n) (rErzn) (r:;) windings suitable for equiv. no.
Bertos 22016200
1 415257 6300 230/400 3 300 182 252 65 134 32 12 Giga X46200
Silko 0109025
2 416409 7500 230/400 3 315 170 190 60 135 25 15 Giga X57000
- L -
No. Part No. P‘(’v‘:,')er vo(lba)ge suitable for equiv. no.
1 418870 3200 230 Giga Y01100
with round flange @47.5mm
L. |
=
12 |
f 1 A75mm
=)
o A =
o ~ L2 L1~
[=
[«})
£
% No. Part No. powey vo(l:la)ge HC ‘ (mm) (mm) (mm) (nl;:n) (r::n) tz‘r:;;’ suitable for equiv. no.
(=2} EGO 20.23850.000
-‘g 1 416941 9900 230/400 3 510 138 23 21 51 6.3 Kiippersbusch 181734
©
(7]
I

594



ELECTRIC

with screw connection

2 hole fixing
@ &
B B2
|
L |
! - L3 =121
- L -
No. Part No. power ‘ vog;n)ge (mLm) (mBm) TS t(l:,:::nf suitable for equiv. no.
1 418652 1700 230 290 130 A 8.5 Giga AERO001ZR10
Pt |
"
- . ‘
s -
y —--——m
- L -
No. Part No. p(()vv\;)er vo(l:la)ge (mLm) (mBm) (nrlm) TS t(ur::n)z windings suitable for equiv. no.
Emmepi 808620
1 416065 1333 230 283 40 27 M12x1 8.5 2 Giorik 6001139
Emmepi 809460
2 416064 3300 230 285 74 42 M12x1 8.5 5 Giorik 6001144
! T
H
i |
— |
- -L -
i
=)
=
No. Part No. pm)er vo(l%ge (ml‘m) ‘ (mBm) (mHm) TS tz‘::;;’ windings suitable for equiv. no.
1 415443 2000 230 324 62 200 M14x1.5 8.5 2 Palux -
2 416004 2700 230 240 208 125 Va* 8.5 4 Bertos 33024700
3 415920 2800 230 280 160 185 Va* 8.5 4 Elframo 00033120
4 416006 3100 230 270 215 131 Va* 8.5 4 Bertos 33024800
5 416005 3450 230 260 200 167 Va* 8.5 4 Bertos 33024900
6 416007 3500 230 290 190 153 Va* 8.5 4 Bertos 33025600
i
4 H
1
z L)
- B1
B : B2
CE . -"
1 (:ﬁ
1 2
No. Part No. p‘("ﬁ)e 4 vo:!\:)ge (ml;n) (mm) (mm) (:Jn) ("B|:|) TS t(u"l:;;: windings suitable for equiv. no.
Ambassade 6537366
1 418488 2800 230 343 180 152 66 44 M12x1 8.5 4 Bartscher 06537366
2 416659 3000 230 250 175 197 35 95 Va* 8.9 3 Tecnoinox 00772

595

12

Heating elements



Heating elements  fryer heaters ELECTRIC

i
H
L]
No. Part No. p?w)wer vo(l\'gge (mLm) (mBm) (mHm) TS '(un!:ISnf windings suitable for equiv. no.
1 418357 2333 230 268 94 190 Va* 8 4 Valentine 5185
2 | 418356 2500 400 268 84 190 Va* 8.5 4 Valentine 5184
3 | 418354 3600 230 370 138 190 Va" 8 6 Valentine 5181
4 | 418355 3600 400 268 145 190 Va* 8.5 6 Valentine 5182
i i
H1
H
1
i / 1
- 2 -
v
B "
m—
1
Itay L B H H2 tub " .
No. Part No. p?‘)'v’)er vo(v)ge (mm) (mm) (mm) (mm) TS ;‘m:n)a suitable for equiv. no.
1 416411 2500 230 290 55 165 35 Va" 8.5 Giga Y19600
[} [}
H1
H
r
H2
i A ¥
- [:= -
— ®
-
y ————
It: L B H H2 tub P . .
No. Part No. p?‘x’l)er vo(va)ge (mm) (mm) (mm) (mm) TS (um;)u windings suitable for equiv. no.
Electrolux 004926
1 415291 2000 230 250 45 190 36 Va" 8.5 3 Tecnoinox 00282
Zanussi 004926
Ascobloc 9294087
Krefft 49-182651
2 | 415591 2000 230 285 40 240 40 M14x1.5 8.5 3 Kiippersbusch 182651
Palux 150711
Baumeister 7300000148
3 415423 2000 230 320 40 215 40 M14x1.5 8.5 3 EGO 20.26704.000
MKN 572118
Krefft 49-182652
4 | 415978 3000 230 288 48 243 38 M14x1.5 8.5 3 Kiippersbusch 182652
1 2 Palux 155268
5 | 416084 3000 240 370 45 270 42 M12x1 8.5 3 Gico 290203710
6 | 417447 3300 230 220 90 287 50 Va* 8.5 6 Olis 9000475
» 7 415728 3300 230 315 33 216 46 M14x1.5 8.5 3 MKN 572124
‘g 8 | 415769 3300 230 320 80 220 42 M14x1.25 10 5 MKN 572121
E 9 415779 3300 230 323 70 222 42 M14x1.25 10 4 MKN 572128
()
° 10 = 418251 3500 400 192 74 213 38 M14x1.5 8.5 6 Haka 9036
g’ " 415815 3560 230 490 35 260 40 M14x1.5 8.5 3 MKN 572135
© 12 | 416660 3600 230 280 68 240 36 Va* 8.5 5 Tecnoinox 01276
w !
I 13 | 415631 4000 400 300 68 178 45 Va* 8.5 6 Haka 9048
14 | 416803 5500 230 320 78 282 52 Va* 8.5 7 Olis 9000510
15 | 415632 6000 400 242 122 218 40 M14x1.5 8.5 10 Haka 9049

596



ELECTRIC iryer heaters  Heating elements

No. Part No. P?,Xl')er vo(l:ia)ge (mLm) (mBm) (mHm) (rﬁrzn) (nr:rzn) TS t(ur:em;a suitable for equiv. no.
1 415962 2000 230 318 58 200 40 45 M12x1 8.5 Mareno 1037314944
2 415961 3000 230 325 54 206 37 42 M12x1 8.5 Mareno 1037313044
L]
H1
i
H2
s
H3 (C————
N
i
B
L]
- L- -
No. Part No. p?‘ﬁfr vog,a)ge (ml;“) (mBm) (mHm) (nl;:“) (:'2") TS tz.u"l:;)o suitable for equiv. no.
1 416101 2100 240 260 70 270 12 220 M12x1 6.3 Gico 260200360
2 416102 3000 240 249 45 265 17 180 M12x1 6.3 Gico 270203150
3 416103 3000 240 415 43 335 35 150 M10 6.3 Gico 290200280
i B
H1
I L e H
| | ————————
H ——
- L
- L- -
[ =
8 (C j}z
No. Part No. pt()vv;)er vo:t\?)ge (ml;“) (mBm) (mHm) ("’:ﬁ‘) TS t;",:;)" windings suitable for equiv. no.
1 416086 3000 230 210 50 230 68 M12x1 8.5 6 Gico 270203790
2 416085 3000 240 228 50 246 66 Va* 8.5 5 Gico 270204600
3 416083 4500 230 325 50 235 55 M12x1 8.5 6 Gico 290203840
1
H1
A
H2
H3
E
12
]
[
2
ta L1 H2 tub " .
No. Part No. p?‘x,';’r vo(v)ge (mm) (mm) (mm) TS ("m?n)" suitable for equiv. no. E
Bartscher 08208200
1 416800 2300 230 340 42 210 24 130 M14x1.5 8.5 Olis 8208200 %
2 416804 3300 230 331 41 260 14 170 Va* 8.5 Olis 9000509 o)}
c
=
(1]
()
I

597



Heating elements  fryer heaters ELECTRIC

H
=
— 1
b- L2 ol 5 ol
'
| £ 5
B =
'
- 1 -
No. Part No. P?v‘:,')er vo(l:la)ge (mLm) (mBm) (n:'m) (rlr;:n) TS t(ur::l;! windings suitable for equiv. no.
M Pieffe 0013
1 418462 1250 230 293 69 178 25 Ya 8.5 2 Saro 172-5000
2 | 415921 1260 230 300 48 220 22 Va" 8.5 2 Elframo 00033130
3 | 416151 1600 230 303 68 192 20 M12x1 8.5 2 Faba PR70002
4 415474 1660 230 288 66 242 25 M14x1.5 8.5 2 Palux -
5 | 415640 1700 230 280 55 212 17 M14x1.5 8.5 2 Herzog & Langen 345910532
6 416003 1800 230 270 137 15 25 M14x1.5 8.5 3 Bertos 33024600
7 | 416651 1800 230 388 127 172 30 M12x1 8.5 2 Lotus 537010800
Pieffe 0011
14
8 | 418445 2500 230 279 78 178 17 Ya 8.5 3 Saro 94-8010
9 | 416652 2500 230 390 192 170 29 M12x1 9 3 Lotus 537010900
10 | 416169 3000 230 290 160 185 18 Va" 8.5 4 Star10 071052
11 | 415441 3000 230 294 150 242 29 M14x1.5 8.5 3 Palux -
12 | 415740 3000 230 305 145 280 65 M14x1.5 8.5 3 Capito 63852
« Lotus 537003300
13 | 416648 3000 230 315 185 180 28 Ya 8.5 6 Whirlpool 771985009698
14 415365 3300 220 310 170 215 70 M14x1.5 85 4 Roka 8900332
15 | 415366 3300 220 325 175 240 82 M14x1.5 8.5 4 Roka 8900332
.
B
| ==
- L -
ta L B H L1 B2 tub - . .
No. | PartNo. pm’fr vo(v)ge (s, ‘ ) (o, (o, o) z‘m;;’ TS windings suitable for equiv. no.
1 415628 3000 230 308 174 254 46 74 8.5 M14x1.5 6 Haka 9002
2 415731 4500 400 293 152 270 48 72 8.5 M14x1.5 4 Capic -
3 415629 4500 400 310 186 260 62 90 8.5 M14x1.5 7 Haka 9003
4 | 415630 6000 400 296 250 255 46 185 8.5 M14x1.5 8 Haka 9004
- —m
-~
H
—————————— '
12 - 2 -1
bV (——————— ] B‘T
= =¢
9 P= = ; 8'2
c ﬁ»
c v {
(]
E - L -
&
[} ower oltage L B H L1 B2 o . ]
o No. Part No. p(vv\;) v (v)g (mm) (mm) (mm) (mm) (mm) TS windings suitable for equiv. no.
-‘g 1 416168 2500 230 222 154 175 25 76 Va* 4 Star10 071077
©
% 2 416167 2500 230 275 157 185 17 90 Va* 3 Star10 071055.1
3 | 416587 2500 230 300 154 158 22 28 M13x1 4 RST - Fiamma 4.0.085.0005
4 | 416150 2800 230 298 189 152 20 65 M12x1 4 Faba PR70001
5 = 418665 5000 230 473 250 190 23 145 Va* 4 RM-Gastro 401003000

598



ELECTRIC

fryer heaters  Heating elements

il

| A com— '

|

=L,
=T

L3-

~L2L1=
L

1 2 =
ower oltage L B H L3 B2 H2 n n
No. | PartNo. p(v"\;) v (V)g MP ) ) ) (i) (i) ) TS suitable for equiv. no.
1 418368 2000 230 left 285 160 210 225 65 175 M14x1.5 MKN 572099
2 418366 2000 230 centre 260 260 223 200 84 190 M14x1.5 MKN 572098
3 418367 2000 230 right 285 160 210 225 65 175 M14x1.5 MKN 572097
S
H
v
- L -
1
er oltage L B H L1 H1 o n
No. Part No. p‘(’v"\;) ‘ v (V)g (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 416081 3800 230 286 173 190 19 163 Va* Giga X47200
1 2 - L -
No. Part No. pover poliage (ml;“) (mBm) (mHm) (r:;:n) ‘ (:;) (ntl;) TS suitable for equiv. no.
1 415721 2100 230 292 107 200 25 65 162 Va* CF 63.7.1064
2 415284 3400 230 301 185 185 22 85 165 Va* Tecnoinox 00067
1 5 - L -
power voltage B H L1 B2 H1 q .
No. Part No. (V)g HC (mm) (mm) ’ (mm) (mm) (mm) (mm) T8 suitable for equiv. no.
1 415792 6000 230/400 3 290 198 245 65 74 228 Ya" Roka 8900350
2 418237 9900 400 3 326 342 242 68 213 225 M26x1.5 Roka 8900351

599

12

Heating elements



-
N

Heating elements

Heating elements fryer heaters

ELECTRIC

H
———————
Hz I
— / 1
- L2
s ]
{ 3]
? ;‘)f’_’:_mm
| e o
ower oltage L B H L1 H1 tube o . o
No. Part No. pow v (v)g (mm) (mm) (mm) (mm) (mm) TS (l:nm) suitable for equiv. no.
1 415285 1200 230 295 55 185 20 154 Va" 8.5 Tecnoinox 00073
2 | 415286 1500 230 299 50 180 22 148 V' 8.5 Tecnoinox 00075
3 416117 1500 230 305 45 205 30 180 M10x1 6.5 Gico 293202090
4 | 415287 2000 230 298 50 183 22 144 Va* 8.5 Tecnoinox 00142
5 415282 2200 230 295 70 183 20 148 Va* 8.5 Tecnoinox 00049
6 | 415283 3000 230 290 78 185 18 155 Va* 8.5 Tecnoinox 00054
[}
H
L]
No. Part No. p?‘)'v’;" v°(|§7)9° (ml;“) (mm) (mm) ("I;;I“) (nl‘:r1n) TS l;'"l:;f windings suitable for equiv. no.
1 416801 1700 230 280 30 365 12 300 Va* 8.5 3 Olis 9000502
2 | 415207 2185 230 325 35 320 29 275 Va* 8.5 3 Silko 0108020
3 | 415976 2300 230 210 66 316 34 274 M14x1.5 10 4 Mareno 1750000
Modular 66500100
4 | 415929 2500 230 263 40 205 23 165 M14x1.5 8.5 5 Multi 665028 neu
1 Electrolux 214774
5 | 415472 2500 230 300 45 270 33 232 Ya 8.5 4 Juno 214774
Electrolux 0K0569
6 | 415498 2500 230 315 40 275 35 235 M12x1 8.5 4 Juno 0K0569
« Giga X46500
7 | 416055 3000 230 335 65 223 20 180 Va 8.5 4 Silko 0109021
8 | 416802 3300 230 295 75 340 15 295 Va* 8.5 6 Olis 9000498
9 416830 3670 230 290 85 312 28 272 Va* 8.5 6 Silko 0108021
Electrolux 0K0526
10 = 415667 4220 230 507 45 345 17 308 M12x1 8.5 5 Juno 0KO0526
11 415986 5000 220 346 58 330 26 288 M14x1.25 10 5 Mareno 1464000
12 | 416783 5500 230 250 60 250 22 206 M14x1.5 8.5 6 Elframo 00033154
13 | 418497 5500 230 318 104 315 24 270 Va" 8.5 8 MBM ltalien RTBF800162
i i
H1
< H
| -
H2 | |
— N |
I C :
B W/ —
| s
- L -
ower voltage I8 B H L1 H1 tube o o o n
No. Part No. P ) (V)Q (mm) (mm) (mm) (mm) (mm) TS (mm) windings suitable for equiv. no.
1 416576 2500 220 285 98 214 20 174 M12x1 8.5 5 Mareno 1037305600
2 416577 3500 230 288 146 210 23 165 Va* 8.5 6 Mareno 1037305700

600




ELECTRIC fryer heaters Heating elements
H1
L
H2
i
r
B
i
L -
ower oltage L B H L1 H1 tube o o " .
No. Part No. p(vv\;) v (v)g (mm) (mm) (mm) (mm) (mm) s (l:nm) windings suitable for equiv. no.
1 415422 2000 230 300 40 240 20 195 M14x1.5 8.5 3 MKN 572064
Electrolux 0H6180
2 | 415470 2000 230 320 36 265 36 215 M12x1 8.5 3 Juno OHE180
415566 2000 230 325 42 275 30 235 M12x1 8.5 3 Ubert 343104
4 415746 3300 230 320 40 250 20 210 M14x1.5 8.5 3 MKN -
i
H1
L]
H2
p
i
B
1
ower voltage B H L H1 tube o Ty P n
No. Part No. p(W) MQ (mm) (mm) (mm) (mm) (mm) TS (mm) windings suitable for equiv. no.
1 415626 2500 400 242 70 257 50 220 M14x1.5 8.5 5 Haka 9000
2 | 415627 3500 400 230 74 258 48 221 M14x1.5 8.5 6 Haka 9001
i '
H1 H
| £
H2 !g “_\.__\_x: \11 ) '
it 4
b L2 =L
B e
2
- L -
Ita B H L1 H1 tub fr . .
No. Part No. P‘(J‘x’lff vo(v)ge (mm) (mm) (mm) (mm) (mm) TS (umren)g windings suitable for equiv. no.
1 415819 3300 230 339 68 235 17 200 M14x1.5 8.5 5 MKN 572049
12
Ita B H L1 H1 tub for . .
No. Part No. powey V°M9° (mm) (mm) (mm) (mm) (mm) TS ;"m,e")” windings suitable for equiv. no.
1 415764 3300 230 320 138 182 56 145 M14x1.5 8.5 6 MKN 572168

601

Heating elements



Heating elements  fryer heaters ELECTRIC

ower oltage L B H L1 B2 H1 tube & oo . e

No. Part No. p(w) v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (umm) s windings suitable for equiv. no.
1 415969 2400 230 212 74 310 42 50 263 10 M14x1.25 5 Mareno 1982700
2 415990 5800 230 343 110 328 28 55 283 10 M14x1.25 7 Mareno 1982900

B
b4
- L -
1
No. Part No. pm)er ‘ vogla)ge (ml;n) (mBm) (mHm) (nl;:“) (I;B"%‘) ('E:“) t(“nl:'en;’ TS windings suitable for equiv. no.
1 418857 2500 230 290 155 198 44 55 162 8.5 M14x1.5 5 MKN 572088
'y T i
H1 H
L]
- 12 L=
B LQ)!_MI
1
- L -
No. Part No. pm)er ’ vog?)ge (mLm) (mBm) (mHm) (nl;:n) (rmn) TS '(l::l’;lf suitable for equiv. no.
1 415720 1250 230 275 40 210 15 165 Va" 8.5 CF 63.7.1068
2 416053 1335 230 317 42 190 27 160 Va* 8.5 Giga X46100
[
H
v
i L2 =L1=
Le—————m
B _(C —
i
e L -
1
12
‘ No. ‘ Part No. ‘ px(av\:,l)er ’ vo(l:’a)ge ‘ (ml;“) ‘ (m?n) ‘ (mHm) ‘ (r:|-|1'n) ‘ (r:l:n) ‘ TS ‘ t(l:,:]’fnf ‘ suitable for ’ equiv. no. ‘
1 418597 2500 230 460 33 275 45 220 % 85 Angelo-Po 32G0060

Heating elements

602



ELECTRIC iryer heaters  Heating elements

1
ower oltage L B H L1 B2 H1 tube o . n
No. Part No. p(#) v (V)g (mm) (mm) (mm) (mm) (mm) (mm) TS (umm) suitable for equiv. no.
1 416588 4700 230 480 90 230 60 25 415 Va* 8.5 Angelo-Po 32G0100
i
H
v
1
er oltage L B H L1 H1 tube o " .
No. Part No. p‘(’v"\;) ‘ A (V)g (mm) (mm) (mm) (mm) (mm) TS (l:-nm) suitable for equiv. no. ‘
1 415089 1850 240 355 38 287 21 240 Va* 8.5 Mareno 132522 ‘
& i -1 i
H1 H
by - - T
H2 iJ) J '
- L2 -L1=
o __‘);m
=
s
- L -
ower oltage L B H L1 H1 tube o " .
No. Part No. p(VV) M Mg (mm) (mm) (mm) (mm) (mm) TS (umm) suitable for equiv. no.
1 416649 2000 230 328 110 196 30 170 M12x1 8.5 Lotus 537003700
2 416650 2000 230 405 89 198 29 169 M12x1 8.5 Lotus 537004300
No. Part No. pt()‘}rvl)er ‘ vogla)ge (mLm) (mBm) (mHm) (nl;:n) (er1n) TS tzjnl:?n;, windings suitable for equiv. no. 1 2
1 415704 1800 230 310 60 200 30 160 M12x1 8.5 4 Lotus 537003500
2 415180 2050 230 305 53 245 30 210 Va* 8.5 4 Angelo-Po 32G1241
3 415924 3000 230 297 86 243 22 207 Va" 8.5 4 Elframo 00033142 ﬂ
4 416172 3000 230 300 80 255 43 215 Va* 8.5 4 Star10 071005 g
5 416891 3000 230 362 80 240 57 192 e 8.5 4 Euroteo 161879 o
orved 3108 °
416782 3300 230 395 85 245 23 210 Va" 8.5 4 Elframo 00033150 o)}
c
7 416892 4000 230 347 85 235 47 195 Va" 8.5 4 Forved 3108A -g
8 418621 5800 380 380 115 265 15 215 Va* 8.5 6 Elframo 00033161 %

603



Heating elements fryer heaters

ELECTRIC

ower oltage L B H L1 H1 tube o . o
No. Part No. pow! v (V)g (mm) (mm) (mm) (mm) (mm) TS (umm) suitable for equiv. no.
1 416052 3500 230 260 155 207 25 167 Va* 8.5 Giga X46000
i =
i ]
H:2 L E
- L2 -L1-
R —
B B2
' =
ke L J
No. Part No. pm;ar vo(l:la)ge (ml}n) (mBm) (mHm) (nl;ﬁ,') (::1) TS t(unl::n;; suitable for equiv. no.
1 418654 2100 230 270 120 200 255 155 Va* 8.5 RM-Gastro 401001000
2 415705 2500 230 285 104 205 265 169 Va" 8.5 Lotus 537003100
3 418669 3000 230 270 110 200 255 160 Va* 8.5 RM-Gastro 401002000
4 418671 3000 230 300 120 215 250 180 Va* 8.5 RM-Gastro 401002520
b . X
H1 y
v
e ,
- L2 =L1=
Vo ———————m
L 2 -
v 3
- L -
No. Part No. pml)e d vo(l:,a)ge (mm) (mm) (mm) (r!l-m) (r:':n) (nr:rzn) s t(u"l::";! windings suitable for equiv. no.
1 416890 1670 230 360 85 233 300 200 48 A 8.5 3 Forved 3111
« Giga X46600
1
2 416054 1700 230 320 70 215 295 177 38 Va 8.5 3 Silko 0109022
3 416889 2000 230 310 73 225 270 190 36 Va* 8.5 3 Forved 3966
4 415923 2000 230 315 74 250 295 214 36 Va" 8.5 2 Elframo 00033141
12
i pum |y | 1]
H1 H
1
H2 - 7 '
i) tL L2 L,
(= i
5 —r
[ I (— B1
() 5
G ="
o - t -
c
.‘g
% No. | PartNo. P‘(w)e' ’ "°g,a)9° (ml;n) (mBm) (mHm) ‘ (rlnfn) (::1) ("’1';‘;) s ';'“2:1;' windings suitable for equiv. no.
1 418655 3000 230 275 175 200 260 160 40 Va* 8.5 5 RM-Gastro 401002500
2 415722 3000 230 280 180 200 255 160 40 Va" 8.5 6 CF 63.7.1067
3 418670 3000 230 310 175 220 260 180 40 Va* 8.5 5 RM-Gastro 401002510
4 416888 3500 230 300 115 232 272 190 42 Va" 8.5 5 Forved 3955

604




ELECTRIC

-

fryer heaters  Heating elements

It: L B H L2 H1 H2 tub AT n .
No. Part No. pm)er vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) G ;!m'en)a windings suitable for equiv. no.
418914 4000 230 500 63 290 380 245 55 Va* 8.5 Bonnet 322523
i i
H
! b §
L L o
ower oltage L2 L H1 H3 tube o " .
No. Part No. pow! v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) (umm) TS suitable for equiv. no.
1 415712 1800 230 294 48 290 30 234 70 50 6.3 1/8* Silko 0101499
2 415713 2000 220 465 40 205 55 350 35 41 8.5 M14x1.5 MKN 572069
i i
H1 /
1
H2 H
I
H_3
I T
-2 *Ll -
* I |}
B ———— 2
b e — —— i |
- L -
power voltage L L2 L3 H1 H3 tube o 0 o
No. Part No. w) (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
Electrolux 052326
16
1 416997 4000 230 415 95 340 57 330 60 60 8.5 v Va Zanussi 052326
Electrolux 054650
16
2 418001 5000 230 430 80 345 65 335 66 66 8.5 Va Zanussi 054650
'y
H
b
i
B
L - 1
- L -
Ita L B H2 H3 tub . .
No. Part No. powey voMge (mm) (mm) (mm) (mm) (mm) (mm) (umfn)" G suitable for equiv. no.
1 418957 4000 230 475 80 280 370 210 35 6.5 M12x1 Capic E152009
i
H
) Al
i
B
T
- L -
ower oltage L B H L3 B2 H2 H3 tube o " .
No. Part No. pow v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) (l:-nm) TS suitable for equiv. no. ‘
1 416741 4000 230 465 82 280 360 26 203 35 8 M11x1 Roller-Girill D02028
2 416742 6000 230 460 86 290 370 46 220 50 8 M11x1 Roller-Grill D02099

605

12

Heating elements



Heating elements  fryer heaters ELECTRIC

No.  PartNo. P "°('§,a)9° (m';n) (mBm) (m“m) (r!‘-fn) (m‘) 5 ‘("r::‘;’ windings suitable for equiv. no.
1 415710 2000 230 370 30 235 355 40 M14x1.5 8.5 3 MKN 572076
2 417160 6000 230 380 90 355 295 52 M15x1.5 10 6 Fagor X183021
3 416611 6000 230 415 100 450 350 52 M15x1.5 10 6 Fagor X183000

ower oltage L B H L2 B2 H3 n o

No. | PartNo. pow ‘ g (v)g MP (mm) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.

1 416603 4000 230 right + centre 300 85 300 260 44 50 M14x1.25 Fagor X323001

2 416548 4000 230 right + centre 300 85 300 260 44 50 M14x1.25 Fagor X323009000

It L B H L2 B2 H3 . .
No. Part No. pm)er vo(va)ge ‘ MP (mm) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 417166 4000 230 left 285 90 290 260 45 45 M14x1.25 Fagor X323002
12
()
)
=
[}
£
2
()}
(=]
c
.‘g
(] 2
= | L B H b
t t . .
No. Part No. P‘(’v‘:,')er vo(va)ge MP (mm) (mm) (mm) (‘:nﬁl;’ TS suitable for equiv. no.
1 418313 3300 230 left 500 335 170 8.5 M14x1.5 MKN 572027
2 418311 3300 230 centre 490 300 190 8.5 M14x1.5 MKN 572026
3 418312 3300 230 right 500 335 170 8.5 M14x1.5 MKN 572025

606



ELECTRIC iryer heaters  Heating elements

ower voltage L B H L3 H1 H3 H4 n q
No. Part No. p(w) (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 415985 3000 220 350 55 330 218 95 125 40 M14x1.5 Mareno 1463900
2 415989 3000 230 345 65 325 220 96 130 44 M14x1.25 Mareno 1982800
I . -
X ﬂ
i —
H
H2
| A
mc——— ||,
= 13 2w T

Ita I8 B H L3 H1 H3 a n
No. Part No. P?vwl;ﬂ‘ vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) T8 suitable for equiv. no.
1 418760 1750 230 415 35 260 315 30 24 M13 Angelo-Po 32G0130
8 hole fixing

1 - L -
ower voltage L B H L1 H1 H2 H3 tube o n o
No. Part No. p(W) (V)g ‘ (mm) (mm) ’ (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 20.35842.000
1 418859 18000 440 350 255 325 50 40 235 45 8.5 Oztiryakiler 6246.00047.00
6 hole fixing ——
e
- L -
'_ i ﬂ 'B".I
= - i
B B) B2
( @ 1
| 2.
1 - L2 L1 -
Ita L B H L1 B2 n .
No. Part No. pm)er V°M9° HC (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no. 1 2
1 416799 5500 230 3 297 168 31 47 90 M12x1.5 Olis 8217600
(7]
i
=
(]
£
K-
()
(=]
c
=
(1]
()
I
ower oltage B H B1 H1 H2 . o
‘ No. Part No. p(vv\;) u (v)g HC (mm) (mm) (mm) ‘ (mm) ‘ (mm) (mm) T8 suitable for equiv. no.
1 416810 6000 230/400 3 320 175 205 5 165 40 M12x1 Mareno 1037317100
2 416811 9000 230 3 320 175 205 5 165 40 M12x1 Mareno 1037317200

607



Heating elements fryer heaters

ELECTRIC

[

with screw flange

No. | PartNo. power vo:sn)ge HC MP TS (mLm) (mBm) (n:'m) (“I;:n) (:;‘:1) t(“nl:;;’ suitable for equiv. no.
1 415371 | 8000 230/400 3 left M26x1.5 555 177 27 20 15 17x6 Electrolux OHB194
Juno 0K0622
. Electrolux 0K0621
2 | 415370 = 8000 230/400 3 right M26x1.5 555 177 27 20 15 17x6 e OKOB21
with rotation flange
side connection with thread
-~ 2=l FIF2,
[ i
Wt o [0
i Ty Ny
- L - Al
No. Part No. Bowey vo(l%ge HC MP (ml'm) (mBm) F Fol Fo2 sC TS windings suitable for equiv. no.
1 | 416813 | 10500 = 230400 | 3  right =320 | 240 21 63 575  2x M10x1 M54x1.5 5 Mareno CM032101
2 | 416814 | 16500  230/400 3  right 400 315 23 | 63 575  2x M10x1 M54x1.5 6 Mareno CM032401
1 2
No. Part No. Description
1 550662 | nut M54x1.5 H 7mm
2 550496 | O-ring Viton thickness 3.53mm int. @ 50.39mm
12
n
)
c
o
€
o
©
g’ No.  PartNo. power ‘ "°;{,a)99 HC | mP (m';“) () F Fol Fo2 5 windings suitable for equiv. no.
® 1 416909 | 6000 230/400 3 left | 300 185 20 | 51 36 M36x1.5 5 Palux 100056
L} .
"5 2| 416906 | 7000 230/400 3 left | 458 178 20 | 51 36 M36x1.5 4 Kiippersbusch 540618
| Palux 542326
3 416910 = 8000 230400 @ 3 | left = 300 = 185 20 51 36  M36x15 5 Kiippersbusch 540558
Palux 602051

608




ELECTRIC iryer heaters  Heating elements

1 2 3 4 5
No. Part No. Description
1 550674 | flat gasket Teflon D1 @ 46mm D2 @ 36mm
2 550673 | flat gasket Teflon D1 @ 46mm D2 @ 36mm
3 521004  hexagonal nut M36x1.5 A/F 46 H 14mm brass
4 692060 | retaining ring brass H 10mm int. @ 36mm
5 521005 | spring washer int. 2 40mm ext. @ 52mm
other
power voltage TSe LTS o o
No. Part No. W) (V)g HC MP (mm) (mm) F F2 Fo1 Fo2 (mm) (mm) suitable for equiv. no.
1 418077 19500 230/400 3 right 458 190 36.5 33.5 65 60 6 180 Lotus 537026800
1
No. Part No. Description
1 550494 | O-ring Viton thickness 3.53mm int. @ 47.22mm
center connection
&
B
L B,
12
]
H
T
[7]
i
=
No. | PartNo. "‘(’,}'v’f’ "°Rf)ge HC ) (G F F1 Fol Fo2 sc suitable for equiv. no. g
1 416559 5250 230/400 3 285 115 36 23.2 61.8 57.8 2x M10x1 MBM ltalien RTCU700592 %
2 | 418747 5250 230/400 3 288 115 36 23.2 61.8 57.8 2x M10x1 MBM ltalien RIC0003796 o
c
=
©
[
25

609



Heating elements  fryer heaters ELECTRIC

S O

No. Part No. Description

1 510243 | O-ring Viton thickness 3.53mm int. @ 55.56mm

2 510244  retaining ring shaft @ 60mm thickness 2mm steel

No. | PartNo. Pm)e' "°R,a)9" HC (mm) (mm) ‘ F Fol Fo2 sC TS suitable for equiv. no.
1 415297 6800 230/400 3 299 107 19.5 62 57 2x M10x1 M54x1.5 Silko 0108058
Baron 85326002136
Emmepi 808689
2 416063 6800 230/400 3 300 110 19.5 62 57 2x M10x1 M54x1.5 Giorik 6002136
Offcar 862033
Fagor FAG6000001
3 416824 7000 230/400 3 325 110 19.5 62 57 2x M10x1 Mb54x1.5 Giorik 6002150
1 2 3
No. Part No. Description
1 550662 | nut M54x1.5 H 7mm
2 510245 | O-ring Viton thickness 3.53mm int. @ 50.8mm
3 510243 | O-ring Viton thickness 3.53mm int. @ 55.56mm
off-center connection
with retaining rings
i
12
B
L 4 L
- L2 L1~
2 / FiF2
= - -t
Q L RS i)
£ W Ee— | |Fa1 }ez
2 L REA R
[} - L SR
g’:
"E No. Part No. pm)er voR,a)ge HC MP (mLm) ‘ (mBm) F F1 Fo1 (Tn?n:’) windings suitable for equiv. no.
T 1 418544 9000 230/400 3 left 285 205 36.2 235 61.8 9 5 MBM ltalien RIC0003795
2 418628 9000 230/400 3 right 285 205 36.2 23.5 61.8 9 5 MBM ltalien RIC0003794
3 | 418494 16000 230/400 3 left 336 252 36.2 235 61.8 9 6 MBM ltalien 160035

610



ELECTRIC iryer heaters  Heating elements

S O

No. Part No. Description
1 510243 | O-ring Viton thickness 3.53mm int. @ 55.56mm

2 510244  retaining ring shaft @ 60mm thickness 2mm steel

-

No.  PartNo. e "°R,a)9e HC NP ) () F F1 Fo (T,f"’f) windings suitable for equiv. no.
1 416408 12000 230/400 3 left 280 225 45 9.6 44.5 7 5 Giga Y17000
2 | 416407 15000 230/400 3 left 355 190 45 9.6 44.5 7 4 Giga Y14400
1 2 3 4
No. Part No. Description
1 528155 | O-ring Viton thickness 3.53mm int. @ 32.93mm
2 532544 | O-ring Viton thickness 3.53mm int. @ 37.69mm
3 532545 | O-ring Viton thickness 3.53mm int. @ 49.21mm
4 691621 | retaining ring shaft @ 40mm thickness 1.8mm
with thread
i
B
1
12
T
H
:
No.  PartNo. e "°g7)9° ‘ HC (m';“) ‘ (mBm) F Fol Fo2 sc 5 suitable for equiv. no.
1 416812 9000 230/400 3 360 170 21 63 57.5 2x M10x1 M54x1.5 Mareno 1037316600

Heating elements

611



Heating elements  fryer heaters ELECTRIC

O O

No. Part No. Description
1 550662 | nut M54x1.5 H 7mm
2 550496 | O-ring Viton thickness 3.53mm int. @ 50.39mm

No. Part No. pm)er voRla)ge HC (ml'm) (mBm) F Fol Fo2 sC TS windings suitable for equiv. no.
Baron 85326002137
Emmepi 808256
Giorik 6002137
1 416070 10200 230/400 3 300 180 19.5 62 57 2x M10x1 M54x1.5 5 MBM lItalien RTBF700101
Offcar 862029
Silko 0108057
2 416825 12000 230/400 3 326 180 19.5 62 57 2x M10x1 M54x1.5 5 Giorik 6002151
Baron 85326002138
Emmepi 808046
3 416059 15000 400 3 305 290 19.5 62 57 2x M10x1 M54x1.5 8 Giorik 6002138
Offcar 862021
| Silko 0108064
4 416826 16500 230/400 3 325 255 19.5 62 57 2x M10x1 M54x1.5 7 Giorik 6002152
5 416560 18000 230/400 3 300 290 19.5 62 57 2x M10x1 M54x1.5 8 MBM ltalien RTBF800318
1 2 3
No. Part No. Description

1 550662 | nut M54x1.5 H 7mm
2 510245 | O-ring Viton thickness 3.53mm int.  50.8mm
3 510243 | O-ring Viton thickness 3.53mm int. @ 55.56mm

-
N

(2}
)
= B
€ t
o | B2
(] 1 311
o - L2 =L1=| FlF2
c ELF2
= ' I I
g 2 rﬁ" Fel :]INFEZ
I & | op iy
e L - Fle
No.  PartNo. b "°:§,a)9° HC MP (m'-m) ‘ (mBm) F Fol Fo2 sc TS suitable for equiv. no.
1 418835 6800 230 3 left 370 450 19 62 57 2x M10x1 M54x1.5 Giorik 6002143

612



ELECTRIC iryer heaters  Heating elements

No. Part No. Description
1 550662 | nut M54x1.5 H 7mm

2 510245 | O-ring Viton thickness 3.53mm int.  50.8mm
3 510243 | O-ring Viton thickness 3.53mm int. @ 55.56mm

other

[ | FIF2
==
i —| & D "
Fal Fo2
- o - ol Iy
ol
No. | PartNo. "‘(’v",;)e’ "°('§;")9° HC MP (m'-m) (mBm) F F2 Fol Fo2 sc suitable for equiv. no.
1 415883 4500 230/400 3 left 272 120 25 22 35 32 M12x0.75 IME Turbo TURO00041619
2 415884 4500 230/400 3 right 272 120 25 22 35 32 M12x0.75 IME Turbo TUR00041620
1
No. Part No. Description
1 520249 | shaft seal
i
8
1
T
H
i
12
No.  PartNo. e "°g7)9° HC | wP (m';n) (mBm) ‘ F F2 Fol Fo2 (Trf";') windings | suitable for equiv. no.
1 416525 9750 230/400 3 left 305 220 36.5 33.5 65 60 6.5 6 Lotus 537021301
2 416526 13500 230/400 3 left 340 300 36.5 33.5 65 60 6.5 8 Lotus 537021400

Heating elements

613



Heating elements  fryer heaters ELECTRIC

O

No. Part No. Description

1 550494 | O-ring Viton thickness 3.53mm int. @ 47.22mm

=

- ~~_i|. T
r=—==I[}
| 1

- L -

1 -F =
No. Part No. p%er vomge HC MP ‘ (ml:'n) ‘ (mBm) ‘ F ‘ (;Bm) (Tr:r:) suitable for equiv. no.
1 416589 18000 400 3 left 395 270 20 53.5 7 Angelo-Po 32G2400
1 2
No. Part No. Description
1 693095 | element lifting lever
2 550494 | O-ring Viton thickness 3.53mm int. @ 47.22mm
e - i
"t—h’ \ B"l
G B ) (T
C =8 ;:3f
[ L2 L] -
FiF2,
Y | THHmY
H & - Fal ﬂ[ﬂmz
i di |
- L - - F =
No.  PartNo. P "°('§7)9° HC P () () F F1 Fol (T"?,:) suitable for equiv. no.
1 2 1 418778 9000 230/400 3 right 310 205 36 28.2 62 8 Baron 41826620132
[7]
)
[=
[
£
2
[
(=]
(=
=
©
(Y]
ag
2
No. Part No. Description

1 510245 | O-ring Viton thickness 3.53mm int. @ 50.8mm

2 510243 | O-ring Viton thickness 3.53mm int. @ 55.56mm




ELECTRIC iryer heaters  Heating elements
other )

1 2 L C
ower oltage L B H H1 . o
No. Part No. p(\XII) v (v)g HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418343 8000 400 3 332 150 274 244 Valentine 1934-03
2 415357 8000 400 3 335 150 270 233 erma -
alentine -
1
ower voltage L B H B1 H1 . n
No. Part No. p(W) (V)g HC ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418358 7200 400 3 285 150 255 40 225 Valentine 6291-1SA
2 418340 11000 400 3 285 150 255 40 225 Valentine 6302-3SA

i

H2 H
{ I-li B v
i
B (
e
1 2 3 4
No. Part No. pt()‘;vv)e r voR,a)ge HC (ml;") (mBm) (mHm) (nl;:n) (:;) suitable for equiv. no.
1 418324 4500 380 3 435 180 210 70 17 HORO -
2 | 418323 4500 380 3 445 190 215 75 17 HORO -
3 | 418322 6000 400 3 466 245 213 70 17 HORO -
Kippersbusch 540401
4 | 415613 8000 380 3 423 145 308 65 17 Thielmann 140768
'
H

12

8 : 2

! ' 5

1 2 3 4 £

power voltage 2

No. Part No. W) v ‘ HC (mm) (mm) (mm) suitable for equiv. no. g’

1 415857 5000 230/400 3 - - - Ambach 3560810651 c

=)

2 418631 5000 230/400 3 420 130 230 Ambach 5060808740 g

3 415868 5000 230/400 3 425 120 230 Ambach 3560810641 T
4 415898 7500 400 3 335 135 340 Ambach 5060811194

615



12

Heating elements

Heating elements  chargrill heating

elements

ELECTRIC

No. Part No. pm)er v°(|§7)9° HC (mm) (mm) (mm) windings suitable for equiv. no.
1 418551 7200 400 3 285 145 268 12 Gastrofrit 306010.010
2 418549 10000 400 3 345 200 275 15 Gastrofrit 306010.014
3 418552 10000 400 3 345 206 265 15 Gastrofrit 306010.013
4 418550 14000 400 3 349 342 275 18 Gastrofrit 306010.017
It: . 0 .
No. Part No. powey V°(‘7)g° HC (mm) (mm) (mm) windings suitable for equiv. no.
1 418553 7200 400 3 260 155 33 12 Gastrofrit 306010.040
2 418572 10000 400 3 335 204 30 12 Gastrofrit 306010.041
3 418573 13500 400 3 343 335 33 18 Gastrofrit 306010.042
i
H
v
1
ower voltage L B H L2 H3 a a
No. Part No. [ (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418353 7000 400 3 395 157 268 315 44 Valentine 3101-02
1
ower oltage B H2 ] . .
No. Part No. pow v (V)g HK ) ) ‘ (@, i) ) i) suitable for equiv. no.
1 418958 8000 220/380 3 490 230 270 355 200 10 Capic E152050
chargrill heating elements
with rectangular flange
]|
= c—— |-
= ——
—— (€ '
2 Le L |
ower voltage I8 B a n
No. Part No. P (v)g ’ HC (mm) (mm) (mm) suitable for equiv. no.
1 415564 550 230 1 471 82 13x5 Ubert 343161
2 416913 5200 230 4 437 120 8.5 Ubert 343131




ELECTRIC

chargqrill heating

elements  Heating elements

3 =120 L

-

No. | PartNo. power vo(ltva)ge (ml;n) (n?m) t(ur::n;! suitable for equiv. no.
1 418253 1260 400 460 83 13x5 Haka 9025
No. Part No. power vo:t\zge (ml;n) (mBm) (mHm) t(ur:?n)n suitable for equiv. no.
1 418428 1600 230 471 118 94 13x5 Nayati PD411T
No. Part No. pOwey vo(l%la)ge (ml;“) (mBm) (mHm) t;'“l:;)“ windings suitable for equiv. no.
1 418231 2300 230 457 183 1M1 17x6 6 Star10 071025
2 418232 3100 230 440 280 105 17x6 8 Star10 071034
— —
‘ B1
i |
B % E B2
‘ l .
J————=
ﬁ l;
L "
No. Part No. pt(zv\:ll)er vo(lt\;a)ge (mLm) (mBm) ‘ (mHm) (:a) windings (I:II;I) (;\:Vn) suitable for equiv. no.
Electrolux 002403
1 415376 1800 230 615 88 23 40 2 60 30 Zanussi 002403
Krefft 49-182332
2 415595 1900 400 410 125 28 56 3 70 22 Kiippersbusch 182332
3 415228 1100 220 446 127 18 56 5 70 22 IME Turbo REHEIZK

617

12

Heating elements




-
N

Heating elements

Heating elements  chargrill heating

elements

ELECTRIC

v
H 5; i
s |
b= o =L2/L1=
ower oltage L B H B2 FL FW HD . .
No. Part No. pow v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 0C0495
1 416978 2500 400 625 90 47 70 60 30 40 Zanussi 0C0495
with screw connection
2 hole fixing
i
= B
¢ v (
- —L- -
Ita MD tub P .
No. Part No. powey vo(v)ge (mm) (mm) TS (mm) (um;;’ suitable for equiv. no.
Electrolux 0101055
1 415646 700 230 444 37 M10x1 30 6.5 King 0101055
— ﬁ
: =1,
b = e -
ower oltage L B MD tube o " .
No. Part No. pows v (v)g (mm) (mm) TS (mm) (umm) suitable for equiv. no.
Electrolux 0101056
1 415647 1000 230 440 30 M10x1 33 6.5 King 0101056
by I,)(’ {m
C e
) B /r—_:)
[ ¢ b B N 1
- L- -
It: L B MD tubi o o
No. Part No. pm)er vo(‘;a)ge (mm) (mm) TS (mm) z‘m;;’ suitable for equiv. no.
1 418587 1800 230 390 92 M12x1 85 6.3 Angelo-Po 32G2910
2 415770 2000 230 420 80 M12x1 71 8.5 Lotus 537010700
3 416520 2000 230 450 95 M12x1 86.5 8.5 Lotus 537022000
4 418070 2600 230 615 85 M12x1 80 8.5 Lotus 537029801

618




ELECTRIC

chargqrill heating

elements  Heating elements

No. Part No. power vomge (mLm) (mm) ‘ (mm) (rgrzn) TS (mg) ‘(""l‘):‘;’ windings suitable for equiv. no.
1 415358 2250 230 485 135 35 115 M14x1.5 170 8.5 3 Palux -
2 415359 3000 230 473 170 15 160 M14x1.5 140 8.5 4 Palux -
i P 10
B
 (
Vi
< '
I
H
r 1
- L -
It: tube . .
No. Part No. powey vo(va)ge (mm) (mm) (mm) TS ;'mm)g suitable for equiv. no.
1 415762 850 230 450 45 85 Va* 8.6 Silko 0101522
2 415426 870 95 495 35 73 M14x1.5 8.5 MKN 574097
= 5
o —
B C:D
_’ L o]
¢ )
C #
B
S
[ L -
ower oltage L B H tube o . .
No. Part No. pow A (v)g (mm) (mm) (mm) TS (l:'nm) suitable for equiv. no.
1 415522 800 380 480 68 74 M14x1.5 8.5 MKN 574091
2 416601 1000 230 396 65 35 Va" 6.5 Tecnoinox 00775
Electrolux 004907
3 415288 1350 230 396 80 37 Va* 6.3 Tecnoinox 00513
Zanussi 004907
4 416618 1350 230 450 76 36 Va" 6.3 Tecnoinox 01111
l' C—\% E'l
| i
-]
T
‘;& - L2 L=
1
H
[ -
- L -
No. Part No. power vo(l:la)ge ‘ (mm) ‘ (mm) (mHm) s '(ulm;’ windings suitable for equiv. no.
Bertos 22039100
1 416000 1500 230 438 80 62 Va* 8.5 2 Giga Y00200
Star10 Y00200
2 415592 2000 230 400 142 64 M14x1.5 8.5 3 Kippersbusch 182653

619

12

Heating elements



Heating elements  chargrill heating

elements

ELECTRIC

-
N

Heating elements

ower oltage L B H L1 L2 o n
No. Part No. pow! v (V)g (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 416793 750 230 473 31 101 33 440 Va* Olis A045800
2 415148 750 230 519 35 105 30 489 Va* Angelo-Po 32G0140
3 415427 820 95 504 33 105 27 477 M14x1.5 MKN 574027
—
B
T ( .0}
S/ o L
c— —
7 b
%
T
- L2 L1~
ower oltage L B H L1 L2 q P
No. Part No. pow v (V)g ‘ (mm) (mm) ‘ (mm) (mm) (mm) TS suitable for equiv. no.
1 415709 825 55 512 37 85 35 477 M14x1.5 MKN 574002
[ —))
v ;an
j—— - L -
—_—— .
—lm
| H
- w2 -] =
No. Part No. povv\;er vog,a)ge (ml}n) (n?m) (mHm) (r:;:n) (r:;zm) TS suitable for equiv. no.
1 415766 800 400 515 65 105 28 487 M14x1.5 MKN 574030
2 416549 1500 230 439 79 34 24 415 M12x1 MBM ltalien RTCU600153
[ T
\jﬁi
B
(;,
Y ANy
;{ﬁ - L -
. |
(—;J . H
i
- L2 -’L1L
1
power voltage L B H L1 L2 o .
No. Part No. W) (V)g (mm) (mm) (mm) (mm) (mm) T8 suitable for equiv. no.
1 415965 1800 230 486 83 30 38 48 M12x1 Mareno 1037311315

620




ELECTRIC chargrill heating elements Heating elements

No. Part No. p?vv\;)e u vo(l:la)ge (mLm) (mBm) (mHm) TS (nl;:“) (nl;?n) suitable for equiv. no.
“ EKU f.CWE-60, 1-W-236
1 415095 1500 220 465 75 100 Ya 25 440 Mareno 1037300000
with screw flange
1 ( r
B (C |
: |
L]
No. Part No. p?‘}vﬂ)er vo(l%ge ‘ TS (mm) (mm) suitable for equiv. no.
GGX 345920532
16
1 415641 450 230 % 490 30 Herzog & Langen 345920532
GGX 345950532
1k
2 | 415658 450 400 % 490 26 Herzog & Langen 345950532
L T
B (C —
“
- o -
- _—
| &
H T B
L f
re L2 21+
No. Part No. pmfr vo;\t,a)ge ‘ TS (mLm) (mm) (mm) suitable for equiv. no.
GGX 345921532
1k
1 415649 600 400 A 490 25 25 Herzog & Langen 345921532
with lugs
12
No. Part No. Pm)ﬂ vo(l%ge (ml;“) ‘(L":;)" suitable for equiv. no. No. Part No. pm)er vo:l\?)ge (ml'm) t;",:;)" suitable for equiv. no.
1 418261 330 230 425 6.3 Capito 63854 EGO 20.25013.000
3 415676 400 230 465 8.5 Roka 8900326
. aka
2 415644 400 230 460 8.5 Hak: 9013

Heating elements

621



Heating elements _chargrill heating elements ELECTRIC
No. Part No. pt()vv\;)e r vo(l:la)ge (mLm) (mBm) windings t(ur::‘;! suitable for equiv. no.
1 415398 1280 230 440 112 4 13x5 Palux 244600
2 415399 1600 230 440 145 5 13x5 Palux 244619
E =
? B
]
o o] ¥
————
i;, oy
; ) H
. : [ 3
1
No. Part No. pm)er vo;\l:)ge (mm) (mm) (mm) (,ﬂg) tz:nl:'e“;i suitable for equiv. no.
1 415633 1500 230 452 73 35 65 8.5 Haka 9005
"]
&
N
= |
:ﬁ;ﬁ
L A
No. Part No. po‘;fvler vo(l:la)ge (mLm) (mBm) (mHm) windings suitable for equiv. no.
1 415343 1500 230 300 285 30 Jinger 000421000
2 415344 2500 230 300 285 30 Jinger 000421100
1 \ur—ﬁ i
% E
. =
| |
| L |
|
:B:D i
| L
1 - L2- L1
12
‘ No. Part No. p?‘)'v';" vo(l:ia)ge (ml;“) ‘ (mBm) (mHm) (rhz“) (:E‘) suitable for equiv. no.
‘ 1 415346 2500 220 400 295 50 370 263 Jinger 000421300

Heating elements

622




ELECTRIC

grooved tubular heating

Heating elements

without screw connection
3
¥ B1
- : X
8 B2
—————— (f—D//—‘ '
— T A =
—— ~ i. : .- L -
T 7
— k
://:I i
i Sy
- L3 L2l
ower oltage L B H L1 L3 o p
No. Part No. p(vv\;) v (v)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 053451
1 415352 2750 240 480 125 41 70 370 Zanussi 053451
grooved tubular heating elements
. —_—
1 2 3
No. Part No. powey vog;a)ge HC (mLm) (mBrn) (n:lm) suitable for equiv. no.
1 416104 600 240 2 342 70 12 Gico 270200672
2 416105 800 240 - 440 72 12 Gico 290200091
EGO 3380000171
3 416115 2400 240 1 660 120 12 Gico 241201401
ower oltage n n
No. Part No. p(vv\;) v (v)g HC (mm) (mm) (mm) suitable for equiv. no.
1 415300 1600 230 2 558 202 21 Silko 0101492
2 416519 1900 230 3 397 220 20 Lotus 537014700
3 415373 3240 230 3 390 265 30 Lotus 537013100
heating cables
connection on both sides
with flat plugs
12
(7]
i
=
A ot o
£
K-
()
(=]
c
=
(1]
T
No. Part No. poviey vo(ltla)ge (ml}n) suitable for equiv. no. No. Part No. poviey vo:\'?)ge (mLm) suitable for equiv. no.
1 418807 18 230 4750 Fagor 6001508011 4 418804 31 230 3200 Fagor 6001508010
2 418808 20 230 3450 Fagor 6001508005 5 418809 41 230 6250 Fagor 6001508006
3 418761 25 230 5000 Angelo-Po 32G2420 6 418805 43 230 5000 Fagor 6001508009

623



-
N

Heating elements

Heating elements  heating

cables

ELECTRIC

No. | PartNo. powey "°:§7)9e (m';") suitable for equiv. no. No. | PartNo. i "°("age (m'-m) suitable for equiv. no.
7 | 418806 57 230 6400 Fagor 6001508007 9 418755 80 220 - Angelo-Po 32G1820
8 | 418803 60 230 7400 Fagor 6001508015

with wire end sleeves
No. Part No. pm)er vo(l:,a)ge (mm) L1 (Lz:‘l:s)ated) L2 z:‘er:;ed) suitable for equiv. no.
1 416417 10 230 2700 1100 500 Dexion 01637000R
2 | 416310 35 230 6190 800 4590 Dexion 01152400R
3 416311 46 230 7560 800 5960 Dexion 01152500R
4 | 418336 230 230 4000 - - Metalcarrelli R1504
5 | 418337 313 230 6600 - - Metalcarrelli R1506
6 418338 384 230 7900 - - Metalcarrelli R1508
7 418339 495 230 9900 - - Metalcarrelli R1510
connection on both sides (metal braided)

No. Part No. POwel vo(lba)ge 5 (L;"mh"‘:)ale‘i) = {I::‘t)ed) suitable for equiv. no.

1 418590 26 230 460 3500 Friulinox 935355
2 | 416330 26 230 540 1020 - -

3 418554 28 230 900 3440 Friulinox 925293
4 418555 31 230 900 3950 Friulinox 925374
5 418557 36 230 900 4540 Friulinox 925376
6 416323 42.7 230 1530 2960 Mareno 5576.12
7 416324 43 230 1500 3000 Mareno 5576.22
8 416747 46 230 870 4560 Polaris 1666046
9 416321 49 230 830 7600 Mareno 2524612

10 = 418559 50 230 900 6260 Friulinox 925375
1 418561 51 230 900 6410 Friulinox 925384

12 416331 53 230 540 2020 - -

13 = 418560 54 230 900 6720 Friulinox 925377

14 418592 58 230 2000 4400 Friulinox 935353

15 418562 60 230 900 7540 Friulinox 925295




ELECTRIC

cables

Heating elements

No. Part No. powery vo(l:la)ge o ('ilr:n:;“ed) 2 g:::}ed) suitable for equiv. no.
16 | 418556 63 230 910 7915 Friulinox 925297
17 | 418563 75 230 930 8520 Friulinox 925385
18 | 418564 75 230 900 9410 Friulinox 925296
19 | 418565 83 230 900 10100 Friulinox 925299
20 | 416332 95 230 550 3500 - -
21 416333 130 230 520 4960 - -
22 | 416334 188 230 540 7000 Desmon R35-0216
23 | 416335 272 230 540 9920 - -
connection single-sided
e i el
No. Part No. power vo(l:la)ge L ('i'l:":)ated) 2 %rr:le;;ed) pov(lsvr;m)eter suitable for equiv. no.
1 418569 6 230 1930 760 - Friulinox 995594
2 418570 12 230 1650 1540 - Friulinox 995162
3 416336 16 220 2380 520 - - -
4 416337 25 220 1860 1000 - - -
5 418614 35 220 870 1040 - Desmon R35-0012
6 418734 37 230 130 1650 25 Mafirol 224820100
7 418735 37 230 190 1650 25 Mafirol 224820200
8 418736 50 230 130 2010 25 Mafirol 224820300
9 416338 55 2000 465 1985 - - -
10 418737 62 230 130 2550 25 Mafirol 224820400
with parallel heating wire guide
B N e = =
1
It Ohm/mett Imete Itas Ohm/met Imett
No. | PartNo. e (Ohmim) PoWim) T No. | PartNo. e (Ohmim) PoWim) ()
1 416342 230 1750 30 8 2 416341 230 1756 30

12

Heating elements



Heating elements, heating

cartridges

[

Heating elements

sold by metre

ELECTRIC

oltage Ohm/meter ower/meter [] oltage Ohm/meter er/meter ]
No. | Partbo | (Ohmim) P Wim) ™ m Mo PamNe YO (Ohmim) P Wim) m ()
1 550456 230 - 20 - 3 | 418405 230 205 - 3
2 | 416365 230 105 - 3 4 | 416340 230 370 29 3
heating cartridges
with thread
] S -
— uﬂﬂj
power voltage D L o .

No. Part No. (V)g (mm) (mm) TS suitable for equiv. no.

1 418346 400 230 10 360 M14x1.25 Emainox 3710022

2 | 418841 500 230 10 480 M14x1.25 Emainox 3710024

1 -
+ —_— =d——:::- & H‘- gl mﬂj
1 2 3
No. Part No. pOwey vo(l:la)ge (n?m) (ml;“) TS suitable for equiv. no.
" Angelo-Po 32G3310

1 418892 80 230 12 240 3/8 Sagi 32G3310

2 | 417194 600 230 10 74 3/8" Nuova Simonelli 14100037

3 417191 2500 230 20 185 1¢ Nuova Simonelli 14100038

L
JE S
o T

No.  PartNo. power "°('}7)9° HC ) ) TS (,:zl) (Tn?n?) (';nT,:) “"{:’n',;')‘gth suitable for equiv. no.

1 416521 2000 230 1 300 30 1¢ 55 - - 180 Lotus 537021100

2 | 416522 2000 230 1 300 30 1" 55 6 196 210 Lotus 537021200

3 | 418073 3500 230 1 475 30 1¢ 55 - - 300 Lotus 537024200

4 | 418074 3500 230 1 475 30 1" 55 6.5 215 300 Lotus 537024300

626




ELECTRIC

heating elements for contact grills Heating elements

i —<
|
= =0 : J
- L -
ower oltage L D Fo TSe LTS cable length o n
No. Part No. pow! v (v)g ‘ HC (mm) (mm) TS (mm) (mm) (mm) (mm)g suitable for equiv. no.
1 416670 1800 230 1 315 30 1% 50 - - 1000 Offcar 443655
2 416671 1800 230 1 315 30 19" 70 6.5 255 1000 Offcar 443651
3 416685 2500 230 1 490 30 1" 50 - - 1000 Offcar 443685
4 416686 2500 230 1 490 30 1% 70 6.5 255 1000 Offcar 443681
without thread
s
[ WL
No. Part No. p(o‘)fvl)er vogla)ge (mom) (ml;n) suitable for equiv. no.
1 417192 12 230 12 64 Nuova Simonelli 14100030
2 417193 14 230 12 64 Nuova Simonelli 14100035
CB 07031500
3 416190 80 230 24 102 CF 63.7.1040
4 400338 80 240 12 55 Gaggia -
contact grill heating elements
C(—L i
B
j
L
1
No. Part No. powel vo:l\:)ge (mm) (mm) t;’"l::‘)“ windings suitable for equiv. no.
1 417229 1200 230 250 120 6.3 5 Roller-Grill D02159
[y
) 12
B (( )
' 2
- - =
L . g
:ﬂ .
. - &
-2 =11 ()
(=]
power voltage L1 tube o e P 0 E
No. Part No. V) (mm) (mm) (mm) (mm) (mm) (mm) windings suitable for equiv. no. 'lg
1 418547 750 115 185 165 18 15 143 6.3 2 Techfood CE00092C T
2 415235 1250 230 195 188 20 25 140 8.5 3 IME Turbo 202023

627




Heating elements heating elements for contact grills © ELECTRIC

- L -
No. Part No. pm)er ‘ voR’a)ge (mLm) (mBm) ('Elzn) t(l:::?nf windings suitable for equiv. no.
1 416754 500 110 180 200 105 6.3 4 Roller-Grill D02043
Bartscher A010414
2 416843 650 230 172 162 40 6.5 3 RSI 30008009
Bartscher A010415
3 416844 900 230 185 247 100 6.3 3 RS 30008010
4 416859 900 230 210 180 100 6.3 3 Bartscher A010418
5 415800 1000 230 160 155 45 6.3 3 - -
Bartscher A010416
6 416853 1100 230 210 250 110 6.3 3 RS 30008015
Iy &
B1
1
B B2
1
jl r
' \Q—J
T
_ [ w
| — A
- L -
Ita L B H B2 tube o .
No. Part No. pm)er vo(v)ge (mm) (mm) (mm) (mm) ;"mm)” suitable for equiv. no.
EGO 24.10083.620
1 416496 700 230 176 190 17 110 6.3 Elettrobar 921017
Eurotec 921017
2 416593 700 230 180 175 15 75 6.5 Sirman 1GS402P
Bertos 30022500
3 416012 700 230 185 187 11 102 6.3 Fimar C04410
Aristarco 1597
4 415726 750 230 180 170 18 80 6.3 CF 63.7.1012
Bartscher 030008013
5 416849 800 230 170 167 33 115 6.3 RS 30008013
6 416148 800 230 175 210 20 118 6.3 Faba PR10013
7 416723 800 230 178 196 33 108 6.3 Roller-Girill D02096
8 416147 800 230 180 175 15 71 6.3 Faba PR103/2
9 416197 800 230 180 180 20 85 6.3 Dihr 9716
10 = 418527 850 230 164 180 18 92 6.3 - -
11 416592 850 230 182 175 21 71 6.5 Sirman 1GS407P
12 | 416591 875 230 190 308 18 92 6.3 Sirman 1GS402C
Aristarco 1598
13 | 415727 900 230 180 175 15 91 6.3 CF 63.7.1011
1 2 14 | 415725 900 230 194 300 17 100 6.3 CF 63.7.1016
Bartscher 030008014
15 | 416854 900 230 210 170 20 60 6.3 RS| 30008014
16 | 416145 1000 230 177 180 18 88 6.3 Faba PR10003
ﬂ 17 | 416179 1000 230 177 195 25 105 6.3 Silanos 905670
[=
g 18 | 416176 1000 230 180 180 18 90 6.3 Dihr 9561
K] 19 | 416198 1000 230 180 180 20 90 6.3 Dihr 9717
(V]
Elettrobar 921008
g} 20 416497 1000 230 180 185 15 97 6.3 Eurotec 921008
= Bertos 30023500
g 21 416011 1000 230 182 195 12 111 6.3 Fimar C04415
El=
Bertos 30024100
22 416013 1000 230 185 310 28 80 6.9 Fimar C04433
23 | 416044 1100 230 180 245 23 115 6.3 Aristarco 2396

628



ELECTRIC heating elements for contact grills Heating elements

i 3
B1
!
B B2
Ja '
r \;/
-
I
———1
- L -
No. Part No. pmf' vo:t\:)ge (mLm) (mBm) (mHm) (:;‘:‘) t(u"l::l;! suitable for equiv. no.
Emmepi 809844
Fimar C0O1060
24 | 416590 1150 230 192 304 18 108 6.3 Nuova Simonelii 15320004
Sirman 1GS407C
25 418660 1200 230 177 215 20 145 6.3 RM-Gastro 401031200
26 416724 1200 230 180 200 38 50 6.5 Roller-Grill D02112
27 416177 1200 230 180 220 20 110 6.3 Dihr 9562
28 416146 1200 230 180 228 20 118 6.3 Faba PR103/1
29 416116 1200 230 183 272 16 162 6.3 Aristarco 2397
30 415724 1200 230 192 305 10 100 6 CF 63.7.1015
31 416725 1200 240 178 200 35 80 6.3 Roller-Grill D02094
32 416182 1400 230 180 280 55 190 6.3 Silanos 905635
Bertos 30024300
33 416014 1500 230 180 325 42 109 6.3 Fimar C04438
34 416701 1800 230 175 208 30 71 6.3 Roller-Grill D02093
35 418664 1800 230 185 205 20 125 6.3 RM-Gastro 401031800
1
ower voltage I8 B H B2 tube o TSe LTS
No. Part No. p(W) (v)g (mm) ‘ (mm) (mm) (mm) (mm) (mm) (mm)
1 416173 850 230 254 202 25 66 6.3 5 195
r
B
((ﬂ '
' A
- L2- - ]
1
é H
i
- L -
ower voltage L B H L1 L2 B2 tube o 1 2
No. Part No. p(W) (v)g (mm) (mm) (mm) ‘ (mm) (mm) (mm) (mm) windings suitable for equiv. no.
1 416877 1000 230 180 192 18 5 175 86 8.5 3 Forved GRILLRES02
2 416879 1200 230 177 257 18 8 160 111 8.5 4 Forved GRILLRES03

Heating elements

629



Heating elements heating elements for contact grills

ELECTRIC

-
N

Heating elements

No. Part No. p?vv\;)e d vo(l:la)ge (mLm) (mBm) (mHm) (rgrzn) t(ur::‘f windings suitable for equiv. no.
1 416878 1400 230 198 220 46 100 8.5 4 Forved GRILLRESO1
2 | 416880 1700 230 198 278 40 168 8.5 5 Forved GRILLRES04
C T}
B
r 1
- L— -
v
(i
i
No. Part No. p?‘x,';’r vo:l\?)ge (mm) (mBm) (mm) ('?“2") ‘(L":;)" windings suitable for equiv. no.
1 416585 850 240 200 215 26 75 6.3 3 RST - Fiamma 4.0.066.0084
2 | 418838 1350 240 200 300 26 64 6.5 4 RST - Fiamma 4.0.069.0050
i
Y
1 2
No. Part No. po‘)fvler vo(l?)ge (ml;n) (mBm) (n?fn) '("“2:1;’ suitable for equiv. no.
1 416586 1150 240 210 230 5 6.5 RST - Fiamma 4.0.066.0083
2 418839 1900 240 200 320 140 6.5 RST - Fiamma 4.0.069.0045
i
@ B
. 3
L L -l
power voltage B tube o L1 L2 B1 B2 n n
No. Part No. (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416178 750 230 185 180 6.3 95 90 155 25 Silanos 905650

630




ELECTRIC

heating elements for gyro grills Heating elements

[ \ B
B
L
J
- L -
No. Part No. power vo:sn)ge (mLm) (mBm) (mLfn) (rE:n) t(l::::‘f suitable for equiv. no.
1 418617 630 230 200 190 185 135 6.3 VEMA XRPV2
2 418610 630 230 200 195 185 125 6 VEMA XR PV6
3 418618 1050 230 235 330 223 115 6.5 VEMA XRPV25
4 418608 1200 230 417 185 358 65 6.3 VEMA XRFOPV2
other
o
»
1 2 3 4
Ita L B H tub L1 L2 B1 B2 n .
No. Part No. p?‘)'v’)er vo(v)ge (mm) (mm) (mm) z"ms';’ (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 0101405
1 415648 660 230 212 72 35 6.3 34 178 58 14 King 0101405
Roller-Grill D02140
2 416722 750 230 175 212 - 6.3 - - 90 33 Star10 RG.D02140
Bartscher A017607
3 416845 1100 230 208 220 25 6.5 - - - - RS 30008059
4 416181 1200 230 172 270 1 6.3 - - - - Silanos 905615
gyro grill heating elements
with screw connection
% i
U /
- L4
i 7 T3
e
8 (;
TN i
- L -
No. Part No. pt()v\:’l;!r voR’a)ge (ml}n) (ml?'n) (mHm) TS t(u"l:ren)a suitable for equiv. no.
EGO 20.40827.030
1 415562 1300 230 270 92 80 M14x1.5 8.5 Potis PT0094
EGO 20.40827.020
2 415563 1500 230 265 93 80 M14x1.5 8.5 Potis PT0095
j ==
I
- . L y
) :
( /—F Bl !
(—j i
D]
) G (% 5 B2 B
( — ( '
X 3
No. Part No. pm)er vo(l:,a)ge (mm) (mm) (mHm) TS tz::;;' suitable for equiv. no.
1 416163 2800 230 327 230 68 Va* 8.5 Star10 071067/A

631

12

Heating elements



Heating elements heating elements for gyro grills ELECTRIC

' I 14 T
B
¥ C T  — *‘m
- L -
ower oltage L B H L1 L2 L3 tube o p P
No. Part No. p(‘)fvl) v (v)g (mm) ‘ (mm) (mm) (mm) (mm) (mm) (umm) TS suitable for equiv. no.
« Electrolux 0101002
1 418243 1070 220 240 113 77 80 90 70 6.5 1/8 King 0101002
i
H
|
B B e B
( 5 |
C ES 1
g —)
(iz_—y@ 1y
- L -
Ita L B H L1 L2 tub r .
No. Part No. p?‘)fvl)er vo(v)ge (mm) (mm) (mm) (mm) (mm) z‘m:; TS suitable for equiv. no.
1 416704 2500 240 280 190 130 143 130 6.3 M12x1.25 Roller-Grill D02075
other
1 2
It: L B H tub 5 n
No. Part No. pm)er vo(‘;a)ge (mm) (mm) (mm) z‘msl;’ TS suitable for equiv. no.
Electrolux 0101006
1 415642 700 230 330 34 126 6.3 M10x1 King 0101006
Bartscher 021202
2 416846 1400 230 340 61 114 8.5 M10x1 RSI 30008063
with lugs
|
w {
| L)
32— ] —~
[ 1]
B 1 - |
1 2 T g T L I q]
- L -
ower oltage L B H L1 L2 L3 tube o " .
No. Part No. p(vv\;) v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 415686 1400 230 265 83 175 80 50 135 6.3 Leonidas -
2 416164 1500 230 343 74 53 125 110 108 6.3 Star10 071085

Heating elements

632



ELECTRIC neater batteries Heating elements

- L -
1
ower oltage L B H L1 L2 L3 L4 tube o . o
No. Part No. P(v"\;) v (v)g (mm) (mm) (mm) ‘ (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 415687 1800 230 407 84 110 72 80 110 145 6.3 Leonidas -
without screw connection
f i
w |
o s 1
L3 e L2 e L=
- T T | - ‘
B
[ r e S
- L -
ower oltage L B H L1 L2 L3 tube o " .
No. Part No. p(vv\;) M (v)g (mm) (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 415689 1400 230 285 92 200 129 80 78 6.5 Leonidas -
2 415362 1500 230 350 95 70 130 110 110 6.3 North -
heater batteries
1 2 3 4 5
No.  PartNo. (m) (mBm) (m”m) ool "°;§7)9e (Ig) HC suitable for equiv. no.
1 418629 170 35 40 300 230 95 2 - -
2 415121 185 38 35 2000 230 - 2 Mobile Containing 957230
3 415115 185 38 40 2000 230 190 2 Emmepi 827915
4 415114 185 40 35 2000 230 105 2 Rieber 33010701
CB 07032361
5 415122 185 40 35 2000 230 105 2 Kiippersbusch 402628

12

Heating elements

633



Heat

(heating rods
series EGO E1
with cable (pearled)

A

TR

L power voltage L power voltage
No. Part No. (mm) W) v) No. Part No. (mm) w) V)
1 480017 458 300 400 3 480081 458 325 400
2 480082 458 325 230

with clamp terminal

L power voltage L power voltage
No. Part No. (mm) W) v) No. Part No. (mm) W) v)
1 480001 340 225 230 3 480005 432 300 230
2 480003 400 250 230 4 480007 458 300 230

with screw connection

L power voltage L power voltage
No. Part No. (mm) W) v) No. Part No. (mm) W) V)
1 480009 340 225 230 3 | 480013 432 300 230
2 480011 400 250 230 4 | 480015 458 300 230
accessories
12
()
)
[=
[}
£
2
()}
(=2}
(= 2
=
g Part No. Description
= 550119 connecting clamp for E1 heating rods
550118 connecting clamp suitable for E1 heating rods

634



ELECTRIC rods  Heating elements

series EGO E2 )
with cable (pearled)

1 480034 340 400 220 6 480075 600 500 230
2 480035 450 500 230 7 480030 600 600 230
3 480036 540 550 230 8 480031 600 600 400
4 480039 540 550 400 9 480032 600 700 230
5 480068 540 600 400 10 | 480033 600 700 400

with screw connection

o we T s o we T T
1 480020 - 350 220 10 = 480053 720 450 400
2 | 480018 450 350 230 11 | 480054 840 450 230
3 | 480050 600 400 230 12 = 480055 840 450 400
4 | 480051 600 400 400 13 = 480056 1030 500 230
5 480067 685 450 400 14 = 480057 1030 500 400
6 = 480063 700 450 220 15 = 480065 1030 700 220
7 480064 700 450 380 16 = 480058 1300 650 230
8 | 480077 720 340 400 17 = 480059 1300 650 400
9 | 480052 720 450 230 18 = 480066 1300 900 220
accessories
12
1
No. | PartNo. Description
1 550120 connecting clamp for E2 heating rods

Heating elements

635



-
N

7]
-
[=
(]
£
i
[}
(2]
[=
=
©
(7]
I

Heating elements, heating

ELECTRIC

other
No. Part No. powey vo:l\:)ge (ml}n) (mBm) (mHm) suitable for equiv. no. No. Part No. powey v°:§?)9e (mLm) (mBm) (mHm) suitable for equiv. no.
1 418458 750 240 490 38 8 - - 2 418459 1000 240 630 38 8 Morice RS0859
1
No. Part No. p?vv\;)er vo;%ge f(rﬁ:) (mBm) (mHm) suitable for equiv. no.
1 416965 250 230 428 17 8 Palux 222631

heating units

group 1

1 2 3 4 5
It: freq. . .
No. Part No. powey vo(va)ge (;g) (mm) (mm) (mm) suitable for equiv. no.
1 601255 1600 115/230 50/60 240 240 85 Rieber 58233423
2 601263 1600 230 50 245 200 95 Rieber 59050609
3 601256 1700 115/230 50/60 240 240 85 Rieber 58233418
4 601257 2400 115/230 50/60 240 240 85 Rieber 58233417
5 601251 2400 230 50/60 240 240 85 Rieber 58233422
It: freq. B T o .
Part No. powey vo(va)ge (ﬁ;') (mm) (mm) (mm) suitable for equiv. no.
601250 2400 230 50 235 235 115 Rieber 53300102

636




ELECTRIC units  Heating elements
group 2 )

ower oltage freq. L B D n o
No. Part No. p(‘;'v') ‘ v Mg (qu) (mm) (mm) (mm) suitable for equiv. no.
1 601521 810 230 50/60 270 240 100 Rieber 55050244

No. Part No. p?w)“' vo;\'?)ge (mLm) (mBm) (mHm) suitable for equiv. no.

1 418292 175 220 300 290 30 Rieber 55050202
2 418293 416 220 300 280 30 Rieber 55050204
3 | 418294 600 220 300 280 30 Rieber 55050211

1 2
- ower oltage freq. L B H temperature range

No. | PartNo. application p(‘;'v') ‘ g (v)g ‘ (Hg) ‘ (58, (i o P (o'(‘:) 9 MP

1 418863 for hot cupboard 2000 230 50 278 310 92 30-90 floor mounting

2 418864 for hot cupboard 2000 230 50 300 190 130 30-90 wall mounting

12
1 2
ower voltage I8 R n

No. Part No. p(W) (V)g HC (mm) (mm) (mm) suitable for equiv. no.

1 418712 3300 208 1 320 147 30 TurboChef NGC-3011

2 418604 5400 230 3 650 325 70 Kuppersbusch 948746006

Heating elements

637



ELECTRIC

1
ety t.max. temperature range L B
No. Part No. Description c) P (o‘é) 9 (mm) (mm)
1 418865 warming plate for chafing dish 165W 230V 90 30-90 530 325
1 2
No. | PartNo. p?vv\;)er vo;t\gge (mLm) (mBm) (mHm) suitable for equiv. no.
1 418822 250 230 360 68 70 Roller-Girill 48006BOI
2 418282 550 240 130 133 104 Rieber 59050608
hot plates
1
No. Part No. pmfr vog?)ge HC (mLm) (mBm) application suitable for equiv. no.
1 415734 1000 230 1 220 260 for hot cupboard Stahl 160055
< %
.
'&3"-\,_
S
1 2 3 4 5
12
No. | PartNo. p?w)“' vo(l\'?)ge (ml;n) (mBm) cab:;l:‘?gth suitable for equiv. no.
1 417456 70 230 128 38 350 Melitta 11624
2 418464 100 220 480 80 600 Salvis 178979
3 416186 350 230 356 80 550 Silanos 905822
4 418438 700 230 480 80 750 Salvis 178987
5 418427 1600 230 360 110 80 Nayati PD411S

Heating elements

638



ELECTRIC

immersion heaters Heating elements

6
‘ No. Part No. p'(";'v';'r vog[a)ge (mLm) (mBm) cab:le“I;r)lgth suitable for equiv. no.
‘ 6 418433 2700 230 360 250 1000 Nayati PD411R
immersion heaters
with flange
2 hole flange 74mm
'
H 42mm
. ' ‘
| -L
No. Part No. powel vogla)ge HC (mm) (mm) (mm) suitable for equiv. no.
1 415188 2400 230 2 248 33 25 Adler 20069
2 415189 2800 230 1 340 15 35 Adler 20072
Adler 20080
3 415190 6000 230 3 340 34 30 Bartscher 0481925928596
4 416023 9000 230 3 395 37 30 Adler 20084
Ita L B H L3 : 0
No. Part No. povey vo(v)ge HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415191 2300 220 1 240 29 27 170 l?:['}’)'( ;0%%%%
2 415192 3000 220 1 225 29 39 170 S:TS’:( (I)EQ%%L%

Heating elements

12




Heating elements immersion heaters

ELECTRIC

"3 hole flange 235.0mm

- - - -
w

n

5‘ [e)

3i

- L -
No. Part No. powey vogla)ge ‘ HC (mLm) (n?m) (mHm) suitable for equiv. no.
1 416210 2200 230 1 253 25 25 IME Omniwash CERB22
2 416367 2700 230 1 280 26 26 Linea Blanca A030019
IME Omniwash CERB2712
3 416211 2700 230 1 300 25 24 Nuova Simonelli 18010296
IME Omniwash CERB30
4 416212 3000 230 1 335 28.5 25 Nuova Simonelli 18010028.1
3 hole flange ¢38.5mm
=1
H ]
. B
2 ﬁ
z E - -
?_ ( E : 38,5mm
- L -
0] oltage TSo LTS o "
No. Part No. pover; v (V)g ‘ HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416368 2000 230 1 320 34 32 - - Linea Blanca A030018PL
2 418776 2000 240 1 300 34 15 7 150 Krupps 103410
3 415261 2400 230 1 242 31 22 7.5 180 Dihr 18206
4 415275 2400 230 1 275 22 22 8 255 Rancilio 33222002
5 415276 2400 230 2 297 34 34 - - Hoonved 25353
Elettrobar 230113
6 418642 2600 230 1 260 33 24 7 175 Eurotec 230113
7 416263 2600 230 1 293 26 26 7 260 Silanos 905493
8 416277 2800 230 1 302 37 28 7 199 Dihr 18206/D
9 418787 3000 230 1 280 25 28 - - Linea Blanca A030020
10 = 416397 3000 230 1 280 26 28 5 250 Rancilio 33222003
Hoonved 25356
1 415167 3000 230 2 300 21 35 6.5 53 Silanos 905521
12 415278 4000 230 2 290 20 34 7 148 Hoonved 25357
Dihr 18215
13 416398 4000 230 3 287 26 34 7 255 Rancilio 33322004
14 415199 4000 400 2 297 33 18 6.5 135 Hoonved 25357
15 = 418788 4500 230 3 280 30 27 - - Linea Blanca A030013
12 16 416421 5000 230 3 433 18 34 4.1 260 Rancilio 33322005
17 = 416422 6000 230 3 435 22 35 5 260 Rancilio 33322006

Heating elements

640




ELECTRIC immersion heaters Heating elements

=

ower oltage I8 B H TSe LTS n 0

No. Part No. p(\XII) ‘ v (v)g HC ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418883 2700 230 2 295 21 32 6.5 225 Hemerson 1101196
2 418882 3990 230 3 295 27 31 6.5 220 Hemerson 1101322
3 418884 6000 230 3 370 23 33 6.5 225 Hemerson 1101323

ower voltage mounting & L B H L3 H1 H2 . q
No. Part No. p(w) (v)g (mm)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Angelo-Po 32G2140
1 416267 4500 230 38.5 3 358 32 58 250 28 30 Silanos 905560
Angelo-Po 32G2180
2 416268 6000 230 38.5 3 360 34 55 255 27 28 Silanos 905570
3 416269 8000 230 38.5 3 545 32 60 447 27 33 Silanos TR0341

3 hole flange @47.5mm

- - T =
ﬂ ﬂ
By

.g I

ED

No. Part No. p?vwl)er vo(l:la)ge HC (ern) (mBm) (mHm) (T"?"?) (Ir-nTrﬁ) suitable for equiv. no.
1| 416130 2800 230 1 310 8.5 39 - - Eé‘:‘::,’s':lx gigg;}
2 416135 2800 230 1 375 85 40 ; ; Electrolux ooy
3 | 416205 3000 230 1 260 29 35 85 230 Mach 512019800
4 415174 3000 230 3 158 33 39 - - Ez'eaf:;‘;';x 832223
5 | 416204 3000 230 3 205 26 44 8.7 175 Mach 512060200 12
Electrolux 047505
6 | 415597 3000 230 3 255 38 26 - - Kiippersbusch 182654
Zanussi 047505
7 | 416318 3000 230 3 270 32 33 85 170 Univer-Bar 3010 @
8 | 416139 3000 230 3 362 29 35 - - Gico 270203330 =
9 | 416390 3200 230 2 302 37 20 - - Hoonved 35484 §
10 | 416393 3500 230 3 265 37 31 - - Winterhalter 60003602 ©
11 418812 3500 230 3 265 37 31 - - - - E’
Bertos 25021600 'g:
12 418136 4015 240 3 301 31 35 7 200 Foinox 3434 T
Giga 080328DHE
13 | 418793 4300 230/400 3 270 30 32 7 230 Luxia L2134
Electrolux 045518
14 415069 4500 220 3 310 305 29 ; ; Kupp'gggusch ezt
Zanussi 045518

641



Heating elements immersion heaters

ELECTRIC

ower oltage L B H TSeo LTS n 5
No. Part No. pows v (v)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 002523
15 | 415067 4500 230 3 218 34 29 - - Zanussi 002523
Bonnet 5079E
16 | 416128 4500 230 3 265 30 35 - - Electrolux 049955
Zanussi 049955
Electrolux 047847
17 | 415066 4500 230 3 310 30 36 7 185 Zanussi 047847
Eletiober 230034
18 | 415001 4500 230 3 316 35 34 7 180 230013
Eurotec
. 230081
Giga
Lasa 320801
19 | 415935 4500 230 3 320 34 30 7 300 Mareno 1037305400
20 416329 4500 230 3 335 33 35 7 180 Univer-Bar 3371
21 415259 4500 230 3 370 31 40 8.5 240 Teikos 843511
22 416206 4500 230 3 377 27 36 9 250 Mach 512004310
23 415674 4500 230 3 395 30 40 4 330 Ambach 5060807384
24 | 418773 4500 240 3 250 33 36 150 Meiko 9519587
Electrolux 002524
25 418189 4700 230 3 393 40 35 7 275 Zanussi 002524
Elettrobar 230111
26 417440 4900 230 3 330 32 34 7 177 Eurotec 230111
Comenda 110398
27 416274 5000 230 3 248 36 34 7 200 Hoonved H110398
28 416394 5000 230 3 265 39 32 - - Winterhalter 60003598
29 418813 5000 230 3 265 39 32 - - - -
Electrolux 047847
30 415080 6000 220 3 310 35 40 7 180 Zanussi 047847
Electrolux 003409
31 418190 6000 220 3 480 26 35 7 270 Zanussi 003409
32 415803 6000 230 3 325 26 38 6 160 Convotherm 5007062
33 418686 6000 230 350 35 40 - Lasa 320808
Electrolux 048221
34 415068 6000 230 3 370 32 36 7 165 Zanussi 048221
35 418681 6000 230 3 370 32 36 8 240 Teikos 843515
36 415773 6000 230 3 390 31 40 4 330 Ambach 5060807386
37 | 416207 6000 230 3 400 24 42 9 245 Mach 512004410
38 416664 6000 230 3 405 31 34 7 225 Modular 46500600
Electrolux 051632
39 415379 6000 230 3 479 36 33 7 270 Zanussi 051632
40 418794 6000 230/400 3 380 33 32 7 240 Luxia L2135
2 Colged 230083
1 Elettrobar 230083
41 416240 6545 230 3 355 31 37 7 175 Eurotec 230083
Krefft 62-230083
42 415832 7000 230 3 290 32 40 7 210 Wiesheu 34950
‘Q Electrolux 059665
[= 43 418126 7500 220 3 550 37 37 7 185 Whirlpool 771985002940
g Zanussi 059665
o 44 = 418772 7500 240 3 405 32 37 7 150 Meiko 9519590
(V]
Electrolux 058666
g’) 45 415394 7900 230 3 287 33 35 - - Zanussi 058666
S Firex 40400042
©
% 46 = 416835 8000 230 3 315 30 46 7.5 255 Offcar FX40400042
Giga E11500
47 | 418439 8000 230 3 315 37 35 8.5 215 Star10 E11500
Firex 40400040
48 416834 8000 230 3 323 35 45 7 263 Offear FX40400040

642




ELECTRIC

immersion heaters

Heating elements

ower oltage L B H TSe LTS o .
No. Part No. pow v (v)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Colged 230020
49 | 416241 8000 230 3 355 35 35 7.5 185 Elettrobar 230020
Eurotec 230095
50 415854 8000 230 3 385 32 44 4.5 325 Ambach 5060807387
51 416959 8000 230 3 485 33 36 3 320 Ambach 5060814407
52 418064 8000 230 3 497 30 36 7 260 Bertos 35039900
53 = 418505 8000 230 3 497 35 56 7.5 266 Firex 40400048
54 = 418687 8800 230 3 550 35 40 7 235 Lasa 320816
55 418065 9000 230 1 415 36 43 6 267 Bertos 35040100
Electrolux 002835
56 = 415690 9000 230 3 290 32 38 5 175 Zanussi 002835
57 = 415802 9000 230 3 385 35 46 6 160 Convotherm 5007071
Giga E11600
58 416410 9000 230 3 395 33 35 7 210 Whirlpool 483286009435
59 = 415028 9000 230 3 440 - - 7 235 Luxia L7415
60 418877 9000 230/400 3 485 30 32 7 120 Meiko 9519591
61 416967 10000 230 3 495 37 35 4.5 325 Ambach 5060809980
Electrolux 0E5953
62 418683 10500 230 3 390 35 35 8.5 270 Zanussi 0E5953
Electrolux 0CO0715
63 @ 418017 10750 230 3 542 35 26 8 180 Zanussi 0C0715
64 415931 12000 220 3 585 28 28 6.5 170 Convotherm 5007076
Electrolux 058995
65 415063 17000 230 3 590 29 38 4 225 Zanussi 058995
L - |
H{— >
i .
; p S
B 0 Fom
|- L -
ower oltage TSe LTS 0 n
No. Part No. p(vv\;) u (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415014 3000 230 1 240 28 44 6.5 220 Comenda 110366

643

—
N

Heating elements



Heating elements immersion heaters ELECTRIC

- L -
No. Part No. pm)e r v°(|:7)9° HC (mm) ‘ (mm) (mm) (T"?"f) (LmT:) suitable for equiv. no.
Angelo-Po 32G0390
1 415013 2400 230 1 215 40 35 6.5 190 Comenda 110364
2 | 418217 2500 230 1 240 30 30 7 205 Teikos 843514
3 | 416392 2600 230 1 214 35 24 - - Winterhalter 60003605
4 418811 2600 230 1 214 35 24 - - - -
5 | 416203 2600 230 1 250 35 24 8.5 235 Mach 512036300
6 | 416273 3200 230 1 237 35 38 7 200 Comenda 110397
3 |
o
[ L .
; i NSt
e (NREE &75m
i {
- L -
No. Part No. pt(vvv)er vogla)ge HC (ml;n) (mBm) (mHm) (.Ir:‘s"f) (Ir-nT:) suitable for equiv. no.
1 418709 2400 230 1 190 32 40 7.3 195 Luxia L2122
2 | 417165 2470/2940 220/240 1 196 35 45 9 170 Lasa 320700
Bonnet 5536E
Colged 230090
Electrolux 0K3789
Elettrobar 230012
3 | 415668 2625 230 1 190 41 54 7 170 Eurotec 230090
Krefft 62-230090
Palux 349801
Zanussi 0K3789
Electrolux 069455
Elettrobar 230012
Eurotec 230012
4 | 415002 3000 230 1 198 35 44 7 175 Krefft 62-230005
Palux 386839
Zanussi 069455
3 hole flange 857.5mm
H I
. i P
' N
_— O
. ! |
s = 5
12 -
ower voltage L B H TSo LTS HD o 5
3 No. Part No. p(W) (V)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
c IME Omniwash CERB453F
g 1 416213 4500 230 3 383 50 38 8 290 70 Nuova Simoneli 18010743
K 2 | 418714 6000 230 3 385 37 60 7.5 210 75 Olis 6A037190
[}
IME Omniwash CERBG603F
g’ 3 | 416214 6000 230 3 410 32 50 8.5 270 70 Nuova Simoneli 18010744
© 4 | 418891 7000 230 3 350 25 40 8 285 70 Comenda 110333
(5} p
= 5 416215 9000 230 3 410 35 52 75 200 70 IME Omniwash CERBO03F
Nuova Simonelli
6 | 418764 9000 230 3 510 37 50 7 459 72 Silanos TR0341
7 | 418249 10000 230 3 512 50 33 8.5 458 70 Silanos TR0342
Comenda 110388
8 | 418624 10000 400 3 480 35 43 7 285 72 Hoonved 27208




ELECTRIC immersion heaters Heating elements

'
a
H
i Ej "
Achy
b
(=] =)
T . b
B iﬂj &5
- L -
ower oltage L B H TSe LTS HD q .
No. Part No. p(#) v (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416275 2200 230 1 235 38 38 8.2 214 72 Comenda 110361
2 | 416229 2400 230 2 235 37 35 7 225 75 Lamber 0303001
Comenda 110363
3 | 415060 3000 230 1 330 45 29 7 295 73 Mareno 110363
Capic L201005
4 | 415035 3000 230 3 207 40 46 7.5 185 73 Colged DRB32
Eurotec DRB32
5 416230 3000 230 3 235 34 48 7 215 72 Lamber 0300011
6 416818 3400 230 3 437 45 40 - - 72 Mareno CM183900
Lasa 320804
7 415934 3500 230 3 192 38 50 7.5 180 72 Mareno 1037312600
Capic L202015
Colged 927315
8 415846 4000 230 3 327 36 42 7 320 72 Elettrobar 20062
Eurotec 927315
9 416231 4500 230 3 307 45 36 7 210 74 Lamber 0300002
10 417334 4500 230 3 347 36 50 7 295 72 MBM ltalien RTCU700619
11 418602 4500 400 3 315 36 48 7.5 285 72 Angelo-Po 32G3270
Lamber 0300012
12 416232 6000 230 3 293 40 36 7 280 74 Star10 X60500
13 418141 6000 230 3 297 37 50 7.5 270 73 MBM ltalien RTFOC00523
Electrolux 049898
14 416129 6000 230 3 330 36 40 - - 70 Zanussi 049898
Angelo-Po 32G0400
Comenda 110349
Hoonved 31007
15 415021 6000 230 3 338 37 50 7 294 72 Lainox R50303250
Lasa 320802
Mareno 1037305500
Morice RS0963
16 = 418830 6000 230 3 440 37 41 7.5 290 72 Krupps 103432
17 = 418585 6000 400 3 324 42 30 7 280 74 Angelo-Po 32G2580
18 = 416265 6000 400 3 324 43 34 7 280 73 Silanos TRO0340
19 = 418691 6000 230 3 385 37 50 7 290 73 - -
20 416681 6000 400 3 485 37 40 7 445 70 Angelo-Po 32G2310
21 417332 7200 230 3 485 34 48 7 265 72 MBM ltalien RTCP800008
22 418140 7500 230 3 295 34 45 7 275 72 MBM ltalien RTFOC00150
23 416125 7500 230 3 398 36 41 7 212 72 Gico 293200760
24 416807 7500 230 3 510 40 49 7.5 215 83 Olis A037202
25 418084 7599 230 3 340 36 42 7 270 72 Giorik 6003290
26 416819 7600 230 3 590 48 65 - - 72 Mareno CM182300 12
Elettrobar DRB81C
27 = 415039 8000 230 3 375 41 42 7 230 73 Eurotec 927280

Heating elements

645



Heating elements

immersion heaters

ELECTRIC

=}
H [
i Ej J?

) o =)
: iﬂj 575
- L -
er oltage L B H TSe LTS HD A o
No. Part No. pow: v (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
28 415670 8000 230 3 480 40 50 7 295 72 Comenda 110343
Lasa 320805
29 415937 9000 230 3 340 37 52 7 300 72 Mareno 1037312700
Electrolux 049992
30 418779 9000 230 3 350 52 54 - - 72 Zanussi 049992
31 416233 9000 230 3 440 42 38 7.5 290 73 Lamber 0300299
32 415022 9000 230 3 490 54 40 7 300 75 Comenda 110362
33 418586 9000 230 3 515 37 46 7 440 73 Angelo-Po 32G2720
Electrolux 007030
34 418153 9000 400 6 440 38 40 4 180 68 Zanussi 007030
Colged 80398
35 416242 9500 230 3 325 36 45 7 195 72 Eurotec 80398
36 418798 9600 230 3 545 36 53 7 190 73 Fagor 2121741
Elettrobar 927026
37 418871 10000 230 3 375 40 33 7 225 73 Eurotec 927026
38 418085 10000 230 3 393 38 52 7 350 73 Giorik 6003295
39 416266 10000 400 3 510 37 52 7 450 73 Silanos TRO330
Electrolux 049997
40 416134 10500 230 3 335 52 52 - - 73 Zanussi 049997
41 416126 10500 230 3 590 30 40 7 480 73 Gico 293200360
42 415023 12500 230 3 630 36 48 7 295 76 Comenda 110367
Electrolux 007076
43 | 418154 17000 400 6 450 39 41 4.5 180 69 Zanussi 007076
Electrolux 007101
44 | 418155 24000 400 3 570 40 40 4.5 180 69 Zanussi 007101
v g
bHT
Hih2 (7':
' T 1 ey
- L - A h,
i . o
B 575mm
= 5!
No. Part No. powey voltage HC (ml;“) ‘ (mBm) (mHm) (r::n) (nl'::') (mDm) suitable for equiv. no.
1 418636 4500 230 3 290 28 45 25 20 6 Lasa 320809
L] ininmi.
) T
12 & H1 .
e E—J I
L L | Ao,
£ B
[72]
k= ' 57,5mm
s]e)
g ? £ o85G
2
(V]
g’ I H1 H2
ower voltage (] 0 .
-‘g No. Part No. P 9 HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
% 1 418769 11000 240 3 502 38 73 38 35 8.5 Meiko 0101186
2 418770 15000 230 3 580 40 73 39 34 8.5 Meiko 0101185

646




ELECTRIC immersion heaters Heating elements

3 hole flange 60mm )
|
H
& E”: 5
0, s}
B - -
i 60,0mm
- L -
1 2
ower voltage L B H TSe LTS o .
No. Part No. p(w) (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418711 3000 230 1 285 42 36 7 185 Aristarco 1294
Aristarco 1324
2 415166 2000 230 1 180 42 65 7 170 Coldmaster 8434805
non-standard flanges
; ]
B
E¥=
| S —
r
H
p E‘
1
ower voltage L B FL FW . n
No. Part No. p(w) (v)g HC ‘ (mm) (mm) (mm) (mm) suitable for equiv. no.
Elettrobar 230018
1 415007 4500 380 3 435 74 105 35 Eurotec 230035
1
No. Part No. Description suitable for equiv. no.
Electrolux 0K5577
1 510560 gasket EPDM thickness 6mm int.  200mm Qty (1pc) Juno 285128
Zanussi 0K5577
12
No. Part No. power poliage HC 5 L suitable for equiv. no. ‘ﬂ
) i w) v) (mm) (mm) (mm) o g
Electrolux 0K0516
1 416975 15000 400 6 263 240 80 Juno » 0K0516 g
Electrolux 0K0517 (]
2 415797 18000 400 6 325 240 45 Juno 0KO0517 o)
| Zanussi | 0K0517 £
Electrolux 0K0521 ©
3 415798 22500 400 6 - - - Juno 0K0521 %
Electrolux 0H6153
4 415799 25200 400 6 470 235 90 Juno 0H6153
Zanussi 0H6153

647



-
N

Heating elements

[

Heating elements immersion heaters

ELECTRIC

with compression flange 50 x 26mm
L
B Eﬂﬁ
2 L=
T B
H & - s
L ) | i
= ] . J

No.  PartNo. powey voltage HK (m';n) (mBm) (m“m) ‘(“n':;f suitable for equiv. no.
1 418932 2000 240 1 350 30 14 6.3 Bourgeois RC553
C fe— |

p | B2 /:) 8
[ | -
81 0l ,
t =
- 12 L1
= L i
‘ No. Part No. powey vo(l%ge (ml;“) (mBm) (r:1-r1n) (r::n) t;",:;)" suitable for equiv. no.
‘ 1 416503 1500 230 295 108 32 23 8 Bourgeois RC602
i
B (ﬁ\%
1 [N -—
L 13 w2 L1
- L -

No. Part No. powey vo:l\:)ge (ml}n) ‘ (mBm) (r:;:n) (nl;fn) suitable for equiv. no.
1 416293 610 254 370 120 40 70 Hobart 231982-9
2 416294 610 440 365 120 35 60 Hobart 231982-10
3 416292 2700 230 380 105 60 45 Hobart 324187-2

B
7 -
T :/_:/// '
x e |
W e———21F
h i
- L -
No. Part No. powey vo(l:la)ge (mLm) (mBrn) (mHm) suitable for equiv. no.
1 415396 2500 230 190 290 47 Palux 172847
,
B
5 §
=t
H
4y
- -L -
2
No. Part No. pm)er vo:l\:)ge (ml;“) (ml?n) (mHm) t(ur:;;a suitable for equiv. no.
Colged 230098
1 416234 600 230 160 45 27 8.8 Elettrobar 230098
Eurotec 230098
Electrolux 049059
2 415272 800 230 160 34 20 8.5 Zanussi 049059




ELECTRIC

immersion heaters Heating elements

ower oltage L B H L1 B2 o n
No. Part No. pow! v (V)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416209 2000 230 180 ) 24 55 35 Agﬁg'&;? 392&%0520
2 415049 2700 220 273 98 23 50 33 Teikos 843501
3 416202 2700 230 270 70 25 55 30 Mach 512042900
i /
| @ 8
' 2
r o -E
H
A
- —L -
No. Part No. powel voR,a)ge (ml'm) (mHm) (mBm) suitable for equiv. no.
1 415453 2000 230 248 20 248 Herzog & Langen -
2 | 415454 2000 400 244 21 244 Herzog & Langen -
i T
4 @ Bl
B % 3 £
Y A
3 3 -2 1=
———— % >
— i |
ITH
Ky
- L -
1
ower voltage L1 B1 o .
No. Part No. p(W) (v)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416133 2000 230 365 80 27 95 30 EZ'Z‘;tL‘;L“lX gzgggi
2 | 415070 2200 230 355 75 25 65 25 EZ'Z‘;tL‘;EX gjgggg
3 416132 3000 230 360 70 25 60 20 Ez'zcr:{]‘;gx gjgjg}
1
ower oltage L H B o .
No. Part No. p(V‘:II) A (V)g (mm) (mm) (mm) suitable for equiv. no.
Capic L201035
1 415151 2500 230 273 30 130 Colged 926217
Eurotec 926217

649

12

Heating elements



Heating elements immersion heaters

[

 c— -

with compression flange 62 x 26mm

ELECTRIC

- L -
No. Part No. power vo(l:la)ge (mLm) (mBm) tub(er:uml;e ¢ suitable for equiv. no.
1 415755 1000 230 192 44 8.5 BAM -
P —’ m]
: I=——1
C ’ t -
L L -
No. | PartNo. povey "°('§,a)9° ‘ (m';n) (mf:n) '“b(‘m‘;e 2 suitable for equiv. no.
1 415267 1800 230 190 41 6.3 Dihr 17201
Dihr 10714
2 415266 2000 230 300 46 6.3 Univer-Bar 2011
Baumeister Tauchheizkorp.733020
3 415801 2000 230 321 44 8.5 EGO 20.40246.000
4 418775 2000 240 350 46 6.3 Krupps 103400
i )
B # )
LS g
E Lo
JJ H
[ T
- L -
No. Part No. powey vogla)ge (mm) (mm) (mm) tub(e':'t;l;e 2 suitable for equiv. no.
Dihr 16035/A
1 415268 1850 230 245 40 25 6.5 Wega 30910
2 416307 2000 230 270 42 27 6 Univer-Bar 1532
Dihr 150047
3 415270 2700 230 335 43 25 6.3 Multi 130805

-
N

Heating elements

650




ELECTRIC

immersion heaters Heating elements

with compression flange 70 x 26mm

12

Heating elements

i m|
- -L -
No. Part No. pm)er vog;n)ge (mLm) (mBm) t(u"!:;;’ suitable for equiv. no.
Colged 230087
Elettrobar 230057
1 415009 2500 230 280 51 6.3 Eurotec 230087
Krefft 62-230087
Eletrobar 230088
2 415000 2900 230 272 51 6.3 E 230075
urotec
. 230088
Giga
with compression flange other
1 2 3
lta tub o .
No. Part No. pt(ctvv)er vo(v)ge (mm) (mm) (mm) Fm:; suitable for equiv. no.
EGO 20.12508.000
1 415565 1500 230 350 180 20 8.5 Electrolux 0111092
King 0111092
EGO 20.40022.000
2 415507 2000 230 250 35 25 8.5 Meiko 0101152
3 416251 2500 230 290 285 45 8.5 Elviomex 003.40.00011
with expansion flange 40 x 14mm
L
¢ =" EG I
- L -
No. Part No. pn()vv\;;ar vog[a)ge (mLm) (mBm) t(unl:;;a suitable for equiv. no.
Capic L201030
1 415154 2500 230 455 37 8.5 Colged DRV15
Eurotec DRV15
=
Lek [
- L2
' .
i
- 1. -
ower voltage L : n
No. Part No. p(W) (V)g (mm) (mm) (mm) suitable for equiv. no.
1 416276 1100 230 203 40 27 Dihr 540401

651



Heating elements immersion heaters ELECTRIC

[With expansion flange 40 x 16mm
' ]
 (—— |
[ 4 t i t
- i -
No. Part No. p(()vv\;)e u vo(lba)ge (mLm) (mBm) t(ul::‘f suitable for equiv. no.
1 | 416283 1500 230 385 36 8.5 Hobart 324646-1
2 415081 1800 240 500 34 8.5 Mareno 627510
3 | 416284 2000 230 402 34 8.5 Hobart 324646-2
4 | 415143 2000 230 436 33 8.5 Silko 0101530
5 415197 2000 400 432 33 8.5 Silko 0101531
6 416373 2100 240 730 31 8.5 Mareno 3935320
7 415082 2200 230 410 34 8.5 Mareno 33610
8 416285 2500 230 400 36 8.5 Hobart 324646-3
9 416388 3000 230 385 33 8.5 Hobart 324646-4
with expansion flange 70 x 18mm
. —
| GE—
b i(ll|=
= | = -
No. Part No. pm)er vo(l:la)ge (mLm) (mBm) t(l::l’:lf SD(I:‘UI:)Q O suitable for equiv. no.
EGO 20.40631.000
1 | 415568 800 230 220 66 8.5 8 MKN 573106
EGO 20.40631.010
Electrolux 0700214610E
2 | 415460 1000 230 230 65 8.5 8 Juno 0H6199
Krefft 01-214610
3 | 415430 1500 230 375 58 8.5 6 - -
4 | 415549 1750 240 340 66 8.5 - Rieber 33010116
Electrolux 049755
5 | 418648 2000 230 325 65 8.5 - Zanussi 049613
6 416287 2000 230 388 64 8.5 - Hobart 324644-2
7 416286 3000 230 408 65 8.5 - Hobart 324644-1

-
N

Heating elements

652



ELECTRIC

immersion heaters Heating elements

a— :
e B [((C
(( e v =
- L -
ower oltage L B tube o TS tube o LTS n s
No. Part No. pow! v (v)g HC (mm) (mm) (umm) (n:‘m) (mm) suitable for equiv. no.
1 415159 2500 230 2 285 65 8.5 - - Capic L201045
EGO 20.40423.030
Krefft 76-30044306
2 415465 3000 230 2 345 65 8.5 - - Kuppersbusch 407264
Lohberger F7U47139
Rational 30043506
3 415552 3000 400 2 365 64 8.5 ; ; o0 20 s 020
4 416288 4000 230 2 480 63 8.5 - - Hobart 324637-2
EGO 20.40440.000
5 415447 6000 230 2 337 65 8.5 25 105 Krefft 76-30044155
Rational 30044155
EGO 20.40423.010
6 415466 6000 230 2 365 65 8.5 - - Kuppersbusch 407263
Rational 30043505
7 416289 6000 230 2 417 65 9 - - Hobart 324637-1
EGO 20.40440.010
8 415448 6000 400 2 355 65 8.5 3 134 Rational 30044157
EGO 20.40423.000
9 415551 6000 400 2 365 65 8.5 - - Rational 30043508
10 | 418639 6000 440 2 370 68 8.5 25 115 Rational 3004.4159
i = ]
} ——
(=
[
v o
H —{B
Ita L B H o n
No. Part No. pm)er vo(v)ge HC (mm) (mm) (mm) suitable for equiv. no.
Colged 230106
1 416243 7600 230 3 390 60 13 Eurotec 230106
- L -
12
No. Part No. poviey vo(l?)ge HC (mm) ‘ (mm) ‘ '("nl:;f suitable for equiv. no. ‘9
EGO 20.40632.010 c
1 415569 5000 230 2 262 65 8.5 MKN 573108 g
EGO 20.40632.040 @
Electrolux 0700213742 (9]
2 415459 5600 230 2 275 64 8.5 Juno OH6146 o
Zanussi 0H6146 ,§
EGO 20.40632.030 g
3 415557 5600 200 2 257 64 85 Electrolux 0700214087.7D214087 T
Juno 0H6164
Krefft 01-214087

653




Heating elements immersion heaters ELECTRIC

i i (:
)
I - ' 1
- |
- -L -
ower oltage L B tube o o 5
No. Part No. p(ﬁ) v (v)g (mm) (mm) (umm) suitable for equiv. no.
Linea Blanca A030021
1 416357 2000 230 265 65 8.5 Sammic 2302830
Malag 105597
2 415225 2000 230 395 57 8.5 Palux 350184
3 415431 2500 230 368 60 8.5 Palux 350214
Colged 230100
4 416239 2600 230 270 65 8.5 EGO 20.40307.000
Eurotec 230100
5 416366 2700 230 270 65 8.5 Linea Blanca A030022
Bertos 10622
6 418137 3000 230 220 65 8.5 Foinox 10622
Electrolux 049756
7 418825 3000 230 310 68 8.5 Zanussi 049614
8 415432 3000 230 325 58 8.5 Palux 350206
9 418832 3000 230 350 63 8 Fagor P143002
Bertos 10620
10 418138 6000 230 445 68 8.5 Foinox 10620
11 = 418800 6000 230 510 60 8 Fagor P533001
i (:
E B —)
f — T .|
- L -
No. Part No. pm)er ‘ vo(l:la)ga HC (mLm) ‘ (mBm) ‘ ';';:17 suitable for equiv. no.
Electrolux 210806
1 415345 3000 400 2 534 65 6.3 Juno 210806
Electrolux 0700214286
2 415461 4000 ‘ 230 2 237 . 64 » 8.5 Juno OH6170
Electrolux 0700214679
3 415462 4000 ‘ 400 2 256 . 65 v 8.5 Juno OH6202
Electrolux 0700214287
4 415463 6000 230 2 358 59 8.5 Juno OH6171
Electrolux 0700214608.7D214608
Juno 0H6198
5 415464 6000 400 2 380 65 8.5 Krefft 01-214608
Zanussi 0H6198

-
N

Heating elements

654



ELECTRIC

immersion heaters Heating elements

ower oltage L B H tube o . n
No. Part No. pow v (V)g (mm) ‘ (mm) (mm) (umm) suitable for equiv. no.
1 418588 1000 220 175 83 55 8.3 Angelo-Po 32G0120
2 418598 1500 220 175 83 55 8.5 Angelo-Po 32G0190
3 415015 1500 230 212 68 50 8.5 Comenda 110228
4 416381 2000 230 280 78 22 8.5 Fagor R223005
5 416370 2500 230 380 68 30 8 Sammic 2309092
6 416382 2800 230 370 102 27 8.5 Fagor 7203601
i @]
AN\ —
v k =)
e
T L
H ]
ok A
- L -
It: tube o . .
No. Part No. powel vo(va)ge HC (mm) (mm) (mm) (umren) suitable for equiv. no.
Comenda 110227
1 415016 3000 230 3 398 60 24 6.3 Hoonved 33339
Mareno 110227
2 418799 4000 230 3 348 65 27 6.2 Fagor H063002
1 4
It: L B H tube o " .
No. Part No. p;"yv’;" vo(va)ge HC (mm) (mm) (mm) (umren) suitable for equiv. no.
1 416380 1000 230 1 273 63 23 6.5 Fagor 2733601
2 415662 2000 230 1 200 56 86 6.3 Aristarco 2836
3 415061 2400 230 1 383 83 24 8.5 Comenda 110373
4 418529 4500 230 3 365 65 27 6.7 Fagor 2743601
(g
B I
= L i i
J
i Z —h
H
| I
-—13 —=l2=L1=
ower voltage L B H L1 L2 L3 o o
No. Part No. p(w) (v)g HC ’ (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418885 4000 230 1 350 63 18 23 19 308 Fagor P633300200
2 415429 4000 230 2 370 60 55 20 60 290 Palux 350176
3 415433 6000 230 2 372 58 54 28 70 274 Palux 350192

655

12

Heating elements



Heating elements immersion heaters

f

with expansion flange 70 x 34mm

— 4

ELECTRIC

- L -
No. Part No. power vo(lba)ge HC (mm) (mm) (mm) suitable for equiv. no.
1 415155 4500 230 3 170 59 45 Colged DRV41
with round flange @47.5mm
' L
g——|:
i {
O
8 =4
| ] 1
N C— R
- L -
No. Part No. pmfr vo(l\t.;a)ge HC (mLm) (mBm) (mHm) (.I;r‘?""') ‘ (Ir-nTI:) suitable for equiv. no.
1 415513 2800 230 2 345 35 28 9 235 Krefft 026227
2 | 415693 3000 230 3 220 30 30 6.5 170 Meiko 0101150
3 | 415262 3000 230 3 260 40 36 7 250 Dihr 15046
4 | 415411 3000 230 3 265 39 36 7 225 EGO 24.22186.000
Blumauer 00180361
5 | 415581 3000 230 3 268 36 28 - - EGO 24.62330.000
Malag 105716
6 | 415044 3000 230 3 270 37 28 7 225 ATA 4205
Klppersbusch 182520
7 | 415604 3000 230/400 3 160 36 25 - - Palux 702196
Thielmann 143833
8 | 416258 4000 230 3 363 33 33 - - Elviomex 003.00.00351
Electrolux 026623
Kuppersbusch 182655
9 | 415598 4500 230 3 350 28 34 6.5 305 Meiko 0101163
Zanussi 026623
10 | 415045 4500 230 3 372 38 28 7 235 ATA 5205
Angelo-Po 32G3390
11 = 415263 4500 230 3 375 38 46 7 240 Dihr 15089
Malag 105724
12 | 415412 4500 230 3 394 36 42 7 220 EGO 24.22187.000
13 | 418846 4500 230 3 395 37 30 - - Capic E153010
14 | 416271 5000 - 3 252 35 34 8 195 Comenda 110391
15 | 418786 6000 230 3 315 33 26 7 280 Linea Blanca A030017
Krefft 49-182656
16 | 415599 6000 230 3 385 31 36 6.5 180 Kiippersbusch 182656
17 | 416317 6000 230 3 400 36 36 7 245 Univer-Bar 4551
12 EGO 20.28139.000
18 | 415663 6000 230 3 400 40 28 7 150 Malag 105732
Meiko 0101143
19 | 416278 6000 230 3 435 38 38 7 236 Dihr 15089/A
» Ascobloc 09 1942
t Electrolux 045559
(] Krefft 49-182416
£ 20 | 415405 6000 230 3 465 38 24 - - Kippersbusch 182416
2 Palux 826677
o Thielmann 144346
g’ Zanussi 045559
"g 21 | 416029 6000 230 3 490 36 39 7.5 235 ATA 6205
% 22 | 418923 6000 230 3 493 36 31 7 145 Bonnet 1030210
23 | 415413 6000 230 3 505 37 37 6.5 212 EGO 24.22188.000

656




ELECTRIC

immersion heaters

Heating elements

L {
i i m
— @)
' { - -
B ([ Wsmm
ower oltage L B H TSe LTS 0 n
No. Part No. POW v (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
24 416257 6000 400 3 360 37 33 - - Elviomex 003.00.00411
25 415808 6560 230 3 370 46 34 7.5 290 ATA 5505
Electrolux 055463
26 418188 7500 220 3 260 35 32 - - Zanussi 055463
27 415873 7500 230 3 415 30 47 6.3 210 Meiko 0101167
Krefft 49-182539
28 415416 7500 230 3 460 37 26 7 200 Kiippersbusch 182539
29 415600 7500 230 3 520 34 32 6.3 170 Kuppersbusch 182657
EGO 20.30034.000
30 415692 9000 230 3 475 34 30 6 195 Meiko 0101166
31 415875 9000 230 3 518 34 37 - - Kuppersbusch 181736
EGO 20.29496.000
32 418287 9000 230 3 540 37 28 - - Kuppersbusch 540842
| Thielmann 144347
33 415888 12000 230 3 510 34 33 - - Kuppersbusch 181737
Electrolux 055464
34 418156 17000 240 3 470 36 40 - - Zanussi 055464
Electrolux 002751
35 415652 24000 400 3 585 32 35 5 155 Zanussi 002751
T E
"
i 1
—
- 1 hoJ L
B (C—E wswm
- L -
ower voltage L B H TSe LTS o n
No. Part No. p(W) (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Angelo-Po 32G0480
1 415249 1500 220 1 220 36 49 7.5 181 ATA 7609
2 416306 2000 230 1 270 38 22 7.5 200 Univer-Bar 2010
Comenda 110262
3 416272 2400 230 1 220 35 37 7 195 Mareno 110262
4 416255 2500 230 1 230 34 27 - - Elviomex 003.40.00006
5 415260 2500 230 1 185 40 36 7 165 Dihr 16036/A
6 415043 2500 230 1 225 41 36 7 210 ATA 7204
7 418076 2750 240 1 245 33 29 6 210 Jemi 2001121 12
8 418216 3000 230 1 370 40 38 - - Elviomex 003.50.00005
Electrolux 0K4734
9 418782 4500 230 3 330 43 33 6.25 203 Therma 7CHG76302804

Heating elements

657



ELECTRIC

Heating elements immersion heaters

ower oltage L B H L1 B1 p .
No. Part No. pow! v (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416297 2500 230 3 230 123 31 32 45 Hobart 173649-2
2 416295 3000 230 3 185 79 30 35 23 Hobart 226807-1
3 416296 6000 230 3 230 128 32 30 46 Hobart 170495-2
4 416298 9000 230 3 230 120 34 25 42 Hobart 226506-2
T
H E
i
—3 =i FL | @
T 1
B @ @75mm
i 1
1 2 3
It: L B H TS LTS . .
No. Part No. powey vo(va)ge HC ‘ (mm) ‘ (mm) ‘ (mm) (mr:) (mm) suitable for equiv. no.
1 416254 2400 230 1 295 40 46 - - Elviomex 003.35.00009
2 415492 3000 230/400 3 220 36 45 6 170 Winterhalter 3103027
EGO 20.20459.000
3 415511 6000 220 3 355 35 113 7 235 Krefit 026231
’ Ha %
H1 |
I e
! -2 el
T—=fa
‘. S T
ower voltage I8 B H L1 H2 . 5
No. Part No. P (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Kippersbusch 540821
1 418286 6000 230 2 392 35 40 32 13 Thielmann 143834
2 416945 6000 230 3 470 26 50 105 25 Kippersbusch 782407004
3 418333 7500 230 3 455 42 73 105 39 Kuppersbusch 160116
4 416946 7500 230 3 645 24 60 110 30 Kippersbusch 182539
EGO 20.29335.000
5 418270 9000 230 3 535 36 45 35 10 Kuppersbusch 540717
12 Thielmann 143836
T :
i) :1 Hi jj%
c v C/ |
[} i
= O
o . /
) s E=—g9) "™
c i &9,
=
©
()]
I
Ita L B H H2 o n
No. Part No. pm)er vo(v)ge HC (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415269 2700 230 3 257 28 45 34 Dihr 15047
2 416327 3000 230 3 280 28 60 36 Univer-Bar 4552




ELECTRIC immersion heaters Heating elements

No. Part No. pm)er ‘ vo;t\gge HC (ml;") (mBm) (mHm) (':‘I'Zn) suitable for equiv. no.
1 418756 2600 240 1 185 43 35 15 Jemi 2001211

No. Part No. p?w)mr vogla)ge HC (mLm) (mBm) (mHm) (rttln?n) suitable for equiv. no. ‘
1 415497 2800 230 1 245 35 44 35 Winterhalter 3103047 ‘

ower oltage L B H H2 o n
‘ No. Part No. ‘ p(‘;'v') ‘ u (V)g ‘ HC ‘ (mm) ‘ (mm) ‘ (mm) ’ (mm) ‘ suitable for ‘ equiv. no. ‘
1 418319 2000 20 1 25 3% 3 14 Univer-Bar 4599 |
I
B
T
No. Part No. pm)er vo(l:la)ge HC (mm) (mm) (mm) suitable for equiv. no.
1 415496 2800 230 1 235 140 14 Winterhalter 3103051 1 2
(7]
i
\ 5
£
K-
()
e
(=]
c
=
(1]
()
I
No. Part No. pm)er vo(l%ge HC (mm) (mm) (mm) suitable for equiv. no.
1 415491 6000 230 3 335 130 49 Winterhalter 3103025

659



Heating elements immersion heaters

ELECTRIC

No. Part No. power vo:t\:)ge HC (mLm) (mBm) (mHm) (r;lrzn) suitable for equiv. no.
1 418784 2500 230 3 345 42 45 23 Linea Blanca A030014
2 418785 3000 230 3 345 41 55 29 Linea Blanca A030016
3 418783 5000 230 3 350 41 55 27 Linea Blanca A030015
[ ¢ )]
| I
C _J
No. Part No. povv\;er vo(l:la)ge HC (ml}") (mBm) (mHm) suitable for equiv. no.
Electrolux 0101158
1 415509 6000 230 3 145 374 25 Meiko 0101158
1 { CEH
=
—
C = 1> A
C ] S
N |
-1 H
E ! A
- L -
No. Part No. powey vo(lv)ge HC (mm) (mm) (mm) suitable for equiv. no.
1 415512 2790 230 3 375 130 23 Krefft 026233
Krefft 023235
2 415508 3000 230 3 380 125 25 Meiko 0101151
N — S
C—%—) 82
C |
B1
TE
12 ]
| H
= ] R
- L -
No. Part No. powey vog,a)ge HC (ml;“) (mBm) (mHm) suitable for equiv. no.
1 418797 2800 230 1 365 340 30 Fagor 2653610

Heating elements

660




ELECTRIC immersion heaters Heating elements

p—:
TH2 = J
E ﬁ_ ! -3 ==l2el1= ©
B [ Z:::‘ £ w75 :
B 5 - ~mm
i {m}
- L -
ower oltage L B H H2 L3 TSo LTS . n
No. Part No. p(vv\;) v (V)g HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415494 4980 230 3 335 30 50 15 260 6.5 215 Winterhalter 3103030
2 417336 5000 240 3 290 33 55 26 217 7 205 Winterhalter 3103030
3 416058 6000 400 3 290 32 62 24 174 - - Winterhalter 3103150
4 415493 6600 240 3 282 35 57 22 210 7 215 Winterhalter 3103017
5 415877 9000 230 3 430 36 52 17 360 6 215 Winterhalter 3103018
.
H H1
v an
e — Sl
B
i
- L -
ower voltage L B H H2 L3 TSo LTS . 0
No. Part No. p(w) (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415876 2200 230 1 220 24 54 43 155 6.5 215 Winterhalter 3103081
2 415495 2800 220 1 220 28 50 25 170 6.5 210 Winterhalter 3103015
- L -
Ita L B H TS LTS o .
No. Part No. pm)er vo(v)ge HC (mm) (mm) (mm) (mn?) (mm) suitable for equiv. no.
1 415879 4980 220 3 230 165 45 7 170 Winterhalter 3103089
with round flange @57.5mm
W (—
L 1
S @ 12
A=l
i
- L -
(7]
i
=
(]
ta L B H TS LTS n .
No. Part No. pm)er voMge ‘ HC (mm) (mm) (mm) (mr:) (mm) suitable for equiv. no. E
1 415019 3000 230 3 338 37 41 7 300 Comenda 110226 g’
2 418199 3900 230 3 230 35 49 7 210 Lainox R65020180 =
=)
Alpeninox 0A2484 ©
3 418079 4500 220 3 385 40 40 6.5 51 Electrolux 0A2484 %
4 415182 4540 230 3 323 36 48 7.5 300 Angelo-Po 32G1300
5 416598 4540 400 3 312 55 48 7 290 Angelo-Po 32G1931
6 418200 6000 230 3 377 50 38 7.5 260 Lainox R65020240

661



-
N

Heating elements

Heating elements immersion heaters

-I-
ﬂ

ELECTRIC

57,5mm
No. Part No. powey vo:t\:)ge HC (mLm) (mBm) (mHm) (T"?r:) (I'."‘I'ms) suitable for equiv. no.
Baron 41853310062
7 | 418040 6000 230 3 385 32 42 7 275 Icos 10062
Lotus 10062
8 | 418589 6000 230 3 395 31 42 7 265 Angelo-Po 32G3070
9 | 416662 6000 230 3 405 31 46 7.5 270 Modular 66502200
10 | 415264 6000 230 3 465 33 42 7.5 268 Dihr 30001010
Alpeninox 0A2485
11 418080 6000 230 3 493 36 40 6 51 Electrolux 0A2485
Zanussi 0A2485
Ambach R65020350
12 415848 7500 230 3 365 36 50 7.5 270 Lainox R65020320
Baron 41853310185
13 | 418041 8000 230 3 470 42 31 7 278 Icos 16600
Lotus 16600
14 = 416663 8000 230 3 510 43 30 7.5 275 Modular 96502500
Angelo-Po 32G3410
15 415265 9000 230 3 470 35 41 7.5 295 Dihr 30001011
Multi 130011
16 = 415957 9000 400 3 402 33 43 7 270 Mareno 5152300
17 | 416279 12000 230 3 483 48 34 7 295 Dihr 30001011/A
Ambach R65020420
18 = 415849 15000 230 3 530 45 30 7 272 Lainox R65020390
==
Y |
L |
E | L ©
=R
i
- L -
It: L B H TS LTS . .
No. Part No. pm)er votage HC (mm) (mm) (mm) (mr:) (mm) suitable for equiv. no.
1 416369 2500 230 1 255 31 42 7 110 Sammic 2309696
Colged DRB23
2 | 415034 2600 230 1 250 37 27 - - Elettrobar DRB23
Eurotec DRB23
EGO 24.30081.50
3 418198 3150 220 3 240 54 54 6 220 Lainox R65020110
4 418046 3800 230 3 250 41 34 - - Modular 46500000
Capic L202022
5 415038 5000 230 3 373 44 40 7 328 Colged 929040
Eurotec 929040
6 415578 7500 230 3 330 44 47 75 240 Therma 478040702

662




ELECTRIC

immersion heaters Heating elements

LI :
=eTe
- -
=
B
:

er oltage L B H H1 L1 . n
No. Part No. p‘(’\ﬁ) ‘ v (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 0E5161
1 418615 7500 230 3 440 35 55 20 40 Zanussi OE5161
! . 1l
W — E
|;I Fi‘[.' 1
r E EI,Smn:
e
- L— -
Ita H1 L1 TS LTS o n
No. Part No. p?‘x’l)er vo(v)ge HC (mm) (mm) (mm) (mm) (mm) (m':) (mm) suitable for equiv. no.
1 415183 7000 220 3 415 41 70 25 265 - - Angelo-Po 32G0770
2 416599 7000 240 3 405 42 70 30 250 7 51 Angelo-Po 32G1031
3 416600 7000 400 3 415 41 84 32 265 6.5 51 Angelo-Po 32G2330
with round flange 860.0mm
1
B B = =
i iE 60mm
- L -
1 2 3
It: L B H TS LTS n .
No. Part No. pt(w)er vo(va)ge HC (mm) (mm) (mm) (mr:) (mm) suitable for equiv. no.
1 415168 2500 230 1 180 32 62 7 175 Aristarco 1323
2 415146 4500 230 3 270 37 42 7 185 Aristarco 1299
3 415147 6000 230 3 348 34 39 7 175 Aristarco 2126
other
250ty
Eﬁmr;
- L -
It: TS LTS Fi o .
No. Part No. pm)er vo(va)ge HC (mm) (mm) (mm) (mn?) (mm) (m:|) suitable for equiv. no.
1 415161 2700 230 3 235 47 44 10 235 98 Fabar 10162
2 415162 4800 220 3 340 47 41 10 225 98 Fabar 10162B

663

12

Heating elements



Heating elements immersion heaters

ELECTRIC

# |
=
o i 7 a2mm
i [ s
= i =—tF O
B {
! | m]
i Ej
-— L =
1 2 3
ower oltage L B H HD o 5
No. Part No. p(‘x,') v (v)g HC (mm) ‘ (mm) (mm) (mm) suitable for equiv. no.
1 416383 2400 230 1 278 39 39 64 Fagor 7401711
2 | 416387 2800 230 1 275 38 38 74 Fagor 7421711
3 | 416375 2800 230 1 290 37 32 42 Fagor 7421712
v .|
—:
i !
& i %
y i L R@j
: (ﬁ:zﬁ
— |
1 2 3 4 = L "
ower oltage mounting @ L B H TSo LTS HD n n
No. Part No. p(v'\;) v (v)g zlmr:l)g HC (mm) ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416384 2800 230 62.5 1 427 44 43 6.5 190 41 Fagor 2201706
2 | 416385 6000 230 60 3 415 39 49 6.3 190 41 Fagor 870006486
3 | 416614 9600 230 60 3 425 50 45 6.5 235 82 Fagor 2721701
4 | 416386 12000 230 60 3 428 45 44 6.7 250 82 Fagor 2728306
r - 1l
H E——="
, S L €2
B (C————F
i B
- L -
No. Part No. powey poiiage ‘ HC ‘ (mLm) (mBm) (mll:n) (:g) (m) (r::-n) suitable for equiv. no.
1 415984 6000 240-415 3 584 70 65 96 116 116 Mareno 1414300
2 | 416815 7500 230 3 580 66 64 37 110 110 Mareno 1878300
: <:q:|
| =—=F
ie] al
B= B Ll I lo =)
—— = &= == .
i
1 2 3 4 B
ower voltage L B H TSo LTS HD FW FL P n
12 No. Part No. p (v)g HC (mm) (mm) ‘ (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Elframo 00003325
1 418548 5200 230 3 325 47 50 - - 62 81 96 Emmepi 809218
2 418924 | 8000 230 3 305 37 36 55 205 45 64 64 Bonnet 71892E
Bourgeois RC231
ﬂ 3 | 415033 9000 230 3 322 37 68 - - 67/45 - - Elframo 00003349
[=
g 4 | 418879 9800 230 3 322 37 68 6.5/10 185/80 67/45 81 96 Elframo 00003349
2
(V]
(=]
c
g o IN=E
L e B
- L - N :
1
wer voltage L HD FB FL n o
No. Part No. ‘ po (V)g HK (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Bourgeois RC802
1 416502 8000 240 3 305 40 55 64 64 HOBART 845370-01

664




ELECTRIC immersion heaters Heating elements

A\ .

H e — 4R

& F

=] =]
B (1
— m]
- L -

No. Part No. p?w)mr vo:l\:)ge HC (mLm) (mBm) (mHm) (:z) (m) (thl) suitable for equiv. no.
1 415994 3400 230 3 430 38 46 58 - - Mareno 1677000
2 415794 6000 230 3 360 35 43 44 63 74 Voss -

Y h Gl 5
g B (C 1
e m]

oo

- L -

power voltage L B H TSo LTS HD FW FL n .
No. Part No. W) W) HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416299 2200 230 1 420 45 35 5 365 45 63 63 Hobart 324206-3
L =
H(C———F
i P
& &)
i I, lkb_e
B ———5
Rt
- L -
power voltage L B H TSe LTS HD FW FL o n
No. Part No. W) v) HC ’ (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416300 4500 230 3 413 45 45 5 377 45 63.5 63.5 Hobart 324206-5
2 | 416290 7500 230 3 415 44 44 5 369 46 63.5 63.5 Hobart 324206-5
3 416291 9000 230 3 407 42 43 5 370 45 63.5 63.5 Hobart 324206-7
4 418685 9900 230 3 415 65 37 6.5 160 72 58 88 Convotherm 5017002
L. —-
H———
—=
e
- T 0 ©§
i 2 | — (=] a (=]
i <:>
(C—— b
12
- L -
power voltage L B H HD FL FW TSe LTS . .
No. Part No. W) v) HC (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 417197 9000 230 3 280 78 35 48 105 60 3 115 Fagor T323006
2 416606 9000 230 3 387 89 34 95 105 55 - - Fagor R143000

Heating elements

665



ELECTRIC

Heating elements immersion heaters

- L -
1 2
ower oltage L B H HD FL 0 a
No. Part No. P (v"\;) v (V)g HC (mm) (mm) ‘ (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415178 3000 230 - - - - - - - Elframo 00203049
2 418574 3000 230 1 233 29 45 50 96 80 Elframo 00203052
accessories
::““7--_ —. e
1 2 3
No. Part No. Description suitable for equiv. no.
1 521126 | gasket L 146mm W 82mm hole @ 9mm Rational 51101200
2 | 510565 | gasket rubber L 82mm W 82mm thickness 4mm Rational 31101003
Krefft 76-30140165
3 379078 | temperature sensor Rational 30140165
i  ——
1=
p =)
= [E)]
i (7—.1 ] L=/}
[: J e—
L c—— |
[ L -
1 2
ower voltage L B H TSe LTS HD n n
No. Part No. p(W) ‘ (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415550 9000 230 3 205 38 70 25 120 64 Rational 32011000
2 415614 9000 230 3 232 76 38 25 235 64 Rational 32011200
accessories
12
::““7--_ —. e
[7]
)
[= 2
(]
g No. Part No. Description suitable for equiv. no.
© 1 550893 | gasket L 81mm W 81mm hole distance 90mm Rational 4000280
(=]
c Krefft 76-30140165
.‘g 2 379078  temperature sensor Rational 30140165
(Y]
El=

666




ELECTRIC

immersion heaters

Heating elements

by o e ——— -Ej
H (_Llw—ﬁDj |,
- e
!t i ————h o
" —————————1h
| B c—
- L -
1
ower oltage L B H TSo LTS o n
No. Part No. p(vv\;) v (v)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418369 9000 230 3 192 39 68 2.5/6.5 155 Rational 4400194
accessories
h
1
No. Part No. Description suitable for
1 550894 | gasket L 122mm W 101mm thickness 4mm Rational 4400279
Krefft 76-30140165
2 379078 | temperature sensor Rational 30140165
=
p B | m]
r——=h
B 5
- L .
1
ower voltage L B H HD TSe LTS n o
No. Part No. P (V)g HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418370 18000 230 6 194 87 68 50 6/2 142/105 Rational 44.00.533
L i i
H1
| H
)
H2
L] L]
1
ower oltage L H L2 H2 o o
No. Part No. [ v (v)g (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415711 1200 230 153 310 121 112 - -

667

12

Heating elements



Heating elements immersion heaters

ELECTRIC

- L -
=
H
——— | |
=132 L1~
1
It: L B H L1 B2 P n
No. Part No. power vo(va)ge (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418613 1850 230 170 98 200 33 32 VEMA XRCU13
with holder
It: L B H TSe LTS 0 5
No. Part No. pn()vv\;)er vo(va)ge HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416149 7500 220 6 310 145 130 6 125 Gierre PRO065/5
Baron 0A037483
2 418111 7500 220 6 310 145 130 6x4 137/125 Gierre PRO065/5
Olis 6A037483
Baron 0A037484
3 418112 15000 220 6 310 230 130 6/4 137/125 Olis 6A037484
with screw connection
Fo
'
. L 3, |
Ita L B MD tube o 5 5
No. Part No. pmfr vo(v)ge (mm) (mm) TS (mm) (‘:nm) suitable for equiv. no.
1 416498 600 230 440 120 M14x1.5 112 8.5 Suprema Heizk.600W Mod.901
2 415172 800 230 405 50 Va* 42 8.5 Angelo-Po 32G0090
3 420012 850 230 420 40 M12x1 34 6.5 Morice RS 0905
Morice RS0905
4 418446 900 230 420 45 M12x1 36 8.5 Solymac P34
5 416227 1000 230 195 40 Va* 32 8 Lamber 0303044
12 6 415055 1000 230 248 36 M14x1.5 30 6.3 EGO 24.22154.000
7 415050 1000 230 260 38 M10x1 31 6.3 EGO 24.22164.020
8 415816 1000 230 445 117 M14x1.5 109 8.5 MKN 573002
‘3 9 415671 1500 230 290 40 M10x1 34 6.5 Avristarco 200
g 10 | 415056 1500 230 379 35 M14x1.5 29 6.5 EGO 24.22155.000
£ EGO 24.22165.020
2 11 415051 1500 230 390 40 M10x1 34 6.5 Electrolux 0H6163
g Juno 0H6163
c Bertos 22038900
= . Giga X45800
g 12 | 415130 1500 230 412 50 3/8 42 8.5 Silko 0109060
ag Star10 X45800
13 | 416248 2000 230 335 40 M10x1 33 6.5 Aristarco 6445T
14 | 416399 2000 230 349 35 M10x1 29 6.5 Rancilio 33122024
15 | 415489 2000 230 465 40 M14x1.5 32 8.5 - -

668



ELECTRIC

immersion heaters Heating elements

ower oltage L B MD tube o . .
No. Part No. pOw v (v)g (mm) (mm) TS (mm) (umm) suitable for equiv. no.
16 | 415052 2000 230 485 40 M10x1 34 6.3 EGO 24.22166.000
17 | 415057 2000 230 490 35 M14x1.5 28 6.3 EGO 24.22156.000
18 = 415053 2500 220 620 39 M10x1 33 6.3 EGO 24.22167.000
19 = 415054 3000 230 730 37 M10x1 31 6.3 EGO 24.22168.010
= fim
o b
C p ———————
) C
( T T m
{3 = - L .
No. Part No. [y vogla)ge (ml'm) (mBm) TS (m,?‘) tz"r:;f suitable for equiv. no.
1 416509 1000 230 455 180 M14x1.5 172 8.5 Suprema -
Colged 230077
2 415666 1100 230 151 56 1/8* 50 6.3 Elettrobar 230077
Eurotec 230077
3 415679 2000 230 235 170 M10x1 164 6.3 BAM -
4 415419 2000 230 393 215 M14x1.5 207 8.5 MKN 573006
5 415181 2000 230 458 208 M14x1 200 8.5 Angelo-Po 32G1250
6 415397 2500 230 273 85 M14x1.5 77 8.5 Palux 233978
7 415255 2520 220 443 64 Va" 46 8.5 Silko 0101810
8 415176 2700 230 347 75 Va" 69 6.3 Elframo 00203089
i Cf i
- I )
— = S)
1 @ a1}
- -L -
No. Part No. powey vallEr ‘ (mLm) (mBm) TS (mr?\) t(unl1):1;a suitable for equiv. no.
1 418454 1950 230 462 107 M12x1 100 6.7 Morice RS0884
i 7 {im
c - =—
C D ] %
Yy B .
C
J
[ o ! [}
- L -
ower voltage L B MD tube o . .
No. Part No. P (V)g ‘ (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 416535 3000 230 303 170 1/8* 164 6.3 Modular 66503200

669

12

Heating elements



Heating elements immersion heaters

ELECTRIC

-
N

Heating elements

1 it}
- L- -
1
No. Part No. power vomge (mLm) (n?m) TS (mg) t(u"!::l;; suitable for equiv. no.
1 418341 1500 230 325 260 M14x1.5 251 8.8 Scholl 71.20.26
o 'y
( B |
L.
et |
No. Part No. poviey vo;%ge (ml;n) (mBm) (nl;;) (::1) TS (n'frlv)\) tz]nl::'nf suitable for equiv. no.
MKN 573004
1 415421 1500 220 450 135 380 117 M14x1.5 129 8.5 Palux 290661
1
No. Part No. p°‘}'vm vo(l:la)ge (mLm) (mBm) ("I;?n) ("B‘?n) TS (mg) tz:::';' suitable for equiv. no.
1 415248 2000 230 415 100 335 35 M10x1 25 6.3 ATA 4360
— s
B2
B P
I I i
— b - L2- =11 =
- L -
No. Part No. povey vogla)ge (mLm) (mBm) (r#:n) (rﬁrzn) TS (mg‘) t(ul::;? suitable for equiv. no.
1 415561 2000 230 422 163 22 66 M14x1.25 58 8 Ubert 343103
i F{m i
: T ) B2
\\ﬁ T
| B B
I - 13 -2
| L -
ower voltage L B L1 B2 MD tube ¢ 0 o
No. Part No. P ‘ (V)g (mm) (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 415780 3000 230 465 140 25 150 M14x1.5 147 8 MKN 573096

670




ELECTRIC immersion heaters Heating elements

ower oltage L B L1 B2 MD tube o . n
No. Part No. p(x) v (v)g (mm) (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
Krefft 49-182403
1 415608 2000 230 430 138 50 38 M14x1.5 32 6.3 Kilppersbusch 182403
Krefft 49-182404
2 415609 2000 400 430 135 50 38 M14x1.5 32 6.5 Kiippersbusch 182404
- 1im
B r )) {wi]
i
8 & L =
=——==np
v
W (C—1
P T
- L2 Bl B B
It: L B H L1 MD tub " .
No. Part No. pt(:vvc)er vo(va)ge (mm) (mm) (mm) (mm) TS (mm) rm:I;, suitable for equiv. no.
1 416246 1090 230 174 34 20 54 M10x1 28 6.3 Aristarco 1595
Bremer -
2 415436 1600 220 240 33 30 65 M12x1 25 8.5 Eloma R0285
Palux 381268
3 415909 2000 230 243 34 24 35 M10x1 28 6.3 Adler 20556
4 418682 2500 220 360 32 22 190 M10x1 26 6 Teikos 843500
1
er oltage L B H B2 MD : n
‘ No. Part No. ‘ m(W) ’ \ (V)g ‘ (mm) ‘ (mm) ‘ (mm) ’ (mm) ‘ TS ‘ (mm) ‘ suitable for ‘ equiv. no. ‘
1 415878 2800 230 237 120 24 82 MIOd 75 Winterhattr 3103117

I
|
I

(7]

1 2 3 ‘E
ower voltage L B H MD tube o b

No. Part No. p(W) (v)g (mm) ‘ (mm) (mm) TS ‘ (mm) (mm) suitable for equiv. no. g

1 415144 2000 230 162 30 46 M10x1 24 6.3 Aristarco 312 )
Capic 1201050 =l

2 415156 2500 230 255 42 25 M10x1 36 6.3 Colged DRV23 -

| | Euotec  DRV23 P

3 415579 4000 230 352 122 17 M14x1 108 8.5 Therma - T

671



Heating elements immersion heaters ELECTRIC

No. | PartNo. i "°('},a)9° (m'-m) (mBm) (m“m) TS (mg) '(“n‘::‘f suitable for equiv. no.
1 416244 1000 230 258 34 35 1/8" 26 6.3 Argit:;m v fgfoo
2 415145 1500 230 254 36 28 M10x1 26 6.6 Aristarco 1350
3 415428 1500 230 292 50 20 M14x1.5 37 8.5 Haka 9007
4 415330 1500 230 310 36 16 M10x1 30 6.3 ATA 1102
5 415451 1500 230 325 136 23 M14x1.25 128 8 SSG -
6 415434 1500 230 342 79 29 M14x1.5 72 8.5 Palux . 056928
7 416127 1800 230 311 36 20 M10x1 30 6.3 ATA 6816
8 416247 2000 230 264 38 19 M10x1 32 6.3 Aristarco 2114
9 415445 2000 230 318 70 30 M14x1.5 62 8.5 - -
.
| S
| >
C
q L—ﬁ :
H
L L N
No. | PartNo. i "°g,“)9° (m'-m) (mBm) (m“m) TS (m) ‘("r:fn;’ suitable for equiv. no.
1 416196 700 230 245 140 25 M14x1.5 132 8.5 Suprema Heizk.oben Mod.HV60
2 418638 1000 230 250 144 22 M14x1.5 136 8.5 - -
3 418252 1000 230 330 177 25 M14x1.5 168 8.8 Haka 9008
4 416536 1500 230 275 80 22 1/8* 74 6.3 Modular 66505600
5 415675 2000 230 250 100 26 M14x1.25 92 8.5 Roka 8900324 alt
6 417222 2000 230 280 140 23 - 132 8 Fagor 2603601
7 415158 2500 230 313 80 25 M10x1 74 6.3 ATA -
8 415821 3000 230 420 125 20 M14x1.5 117 8.5 MKN 573012
i ]
\_ﬁ
g ° ¢ -
—
' )
=
- L -
No. Part No. pm’f' vogla)ge (ml'm) (mBm) (mHm) TS ("“1'51) tt:::‘f suitable for equiv. no.
1 415375 3000 230 257 165 28 M14x1.25 158 8.5 Roka 8900341

Heating elements

672



ELECTRIC immersion heaters Heating elements

[ ©
b
c e
B
J
C =}
C J 1 ( )
J)
C —c .
¥4
i
- 3 -l
ower oltage L B H MD tube o . .
No. Part No. p(vv\;) v (v)g (mm) (mm) ‘ (mm) TS (mm) (umm) suitable for equiv. no.
1 417346 3000 230 278 162 23 M10x1 156 6.5 Modular 66505800
i -
Pl
- L2 -] -
- L -
ower oltage L B H MD tube o " .
No. Part No. p(\XII) ’ M (v)g (mm) (mm) (mm) TS (mm) ;'Imm) suitable for equiv. no.
1 415449 1000 220 290 177 18 M14x1.5 162 8.5 MKN 573007
MKN 573000
2 415420 1500 220 443 114 22 M14x1.5 105 8.5 Palux 290653
i T TET
s
v ;A_@
C— .
Q
C D ! . 1
H1 ﬁ; H
TR e
- L2 L=
- L- -
ower oltage L B H MD tube o . o
No. Part No. p(vv\;) V! (v)g (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
EGO 20.28642.010
1 418795 3000 230 300 70 23 M14x1.5 63 6.4 Krefft 602034
i~z .
T s
Y
(d
i
VHJ—? H
| A ]
- L -
power voltage L B H s MD tube o o A 1 2
No. Part No. W) (V) (mm) (mm) (mm) T (mm) (mm) suitable for equiv. no.
IME Omniwash CERV8
1 416219 800 230 317 55 32 M12x1 50 8.5 Nuova Simonelli 180100441
2 416259 1600 230 275 38 28 M10x1 27 71 Silanos 905720
3 416216 1800 230 320 50 31 M12x1.25 42 8.5 IME Omniwash CERV18

Heating elements

673



Heating elements immersion heaters

ELECTRIC

Heating elements

- L -
ower oltage L B H MD tube o . o
No. Part No. p(vv\;) v (V)g (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 416270 500 230 225 95 30 M12x1 86 8.5 Comenda 110271
Lasa 320803
2 415938 1800 230 330 82 25 M10x1 72 6.3 Mareno 1037303813
Comenda 110269
3 415198 2000 230 318 85 26 M12x1 77 8.3 Hoonved 30443
4 416281 2000 230 350 76 30 Va* 80 6.3 Elframo 00203091
Bonnet 5065E
5 415072 2200 230 325 83 25 M14x1 75 8.5 Electrolux 046404
Zanussi 046404
Colged 80360
6 416235 3000 230 320 50 40 1/8* 44 6.3 Elettrobar 80360
Eurotec 80360
7 416282 3200 230 350 77 33 Va* 71 6.3 Elframo 00018070
' —5
j ;2
N 4 1 =
— :
H
iy
- L -
Ita L B H MD tub . .
No. Part No. pm)er voMge (mm) (mm) (mm) TS (mm) (“m:‘;’ suitable for equiv. no.
Colged 230006
" Elettrobar 230006
1 415664 2250 230 300 90 25 1/8 64 6.3 Eurotec 230085
Krefft 62-230085
Bonnet 5856E
Colged 230060
Elettrobar 230060
2 415665 3000 230 110 379 30 M10x1 75 6.5 Eurotec 230086
Giga
Krefft 62-230086
MBM ltalien RIC0001697
; g\_ S
B B2
| 1
g, i |
P4 |
b L2 ]
N
= ——
ke L- |
1 2
ower voltage (L H B2 MD tube o o n
No. Part No. p(W) (v)g ‘ (mm) ‘ (mm) ‘ (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 418789 2000 230 325 85 30 35 M12x1 30 6.5 Linea Blanca A030018PL
Electrolux 046284
2 415073 2200 220 403 138 22 84 M14x1 80 8.5 Zanussi 046284

674




ELECTRIC

immersion heaters

Heating elements

No. Part No. power vo:l\;n)ge (ml}n) (mBm) (mHm) (n?rzn) TS (mg) '(l"g:‘f suitable for equiv. no.
1 418250 1500 230 265 244 25 130 M14x1.25 122 8 Capito 63857
_ i
f Bl
[
Ili B2
1
1
—¥
A H
( 1
No. Part No. p?w)mr vog,a)ge (mLm) ’ (mBm) (mk:'n) (n?r%\) TS (mg) t;'“?:‘;’ suitable for equiv. no.
1 415669 2000 230 452 256 16 138 M10x1 132 6.3 Roka 8900324 neu
S — E'l
¥
L I, =
C )jf R I
C
v
1:’% H
f L
- -L -
No. Part No. pOwey vo:l\:)ge (ml;“) (mBm) (mHm) (':"'1“) (I'El?n) TS (n':r?l) t(unl::n)a suitable for equiv. no.
Bonnet 5514E
Electrolux 069437
Elettrobar 230009
1 415010 2000 230 260 125 20 110 83 M10x1 70 6.5 Eurotec 230009
Palux 349577
Zanussi 069437
2 416201 2600 230 75 270 26 60 40 A 33 6.3 Mach 512049900
— —
B1
B
B B2
2 ' ;
C
|
g H
i
- —L -
No. Part No. pm)er voltage ’ (ml;n) (mm) ’ (mm) (::1) TS (mg) tz]r:;;, suitable for equiv. no.
Bartscher 06001024
1 416067 1380 230 346 245 27 105 Va" 67 8.5 Emmepi 808174
Giorik 6001024
2 415672 3000 230 452 254 17 136 M10x1 130 6.3 Roka 8900325 neu

675

12

Heating elements



Heating elements immersion heaters ELECTRIC

f ft ;'1
- L -
No. Part No. p(omr vomge (mLm) (n?m) (mHm) TS (r':ulr?l) t(ur::")a suitable for equiv. no.
1 415163 1400 220 310 135 20 3/8° 178 7.8 Fabar 18253
G
; B
L« 3 tes L2 —— L1 -
q ’
i H
f i
- L -
No. Part No. pm)er vo(l:ia)ge (mLm) (mBm) (mHm) (nl;:n) TS (mg) t(unl::‘)a suitable for equiv. no.
EKU 1W217
1 415091 1000 230 295 85 18 145 M14x1 79 6.5 Mareno 1037039513
2 415700 1300 230 280 110 20 135 M10x1 104 6.3 Lotus 537004800
@"—')'\ i
:::)' N
:‘ ) |
)
——— - =
{ — L N I
L]
J L H
i
- L -
No. Part No. p«()vv\;)er vo(l:la)ge (mLm) (mBm) (ntlm) (nl;;) TS (mg) t(ur::";’ suitable for equiv. no.
1 416194 1189 230 278 150 22 135 1/8* 144 6.3 CF 63.7.1052
2 415092 1300 230 290 130 18 140 M14x1.5 127 6.3 Mareno 1037039613
3 415771 2000 230 280 170 23 135 M12x1 154 8.5 Lotus 537015100
( - =)
) ——
J (S '
( _) i L2 - L1 -
5. 1
o ( W
- L -
No. Part No. pm;" vo:\'?)ge (mLm) (mBm) (mHm) (nl;:n) TS (mg) t(ur:’;f suitable for equiv. no.
1 418663 3000 230 245 225 27 120 M10x1 220 6.3 RM-Gastro 401002600

Heating elements

676



ELECTRIC immersion heaters Heating elements

) by e

No. Part No. p?vv\;)er VO:\'?)Q& (mLm) (mBm) (mHm) ("I;lzn) TS (mg) t(u"!::‘;’ suitable for equiv. no.
1 416420 1800 230 340 46 28 295 M10x1 40 6.4 Rancilio 33122023

w | e, | o | vme | L | s || n | e rs Mo e et o
1 415012 1500 230 225 120 22 178 47 1/8* 41 6.3 Comenda 110235
2 418702 1500 230 300 120 25 . 255 80 M10x1 38 6.2 Comenda 110261
3 | 416401 2000 230 395 115 28 290 40 M10x1 98 6.3 Rancilio 33122021

H
ki ¢
- L -
1
ower oltage L B H MD tube o . .
No. Part No. p(vv\;) A (v)g (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no. ‘
1 418603 2200 230 405 160 35 M12x1 42 8.5 IME Omniwash CERV22
ﬁ y
Ita L B H MD tub 1 2
ower voltage ube o . .
No. Part No. p(W) (V)g (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 415756 2000 230 137 355 25 1/8* 20 6.3 Comenda 110263
2 418836 2000 440 320 170 23 1/8“ 50 6 Comenda 110265

Heating elements

677



Heating elements immersion heaters ELECTRIC

ower oltage L B MD tube o . o
No. Part No. p(v"\;) ‘ v (V)g (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 415750 1500 230 245 235 21 M14x1.5 34 6.3 Scholl VZ 12804 71.20.70
4
((—-. : B
CJ ]
%. 1
JIH
T
- L .
ower oltage L B MD tube ¢ " .
No. Part No. p(‘;'v') ‘ M (V)g (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no. ‘
1 415751 2200 230 251 245 23 M14x1.5 455 6.5 Scholl VZ 12806 71.20.71 ‘
| @
v
H
i
- L -
owe oltage int. o ext. o H MD tube o " .
‘ No. Part No. ‘ povey ‘ \ (V)g ‘ Emm) ‘ (;m) ‘ (mm) ‘ TS ‘ (mm) ‘ (umm) ‘ suitable for ‘ equiv. no. ‘
1 415695 1500 230 75 28 21w 3 85  Cidelcemlseco | - |
Ita L B H L1 MD tubi o "
No. Part No. pt()‘:vv)er V°M9° (mm) ‘ (mm) (mm) (mm) TS (mm) rm:I;, suitable for equiv. no.
01 418304 400 230 132 126 46 110 M14x1.25 100 8 Mobie Containing T

Heating elements

678



ELECTRIC immersion heaters Heating elements

1
s (—r——p
P [}
s
|
(l:’—ﬁ H
| i
oS L -
ower oltage L B H MD tube o . a
No. Part No. p(vv\;) v (V)g (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 416228 2000 230 197 46 33 Va" 38 8.5 Lamber 0300067
2 416379 2000 230 365 37 40 M10x1 30 6.5 Luxia L2127
pe————©
[ B _ )
&é’ i
T
HI ¥
W (C———— i
i 11
- L- -
It: H2 MD tub . .
No. Part No. pm)er vo(va)ge (mm) ‘ (mm) (mm) (mm) TS (mm) (umren)" suitable for equiv. no.
1 417158 200 230 355 35 43 35 M10x1 29 6.3 Silanos 905575
2 416378 1000 230 152 35 25 20 M10x1 26 6.5 Luxia L7212
3 416022 2000 230 305 36 37 34 M10x1 30 6.5 Adler 20504
Fabar 18253D
4 416260 2500 230 357 34 39 35 M10x1 28 6.3 Silanos 905745
Angelo-Po 32G2590
5 416261 3000 230 358 32 34 37 M10x1 26 6.5 Silanos 905748
1 2 3 4 5
power voltage L B H MD tube o n .
No. Part No. W) W) (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 415062 1275 230 147 103 30 M10 32 6.5 Comenda 110260
2 415173 1600 230 585 223 22 M14x1.5 184 6.3 Angelo-Po 32G0070
Elettrobar 230016
3 415008 2000 230 140 173 35 M14x1.5 33 4.2 Eurotec 230016
4 416389 2000 230 163 290 24 Va* 92 6.3 Hoonved 35230
5 418881 2000 230 245 120 25 M12x1 45 6.3 Hemerson 041007
12
(7]
e
=
0
C E £
K-
()
(=]
=
6 7 =
()
No. Part No. pmfr vo;\t?)ge ‘ (mLm) (mBm) (mHm) TS ‘ (mg‘) ‘ t(u"l:;;) suitable for equiv. no. I
IME Omniwash CERV25
6 416217 2500 230 410 147 27 M12x1 35 8.3 Nuova Simonelli 18010385
7 416252 2800 230 370 240 30 M14x1.5 50 8.5 Elviomex 003.50.00008

679



immersion heaters

Heating elements

ELECTRIC

8
ower oltage L B H MD tube o " .
‘ No. Part No. pow A (V)g ‘ (mm) (mm) ‘ (mm) TS (mm) (umm) suitable for equiv. no. ‘
‘ 8 416400 3000 230 473 45 30 M10x1 108 7 Rancilio 33122030 ‘
( [ i L i
T = L
:jﬂm H
q fl S
- L3- —~L2L1=
Ita L B L3 MD tube ¢ " 5
No. Part No. pm)er vo(v)ge (mm) (mm) (mm) (mm) (mm) ("m;) suitable for equiv. no.
1 416047 1780 230 650 170 19 590 M14x1 161 9 Giga Y10600
+" 1|11
B #
LI —"
- -L -
o —m—'
. H
- L2 L1
It: L B H L1 L2 MD tub . .
No. Part No. POwey vo(va)ge (mm) (mm) (mm) (mm) (mm) TS (mm) (‘:me“;’ suitable for equiv. no.
1 415636 2000 230 260 102 45 50 210 1/8“ 100 6.3 Blanco -
o
| BN i a1
- L -
.
——71 H
= -
- L3 =L2L1=
1
It: L B H L1 L3 MD tub . .
No. Part No. powey vo(va)ge ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ TS (mm) (um:\)u suitable for equiv. no.
1 2 1 418878 2000 230 184 131 19 55 90 M14x1.5 123 8.5 Meiko 9546105
2 8 (€ »
g .
- L- -
£
- ==
: F=——V %
H2
£ LN 4
© - L3 ~12L1=
()]
I
ower oltage L B H MD tube o " .
No. Part No. pow! v (V)g (mm) (mm) (mm) TS (mm) (umm) suitable for equiv. no.
Bremer -
1 415438 4000 220 430 30 37 M12x1 22 8.5 Eloma R0295
Palux 187003

680




ELECTRIC

immersion heaters Heating elements

No. Part No. powey vo(l:la)ge (mLm) (mBm) (mHm) (nl;:n) (nB“zn) TS t(unl:;;; suitable for equiv. no.
1 418890 2000 230 430 180 60 60 23 M10x1 6.3 Comenda 110288
with screw flange
%“
r
g @Eﬁﬂiﬁ
e
- L -
No. Part No. powey vo(l?)ge HC (mLm) (mBrn) (ntlm) suitable for equiv. no.
Cimsa 10163
1 415160 1000 230 1 205 21 20 Fabar 10163
B
pul?
i '
H,* H
H
12 | ¥
- L -
No. Part No. powey vo(lba)ge HC (mLm) (mBm) (mHm) (::1) suitable for equiv. no.
Electrolux 18002029
1 415580 5000 400 1 404 23 80 28 Juno 293562
Therma 18002029
1 “*
v .
i
. [ L -l
' =
n ——1F 12
No. Part No. power Vi HC - 5 i) suitable for equiv. no. ‘ﬂ
: : (W) () (mm) (mm) (mm) (AR, g
1 415200 1000 230 1 170 22 21 - - £
2 | 416250 2000 230 1 250 25 26 Elviomex 003.30.00000 %
3 | 415185 2000 230 1 270 26 25 Adler 20070 g’
OEM EE001 =
4 | 415195 2500 230 1 200 20 20 Palux 209538 g
25

681



Heating elements immersion heaters

ELECTRIC

= [s]s]
B
T 20,
b % :
Hz | H
2 A
No. Part No. power vo(lsn)ge HC (mLm) (mBm) (mHm) (rt::n) suitable for equiv. no.
Adler 20080
1 415196 2000 230 2 305 34 45 22 Hoonved 25370
3 i
. e |
&) ) e
; - L -
=
C—
- L2 —L-
No. Part No. powey vo:l\?)ge HC (ml;“) (mm) (mm) ("I;:“) (T"?";') (Ir'nT,ﬁ) suitable for equiv. no.
Electrolux 214678
1 415212 2000 400 1 320 96 40 75 5 133 Juno 214678
Electrolux 0700214228.7D214228
2 415908 2500 230 1 385 96 40 75 5 133 Juno 214228
Electrolux 0700214213.7D214213
3 415481 2500 400 1 385 96 40 75 5 133 Juno 214213
1 1/4“
1 il
» (|
i ll“
L L— -
L I
H _|\I\E
i
No. Part No. powey vogla)ge HC (mLm) (mBm) (mHm) suitable for equiv. no.
Bonnet 3696E
1 415005 2000 230 1 170 32 22 Elettrobar 230002
Eurotec 230003
ATA 1020
2 415042 2200 230 1 165 35 26 Elettrobar 230003
Elettrobar 230007
3 415011 3000 230 1 270 24 20 Eurotec 230007
12 v
s (————|°
=
- L -
[72] l
)
[ T
3 =
£ ik
2
(]
(=]
=
‘EI' No. Part No. powey vog;n)ge HC ‘ (mLm) (mBm) (n:'m) suitable for equiv. no.
()]
T 1 415390 7500 230 2 410 35 28 Electrolux 0700214299

682




ELECTRIC immersion heaters Heating elements

'
H I
 ——]].
No. Part No. p(ow;e U vo(l:la)ge HC (mLm) (mBm) (mHm) suitable for equiv. no.
1 415041 1500 230 1 150 26 24 Colged -
' o]
: &
v —
- H
=
L :
- L -
No. Part No. p?vv\;)er vo(l?)ge HC ‘ (ml;n) (mBm) (mHm) (::1) suitable for equiv. no. ‘
1 416402 4000 230 3 305 38 55 24 Rancilio 33122039 ‘
No. Part No. p‘(")'v'f U vo:l\:)ge HC (ml}n) (mBm) (nrm) (nl,";) (::") (::]) suitable for equiv. no.
Elviomex 003.10.00000
1 416403 3999 230 3 295 114 50 - 35 30 Gico 434008100
2 415271 4500 230 3 88 285 60 185 33 25 Dihr 10300022
Hemerson 141101
3 415153 5700 230 3 300 85 42 180 29 21 Elframo 00003270
4 416253 6200 230 3 360 115 50 10 41 30 Elviomex 003.15.00095
' — 8’1
B B2
T —
H

i
L | ] 12
1 2 3 4
Ita L B H L3 B1 H2 o .
No. Part No. p?‘ﬁ)er vo(v)ge HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no. ﬂ
1 415017 1500 230 1 295 92 27 205 34 7 Comenda 110208 g
2 416225 2400 230 3 275 90 40 200 31 20 Lamber 0303042 g
3 416226 4500 230 3 260 90 35 150 31 20 Lamber 0300022 )
P (=]
IME Omniwash CERV453F

c

4 416218 4500 230 3 275 95 45 210 32 22 Nuova Simonelli 18010716 ‘g
()

I

683



-
N

Heating elements immersion heaters

ELECTRIC

No. Part No. power vo;%ge HC (mLm) (mBm) (mHm) suitable for equiv. no.
1 415175 4800 220 3 410 417 19 Angelo-Po 32G0650
172"
——1
1 lE
[ e -
No. Part No. povey vo(l:ia)ge ‘ HC (ml;“) (n?m) (mHm) (Tn?n'nn) (Ir.';l':) suitable for equiv. no.
1 415874 12000/14300 220/240 3 585 40 30 6.5 160 Convotherm 5007067
2 | 415506 3000 230 3 230 29 25 - - Meiko 0101140
3 | 416221 3000 230 3 235 33 26 7 202 Meiko 9502869
4 | 415406 3000 230 3 270 35 25 7 210 EGO 24.22181.010
5 415004 3000 230 3 300 32 34 - - Eg:;‘igsr gggggg
6 | 415401 4500 230 3 315 33 30 6 240 Winterhalter 3103009
7 | 415502 4500 230 3 370 34 26 - - Meiko 0101142
8 | 415407 4500 230 3 400 37 30 7 240 EGO 24.22182.010
9 416112 4500 230 3 420 25 38 - - Gico A00149
10 | 415582 5000 230 3 345 36 23 - - Blumauer 00180362
11 | 415503 5000 230 3 415 33 26 - - Meiko 9502870
12 | 416222 6000 230 3 415 33 26 7 230 Meiko 9502870
MKN 537081
13 | 415402 6000 230 3 425 35 35 7 330 Palux 103268
Winterhalter 3103012
14 | 415408 6000 230 3 500 37 32 6.5 240 EGO 24.22183.010
15 | 415392 6000 400 3 405 36 33 9 360 Juno 214066
16 | 415500 7500 220 3 425 33 25 - - Convotherm 5007063
17 | 415680 7500 230 3 392 40 40 - - Juno 214085
18 | 415504 7500 230 3 415 26 34 - - Meiko 0101146
19 | 415256 7500 230 3 460 34 32 7 310 Silko 0101493
20 415403 7500 230 3 495 36 33 9 400 Electrolux 0700214071
21 415400 9000 230 3 210 37 33 9 170 Juno -
22 415501 9000 230 3 430 32 26 - - Convotherm 5007066
23 = 415505 9000 230 3 460 33 26 - - Meiko 9502872
24 416223 9000 230 3 485 26 26 7 200 Meiko 9502872
25 415404 9000 230 3 600 39 37 9 450 Juno 214067

Heating elements

684



ELECTRIC immersion heaters Heating elements

v
G
z o
' =
H1 @ l:
H2 - /|
— A
- L -
No. Part No. p?vv\;;er vomge HC (mLm) (mBm) (n:'m) (rt\lrzn) suitable for equiv. no.
1 415186 4000 230 3 315 39 40 22 Adler 20075
2 416220 6000 230 3 415 36 75 27 Meiko 0101145
Electrolux 0101149
3 415510 9000 230 3 420 39 65 25 Meiko 0101149
I oY)
b &)
L
F , —
H
T
- L -
No. Part No. p(()‘;rvl)er ‘ vogla)ge HC (mLm) (mBm) (mHm) (l:lzn) suitable for equiv. no.
1 415187 2800 230 1 255 38 28 33 Adler 20088
No. Part No. p((:vv\;;er vo(l:la)ge HC (mLm) (mBm) (mHm) (r::n) suitable for equiv. no.
Electrolux 0700214446E
1 415650 6000 230 3 255 250 25 13 Juno 0700214446E
2“
,
il 1=

-T =
—
N

- L -

£D

No. Part No. P‘("ﬁ)er vo(l:la)ge HC ‘ (ml'm) (mBm) (mHm) (T"?"?) (Ir;"l'"s» suitable for equiv. no. g
1 418595 3000 220/380 3 325 41 37 - - Angelo-Po 32G0180 g
2 | 417167 4500 230 3 300 37 37 - - Angelo-Po 32G0170 ©
3 | 415299 6000 230 3 315 40 44 5 280 Silko 0101495 g,
4 | 416078 8000 230 3 305 39 43 5 285 Emmepi 808595 '§
I

685



Heating elements immersion heaters ELECTRIC

.

1
No. Part No. p?vv\;)er vog,a)ge HC (mLm) ‘ (mBm) (nrlm) (T:n?) (h;rnsﬂ suitable for equiv. no.
1 416966 8000 220 6 300 58 56 7 235 Ambach 5060807398
M26x1.5
|
B
|
LA i
= L2 -1 -
- L -
' ,_% _r
H1 T H
i =l =
No. Part No. pm)er vo;tva)ge HC (mLm) (mBm) (mHm) suitable for equiv. no.
1 415789 2200 400 1 550 155 24 GOX -
Herzog & Langen -
M45x2

H  __ —d

ower voltage IL B H a n
No. Part No. p(W) (V)g HC (mm) (mm) (mm) suitable for equiv. no.
1 418386 3000 230 3 250 37 33 - -
2 418387 4000 230 3 335 33 35 - -
3 418388 6000 230 3 465 40 38 - -
M76x2
|
i
E— 2
j I
n E—=——|
P ‘
» - I -
)
=
[}
g It: L B H
ower voltage 0 ;
3 No. Part No. p(W) (V)g HC (mm) (mm) (mm) suitable for equiv. no.
g’ 1 418389 6000 230 3 295 66 64 - -
"g 2 418390 9000 230 3 420 65 58 - -
% 3 418391 12000 230 3 550 57 60 - -

686



ELECTRIC instantaneous heating elements Heating elements

flow heaters )
1 2

No. Part No. p?vv\;)er vo;%ge (mam) (mLm) suitable for equiv. no. No. Part No. pm)er vo(ltla)ge (mom) (mLm) suitable for equiv. no.

1 417201 1600 230 72 155 Animo 11192 2 417200 2100 230 74 148 Animo 11143
1 2

No. Part No. Description suitable for equiv. no.

1 390347 | bimetal thermostat 115°C 1NC 1-pole 16A Animo 03031

2 390346  safety bimetal thermostat 106°C 1NC 1-pole 16A Animo 03103
1 2 3

power voltage ] L n n .

No. Part No. W) V) (mm) (mm) suitable for suitable for equiv. no.

1 417204 1710 240 82 123 Mondo Twin/Matik Twin Bonamat 6.000.201.675

2 417203 2160 240 82 122 Mondo, Matik,... Bonamat 6.000.201.652

3 417206 2750 240 82 158 BONAMAT TH20 Bonamat 6.000.201.656

12
1 2 3
power voltage (] L R P o

No. Part No. W) V) (mm) (mm) suitable for suitable for equiv. no.

1 417321 1710 240 82 105 Mondo Twin/Matik Twin Bonamat 6.301.201.000

2 | 417320 2160 240 82 105 Mondo, Matik,... Bonamat 6.301.002.000

3 417322 2750 240 82 140 BONAMAT TH20 Bonamat 6.301.079.000

Heating elements

687



Heating elements instantaneous heating elements ELECTRIC

1 2 3
No. Part No. Description suitable for equiv. no.
1 390390 bimetal thermostat 2NC 2-poles 16A 250V Bonamat 6.016.008.057
2 | 417205 O-ring silicone thickness 3mm int. @ 74mm (1pc) Bonamat 6.011.001.082
3 | 417330 retainer clamp L 32.5mm W 10mm H 14mm Bonamat 6.301.045.001

1 2 3 4
No. | PartNo. i "°('§,a)9° () (m';n) suitable for suitable for equiv. no.
1 417207 3270 240 82 200 BONAMAT B5 Bonamat 6.211.474.000
2 417208 6540 240 100 221 BONAMAT B10 Bonamat 6.205.320.000
3 417209 9810 240 125 215 BONAMAT B20 Bonamat 6.206.202.000
4 417210 13065 240 125 245 BONAMAT B40 Bonamat 6.247.090.000

1 2
No. Part No. Description suitable for equiv. no.
1 390392 | safety bimetal thermostat 1-pole Bonamat 6.016.008.054
2 390394  safety bimetal thermostat 130°C 1NC 1-pole 16A Bonamat 6.016.008.052

12

No. Part No. Description suitable for equiv. no.

1 417324 | PTC element L 75mm W 54mm H 11mm Bonamat 6.401.076.000

Heating elements

688



plate heating elements Heating ele

No. Part No. p(ow;er vogla)ge (mom) (ml;") suitable for suitable for equiv. no.
1 417457 1300 230 56 155 190/193W Melitta 10820
2 417350 1800 230 55 152 170/171/172/173 Melitta 10819
1
Ita n r .
No. Part No. pm)er vo(v)ge (m’;n) (mm) suitable for suitable for equiv. no.
1 417214 1000 220 88 110 KORO ES/Tank C252X02 N&W 0Vv2506
1
P wer voltage ] L a a
No. Part No. Description p?W) (V)g (mm) (mm) suitable for equiv. no.
1 416501 | instantaneous water heater 3000W 230V g 38mm 3000 230 38 204 Bourgeois RC701
large hot plate heating elements
AMBACH 1
e
; _ | [
E ; v
- L- -
. v
E— N |
; il
1 2 A
No. Part No. p?w)wer vo(lt\;i)ge (mm) (m?n) (mHm) ‘ t(l::l’ﬁ‘f MP suitable for equiv. no.
1 415205 1700 400 220 300 55 6.3 inner Ambach 5060808465
2 415206 2000 400 340 355 80 6.5 outer Ambach 5060808466

689

12

Heating elements



-
N

Heating elements

Heating elements: /arge hot

plate heating

elements

" AMBACH 2

ELECTRIC

: i
i —"
1 i
ower oltage L B H tube o 0 0
No. Part No. pow v (V)g (mm) (mm) ‘ (mm) (umm) MP suitable for equiv. no.
1| 416948 1700 400 275 305 70 6.3 inner A’é‘g‘g’h zﬂoﬁggggﬁ
2 | 416949 2000 400 300 340 68 6.3 outer A'é‘g"g:h 25;0?8322436280
AMBACH 3
i
=]l
1
- L
v
I
1 i
Ita L B H tub ) ’
No. Part No. pOwel voMge (mm) (mm) (mm) (‘:nzl;' MP suitable for equiv. no.
1 415862 1350 400 228 218 82 6.3 inner Ambach 5060808461
2 | 415863 1650 400 260 245 100 6.3 outer Ambach 5060808462
AMBACH 4
'y
- !
I\
- L-
_ il I
1 i
ower oltage B H tube o 0 n
No. Part No. pow v (V)g (mm) (mm) (mm) (l:nm) MP suitable for equiv. no.
1 415866 1350 400 225 277 80 6.5 inner Ambach 5060808463
2 | 415867 1650 400 255 330 72 6.3 outer Ambach 5060808464
EKU
¥
G |
'
L -
v
I
'
It L B H tub ’ ’
No. Part No. powey vo(va)ge (mm) (mm) (mm) (um;)u MP suitable for equiv. no.
1 418707 1500 230 230 265 70 6.5 inner EKU 4-208
2 | 418708 1500 230 255 300 70 6.5 centre EKU 4-207
3 418706 1505 400 300 300 75 6.5 outer Lo -
ohberger -

690




plate heating elements

JUNO/ELECTROLUX 1

v
. H
A4
1 2 L
ower oltage L B H tube o P o
No. Part No. pow, v (v)g (mm) (mm) (mm) (umm) ‘ MP suitable for equiv. no.
. Electrolux 0H6206
1 418699 2000 400 345 230 110 8.5 inner Juno OH6206
Electrolux 0H6205
2 418700 2000 400 380 265 110 8.5 outer Juno OH6205
JUNO/ELECTROLUX 2
i
B
LJ 1
- L -
'
N g
1 3
Ita L B H tub P .
No. | PartNo. POwel vo(v)ge ) ) T z"m;;’ ‘ MP suitable for equiv. no.
. Electrolux 0K0618
1 418697 2000 400 270 230 115 8.5 inner Juno 0K0618
Electrolux 0K0617
2 418698 2000 400 300 260 115 8.5 outer Juno 0KO0B17
LOHBERGER
i
=y |
i ;
| L
'
S iy
1 3 &
ower voltage (L B H tube o n n
No. Part No. P (V)g (mm) (mm) ‘ (mm) (mm) MP suitable for equiv. no.
1 418704 1160 400 255 240 75 6.5 inner Lohberger -
2 | 418705 1335 400 270 270 75 6.5 centre Lohberger -
3 418706 1505 400 300 300 75 6.5 outer EKU -
Lohberger -

691

12

Heating elements



Heating elements: /arge hot

plate heating

elements

ELECTRIC

[SALVIS/FRAN KE
i
=l ) |
3 UL
o
3 1 1 H
1 2 3 4 ]
ower oltage L B H tube o o 5
No. Part No. pow v (V)g (mm) ‘ (mm) (mm) (umm) MP suitable for equiv. no.
1 418483 650 400 315 315 80 6.5 outer Salvis 1G532079
2 418486 900 400 230 230 81 6.5 inner Salvis 1G532082
3 418485 1100 400 258 258 82 6.5 centre/inside Salvis 1G532081
4 418484 1300 400 284 284 81 6.5 centre/outside Salvis 1G532080
THERMA/ELECTROLUX
Vo
a [
'
- L -
. i
1 2 3
No. Part No. powey voltage (ml'm) (mBm) (mHm) tz‘"l:;;’ MP suitable for equiv. no.
1 415577 1160 400 295 245 80 6.3 inner Electrolux 0K4853
2 415576 1335 400 320 275 76 6.3 centre Electrolux 0K4854
3 | 415575 1505 400 360 295 88 6.5 outer Electrolux 0K4855
other
-
f D)
5 ) T
J G — |
' H
I ]
L -
1 2 3
It: B tub oy Tl . .
No. Part No. powey vo(va)ge HC (mm) (mm) (mm) (um:\)u windings suitable for equiv. no.
1 418255 600 80 1 332 54 54 8.5 1 MKN 574114
2 418718 1500 230 1 265 100 70 6 3 Silko 0101519
3 416894 3500 230 1 263 245 103 6.3 8 Palux 602523
12
R L ¢
=) B1
)
8 B (= B2
g —
g ' iﬂ
° - L .|
(=]
c i
B H
© - s I |
T
Ita L B H tub B2 e n .
No. Part No. powey vo(v)ge HC (mm) (mm) (mm) z‘m;)" (mm) windings suitable for equiv. no.
Electrolux 0G2883
1 418701 4000 400 1 300 330 80 8.5 145 7 Therma 79505503

692




ELECTRIC

oven heating

elements  Heating ele

No. | PartNo. power vo:l\?)ge HC (ml;n) (n?m) (mHm) t;'nl::‘;’ suitable for equiv. no.
EGO 20.29024.000
1 418692 3860 400 3 275 260 47 6.5 Wamsler 00733355100
1
ower voltage L B H tube o . n
No. Part No. P W (V)g HC (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 0K0563
1 418009 4000 400 1 380 287 116 8.5 Juno 0K0563
oven heating elements
grooved tubular heating elements
Ita L B L1 L2 B1 B2 o .
No. Part No. powey vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 33.94175.112
1 416973 1250 230 675 195 50 625 72 50 Electrolux 0K0629
Juno 0K0629
EGO 33.94175.111
2 415486 1250 400 675 195 50 625 72 50 Electrolux 0700214762
Juno 0H6214

693

—
N

Heating elements



elements oven heating elements ELECTRIC

ower oltage L B L1 L2 B1 B2 . 5
No. Part No. p(#) v (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415334 1100 230 390 390 50 340 170 50 EGO 33.94013.152
2 415327 1200 230 390 390 50 340 170 50 EGO 33.94015.002
3 415332 1200 230 435 340 50 385 145 50 EGO 33.94023.132
EGO 33.94165.112
4 415610 1600 230 560 500 50 510 225 50 Flectrolux 0700214290.7D214290
uno 0KO0580
Malag 143790
EGO 33.94165.111
5 415483 1600 400 565 490 50 515 220 50 Electrolux 0700214293.7D214293
Juno 0H6172
with male contacts
i )
B1
[]
B 82
D~ ¢
( 1
ower voltage IL B L1 B2 o .
No. Part No. p(W) (V)g (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418941 850 220 645 148 100 34 Capic E150564
2 415318 2000 230 427 138 50 30 EGO 24.13230.040
3 415316 2500 230 543 140 55 32 EGO 24.13004.010
4 415319 3000 230 643 145 54 30 EGO 24.13241.000
| e 3 i
L ¥
— D B D; 82
P— = =
- J I
C e |
- L2- -1 -
1 2 No. Part No. powey voltage S 5 L1 B2 suitable for equiv. no.
) : w) V) (mm) (mm) (mm) (mm) o
Electrolux 20.16357
1 417341 2000 230 430 150 50 30 Juno 214612
EGO 20.16357.000
2 417340 2000 400 430 150 50 30 Electrolux 214613
Juno 214613

Heating elements

694



ELECTRIC

oven heating

elements  Heating elements

power

L1

B1

B2

oltage L B 0 n
No. Part No. v (v)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 24.13143.792
1 418310 2400 230 Klppersbusch 182639
It: L1 B2 o .
No. Part No. powey vo(va)ge (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 054326
1 418081 2000 230 314 290 1 33 Zanussi 054326
i
B
v
ower oltage L B L1 B2 . o
No. Part No. p(vv\;) v (v)g (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 24.13001.060
1 415315 2000 230 327 228 85 31 KSF 4.013.03.06
2 415317 2500 230 360 242 50 31 EGO 24.13012.020
ower oltage L1 B2 . o
No. Part No. p(vv\;) v (V)g (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415320 3000 230 350 313 75 31 EGO 24.13243.020

695

12

Heating elements



Heating elements

oven heating

elements

ELECTRIC

C ! !
I T
| 1
€ : 52
) E
I '
ower oltage L B L1 B2 bridge length . o
No. Part No. pow! v (V)g (mm) (mm) (mm) (mm) (gmm) 9 suitable for equiv. no.
EGO 20.29165.000
1 418359 2500 230 338 288 104 32 450 Kilppersbusch 160106
accessories
- -
{ / ¥
(]
-
/ )
%
1 2
No. Part No. Description suitable for equiv. no.
1 550404 | power socket 2-pole + earthing EGO 27.24002.010
. EGO 27.24002.510
2 550405 | power socket 2-pole + earthing flat plug 6.3mm Kiippersbusch 184583
with rectangular flange
i i
P £  §
U \/ 'L 82
i
= L2 =L1=
- —L -
It: L B L1 B2 FL FW HD n .
No. Part No. POwey vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416060 2200 230 435 500 60 31 70 22 56 Emmepi C10192
2 416068 2500 230 520 555 60 31 70 22 56 Emmepi C00215
3 418148 2500 230 530 615 88 30 70 22 28 MBM ltalien RTCU900186
4 416091 2740 230 500 485 68 32 70 22 56 Gico 270200402
5 416092 2740 400 500 485 68 32 70 22 56 Gico 270203360
v
12 | o
B |
M}g ,
' I— B2
i
&
- - L2 L=
) - L -
£
2
()}
Ita L L1 B2 FL FW HD : 0
.g’ No. Part No. pm)er vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
'E:' 1 416090 2000 230 500 325 73 30 70 22 55 Gico 260200070
()]
I 2 416089 2000 400 500 325 73 30 70 22 55 Gico 260203130

696




oven heating

ELECTRIC

elements  Heating elements

i
B
DAY .
- L2 -1 -
- L -
1 2
ower oltage L L1 B2 FL FwW HD . o
No. Part No. pow! v (V)g (mm) (mm) ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416061 3000 230 715 470 60 34 70 22 56 Emmepi C10193
2 416069 4000 230 860 500 60 34 70 22 56 Emmepi C10195
B B1
E 2 Ly v
L] : BIZ
= - L2 =L
- I -
lta L L1 B2 FL FW HD o .
No. Part No. powey vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Kuppersbusch 540471
1 418223 2000 400 490 560 25 30 70 22 56 Thielmann 144168
Kuppersbusch 540831
2 418222 2800 400 500 560 50 30 70 22 56 Thielmann 144169
1} = [}
g <% B1
1 _(( i
[}
- L2 L1
[ L -
ower voltage L L1 B2 FL FW . n
No. Part No. p(w) (v)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416018 1000 230 515 125 55 60 80 20 Fagor u803004
2 416608 1000 230 515 170 70 60 80 20 Fagor U183030
. M 12
1 2 4 5
Ita L1 B2 FL HD n .
No. Part No. povey vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no. .ﬂ
1 418873 650 240 505 440 78 405 57 30 18 Falcon 539110450 g
2 418418 2500 230 358 360 35 34 70 22 56/28 CB 07030066 g
3 418632 2500 240 470 600 125 32 70 22 56 MBM ltalien RTCU900435 )
4 415131 2500 240 515 512 55 126 160 22 144 Silko 0101506 g’
5 418619 3250 230 560 485 60 61 100 20 83 EGO 24.10079.230 '§
I

697



Heating elements oven heating elements ELECTRIC

I
— ] H
4
- L -
ower oltage L B H L1 B2 FL FwW HD p .

No. Part No. p(v"\;) ‘ v (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416676 800 230 405 122 16 42 62 100 22 86 Angelo-Po 32G0160
2 415171 900 230 430 122 28 55 62 100 22 86 Angelo-Po 32G0080

C .

—j —
( ’ L
l
ta L B L1 B2 FL FW HD bridge length a 5
No. Part No. pm)er voMge ‘ (mm) ‘ (mm) ‘ (mm) (mm) (mm) (mm) (mm) d ?:mf)"g suitable for equiv. no.
1 418943 500 230 398 105 43 31 70 20 56 - Capic E150515
2 416735 700 230 330 186 25 32 70 22 56 200 Roller-Girill D02147
3 418942 850 230 645 145 100 31 70 22 56 160 Capic E150556
4 416533 1400 230 305 180 52 30 100 22 79 300 Modular 66506200
5 415776 1500 220 285 205 52 32 100 22 86/43 305 Lotus 537006400
C_\ Iy
CD L
ﬁ-h
: B
.
ower oltage L B L1 B2 FL FW HD bridge length . o
No. Part No. p(v"\;) u (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) ?mm) 9 suitable for equiv. no.
1 418515 300 230 375 400 57 30 150 24 134/56 460 Smeg 20876
2 418541 600 230 375 400 17 30 70 22 56 420 Smeg 806890276
3 418512 1190 220 375 400 47 30 70 22 56 420 Smeg 38087
4 416969 1400 230 370 400 45 30 70 22 46 420 Tecnoeka 09950327000
12 5 416541 1500 230 345 500 40 30 100 22 86 - MBM ltalien 3997001700
6 418495 1800 230 320 287 78 30 100 22 86 480 MBM ltalien 9303350400
7 418266 1800 230 320 290 78 30 100 22 86 480 Star10 071065
8 416971 2000 230 428 505 67 60 100 22 86 600 Tecnoeka 09950447000

Heating elements

698



ELECTRIC oven heating elements Heating elements

Ita L B L1 B2 FL FW HD A n
No. Part No. pm)er voMge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418792 1400 230 315 320 55 30 70 22 56 Gierre RES155
2 418228 1500 230 340 500 45 30 100 22 86 Star10 071068
Bertos 22016700
3 416042 1500 230 365 500 45 30 100 22 86 Giga X68203
Star10 X68203
S ‘
- k B
— —
D) '
T
Ita L B L1 B2 FL FwW HD bridge length . o
No. Part No. pm;" voMge (mm) (mm) (mm) (mm) (mm) (mm) (mm) ! %mm) 9 suitable for equiv. no.
1 418759 2500 230 360 390 95 60 100 23 86 485 Foinox 10645
e, |
| =
L B L—_/\ = = B2
= =2
— St =/ | -
'
It: L B L1 B2 FL FB HD bridge length q n
No. Part No. pm)er v°(‘7)9° (mm) (mm) (mm) (mm) (mm) (mm) (mm) i %:":)'19 suitable for equiv. no.
1 418915 4500 230 545 590 35 510 195 45 175 600 Bonnet 322496
' [ a i
i L | .
B = B2
m"—: X
- 12~ ==
e - L -
No. | PartNo. pt(w)er ‘ vogla)ge (m';“) (mE:“) (nl;:“) ("B"2n) (;lr-n) (;ﬁ) brieki;:| rI:)ngth (:g) windings suitable for equiv. no. 12
1 416543 3200 230 510 526 53 31 70 22 535 56 6 MBM ltalien RTCU700281
2 418491 3750 230 505 642 72 33 70 22 460 56 8 MBM ltalien 161661
2
=
$ )
£
K-
()
B o
c
=
(1]
T
1
Ita L B L1 B2 FL FW HD o 5
No. Part No. p(ovwv;er vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416950 3000 400 453 403 30 35 70 22 56 Ambach 5060815275

699



Heating elements oven heating elements ELECTRIC
ower oltage L B L1 B2 FL FW bridge length . n
No. Part No. pows v (v)g HC (mm) (mm) (mm) (mm) (mm) (mm) ! ?mm) 9 suitable for equiv. no.
1 418542 1750 240 2 387 519 31 63 100 22 532 Smeg 806890580
2 418514 2300 230 2 384 526 30 60 100 22 545 Smeg 50271
Electrolux 005205
3 418082 2550 230 2 333 347 48 107 120 25 368 Zanussi 005205
Bertos 22016900
4 416041 2600 230 2 350 355 36 60 100 22 480 Giga X68202
Star10 X68202
5 418227 2600 230 2 355 358 37 60 100 22 485 Star10 071084
6 415967 2600 230/400 2 355 360 40 60 100 22 485 Mareno 1037302300
Ambassade 6536147
7 418545 3400 230 2 415 258 38 80 128 22 300 Bartscher 021060
EGO 24.34034.023
8 416972 3700 230 2 442 575 73 60 100 22 700 Tecnoeka 09950457000
|
1y
y
[ _ B
! T
|
No. Part No. powey voltage HC (ml;“) ‘ (mBm) ("I;:“) (I;szn) (r:hn) (m) brid%:“I:)ngth (g,l;‘) suitable for equiv. no.
1 418511 2700 230 2 370 300 42 105 150 @ 24 460 55 90 20.40888.000R
meg 56537
2 418539 2830 240 2 370 390 42 105 150 24 460 35 Smeg 806890278
3 418540 2830 240 2 370 390 42 105 150 24 460 55 Smeg 806890409
F i ]
= LY
c ==L
D | =Y
| — |
— S [
(. 1
- L2 =L1=
] SO L -
ower voltage L B L1 B2 FL FW bridge length o 5
1 2 No. Part No. p(W) ‘ (V)g HC (mm) ‘ (mm) (mm) (mm) (mm) (mm) !(lmm) 9 suitable for equiv. no.
1 416970 2800 230 2 323 393 30 61 100 22 485 Tecnoeka 09950317000
2 418543 4200 240 2 365 540 40 61 100 22 610 Smeg 806890438

Heating elements

700



oven heating

ELECTRIC

elements  Heating elements

RRUN

@
5

- L2 =L1=
- L -
1
ower oltage L B L1 B2 FL FW bridge length . o
No. Part No. pows v (V)g ‘ HC (mm) (mm) (mm) (mm) (mm) (mm) ! %mm) 9 suitable for equiv. no.
1 418513 4300 230 2 460 540 100 60 100 22 550 Smeg 50272
b i
r B1
¥
8 1= B2
"
| I d
~ - L2 =L
|1 L |
ower oltage L B L1 B2 FL FW bridge length : n
No. Part No. pow M (v)g HC (mm) (mm) (mm) (mm) (mm) ’ (mm) ‘ . %mm) 9 suitable for equiv. no.
Indesit 10013150420
1 415774 3050 230 2 325 474 40 60 100 22 620 Lotus 537006200
Star 10013150420
i
- B
l:-'
]
1 2
No. Part No. powey vo(lt‘;z)ge HC (ml;'n) (mBm) (nl;:n) ("B"2n) ("ﬁ;) (m") suitable for equiv. no.
1 418490 3000 230 2 505 645 82 60 100 22 MBM ltalien 161662
2 416542 3950 230/400 3 510 548 52 127 160 22 MBM ltalien RTCU700282
AN /WJ_ i
=
——
L -
No. Part No. povey vo(l:la)ge ‘ HC (ml;“) ‘ (mBm) (nl;:") (n?l?n) (;:;1) (:1\:‘\’1) suitable for equiv. no.
Bartscher 016727
1 416785 1800 230/400 3 515 452 57 128 160 22 Olis A037300
2 416666 1800 230/400 3 535 448 75 128 160 22 Offcar 843641
3 416786 2750 230/400 3 515 580 55 225 160 22 Olis A037400
4 415252 2750 230/400 3 529 620 30 127 160 22 Silko 0101505
5 416667 2750 230/400 3 555 618 58 122 160 22 Offcar 843645
6 416093 3275 230/400 3 538 615 38 127 160 22 Gico 241200922
7 416087 3275 400 3 538 615 38 127 160 22 Gico 290203720

701

12

Heating elements



Heating elements oven heating elements ELECTRIC

AWATENaAWA b
\ J
h@ |
LI
N U S— (U .
U\uY UU
ower oltage L B L1 B2 FL FW . o
No. Part No. P (v"\;) v Mg HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416094 4300 230/400 3 530 843 32 127 161 23 Gico 211200020
2 416088 4300 400 3 530 843 32 127 161 23 Gico 211200240
i (ﬁ i
B1
|- I
B ~ : BTZ
r ‘\L;/
- L2- =L
L = v
It: L1 B2 FL n .
No. Part No. powey vo(va)ge HC (mm) (mm) ‘ (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416915 1500 230 1 460 484 107 62 104 32 Kuppersbusch 182323
Ascobloc 9294281
EGO 20.21708.050
2 415995 1500 400 1 460 484 107 62 104 32 Krefft 49-182322
Klppersbusch 182322
Palux 150673
ey
|
’ ; L
ta L B L1 B2 FL FW o .
No. Part No. pt()vv;)er vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416916 2000 230 490 575 40 60 105 34 Kuppersbusch 182326
EGO 20.21750.030
2 415795 2000 400 490 575 40 60 105 34 Kilppersbusch 182325
[ [
321
v
B B2
. = i
12
LA

(2]

-g 2 3

g No. Part No. p?‘xll)er vogla)ge (ml'm) (mBm) (nl;:“) (::1) (r:hn) (:l\:vn) suitable for equiv. no.
oy Ambassade 6530051
Q

= 1 418546 1000 230 405 324 30 30 72 22 Bartscher 021061
-‘g 2 415861 3000 400 607 447 25 32 70 22 Ambach 5060825601
©

% 3 415865 3000 400 670 445 173 30 70 22 Ambach 5060804348

702



ELECTRIC oven heating elements Heating elements

C
‘ [ - L2 -L1=
- - L -
1 2
ower oltage L B L1 B2 FL FW . o
No. Part No. p(w) v (v)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418696 1300 230 350 380 35 60 100 22 Mareno CR0410150
2 418524 1800 400 416 438 48 38 50 25 Bonnet 302189
il XA 1
H B1
1
B B2
_r_ ) i
LA
- L2 -L1=
- L- -
1 2
Ita L B L1 B2 FL o .
No. Part No. pm)er vo(v)ge HC (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418695 900 230 1 350 390 40 60 100 22 Mareno CR0410140
2 417441 2300 230 2 355 393 38 67 100 22 Modular 66508200
— i
et B
~
T
1 2
ower oltage L B L1 B2 FL Fw o .
No. Part No. p(‘;'v' v (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 005218
1 418078 1000 230 335 345 55 36 80 16 Zanussi 005218
Indesit 10013150430
2 415775 1750 230 326 405 34 170 100 22 Lotus 537006300
Star 10013150430
e
8
' 12
1
lta L B L1 B2 FL FW p .
No. Part No. pm)er vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418641 2700 400 465 385 100 61 100 22 Angelo-Po 32G3250

Heating elements

703



Heating elements oven heating elements ELECTRIC

1
ower oltage L B L1 B2 FL n o
No. Part No. p(‘x,') v (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415968 1200 230 346 342 36 60 100 22 Mareno 1037302400
\} l
B
ower oltage L B L1 B2 FL FW HD . n
No. Part No. p(w) v (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418596 2600 230 265 510 93 62 100 22 86 Angelo-Po 32G1591
2 416677 2600 400 460 505 115 60 100 22 86 Angelo-Po 32G0151
3 415673 2600 415 251 510 89 63 100 22 86 Angelo-Po 32G1621
4 415169 2700 380 450 590 115 60 100 22 86 Angelo-Po 32G0950
5 418837 2940 230 455 590 115 60 100 22 86 Angelo-Po 32G1220
i L i
J B1
B
S|
1 T
BUVAV Y==x
- L2 ~Li=
- L -
ower oltage L B L1 B2 FL FW HD q 3
No. Part No. P(v"\;) v (v)g (mm) (mm) ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
EGO 20.17067.000
1 418247 2000 220 600 450 55 30 70 15 56 Electrolux 0101063
King 0101063
EGO 20.11809.020
2 418371 2250 220 590 550 . 55 30 70 22 ‘ 56 Kiippersbusch ‘ 182477
EGO 20.11809.030
3 418364 2250 380 598 553 55 30 70 22 56 Kiippersbusch 182474
i
12 '
B
[72] |
E L -
[} - -
£
S 2
= ower oltage L B L B2 FL FW HD . .
:g No. Part No. P(W) M Mg (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
g 1 415585 2000 400 493 640 48 31 70 22 47 Blumauer 180352
I ' EGO 20.24354.101
2 415223 2500 400 450 570 20 30 70 18 56 Lohberger 51440360

704



ELECTRIC

oven heating

elements

Heating elements

ower oltage L B L1 B2 FL FW HD p n
No. Part No. pow! v (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418525 3300 400 610 450 75 55 72 53 62 Bonnet 302191
NS
A =/
L / \ u
\4 & -
vl \——THaql 12
- B2 =Bl =
5 B -
Ita FL HD o .
No. Part No. powey V°M9° (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415860 1500 400 560 473 70 22 56 Ambach 5060808561
2 415864 2000 400 570 445 70 22 29 Ambach 5060804349
"
C ( 8
M= =
- L -
It: L B FL FwW HD CL 0 .
No. Part No. powey vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415395 800 240 540 60 100 22 85 10 Silko 0101553
Electrolux 059237
2 415378 950 230 550 63 90 25 - 64 Zanussi 059237
3 416808 1000 230 555 63 100 22 86 55 Mareno CM018102
e
( K
“\,_ 1Y
L 4 J
ower oltage FL HD CL 0 n
No. Part No. p(v"\;) v (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 415088 1000 220 557 132 175 32 160 33 Mareno 1890500
i
(G
( w - L -
AL
(—_]J H
= T
It: FL HD q 0 .
No. Part No. powey vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) connection suitable for equiv. no.
1 415972 750 230 483 64 21 100 22 85 M5 Mareno 1890600

705

12

Heating elements



Heating elements oven heating elements ELECTRIC
(e -
I L. =
(s L L -
1 2
No. Part No. powey voltage (mm) (mm) ("F“';‘) (;w‘) (g:‘) suitable for equiv. no.
MKN 574089
1 416448 1275 230 325 202 225 20 219 Palux 637742
MKN 574087
2 415570 1500 230 470 200 225 20 214 Palux 731811
aﬁ: oSN
_
f——————— B
o
o b '
— le L I
(_ Q
A
[%—_}
- L2 1.
ower oltage L B H FL FW HD CL 0 0
No. Part No. pow v (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
Electrolux 0C0310
1 416977 1500 230 530 148 24 162 18 72 29 Zanussi 0C0310
2 417442 1500 400 535 140 23 162 18 72 28 Electrolux 0617827600
f— i
L B
L]
- L -
i 1—\/: a
H ]
i ;l% =]
1
ower oltage L B H FL FW HD CL . n
No. Part No. P vv\; v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418872 1250 240 370 130 40 50 38 30 Falcon 539110460
with screw connection
w3 e
1
No. Part No. powey vo:l\?)ge (mm) t(‘:,:l’;;’ G suitable for equiv. no.
1 418945 500 230 695 8 M12x1 Capic E150514
12
] C—
B
C
2 - L L J
=
[}
g Ital L B MD tub
ower oltage e o o .
6 No. Part No. pow v (v)g (mm) (mm) G (mm) (l:'nm) EP suitable for equiv. no.
g’ 1 418947 1000 230 400 90 M12x1 82 8 - Capic E150596
"g 2 418949 1500 230 580 110 M14x1 100 10 - Capic E150846
% 3 418948 1500 230 730 110 M12x1 102 8 bottom Capic E150852
4 418950 2000 230 900 90 M14x1 80 10 - Capic E150860
5 418952 2000 230 1300 65 M14x1 55 10 - Capic E150866
6 418951 2250 230 700 90 M14x1 80 10 Capic E151107
7 418953 3000 230 1295 60 M14x1 50 10 - Capic E151170

706




ELECTRIC

oven heating

elements

Heating elements

- L -
No. Part No. pow;e U vo:t\:)ge (mLm) (mBm) TS (mg) MP suitable for equiv. no.
1 416661 700 230 495 123 M12x1 115 upper Lotus 537025400
2 418067 800 230 685 125 M12x1 117 upper Lotus 537027800
3 416516 1200 230 505 123 M12x1 115 bottom Lotus 537020901
4 418068 1700 230 685 125 M12x1 117 bottom Lotus 537028100
.
> B i)
v L
- L -
ower voltage MD tube o n 0
‘ No. Part No. p(W) (V)g (mm) (mm) G (mm) (mm) suitable for equiv. no.
‘ 1 418954 4000 230 850 105 M14x1 95 10 Capic E151565
N | Liv]
i ) —_—
o _—
s ]
- —L- -
ower voltage L B MD tube o bridge length . q
‘ No. Part No. P (V)g (mm) (mm) TS (mm) (mm) ?mm) 9 suitable for equiv. no.
‘ 1 416968 2000 230 347 215 Ya 209 6.3 490 Tecnoeka 09950027000
i
B
C - -
- 15 -
wer voltage MD tube o o n
No. Part No. p?W) (V)g (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 415858 1500 230 540 476 Va" 468 8.5 Ambach 5060804030
2 415372 1500 400 540 476 Va* 468 8.5 Ambach 5060804027
iz iy
B f—j
D ' é w
( ls i |
No. Part No. powey vogla)ge (mm) (mm) TS (,"“I'[‘)‘) tz"r:;;’ suitable for equiv. no.
1 415859 3500 400 535 510 Va* 500 8.5 Ambach 5060804028

707

12

Heating elements



Heating elements oven heating elements ELECTRIC

r_ i i
B1
B
]
B2
S B S |
- L2 =L~
S - L -
ower voltage L B L1 B1 B2 q n
No. Part No. p(W) (v)g (mm) (mm) G (mm) (mm) (mm) MP suitable for equiv. no.
MKN 574081
1 415787 1450 400 502 455 M14x1.5 75 357 98 bottom outer Palux 290718
MKN 574083
2 415785 1500 . 380 505 463 M14x1.5 75 357 98 upper outer Palux 290688
MKN 574068
3 | 415810 1500 . 400 495 635 M14x1.5 75 515 120 upper outer Palux 200750
MKN 574070
4 415812 1700 400 495 635 M14x1.5 75 515 120 bottom outer Palux 290777
— 1
| B1
B Z 1
| | B2
b B N—— | .
- L2 -] -
- L - -
ower voltage L B L1 L2 B1 B2 n 0
No. Part No. p(w) (v)g (mm) (mm) (mm) (mm) (mm) (mm) G MP suitable for equiv. no.
1 415781 900 380 497 313 80 417 180 133 M14x1.5 upper outer MKN 574064
2 415783 1200 380 510 295 37 467 180 115 M14x1.5 bottom outer MKN 574066
.
i
L]
power voltage L1 B1 B2 o n
No. Part No. W) (V)g (mm) (mm) ‘ (mm) (mm) (mm) TS MP suitable for equiv. no.
1 415782 950 380 452 185 135 122 63 M14x1.5 upper inner MKN 574065
-
B
12
T
i
()
)
5
power voltage L B L1 B1 B2 o n
g No. Part No. w) (v)g () ) ) ) o) TS MP suitable for equiv. no.
oy . MKN 574082
()}
= 1 415786 1500 380 432 392 . 135 322 70 M14x1.5 upper inner Palux 290696
£ . MKN 574069
= 2 415811 1700 380 447 540 137 474 66 M14x1.5 upper inner Palux 200769
()]
I

708



ELECTRIC oven heating elements Heating elements

ower oltage L B L1 B1 B2 n n
No. | PartNo. p(‘)'v') u (V)g ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ TS MP suitable for equiv. no.
MKN 574088
1 416447 2450 230 495 510 65 440 70 M14x1.5 upper Palux 637734
2 415904 2900 230 490 680 70 630 50 M14x1.5 upper MKN 574086
I i
B1
E |
=) (L L]
J ]
L 1 ( ; T i 8‘2
-3 L2 L=
’ - L -
It: L B L1 B2 o .
No. Part No. p?‘)vﬂ)er vo(va)ge (mm) (mm) (mm) (mm) TS MP suitable for equiv. no.
1 415784 1300 380 442 190 110 73 M14x1.5 bottom inner MKN 574067
. MKN 574080
2 415788 1700 380 475 386 140 66 M14x1.5 bottom inner Palux 290726
. MKN 574071
3 415813 1950 400 467 520 140 55 M14x1.5 bottom inner Palux 290785
i
B
T
N
power voltage L B L1 B2 0 n
No. Part No. W) ‘ (V)g (mm) (mm) (mm) (mm) TS MP suitable for equiv. no.
1 418296 2000 230 534 503 24 53 M14x1.5 upper MKN 574138
2 418325 2400 230 530 665 30 60 M14x1.5 upper MKN 574139
C_ )
=/
ié ® * =
C D ’ ‘
H
c L 4
-2 L1 - 1 2
ower oltage L B H L1 tube o BA " .
‘ No. | PartNo. ‘ p(‘)'v’) ‘ u (v)g ‘ (mm) ‘ (mm) ‘ (mm) ‘ (mm) ‘ (umm) ’ (mm) ‘ G ‘ suitable for ‘ equiv. no. ‘
1 418944 1000 230 550 1o 75 257 8 27 wmix1 Capic E150572 |
=
(]
- (]
:: i ) ©
C 2
) =
C '} w
1 ()
- B T
[ 4 7
- 1_ -
Ita L B H MD n .
No. Part No. p((:vv;er vo(v)ge (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 416601 1000 230 396 65 35 87 Va* Tecnoinox 00775

709



-
N

Heating elements

Heating elements

oven heating

elements

ELECTRIC

- L2 -l
No. Part No. pt()vv\;)er vo(l\';fn)ge (mLm) (mBm) (mHm) (mg) TS suitable for equiv. no.
EGO 24.10007.210
Electrolux 054147
1 415078 1500 240 540 150 15 145 M10 Whirlpool 771985002864
Zanussi 054147
with lugs
1 ;
] —_— |3 —
\E B
C - T
- L -
No. Part No. powey vog,a)ge (ml;“) (mBm) Iug('::a':)gth Iu?mw"i‘(;th suitable for equiv. no.
1 418025 1500 230 525 315 70 23 Baron 41826620041
—~o— "
( :
[ I
O v
_— H
= (A
[ I -
No. Part No. powey vo(l:,a)ge (mm) (mm) (mm) Iug(':‘el:)gth Iu?n\‘ur;(;th suitable for equiv. no.
1 415341 735 230 387 108 25 55 29 Silko 0101556
Bertos 31320000
2 415294 900 230 468 112 23 60 20 Silko 0101554
Giga 0000X47000
3 416043 990 230 475 106 24 55 18 Star10 X47000
Whirlpool 483286009614
without screw connection
B
! \/
No. Part No. powey vo(l%ge (ml;“) (mBm) ("I;;I") ("I;;) (:,1“) (rErzn) (mg) suitable for equiv. no.
1 415356 2750 400 538 618 58 480 523 95 86.5 Electrolux 077018001816

710




ELECTRIC pasta cooker heating elements Heating elements

- L -
It: L B H tube o " .
No. Part No. pm)er vo(va)ge (mm) ‘ (mm) (mm) zlmm) suitable for equiv. no.
Ambassade 65211007
1 418478 1000 230 420 220 47 6.3 Bartscher 065211007
pasta cooker heating elements
with rectangular flange
i T i
| ¥
=
T i
f————————— s _— = S S— NP P
[ L |
1 2 3
ower oltage L B B2 tube o " .
No. Part No. p(vv\;) v (v)g HC (mm) (mm) (mm) (umm) suitable for equiv. no.
Electrolux 056906
1 415691 1450 220 1 507 58 33 6.3 Zanussi 056906
Electrolux 059066
2 416979 1550 230 1 530 55 - 6.8 Zanussi 059066
Electrolux 006853
3 416980 1650 230 1 500 54 10 8.5 Zanussi 006853
with screw connecti
.
C el G
-
- L -
ower oltage B MD tube o " .
No. Part No. p(vv\;) M (v)g (mm) (mm) ‘ TS (mm) (l:-nm) suitable for equiv. no. ‘
Giga 0000Y 19800
1 418651 1500 230 300 51 M14x1 43 8.5 Whirlpool 483286000159 ‘
o e ]
( B ‘:
) .2 :f ]
{- - L -
12
ta L B MD tub p .
No. Part No. pm)er voMge ‘ (mm) ‘ (mm) ‘ TS ‘ (mm) ‘ z‘m;)" suitable for equiv. no.
1 416066 1840 230 275 64 Va* 58 8.5 Emmepi 808056 s
il
2 415295 1840 230 275 70 Va" 62 8.5 Silko 0108111 g
Baron 4185326002063 £
3 418032 2000 240 280 75 Va* 67 8.5 Emmepi 808056 K4
Giorik 6002063 [\
Bertos 22015900 =l
Giga X47100 -
4 415902 2510 230 295 115 M14x1 107 8.5 Silko 0109035 g
Star10 X47100 T
5 418033 2520 220 447 70 - 62 8.5 Baron 4185326002064
6 416077 2520 230 452 66 Va* 58 8.5 Emmepi 808756
7 416137 2700 230 292 67 3/8* 60 8.5 Gico 270204220
8 416138 4000 230 485 64 3/8° 56 8.5 Gico 290203880

711



Heating elements

pasta cooker heating

elements

ELECTRIC

-
N

Heating elements

er oltage L B H L1 L2 MD . n
No. Part No. pow: v (v)g (mm) (mm) ‘ (mm) (mm) (mm) TS (mm) suitable for equiv. no.
1 416552 1850 230 279 48 29 40 239 M16x1.5 40 MBM ltalien RTCU700283
2 | 416553 3000 230 440 50 26 30 410 M16x1.5 38 MBM ltalien RTCU800342
-- i 7 m
! ,—“J:
Y} i 1]
- L- -
- =
lta MD . .
No. Part No. powey vo(v)ge (mm) (mm) TS (mm) suitable for equiv. no.
1 416728 2200 230 265 195 Va* 187 Roller-Grill D02084
i
I e ]
o ¥ -
H | %ﬂm
i I ]
- - LZ — L'{ -
power voltage L B H L1 L2 MD tube o P "
No. Part No. (V)g ‘ (mm) (mm) ‘ (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 416551 3000 230 264 58 28 38 227 M16x1.5 50 8.5 MBM ltalien RTCU700284
— o rﬁ—‘xkxﬂm 81
=== f—a?j—\/jm
B B2
C _ﬂu \._-
__F Nz —m
'
(= = _—
i L3 a2
- L -
power voltage L B L3 B1 n 0
No. Part No. (V)g HC (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 416795 7500 230 3 300 237 250 16 M14x1 Olis 8218100

712




ELECTRIC

pasta cooker heating

elements  Heating elements

No. Part No. pmfr V°R,a)9e (mLm) (mBm) (mk:n) TS suitable for equiv. no.
1 416071 800 230 350 87 36 Va" Emmepi 809070
Bertos 35039500
2 416693 1650 230 490 45 45 12 Lotus 40400084
Offcar FX40400084
1
H
1
- L- -
No. Part No. pm)er vo:sn)ge (mm) (mm) (mm) TS suitable for equiv. no.
1 416108 1500 240 245 38 237 M12x1 Gico 260203010
2 416110 1900 230 300 37 220 M12x1 Gico 270203090
3 416109 2600 230 445 50 225 M12x1 Gico 290203600
! :g
1 E—@
i
H
o B |
- |- -
No. Part No. p%er ‘ vogla;ge (mLm) (mBm) (mF:n) TS suitable for equiv. no.
1 418326 3300 230 314 310 218 M14x1.5 MKN 572170
m i
I' 8—55
;.@ |
P a -2 — Lt
q ’
%,. L
>
- N L -
No. Part No. pm)er vogla)ge (ml}n) (mBm) (mHm) TS suitable for equiv. no.
1 415772 823 230 276 108 20 M10x1 Lotus 537004200
2 415700 1300 230 280 110 20 M10x1 Lotus 537004800
3 415701 2000 230 276 140 20 M10x1 Lotus 537004900

713

12

Heating elements



Heating elements

pasta cooker heating

elements

(

with screw flange
heating rods

ELECTRIC

-
N

Heating elements

ower oltage L [] TSo LTS cable length o n
No. | PartNo. pow v (V)g HC (G, i) TS ) () (mm)g suitable for equiv. no.
1 416521 2000 230 1 300 30 14 - - 180 Lotus 537021100
2 416522 2000 230 1 300 30 1¢ 6 196 210 Lotus 537021200
3 418073 3500 230 1 475 30 14 - - 300 Lotus 537024200
4 418074 3500 230 1 475 30 1 6.5 215 300 Lotus 537024300
, i !
‘a_ e [ W
— i |
L ) N
It: L F TS LTS ble length o 0
No. Part No. powey vo(va)ge HC (mm) ("fm) TS (m:|) (mr:) (mm) 2 (:’“:")19 suitable for equiv. no.
1 416670 1800 230 1 315 30 1“ 50 - - 1000 Offcar 443655
2 416671 1800 230 1 315 30 17" 70 6.5 255 1000 Offcar 443651
3 416685 2500 230 1 490 30 1“ 50 - - 1000 Offcar 443685
4 416686 2500 230 1 490 30 1%" 70 6.5 255 1000 Offcar 443681
1 “*
v T
s ——— |
L 1
- i -
| -
H
1
ower voltage L B H TSe LTS o n
No. Part No. P (V)g HC (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418031 2200 230 1 300 34 42 6.5 190 Baron 41826620150

714




ELECTRIC pasta cooker heating elements Heating elements

with rotation flange )
side connection
other
No. | PartNo. i "°z§f‘)93 HC () ‘ () F F1 Fol Fo2 sC suitable for equiv. no.
1 415977 5670 230 3 292 225 24.5 9 43.8 39.7 M10x1 Mareno 1870000
2 415991 8499 230 3 405 225 24.5 9 43.8 39.7 M10x1 Mareno 1869900
It ) )
No. | PartNo. "‘(w)e' "°(‘7)9° HC MP (@m0, () F F1 Fol Fo2 suitable for equiv. no.
1 416699 4500 220 3 right 355 218 245 9 43.8 39.7 Mareno 1037301200
i
B
1
L.
H
i
ower voltage L B 0 .
No. | PartNo. P(W) (V)g HC ‘ MP ) () F F1 Fol Fo2 sc suitable for equiv. no.
1 415971 9000 230/415 3 left 245 320 24.5 9 43.8 39.7 M10x1 Mareno 1870100
: 12
1 2 3 4 5
No. Part No. Description

-

514018 | bush
514020 | bush

540439 | distance washer
514016 | flat gasket Teflon D1 @ 45mm D2 @ 40mm
540436 | hexagonal nut M10 H 4mm A/F 13 brass (1pc)

a0 N

Heating elements

715



Heating elements pasta cooker heating elements ELECTRIC

No. Part No. Description
6 540438 | long nuts M10 L 25mm A/F 13 brass (1pc)
7 514022 | nut 1%2° H 12mm stainless steel A/F 59 (1pc)

8 514017 | O-ring silicone thickness 3.53mm int. @ 32.93mm
9 514021 | O-ring silicone thickness 3.53mm int.  49.21mm
10 = 540435 | threaded rod M10 hollow

N

‘ No. Part No. Description ‘
‘ 11 514019  threaded rod M8 L 45mm brass ‘

with retaining rings

.
H
H o
1
No.  PartNo. e ‘ "°('§,a)9° HC MP ‘ (m';“) (mBm) F F1 Fot Fo2 suitable for equiv. no.
1| 416989 4500 230/400 3 left 357 200 45 9.6 445 39.5 S?;??O ngggg
12
1 2 3 4
No. Part No. Description

1 528155 | O-ring Viton thickness 3.53mm int. @ 32.93mm
2 532544 | O-ring Viton thickness 3.53mm int. @ 37.69mm
3 532545 | O-ring Viton thickness 3.53mm int. @ 49.21mm
4

691621 | retaining ring shaft @ 40mm thickness 1.8mm

Heating elements

716



ELECTRIC

with thread

pasta cooker heating elements Heating elements

No. Part No. p‘(w)er ‘ voR’a)ge HC MP (mLm) (mBm) (7 Fol Fo2 windings s suitable for equiv. no.
1 416909 6000 230/400 3 left 300 185 20 51 36 5 M36x1.5 Palux 100056
Kuppersbusch 540618
2 | 416906 7000 230/400 3 left 458 178 20 51 36 4 M36x1.5 Palux 542326
3 | 416910 8000  230/400 3  left 300 185 20 51 36 5 M36x1.5 Klppersbusch 540558
Palux 602051
\ .H_‘______,»-"’ e
1 2 3 4
No. Part No. Description
1 550674 | flat gasket Teflon D1 @ 46mm D2 g 36mm
2 550673 | flat gasket Teflon D1 @ 46mm D2 @ 36mm
3 521004 hexagonal nut M36x1.5 A/F 46 H 14mm brass
4 692060 | retaining ring brass H 10mm int. @ 36mm
5 521005 | spring washer int. 2 40mm ext. @ 52mm
side connection
with retaining rings
No.  PartNo. povey "°:‘\7)9° HC VP ‘ (m'-m) ("5“) F F1 Fol Fo2 (T"?"‘l') ‘ suitable for ‘ equiv. no.
1 416408 12000 230/400 3 left 280 225 45 9.6 445 39.5 7 Giga Y17000
2 | 416407 15000 230/400 3 left 355 190 45 9.6 445 39.5 7 Giga Y 14400

Heating elements

717

12




pasta cooker heating elements

ELECTRIC

Heating elements

S O O O

1 2 3 4
No. Part No. Description
1 528155 | O-ring Viton thickness 3.53mm int. @ 32.93mm
2 532544 | O-ring Viton thickness 3.53mm int. @ 37.69mm
3 532545 | O-ring Viton thickness 3.53mm int. @ 49.21mm
4 691621 | retaining ring shaft @ 40mm thickness 1.8mm

without screw connection

No. Part No. powel vo:\?)ge HC (ml'm) (mBm) (rrl;rzn) ‘ (r;Bnrzn) suitable for equiv. no.
Electrolux 0A5492
1 416981 1000 230 1 245 290 153 33 Zanussi 0A5492
L
¥ B
i
B ), B2
C » 1 S ﬁ
C b j - L -
ﬂ i
H
(- 5 L]
No. Part No. powey vo;\t?)ge (mm) (mm) (mm) (IEIZTI) suitable for equiv. no.
1 418233 1000 230 335 80 66 45 Star10 071044
12
1
No. Part No. power vo:t\zge (mm) (mm) (mm) suitable for equiv. no.
Electrolux 005816
1 416629 1600 230 368 75 170 Tecnoinox 01250

Heating elements

71

8




ELECTRIC

other

—=

pasta cooker heating

elements  Heating elements

1 2 3
It: i L B H s LTS . n
No. Part No. power vo(va)ge HC mozlnr:r:;g 2 (mm) (mm) (mm) (mr:) (mm) suitable for equiv. no.
1 415773 6000 230 3 47.5 390 31 40 4 330 Ambach 5060807386
2 416681 6000 400 3 57.5 485 37 40 7 445 Angelo-Po 32G2310
3 416959 8000 230 3 47.5 485 33 36 3 320 Ambach 5060814407
=
B |
1 #
H ]
5 A
- L -
1
No. Part No. povey vo(l\';x)ge HC f(l;nrﬂ)e (ml;“) (mBm) (mHm) suitable for equiv. no.
1 418799 4000 230 3 70x18 348 65 27 Fagor H063002
pilot heating elements
with expansion flanges
= - ——————
G
(  (C |
No. Part No. povey vogla)ge '}:1"“2; (mLm) (mBm) suitable for equiv. no.
EGO 20.40631.000
1 415568 800 230 70x18 220 66 MKN 573106
EGO 20.40631.010
Electrolux 0700214610E
2 415460 1000 230 70x18 230 65 Juno OH6199
Krefft 01-214610
with rectangular flange
- v — )
C = B (C J:‘ b
i il |
1
Ita HD FL P 5
No. Part No. powey vo(v)ge HC (mm) ‘ (mm) (mm) (mm) (mm) suitable for equiv. no.
Lohberger F7U47107
1 415793 450 230 1 194 42 62 74 63 Voss 47107

719

12

Heating elements



pizza oven heating element

Heating elements ELECTRIC

with round flange
' E
i 1 m
|
G @ o ————f @)
v {
Na—
i 1
- L -
1 2 3
ower oltage mounting & L B H TSe LTS . .
No. Part No. pow v (v)g HC z‘mr:l)g (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416113 300 240 1 475 265 31 14 7.2 246 Gico 290202790
Kuppersbusch 182415
2 415653 600 230 1 47.5 280 36 16 7 220 Malag 105708
Thielmann 143895
EGO 24.22129.010
3 418649 600 400 1 47.5 275 35 16 7 240 Electrolux 0K2058
Juno 0K2058
with screw flange
r H
B (1
- L -
1 2 3 4
ower voltage L B H LTS TSe o q
No. Part No. P (V)g ‘ HC ‘ TS (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
“ Ambach 5024709751
1 416200 300 230 ‘ 1 1 207 22 22 195 4 EGO 20.81132.210
2 415455 450 230 1 % 242 185 10 275 5 Flectrolux o
‘ Ascobloc 8181729
3/a Krefft 49-181729
3 415607 500 230 1 Y 295 20 19 235 6 Kiippersbusch 181729
Palux 702188
B Blumauer 00180711
4 418265 500 230 1 3/ 250 19 13 228 6.5 Electrolux 0G3747
pizza oven heating elements
with rectangular flange
4 4
C C ;
1Y
- L -
12
ower oltage L B FL FW HD CL 0 P
No. Part No. pow v (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
..g 1 418164 400 110 595 95 104 22 112 126 Moretti 74420350
g 2 418159 460 115 657 90 124 30 108 109 Moretti 74401140
o 3 418167 500 110 600 95 124 22 118 122 Moretti 74420370
(V]
o 4 416869 500 220 565 58 70 14 - 62 Inoksan 22317022
;§ 5 418170 560 110 800 97 124 24 112 123 Moretti 74420410
©
% 6 415677 600 230 567 130 160 22 144 132 Cuppone -
7 418853 600 230 570 130 160 22 145 27 Cuppone 91711900
8 418171 625 230 1235 74 110 20 94 106 Moretti 74400830
9 416377 700 220 712 80 124 30 108 98 Moretti 74400720
10 418172 700 230 1238 74 110 22 94 110 Moretti 74400760




ELECTRIC nizza oven heating element Heating elements

. I
C ( é

11

- L -

No. Part No. p?w)mr vo;t\zge (mLm) (mBm) (r:lr-n) (;\:\In) (:5') (rﬁrl;l) suitable for equiv. no.
11 418161 720 115 1041 89 124 30 108 92 Moretti 74420610
12 = 418854 800 230 560 130 160 22 145 133 Cuppone 91711910
13 415916 800 230 567 128 160 22 144 132 Cuppone -
14 418162 910 115 603 97 124 22 102 121 Moretti 74420560
15 418173 1000 230 1236 75 110 22 94 1M1 Moretti 74400540
16 418158 1050 115 660 88 124 30 109 108 Moretti 74401130
17 = 418165 1092 115 603 95 » 124 22 112 . 122 Moretti . 74420570
18 = 418168 1275 115 800 94 124 22 112 122 Moretti 74420590
19 = 418160 1275 115 1045 89 ' 124 30 107 . 94 Moretti . 74420600
20 418174 1300 230 1235 75 110 22 94 110 Moretti 74400550

s

=

Y e .
s wi] D=
I =
d - L3 =121
™ L -
No. Part No. pm)er ‘ vo(l?)ge (ml;") (mBm) (n'::;‘) (m) (::131) (n(1:|n.1) (nl;;) (:ﬁ,') suitable for equiv. no.
1 415939 600 230 570 160 220 30 200 131 520 113 Cuppone 91711900
2 | 415678 1000 ‘ 230 575 160 220 31 201 133 520 112 Cuppone 91711901
3 | 415917 1400 230 572 159 220 32 199 134 515 110 Cuppone 91711911
4 | 415918 1500 230 875 164 220 30 202 132 815 110 Cuppone 91711902
5 = 415959 1750 230 860 160 220 30 200 112 810 110 Fage RES92
6 | 415919 2000 230 870 160 220 31 200 130 820 160 Cuppone 91711912
- | !
j 8
- | ,
- L -
12
Vo Pate, PO e sitalo o st
1 418679 1000 230 675 280 324 25 310 135 Cuppone 91711013
2 | 418762 1100 230 650 245 270 25 65 115 GAM RFORS4635
3 | 418680 1600 230 675 280 324 25 310 135 Cuppone 91711018

Heating elements

721



element

ELECTRIC

ower oltage L B FL FW CL L3 B2 tube o . q
No. Part No. p(v"\;) v (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 415164 900 240 295 88 34 24 26 200 28 6.3 Mareno 59741
2 | 416573 1000 230 428 162 100 22 20 360 50 6.3 Mareno 1037316400
: i
j:) |
As
It; FL FW HD CL L2 B2 o .
No. Part No. powey vo(va)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416727 700 230 330 185 70 22 56 35 305 31 Roller-Grill D02148
i Hﬁ i
B1
L =1
= B B2
ﬁ —_ ¥
)
3 e
I L2 =L1=
- L -
ower voltage L B L2 B2 FL FW HD CL a 0
No. Part No. P (V)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418347 1500 230 382 333 342 62 100 22 42 88 Fage RES47
with screw connection
i
B
C ] C—
- L- -
12
No. Part No. powen vo(l:la)ge (ml;n) (mBm) T8 (mg) (rgrl;l) suitable for equiv. no.
1 418090 400 230 480 120 A M 55 Fornitalia 40/60Z7
ﬂ 2 | 416570 450 400 620 45 Va* 37 90 Pizza-Group 5591320
=
g 3 418011 500 220 590 105 Va" 96 51 Cuppone ME0000202
[ 4 | 415804 500 400 515 105 Va* 100 24 OEM -
; 5 415896 550 230 1180 63 Va* 54.5 49 Tornati 336005
.‘g 6 418089 600 230 480 120 Va* 112 42 Fornitalia 40/6026
8 7 418640 600 230 530 106 Va* 98 47 OEM EE054
I
8 415943 600 230 575 127 Va" 119 50 OEM EE13300
9 415945 600 400 575 131 Va* 125 34 OEM EE13500
10 = 418456 650 230 707 80 Va* 68 22 Morice RS0922
11 | 418010 700 220 598 110 Va* 102 50 Cuppone 91711971




ELECTRIC

pizza oven heating

element Heating elements

No. Part No. p?vv\;)er vo(l:la)ge (mLm) (mBm) TS (ml?‘) (g,l-',,) suitable for equiv. no.
12 | 415944 700 230 580 122 A 109 45 OEM EE13200
13 | 415946 700 400 575 120 Va* 112 28 OEM EE13400
14 | 416571 700 400 917 43 Va* 35 89 Pizza-Group 5591350
15 418187 750 230 - - - - - Moretti 74400790
16 = 418449 800 230 682 102 M14x1.5 94 82 Solymac P48A
17 | 418447 900 230 538 88 M14x1.5 80 40 Solymac P30
18 418727 920 230 1040 120 Va* 1M1 100 Moretti 74400160
19 = 418450 1200 230 656 110 M14x1.5 102 90 Solymac P48B
20 418412 1200 230 994 121 M14x1.5 113 55 CB 07030071
21 418728 1650 230 1070 130 Va" 121 100 Moretti 74400180
22 | 418125 3000 220 925 70 M15x1 61 10 Zanolli RESI0041
T Im
[ 0 |
- L= -
No. Part No. povey vogla)ge (mLm) (mm) TS (mg‘) (grl;l) suitable for equiv. no.
1 418094 550 230 600 95 Va' 86 84 Fornitalia 105/65215
2 418092 600 230 595 122 V' 115 84 Fornitalia 65/65215
3 418093 680 230 600 63 V' 55 85 Fornitalia 65/105Z18
4 418098 730 230 1000 94 Va' 88 84 Fornitalia 105/105215
5 418091 740 230 595 115 V' 90 84 Fornitalia 65/65Z18
6 418097 900 230 1000 195 M14x1.5 186 85 Fornitalia 105/105218
7 418725 972 230 645 195 V' 186 102 Moretti 74400210
8 418096 1100 230 1000 115 Va' 106.5 85 Fornitalia 105/65215
9 418095 1350 230 1000 165 V' 156 84 Fornitalia 105/65218
10 | 418726 1456 230 - - - - - Moretti 74400260

723

12

Heating elements



Heating elements pizza oven heating element ELECTRIC

i ( [ ilV]
_
— —
-~
) BN fim
- L -
No. Part No. p?w)mr vog,a)ge (mLm) (n?m) TS (r':r[r)r) suitable for equiv. no.
1 415825 600 400 470 200 Va* 191 Cuppone -
2 | 415521 650 230 570 160 Va* 164 Tornati 336007 f.Export60x60
3 418055 700 230 71 194 Va* 185 Cuppone 91711040
Bartscher 030008062
1w
4 416848 800 230 445 195 A 186 RSI 30008062
« Cuppone -
4
5 415588 800 415 575 200 Va 191 Kippersbusch 182328
6 418116 1000 220 810 214 M14x1.5 205 Zanolli RESI0051
Bartscher 030008049
7 416847 1000 230 - - - - RSI 30008049
8 416461 1000 230 473 275 Va* 262 OEM EE15700
9 418880 1000 230 580 235 Va* 227 Cuppone 91711022
10 | 416162 1000 230 582 242 Va* 2335 Star10 071083
11 418054 1000 230 708 198 Va* 178 Cuppone 91711050
12 | 418059 1000 230 710 300 Va* 290 Cuppone MEO0000066
13 | 418057 1000 230 713 205 Va* 196 Cuppone 91711041
14 | 418113 1000 230 810 100 M14x1.5 86 Zanolli RESI0068
15 | 415520 1000 230 875 182 Va* 174 Tornati 336011 Export 60x90
Eloma P0154
16 | 415524 1100 230 720 200 M14x1.5 210 Palux 126551
Zanolli RESI00211
Eloma P0155
17 | 415525 1100 380 716 205 M15x1 197 Palux 368512
Zanolli RESI0065
18 | 418819 1200 230 645 220 Va* 211 Pizza-Group 5591411
19 | 418115 1300 220 1220 250 M14x1.5 252 Zanolli RESI0052
20 418114 1300 230 1220 100 M14x1.5 92 Zanolli RESI0069
21 416567 1340 400 972 220 Va* 112 Pizza-Group 5591870
Eloma P0161
22 415527 1500 220 720 260 M14x1.5 252 Palux 368539
Zanolli RESI0022
23 416865 1500 230 485 360 Va* 345 Inoksan 22207023
24 = 415331 1500 230 646 300 M10x1 293 IME Turbo 00005019
25 416439 1500 230 900 245 Va* 237 Cuppone 91711023
26 418061 1500 230 1055 280 Va* 272 Cuppone 91711043
Eloma P0160
27 = 415526 1500 380 720 260 M14x1.5 290 Palux 368520
Zanolli RESI0066
28 418058 1600 230 715 275 Va* 275 Cuppone 91711052
12 29 418056 1600 230 1060 230 Va* 221 Cuppone 91711051
30 416569 1670 400 975 210 Va* 201 Pizza-Group 5591900
31 416413 1900 230 970 210 Va* 201 Pizza-Group 5591861
‘Q 32 418413 1900 230 998 230 M14x1.5 222 CB 07030069
[=
[ 33 | 416440 2000 230 892 245 Va* 237 Cuppone 91711033
g 34 416568 2000 400 970 220 Va* 112 Pizza-Group 5591850
g 35 418060 2400 230 1060 265 Va* 257 Cuppone 91711053
(=
=
©
(Y]
El=

724



ELECTRIC

pizza oven heating element

Heating elements

fim

( o I
No. | PartNo. povey "°('\';’)9e (m'-m) (mBm) TS (mg) (g'r;l) suitable for equiv. no.
1 418410 1450 230 440 390 M14x1.5 391.5 47 CB 07030060
2 418729 1750 230 680 260 Va* 251 101 Moretti 74400250
3 418730 2400 230 ; . ; : ; Moreti 74400280
I 7 T
S B ?
L A, it
No. | PartNo. povey voltage (m';n) (mBm) Ts (mg) ('gl";) suitable for equiv. no.
1 416435 600 230 605 130 Va* 122 110 Cuppone 91711020
2 416436 800 230 605 130 Ya* 122 110 Cuppone 91711030
3 416469 900 230 583 167 3/8" 158 90 OEM EE10500
4 416465 900 230 875 125 3/8¢ 120 70 OEM EE10900
5 416471 900 400 580 160 3/8" 152 86 OEM EE10700
6 416467 900 400 979 120 3/8¢ 112 89 OEM EE11100
7 416437 1000 230 895 132 Va“ 122 110 Cuppone 91711021
8 416470 1100 230 580 160 3/8* 151 104 OEM EE10400
9 416466 1100 230 880 120 3/8" 1M1 104 OEM EE10800
10 416472 1100 400 580 165 3/8* 157 90 OEM EE10600
11 | 416468 1100 400 884 125 3/8° 117 86 OEM EE11000
12 416473 1300 230 880 163 3/8* 153 93 OEM EE11300
13 | 416475 1300 400 880 160 3/8° 155 109 OEM EE11500
14 = 416438 1400 230 898 132 Va" 123 98 Cuppone 91711031
15 416476 1600 400 880 155 3/8° 145 103 OEM EE11400
16 = 418888 1900 400 880 160 3/8“ 150 105 OEM EE15000
17 = 418889 2000 230 880 160 3/8* 150 105 OEM EE24800

725

12

Heating elements



Heating elements pizza oven heating element ELECTRIC

C G
) B fﬁ
) ' ( m
C ——
No. | PartNo. i "%99 (m';n) (mBm) Ts (mg) suitable for equiv. no.
1 416489 700 230 316 235 M12x1.5 228 Sirman 1B5256410
2 416488 1000 230 320 240 M12x1.5 233 Sirman 1B5256400
3 416454 1900 380 640 295 Va" 287 Pizza-Group 5591650
4 416415 2000 230 965 390 Va* 381 Pizza-Group 5591830
Fimar C03651
5 416638 2100 230 580 460 Va* 425 GGF res. 2100W P4-E4-P44
Multi 501131
6 416866 2250 230 485 410 Va" 405 Inoksan 22207024
7 416456 2500 400 940 490 Va* 475 Pizza-Group 5591750
i E m
3
E,—J
. m
L L o
No. | PartNo. e ’ Yo (o) () TS st suitable for equiv. no.
1 418673 1600 230 475 445 Va* 436.5 Cuppone 91711010
2 418675 1800 . 230 575 550 Va* 541 Cuppone 91711011
3 418411 2000 230 560 520 M14x1.5 513 CB 07030058
4 418677 2000 230 675 650 2 651.5 Cuppone 91711012
5 418674 2400 230 475 445 Va* 436.5 Cuppone 91711015
6 418676 2800 230 570 520 Va* 511 Cuppone 91711016
7 418678 3200 230 675 650 Va" 641 Cuppone 91711017
—— v ‘ w
B 5
 C—
" L N
12
No. | PartNo. i ‘ "°('§,a)9e (m'-m) (mBm) TS (mg) suitable for equiv. no.
1 415890 1500 230 455 410 Va* 402 Tornati 336023
3 2 416462 1650 230 470 450 Va* 442 OEM EE07000
g Eloma 318050
£ 3 415528 2000 230 465 450 M14x1.5 441 Palux 126578
Q I Zanolli -
qg’, 4 ato63 2000 230 470 420 e 412 e s 2000 o il
"g 5 415891 2000 230 560 545 Va* 540 Tornati 336014
% 6 416464 2000 230 600 572 Va* 563 OEM EE17700
7 418611 2000 230 645 550 2 637 Pizza-Group 5591570
8 416450 2000 380 467 433 Va* 4245 Pizza-Group 5591300
9 416453 2000 400 640 510 Va* 501.5 Pizza-Group 5591600
10 = 418829 2500 230 570 490 Va" 482 Pizza-Group 55913140




ELECTRIC pizza oven heating element elements
- L- -
No. Part No. power vo:t\:)ge (ml}") (mBm) TS (mg) suitable for equiv. no.
11 416432 2500 230 575 570 M14x1.5 561 Eloma PO151
Zanolli -
12 | 416452 2500 400 638 470 Va* 462 Pizza-Group 5591550
« Fimar C03652
13 | 416639 3600 230 585 800 Va 892 GGF res.3600W E6-E66
i i
| B1
B
) ——— n
v ¥
( - L2 ~L1=
- L -
ower voltage L B L2 B2 MD A n
No. Part No. p(W) (V)g (mm) (mm) (mm) (mm) TS (mm) suitable for equiv. no.
1 418157 2100 230 675 550 640 135 Va" 127 Moretti 74400150
i
N ——
= > °
C Sy
ower voltage L B L3 B2 MD CL 0 o
No. Part No. p(w) (v)g (mm) (mm) ‘ (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 416841 1100 230 375 255 275 155 Va" 147 67 GGF res.1100W 230V Micro
2 416837 1500 230 700 270 600 48 Va* 40 108 GGF res.1500W 230V F72-6
3 416640 1600 230 890 220 815 150 A 150 93 Fimar C03653
4 416840 2200 230 1060 260 940 160 Va* 152 94 GGF res.2200W230V F108-9
( Nz ’
D —
( B B2
Y ' 12
'
— ( Bl
- L3 =12/ 1=
|- L -
2
5
Ita L3 B2 MD CL A p
No. Part No. powel voMge (mm) (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no. g
1 416644 750 230 373 327 310 282 M12x1 275 30 Lotus 537003200 )
2 416188 800 230 365 290 295 254 A 246 33 CF 63.7.1088 g’
©
()
I

727



-
N

Heating elements

Heating elements

pizza oven heating

element

ELECTRIC

ower oltage I8 B L3 B2 MD CL 0 n
No. Part No. pow v (V)g (mm) (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 418052 800 230 370 390 285 330 M10x1 310 87 Cuppone MEO0000025
2 418053 1500 230 365 400 285 335 M10x1 331 85 Cuppone 91711005
3 416434 1600 230 480 500 410 460 Va* 452 130 Cuppone 91711930
4 415941 2000 230 470 506 390 470 Va* 461 115 Fage RES50
5 416433 2000 230 475 500 405 458 Va* 450 135 Cuppone 91711931
M Fage RES62
6 415942 2280 230 600 610 520 570 Va 561 101 Multi 501.022
[}
8 B2
=y
z#/ =L}
T - |
- L3 =121
| L -
1
ower voltage L B L3 B2 MD CL o n
No. Part No. P! (V)g (mm) (mm) (mm) (mm) T8 ‘ (mm) ‘ (mm) ‘ suitable for equiv. no.
1 415947 3500 230 580 720 490 680 Va* 675 120 Fage RES6292
ower voltage L B L2 B2 CL : o
No. Part No. p(W) ‘ (V)g (mm) (mm) (mm) (mm) (mm) TS suitable for equiv. no.
1 416674 2500 230 495 480 395 425 61 A Pizza-Group 5590880
2 416675 7700 230 480 480 380 50 20 Va* Pizza-Group 5590980
i
mg |
LA
Ita L B2 CL n .
No. | PartNo. powel vo(v)ge ‘ ] i) ‘ ] ) ] TS suitable for equiv. no.
1 416673 500 230 315 315 315 50 62 Va* Pizza-Group 5590930
2 416672 1000 230 320 318 320 38 64 M12x1.5 Pizza-Group 5590810

728




pizza oven heating

ELECTRIC

element Heating elements

[ | |
l \S B W
| fim
- L -
ower oltage L B MD CL 0 n
No. Part No. pow v (v)g (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 416838 800 400 880 78 Va" 69 1M1 GGF res.800W 380V P9/P12
2 416836 1000 230 700 142 Va* 133 93 GGF res.1000W 230V F72-4
3 416839 1500 230 1062 141 Va" 132 95 GGF res.1500W230V F108-6
e i
B
8
1
B2
| BN 1
AN | L o
No. Part No. powey vo(l\'gge (mLm) (mBm) TS (mg) (rg";‘) suitable for equiv. no.
1 418220 1400 230 938 880 Va* 97 24 Cuppone MEO0000106
2 418221 1400 230 1144 1090 Va* 100 160 Cuppone MEO0000107
3 418213 2400 230 930 883 Va* 109 159 Cuppone 91711071
4 418212 2400 230 1043 1090 Va* 100 160 Cuppone 91711072
N i
| \/\ B1
g {
N
e Blz
No. Part No. powey vo:l\?)ge (ml'm) (mm) TS (mg) (::;‘) suitable for equiv. no.
1 418219 1600 230 710 665 Va* 96 148 Cuppone MEO0000105
2 418214 2600 230 710 665 Va* 93 151 Cuppone 91711070
i g‘ﬁ—ﬁm
(—==?_)
=
= "
e n— 12
i
o (O——m
-
- L » o
=
(]
ower oltage L B L1 [] q n
No. Part No. P(v"\;) U (V)g ‘ MP (mm) (mm) (mm) (mm) TS suitable for equiv. no. E
1 418117 1200 230 upper 147 157 100 47 M14x1.5 Zanolli RESI0057 g’
2 418119 1500 230 upper 142 158 95 49 M14x1.5 Zanolli RESI0079 =
=)
3 418118 1800 230 bottom 150 155 - 55 M14x1.5 Zanolli RESI0058 g
4 418120 2200 230 bottom 150 155 95 49 M14x1.5 Zanolli RESI0080 T
5 418121 2200 230 upper 230 262 170 60 M14x1.5 Zanolli RESI0060
6 418123 2800 230 upper 228 260 168 60 M14x1.5 Zanolli RESI0081
7 418122 3300 230 bottom 230 263 168 60 M14x1.5 Zanolli RESI0061

729




Heating elements pizza oven heating element ELECTRIC

v
- L1 -
i
¢ (O——
T |
- L -
ower oltage L B L1 tube o . .
No. | PartNo. p(v"\;) v (V)g MP ) ) ) (umm) TS suitable for equiv. no.
8 418124 4100 230 bottom 230 255 175 65 M14x1.5 Zanolli RESI0082
e A A MU e
No. Part No. pm;%r vo(l%la)ge MP (ml;“) (mom) t(un!:;;; TS suitable for equiv. no.
1 418183 1250 230 upper 1032 34 16 M20x1.5 Moretti 74420850
2 418182 1400 230 bottom 775 34 16 M20x1.5 Moretti 74420750
3 418181 1600 230 upper 770 34 16 M20x1.5 Moretti 74420740
4 418184 1900 230 bottom 1030 34 16 M20x1.5 Moretti 74420860
with lugs
i
o B
C '
- -
- -L -
ta L B lug length I idth n .
No. Part No. pmf' voMge (mm) (mm) "g("f':!)’ u?"‘:lﬂli) suitable for equiv. no.
1 415826 1000 230 505 142 30 16 IME Turbo 990010
12
- L— -
power voltage L B lug length lug width . .
No. Part No. w) (V)g (mm) (mm) %mm)g %mm) suitable for equiv. no.
1 416867 1000 230 530 220 35 114 Inoksan 22317026
2 416868 1500 230 530 225 35 14 Inoksan 22317025

Heating elements

730



ELECTRIC

pizza oven heating

element Heating elements

ower oltage L B lug length I idth p o
No. Part No. pow v (V)g (mm) (mm) ug(mm)g u?mwl:‘) suitable for equiv. no.
1 418667 750 230 310 250 30 20.4 RM-Gastro 401021750
i ( % 5'1
=
B fi 82
A |
13 =121
- L -
ower oltage L B L3 B2 lug length | idth . o
No. Part No. pov v (V)g (mm) (mm) (mm) (mm) ug(mmig u?mwnl1) suitable for equiv. no.
1 418672 1000 230 330 300 240 230 27 22 RM-Gastro 401031000
without screw connection
i -~ ]
B {
. | “\( :
- L -
No. Part No. powey vo(lba)ge (mLm) (n?m) suitable for equiv. no.
1 415360 350 230 560 50 IME Turbo IME202010
2 415289 500 230 730 50 IME Turbo IME202007
I u}
vl =
C L i N
No. Part No. powey vo(l:la)ge (mLm) (mBm) suitable for equiv. no.
1 415226 750 230 405 210 IME Turbo Heizkorper fir BM415T
2 415227 1200 400 280 96 IME Turbo 202025

731

12

Heating elements



element

ELECTRIC

No. Part No. pm)er vog;n)ge ‘ (mLm) (mBm) suitable for equiv. no.
1 418780 600 230 300 215 Bartscher A02011009
7 -
| \\_[_| =
A
B ( B2
C —
-y
LN
) - L3 =121~
- L -
ower oltage L B connection distance L3 B2 . o
No. Part No. pows v (V)g (mm) (mm) (Imm) ! (mm) (mm) suitable for equiv. no.
1 418781 900 230 350 300 220 220 220 Bartscher A02011008 ‘
heating cables
No. Part No. MP (%tg) suitable for suitable for equiv. no. No. Part No. MP (%?) suitable for suitable for equiv. no.
1 418176 bottom 3 AHC_A/AHK Moretti 54600290 4 418175 upper 3 AHC_A/AHK Moretti 54600300
2 418178 bottom 3 AHC_B/AHB Moretti 54600270 5 418177 upper 3 AHC_B/AHB Moretti 54600280
3 418180 bottom 3 AHC_C Moretti 54600310 6 418179 upper 3 AHC_C Moretti 54600320
pizza press heating elements
i N i
1% ]
: . |
B (C " B2
1 W ) —
- E —
1 2 b -L2 e N
- L -
g No. Part No. power vo(l\';a)ge (mm) (mm) ‘(",:;;' windings (rrLl:n) (nl;2m) ('5'1“) (n?rzn) suitable for equiv. no.
g 1 416477 1500 230 364 235 8.5 5 180 184 103 29 OEM EE02800
K] 2 416458 1500 230 375 268 8.5 4 137 238 120 28 Pizza-Group 5590700
g, 3 416478 1500 400 369 235 8.5 5 108 261 97 26 OEM EE18100
-‘g 4 418186 2500 230 478 347 8.9 5 140 337 155 32 Moretti 74420780
©
% 5 416459 2500 230 494 335 8.5 5 160 334 155 34 Pizza-Group 5590750
6 416479 3000 230 493 355 10 5 115 355 162 31 OEM EE03000
7 416480 3000 400 490 332 10 5 125 365 153 26 OEM EE16200

732



ELECTRIC

press heating

elements  Heating elements

ower oltage L B L1 L2 tube o . n
No. Part No. pow! v (V)g (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 416441 1500 230 355 245 120 235 8.5 Cuppone 91711940
2 | 416442 2500 230 460 355 130 330 8.5 Cuppone 91711941
3 | 416460 2500 230 540 407 - - 8.5 Pizza-Group 5590800
i
AD
| 5
No. Part No. p?vv\;)er vo(l:la)ge ext. o ‘(""l::; suitable for equiv. no.
1 418048 1600 230 300 6.3 Cuppone 91711081
2 | 418047 1600 230 300 6.3 Cuppone 91711080
3 418049 2200 220 385 6.3 Cuppone ME0000042
4 418050 2600 220 435 6.3 Cuppone MEO0000043
5 418051 2600 230 475 6.3 Cuppone 91711084
No. Part No. p(ower vogla)ge ‘ (mLm) (mBm) t(l::%f windings suitable for equiv. no.
1 416309 1500 230 260 260 6.2 8 Pizza-Group 5590710
2 | 416316 2500 230 360 360 6.3 12 Pizza-Group 5590760

733

12

Heating elements



Heating elements quariz heating elements

ELECTRIC

fquartz heating elements
5 — I —
- L -
No. Part No. (ml;n) t(unl::";; p?vv\;)er vo(ltla)ge connection suitable for equiv. no.
CF 63.7.1096
1 416187 260 12 400 115 flat plug 6.3mm Forved TOSTRESO01
RM-Gastro 401023400
2 416861 335 10 - - flat plug 6.3mm Inoksan 24417022
3 415309 340 10 400 230 plug-in connection h';g::aré 120;5838‘2?2_0 N
4 417217 340 11 200 - flat plug 6.3mm Roller-Grill D04029
5 | 417216 340 11 295 - flat plug 6.3mm Roller-Grill D04030
Pieffe 3303
6 415303 340 12 400 115 flat plug 6.3mm Saro 122-2075 mit Ose
VEGA 92027
7 | 416563 340 12 500 - flat plug 6.3mm Fimar C01085
Forved TOSTRES02
8 | 418625 365 10 500 110 flat plug 6.3mm RM-Gastro 401023500
Roller-Grill D04022
9 | 416872 365 10 1000 230 flat plug 6.3mm Forved TOSTRES02
10 | 416858 380 10 - - flat plug 6.3mm Bagssclher Agg’gggiggz
11 | 415236 380 10 400 110 flat plug 6.3mm IME Turbo 205004
12 416414 385 10 500 230 flat plug 6.3mm Star10 071014
13 | 416174 390 11 450 75 eye Dihr 8075
14 | 416152 390 12 500 230 flat plug 6.3mm Star10 071014.1
15 416584 395 12 - - flat plug 6.3mm RST - Fiamma 4.0.074.1003
16 = 416582 395 12 - - flat plug 6.3mm RST - Fiamma 4.0.075.1135
17 | 416583 395 12 - - flat plug 6.3mm RST - Fiamma 4.0.075.1137
18 | 416732 415 11 750 115 flat plug 6.3mm Roller-Grill D04001
19 = 415301 420 10 190 230 plug-in connection FriFri 13-01
20 415302 420 10 400 230 plug-in connection FriFri 14-04
21 415313 460 10 420 230 plug-in connection FriFri 14-03
22 | 415211 460 11 - - eye - -
23 | 416914 478 11 530 77 flat plug 6.3mm Roller-Grill D04028
24 | 415237 525 10 533 75 flat plug 6.3mm IME Turbo 205002
25 | 418834 525 10 600 230 flat plug 6.3mm Star10 071051
26 | 416713 525 1 - - flat plug 6.3mm Roller-Grill D04023
27 | 416873 525 12 500 230 flat plug 6.3mm Forved TOSTRES04
28 | 416153 530 12 600 230 flat plug 6.3mm Star10 071051.1
12 29 | 418820 545 11 460 76 flat plug 6.3mm Roller-Grill D04033
30 | 415306 630 10 650 230 flat plug 4.8mm AKO 106169
31 415219 633 10 - - flat plug 6.3mm IME -
32 416775 668 10 - - flat plug 6.3mm Roller-Grill D04024
33 | 416776 680 1 1200 115 flat plug 6.3mm Roller-Grill D04025
34 | 416876 760 12 800 110 eye Forved SALAMADRES

Heating elements

734




ELECTRIC

quartz heating

elements  Heating elements

B ]

—_T-

No. Part No. (mLm) t(ur::nr power vo(l:la)ge (mBm) connection suitable for equiv. no.

1 416142 285 11 800 230 110 eye Faba P40004

2 415312 285 1.5 800 230 130 eye CF 63.7.1094

3 | 416143 390 11 1000 230 110 eye Faba P404/1
Bertos 30014100

4 415311 390 11 1000 230 130 eye Elet?r';bar Al
Eurotec 923003

heating coils for quartz tube elements

No. Part No. pmf' wallirp (nl;r1n) (nl;rzn) (mﬂ:n) suitable for equiv. no.

1 416710 - - 160 125 55 Roller-Grill D01041

2 416714 - - 230 195 5.5 Roller-Grill D01040

3 418626 300 115 445 395 5.2 - -

4 416564 400 ; 345 310 6 Lmar 020

5 | 417445 400 110 170 115 6.5 Sirman 1B5206900

6 | 416482 400 115 280 220 6 Sirman 1GS402T04

7 417448 400 230 - - - Sirman IB5206810

8 | 416021 500 110 390 325 5 Bertos 30040800

9 | 416484 500 115 240 170 6 Sirman IGS402T06

10 416494 500 115 240 185 6 Fletirobar FSpes

11 | 416485 600 230 390 340 Sirman 1GS402T06/02

12 | 416562 700 110 510 460 Sirman IGS402SF

No. Part No. pOwel vo:l\:)ge (r:1-n1n) (nl;zm) (mE:'n) suitable for equiv. no.

1 416711 - - 245 160 5 Roller-Grill D01024

2 | 416762 - - 250 160 5 Roller-Grill D01043

3 | 416706 - - 260 165 6.5 Roller-Grill D01025

4 | 416764 - - 300 255 5 Roller-Grill D01035

5 | 416737 - - 320 220 45 Roller-Grill D01026

6 416729 - - 330 230 6 Roller-Grill D01021

12

Heating elements



Heating elements

quartz heating

elements

ELECTRIC

No. Part No. power vo:(\zge (nl;:n) (ml':‘) (mnm) suitable for equiv. no.
7 416761 - - 340 240 4 Roller-Grill D01003
8 | 416738 - - 355 260 7 Roller-Grill D01027
9 | 416766 - - 425 320 6 Roller-Grill D01036
10 416752 - - 725 485 9 Roller-Grill D01030
11 416750 110 230 495 410 7 Roller-Grill D01033
12 | 416758 550 230 280 190 6.2 Roller-Grill D01031
13 | 416708 950 110 380 285 6.5 Roller-Grill D01032
No. Part No. powey vo(l\tla)ge (,:":n) ("I;lzn) (mom) suitable for equiv. no.
1 | 418765 1000 230 - - - Silanos 905590
2 416036 1000 230 - - - Avristarco 2524
Aristarco 603
3 | 416034 1000 230 245 180 6.5 Silanos 005631
quartz tubes
No. Part No. L int. o o suitable for equiv. no. No Part No. L int. o ey suitable for equiv. no.
. . (mm) (mm) (mm) QUIVInoS . : (mm) (mm) (mm) UnoY
1 416751 63 1 15.5 Roller-Grill D04003 12 | 416493 390 85 1 Elettrobar 484001
Eurotec 484001
2 | 418476 @ 195 7 11 Chergui 03EFTQ0090 :
12 13 416483 390 8.5 115 Sirman IGS660T06
3 | 418583 @ 255 8 1.5 Sirman IB3506900 :
Aristarco 615
4 416481 270 8.5 1.5 Sirman IGS660T04 Bertos 30043100
. 14 416020 390 9 11 Elettrobar 484001
" 5 416035 285 9 1 Aristarco 2523 Silanos 907380
- 6 416757 315 9 1.5 Roller-Grill D04006 VEGA 92000
g 7 | 416709 = 320 9 11 Roller-Grill D04015 15 | 418616 | 440 9 " i} )
) " 16 416715 460 9 1 Roller-Grill D04007
& 416486 337 86 12 Limar ot
= irman 17 = 416763 510 9 1 Roller-Grill D04009
-,§ 9 | 416707 = 340 75 11 Roller-Grill D04012 18 | 416561 515 7 10 Sirman |GSGB0SE
Pl | 10| 418477 | 350 | 7 " Chergui 03EFTQ0020 19 416765 620 = 85 105 Roller-Gril D04010
T o
1 | 416760 | 365 | 9 " Roller-Gril D04005 20 416736 695 75 11 Roller-Gril D04013
21 416753 780 10.5 145 Roller-Grill D04011

736




ELECTRIC

quartz heater

bottom heaters Heating ele

No. Part No. pover vo(l:la)ge (mLm) (mBm) (nrlm) Producer
1 415113 1300 230 570 110 100 AKO
accessories
1
‘ No. Part No. Description suitable for equiv. no.
‘ 1 550346 | insulator ceramic for quartz heating element FriFri 25-07, 400.003
bottom heaters
with control and safety thermostat
No. Part No. power vo:l\:)ge HC (mm) E2ie t(tn(e:;mostat control(trce)rmostat suitable for equiv. no.
EGO 28.06020.100
1 418430 1800 230 1 196 250 128 Nayati PD411Q
Salvis 1G564208
EGO 28.06019.500
2 | 418467 1800 230 2 196 250 105 Salvis 16564199
EGO 28.06014.000
3 | 418242 1800 230 2 196 250 117 Scholl 71.01.90
4 | 415337 1800 230 2 196 250 128 EGO 28.06013.300
EGO 28.06019.900
5 | 418482 2000 400 1 196 250 128 Salvis 16564209
EGO 28.06013.400
6 415661 3000 230 2 196 250 128 Stahl 160087

737

12

Heating elements



-
N

Heating elements

Heating elements bottom heaters

(

with control thermostat

ELECTRIC

No. Part No. power vo(l:la)ge HC (mnm) suitable for equiv. no.
1 415336 500 230 1 196 EGO 28.06013.100
EGO 28.06018.200
2 418466 1800 230 1 196 Salvis 1G963110
EGO 28.06013.200
3 415760 1800 230 1 196 Kuppersbusch 540463
Thielmann 144167
with safety thermostat
No. Part No. powey vog,a)ge HC (n'fm) Gy tbgmostat suitable for equiv. no.
EGO 28.06020.000
1 418429 1800 230 1 196 250 Nayati PD411P
Salvis 1G564207
without thermostats
No. Part No. powel vo(l:la)ge HC (mom) suitable for equiv. no.
EGO 28.06018.300
1 418473 1800 230 1 196 Salvis 1G963111
accessories
No. Part No. Description (:g) suitable for equiv. no.
. o EGO 960.009
1 390410 | safety bimetal thermostats 200°C 1NC 1-pole 16A 24 Salvis 16963100

738




ELECTRIC rechaud heating elements Heating elements

réchaud heating elements )
with screw connection
Iy
C 1 B
C e
- L2 = 1
C D
H
( [N
- L -
Itas L B H L2 n .
No. Part No. p?vv\;)er vo(v)ge (mm) ‘ (mm) (mm) (mm) TS suitable for equiv. no.
Roller-Grill D02004
1 416717 650 230 155 258 82 135 M12x1.25 VEGA fir 81132
2 415707 700 230 135 208 88 140 M12x1 Lotus 537004600
Roller-Grill D02003
3 416712 1300 230 290 258 82 270 M12x1.25 VEGA filr 81133V1
4 | 415708 1400 230 338 215 85 338 Ve Lotus 537004700
without screw connection
i
B
¥
It L B H L2 9 .
No. Part No. pm)er ‘ vo(va)ge (mm) (mm) (mm) (mm) suitable for equiv. no.
1 | 415637 600 230 145 250 57 96 Likon 703.17
2 | 415638 750 230 175 260 56 125 Liikon 705.17
3 415639 1200 230 255 256 56 210 Liikon 710.17
other
1 2 3 4
It: " .
No. Part No. p‘("ﬁ)er vo(va)ge (mm) (mm) (mm) Qty suitable for equiv. no.
1 | 418523 200 15 - - - 2 Liikon 508TF
2 | 418500 200 230 335 18 53 2 Liikon 5-000110 12
3 418521 300 230 565 - 138 2 Liikon 506TF old version
4 | 418522 300 230 565 18 50 2 Likon 506 TF new version

Heating elements

739



[

refrigeration heating elements
heated condensing trays

1 3 4 5
No. Part No. (mm) (mm) (mm) power vo(lba)ge suitable for equiv. no.
1 750003 240 240 75 - - Mafirol 226303600
2 750005 240 240 250 - - Mafirol 222312100
3 | 750007 280 130 60 300 230 Mafirol 224011500
4 750001 320 120 75 160 230 - -
5 | 750002 320 120 75 300 230 - -
6 8 9
No. Part No. (ml'm) (mBm) (mHm) p?‘)'v'f r vo(l:ia)ge suitable for equiv. no.
6 = 750004 380 240 75 - - Mafirol 227206000
7 | 750006 380 240 250 - - Mafirol 222312200
Desmon Q32-0196
8 | 695271 410 300 80 230 230 Star10 Q32-0196
9 | 750212 875 447 115 - - Desmon 89020710
heating elements for condensate evaporation
1
‘ No. Part No. ‘ pOwey voltage (ml}n) (m?n) cab:;l:]n;gth suitable for equiv. no.
1 416352 100 230 550 115 1700 IME Turbo TKS0319
12
(2]
)
(=
O N em—
£
2
Q
(=)}
c
=
©
[}
I Ita ble length
No. Part No. powel V°(v)9° (mm) (mm) CEl ('e“::;g suitable for equiv. no.
1 416984 270 230 230 36 4000 Zoin R010-RMU251

740




refrigeration heating elements Heating elements

ELECTRIC

IG T
— S : .
;(( i
- L -
1
No. Part No. power voltage L B suitable for et
b 3 V) (mm) (mm) quiv. no.
1 418731 300 230 285 80 Mafirol 877111800
v—JE N
I
~- L -
— :
B #
No. Part No. povey vo(l:la)ge (ml;n) (mBm) (mHm) cab;renll':n;gth suitable for equiv. no.
1 418816 500 230 500 130 90 1500 Tecfrigo 7764819
i
¢ d 1
- L2 i R
——
L B
| \—lf:l 1
| L -
1
No. Part No. pm;!r voR’a)ge (mLm) (mBm) (mHm) (nI;Zm) cab;f,nlri')'gth suitable for equiv. no.
1 418732 650 230 280 95 87 215 1500 Mafirol 877107800
2 418733 650 230 430 95 98 345 1500 Mafirol 877107900
-—d—_a'————-_—_‘—'_- l mﬂj i
1 3
No. Part No. powey vo(l:la)ge (mLm) (mBm) (nr‘m) t(ur:renf cab!;l:lr)lgth suitable for equiv. no.
Electrolux 083814
1 417227 95 230 124 - - 12 4000 Polaris 1666090
2 418582 100 230 140 225 80 - 1500 Friulinox 935616
3 | 416374 135 230 480 115 - - - Dexion 019430-02R

741

12

Heating elements



Heating elements refrigeration heating

elements

ELECTRIC

[heating elements for defrosting

-
N

Heating elements

No. Part No. powey vo(l:la)ge (mLm) t(\::;f suitable for equiv. no.
1 416305 150 12 440 8.5 - -
2 416351 160 230 450 9 IME Turbo TKS0012
3 418866 530 230 800 8 La-Sommeliere AM100B27
K
C — ( i
— 1
L |
ower oltage L B tube o . o
No. Part No. POV v (V)g (mm) (mm) (umm) suitable for equiv. no.
1 417226 - - 440 85 8.3 La-Sommeliere AM33645
2 418566 80 230 505 80 6.3 Friulinox 995581
3 417221 350 230 360 115 9 Fagor 6001508021
4 416301 350 230 384 80 8.5 - -
1
power voltage cable length tube o p .
No. Part No. W) v) (mm) (mm) (mm) suitable for equiv. no.
1 418609 2x110 2x115 620 2000 8.5 Angelo-Po 32G0350
2 416302 2x150 2x115 450 500 9 - -
T |
:B N
L |
- L - -
r @
ower oltage L B H cable length tube o . n
No. Part No. p(v"\;) v (V)g (mm) (mm) (mm) (mm)g (umm) suitable for equiv. no.
Electrolux 083530
1 418693 250 230 470 68 98 500 8.5 Zanussi 083530

742




ELECTRIC refrigeration heating elements Heating elements

1 2 3
ower oltage L B L1 L2 B1 B2 . o
No. Part No. p(\XII) v (v)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416325 105 230 410 295 93 317 257 38 Mareno 24769.35
2 418581 350 230 525 90 15 510 60 30 Friulinox 990337
3 417223 650 220 660 180 - - 65 115 Fagor 6001508024
f
( T qu ! ; E .
C O U 1) (G
- L -
ower oltage L B tube o . n
No. Part No. p(v'\;) v (V)g (mm) (mm) (umm) suitable for equiv. no.
1 418580 350 230 420 135 6.3 Friulinox 935475
v YV
(G
1 2
No. Part No. px(a‘x’:)er vog,a)ge (ml;") (mBm) l;'“l:;;’ suitable for equiv. no.
1 418600 160 220 540 170 4.5 Angelo-Po 32G1021
2 416376 300 230 430 85 6.3 Polaris 1666320
L4
J
=
12
ower voltage IL B L1 L2 B1 B2 o .
No. Part No. p(W) (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418577 350 230 293 445 43 250 355 90 Friulinox 995379 ﬂ
2 418752 350 230 495 400 395 100 45 355 Polaris 1666355 g
3 418576 500 230 100 520 30 70 35 495 Friulinox 935614 g
4 416312 550 230 210 420 26 394 45 165 Dexion 01152601R g’
5 416313 1100 230 277 630 54 223 40 590 Dexion 01152700R =
©
()
I

743



Heating elements refrigeration heating

elements

ELECTRIC

-
N

Heating elements

No. Part No. powey vogla)ge (ml;n) (mBm) suitable for equiv. no.
1 418329 400 220 504 210 Groen 1092181
-
L
—_ L . ]
- | ( 81
B B2
| i
{
1 3
ower oltage L B H B1 B2 . .
No. | PartNo. pow v (V)g ) (i, ) (i, (i suitable for equiv. no.
1 418774 250 230 445 165 100 85 80 Dexion 014474-02R
2 418594 400 220 480 140 80 - - Angelo-Po 32G1970
3 416418 550 230 440 160 60 85 42 Dexion 01447401R
—_— ——
S
1 3
ower oltage L B L1 L2 B1 B2 p 0
No. | PartNo. pows v (V)g (G, ) (@, i) (i, (i) suitable for equiv. no.
Groen 1092185
1 418328 200 220 438 194 - - - - Groen USA 1092185
2 418744 450 220 400 400 70 330 50 350 Mareno 2315200
3 418796 700 230 440 670 60 380 30 640 Friulinox 965105
— 3
N ]
1
It: H 0 .
No. Part No. power vo(va)ge (mm) (mm) (mm) suitable for equiv. no.
1 416326 365 230 435 133 50 Mareno 24752.00

744




ELECTRIC salamander/toaster heating elements Heating ele

1 2
No. Part No. p?w)mr VO:\'?)QE (mm) (mBm) suitable for equiv. no. No. Part No. pt()vv\;;er vo(l:la)ge (mLm) (mBm) suitable for equiv. no.
1 418567 140 230 490 190 Friulinox 995594 2 418568 430 230 445/523 180 Friulinox 995748
' Eg
B (—9
L] E iﬁ —4
= L2 =] =
- L -
ower oltage L B L1 L2 tube o " .
No. Part No. p(ﬁ) v (V)g (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 418578 660 230 290 460 40 250 6.3 Friulinox 995584
2 418579 700 230 290 610 40 250 6.3 Friulinox 995381
1
ower voltage L B tube o a n
No. Part No. p(W) (V)g (mm) (mm) (mm) suitable for equiv. no.
1 418599 700 220 690 420 8.5 Angelo-Po 32G1850
salamander/toaster heating elements
with rectangular flange
I
C ( a
| .
- L -
12
ower voltage L B FL FW HD tube o " 5
No. Part No. p(W) (V)g (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416869 500 220 565 58 70 14 - 6.5 Inoksan 22317022
2 416860 500 230 570 58 70 14 - 6.5 Inoksan 24407022
3 416572 1000 230 425 62 100 22 86 6.3 Mareno 1037316500

Heating elements

745



Heating elements salamander/toaster heating elements ELECTRIC

ower oltage L B L1 B2 FL FW HD tube o . o
No. Part No. p(ﬁ) v Mg (mm) (mm) (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 415140 2000 230 435 170 20 61 100 22 86 6.3 Mareno 1037041200
EKU SME-63
2 415141 2900 230 425 165 25 60 100 22 88 8.5 Mareno 1037316200
EKU 370.423.0 SME70
3 | 415142 3500 220 525 167 15 50 100 22 31 9 Mareno 1037316300
1 2
ower voltage L B (Ll B2 FL FW tube o o 0
No. Part No. p(W) MQ (mm) (mm) ‘ (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
1 416010 800 230 255 169 40 29 40 22 4.2 Bertos 30031600
2 418740 2000 230 400 200 27 30 70 22 6.5 Bartscher AOAT93607
i ( ]] )
— B:
o
-G B i | e
( » =
%= :
H
1
- -L -
No. Part No. P‘(Jv‘c)ef vo(l%ge (ml;n) (mBm) (mHm) ('5'2“) (I:'I;I) (;ﬁ) (::gl) tz‘,::';’ suitable for equiv. no.
1 416050 1600 220 304 208 50 30 70 22 56 6.3 Giga X47800
Bertos 27022300
EKU HS 60 E, 15-B-001
2 415347 1600 230 295 205 45 - 70 22 56 6.3 Giga 0000X47800
.~ Whirlpool 483286002058
3 416009 2300 230 300 205 40 30 70 22 56 6.5 Bertos 27023000
D) Bl
12 R
- "
&
c 2 ¢
[}
£
2
= It: L B L1 B2 FL FW HD tub
ower voltage ube . n
g’) No. Part No. p(W) (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) suitable for equiv. no.
"g 1 415280 1000 230 217 424 19 30 70 22 56 6.3 Tecnoinox 00171
% 2 415279 1500 230 223 430 12 30 70 23 56 6.3 Tecnoinox RC00000613

746



ELECTRIC

salamander/toaster heating elements

Heating elements

ower oltage L B L1 B2 FL FW HD tube o P o
No. Part No. pows v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (mm) ‘ (umm) ‘ suitable for equiv. no.
EGO 2025084
1 416870 1750 230 282 257 28 30 70 22 57 6.3 Inoksan 24507022
2 415622 2000 230 229 255 17 32 70 23 25 8.5 Tecnoinox 00109
Bartscher 011029
3 415659 2000 230 230 303 35 33 70 22 56 8.5 Giorik 6001067
4 415621 2000 230 257 230 29 62 116 32 9% 8.5 Krefft 75-3706
Tecnoinox 0109
5 415349 2000 400 223 252 16 32 70 22 56 8.5 Tecnoinox -
6 415348 2000 400 228 230 28 63 106 32 96 6.3 Tecnoinox -
7 415215 2570 230 305 297 19 22 70 22 56 8.5 Giorik 6002021
Bartscher 011003
8 415660 2800 230 230 298 20 32 70 22 56 8.5 Giorik 6001068
9 418790 2800 400 305 300 18 25 70 22 65 8.5 Bartscher 011008
Electrolux 052836
10 | 416581 3000 230 357 226 20 30 70 22 57 6.3 Zanussi 052836
11 415623 3100 230 305 295 25 33 70 22 56 8.5 Giorik 6003022
R — "
(——
. D) B
Ir. -
Lt &
- B (C
L 5 i
Ita L1 B2 FL FW HD tub o n
No. Part No. powey vo(v)ge (mm) (mm) (mm) (mm) (mm) (mm) (mm) (':nzl;’ suitable for equiv. no.
1 415213 3300 230 240 380 24 33 70 22 56 8.5 Giorik 6001133
2 415214 3300 400 235 380 20 33 70 22 56 8.5 Giorik 6003133
with screw connection
No. Part No. pOwey vo(l:la)ge (ml}n) TS t;'nl:;f suitable for equiv. no.
Giga 080328DHE
1 416759 650 230 614 M14x1.5 8.5 Roller-Grill D02092
2 418215 700 245 410 M14x1.25 10 Roller-Girill D02108

747

12

Heating elements



Heating elements salamander/toaster heating elements ELECTRIC

i
No. Part No. pm)er vogla)ge (ml}n) TS t(ur::n)a suitable for equiv. no.
1 416874 450 115 344 M12x1 8.5 Forved TOSTRESCOR
2 418607 500 115 460 Va* 8.5 VEMA XRFO4
3 416875 600 230 365 M12x1 8.8 Forved TOSTRESCOR1
- ] C—
B
r | i
—_— - L -
ower oltage L B MD tube o " .
No. Part No. P (v"\;) v (v)g (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 415450 650 230 265 55 M15x1 45 10 Giorik 6002058
2 416643 850 230 310 90 Va* 84 6.3 Lotus 537004500
Bartscher 6001071
3 416820 930 230 260 55 M15x1 45 10 Giorik 6001071
o 4 I/ 1
# =,
B - L -
No. Part No. P‘(J‘x’lff vo(l:’a)ge (ml;“) (mBm) TS t(u"I:ren)a suitable for equiv. no.
1 415697 800 230 225 135 M12x1 6.3 CF 63.7.1092
2 415696 1000 220 230 120 M14x1.5 8.5 - -
3 415281 1000 230 290 130 M12x1.25 6.3 Tecnoinox 6000
4 415698 1000 230 330 140 M12x1.25 6.3 CF 63.7.1093
5 415730 1100 230 275 143 M14x1.5 8.5 MKN -
6 418452 1165 230 392 66 M12x1.5 6.3 Solymac P35
7 415519 2000 230 615 100 M14x1.5 8.5 MKN 574035
12 8 416635 3000 230 615 300 M12x1 6.5 Fimar C01279

Heating elements

748



ELECTRIC salamander/toaster heating elements Heating elements

ower oltage L B tube o . a
No. Part No. p(v"\;) ‘ v (V)g (mm) (mm) TS (umm) suitable for equiv. no.
1 416155 2000 230 197 263 Va" 8.5 Star10 071019
1 Dihr 9153
2 416647 2000 230 225 208 Va 8.5 Lotus 537020500
Dihr 9113
3 416646 2000 230 290 216 M12x1 8.5 Lotus 537020600
4 420011 2000 230 385 210 M10x1 6.3 Morice RS 0867
5 416154 2500 230 368 255 Va* 8.5 Star10 071018
6 416156 3000 230 600 265 Va* 8.5 Star10 071036
— T
B
' I
- L -
No. Part No. p?w)mr vo:l\zge (mLm) (mBm) T8 t(unl::‘)a suitable for equiv. no.
1 416199 1600 230 270 210 M12x1.5 6.3 CF 63.7.1083
2 415418 1650 230 260 250 M14x1.5 6.5 MKN 203556
3 415514 1650 230 315 200 M14x1.5 6.3 MKN 574116
4 415694 2000 230 350 205 M12x1.25 6.3 CF 63.7.1084
Bartscher 0401024000
5 418653 2200 230 350 260 M12 8.5 RM-Gastro 401024000
6 415417 2500 230 425 260 M14x1.5 6.5 MKN 203553
7 415220 2500 230 490 270 Va* 8.5 Giorik 6002066
8 415209 3000 400 489 270 Va* 8.5 Giorik 6003052
9 415817 3300 230 490 260 M14x1.5 8.5 MKN 574032
c i [ fm
) :
C_ |
- B :
G %\
J _
£ - r f._ | ]
- 1 -
12
owel oltage L B MD tube o " .
No. Part No. p(‘ﬁ) r v (V)g (mm) (mm) TS (mm) (umm) suitable for equiv. no.
1 416594 1700 230 230 205 M10x1 199 6.3 Sirman RCSG200
2 418645 1700 230 235 200 M12x1.5 194 6.3 Sirman 1B52565010
3 418236 2600 230 510 300 M14x1.5 286 6.5 Roka 8900328

Heating elements

749



Heating elements salamander/toaster heating elements

ELECTRIC

—
N (i@
B Cé;
T
v
g‘ H
i
e L -
power voltage L B H MD tube o . .
No. Part No. W) v) (mm) (mm) ‘ (mm) TS (mm) (mm) suitable for equiv. no.
Bartscher 0V036700
1 418862 2000 230 235 215 35 M12x1 209 6.3 EGO 20.30431.000
$ ((E@
% —
B
| —
L
v
4:‘% H
| i
- L -
power voltage MD tube o . .
No. Part No. W) W) ‘ (mm) ‘ (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 415558 2600 400 361 310 30 M14x1.5 280 8.5 Therma 725830036
| P ——
=
8
' (———— ]
2 ¥
; H
<—i—J :
|- . o
power voltage L B H MD tube o o .
No. Part No. W) v) (mm) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 415559 2100 400 260 217 20 M14x1.25 210 6.5 Electrolux 077018001705
i '
B1
:
e 8 B2
1 - -
o= #)
Tk
- L2 -l
- L -
power voltage L B MD tube o 0
1 2 No. Part No. W) v) ‘ (mm) ‘ (mm) ‘ TS (mm) (mm) suitable for equiv. no.
1 416049 2500 230 223 310 Va" 61 8.5 Giga X48900
r
()
)
=
£ |
2 B
()} A
(=]
c
=
© 1
()]
I
power voltage L B MD tube o . o
No. Part No. W) v) (mm) (mm) TS (mm) (mm) suitable for equiv. no.
1 416833 2800 230 206 398 Va" 94 6.3 Bertos 27022100

750



ELECTRIC salamander/toaster heating elements Heating elements

ower oltage L B MD tube o . o
No. Part No. p(W) v (v)g ‘ (mm) (mm) TS (mm) (umm) suitable for equiv. no.
Electrolux 0H6169
1 415537 3200 230 493 250 M14x1.5 35 8.5 Juno 0H6169
with mounting lug
g
C = g $ ) \
C J
D) B
[ € %
)] 0
C _! [ | S
- L -
It: L B tub o .
No. Part No. pt(w)er vo(va)ge (mm) (mm) Z’mﬁ.f suitable for equiv. no.
1 415645 2250 230 330 215 6.5 Haka 9019
)
| @ L5
) &
C i J
ower voltage L B H tube o - a
No. Part No. p(W) (V)g ‘ (mm) (mm) (mm) (mm) suitable for equiv. no.
1 418722 600 220 210 90 40 7 Hatco X02.09.259.00
2 418721 700 220 210 85 40 7 Hatco X02.09.258.00
3 418724 900 220 290 110 40 7 Hatco X02.09.261.00
4 418723 980 220 290 90 40 7 Hatco X02.09.260.00
with tilt flange
-
B
1
12
- L -
(7]
i
5
ower oltage L B L1 L3 B2 HD tube o " .
No. Part No. p(v"\;) u (V)g (mm) (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no. E
Electrolux 003014 K-
1 415625 1000 230 215 93 25 165 61 86 8.5 Tecnoinox 03708 o
Zanussi 003014 =l
=
(1]
()
I

751



Heating elements salamander/toaster heating elements

ELECTRIC

Vi
—
B i
— E ¥
o 4 81
- L2 - L1
- L -
ower oltage L B L1 B1 B2 HD tube o . n
No. Part No. P(‘X,') v (v)g (mm) (mm) (mm) (mm) (mm) (mm) (umm) suitable for equiv. no.
1 415723 1900 230 305 260 25 90 30 60 6.3 CF 63.7.1022
2 415757 2400 230 425 260 25 90 30 60 6.3 CF 63.7.1021
L3
.u—
—
"
- L- -
No. Part No. pm)er vo(l%ge (ml'm) (mBm) (nl;:n) (::n) (:"[:I) t(l::l’;;’ suitable for equiv. no.
1 418828 2000 230 225 230 25 60 39 6.5 Modular 66502700
Electrolux 003016
Krefft 75-3804
2 416653 2000 230 225 283 15 63 96 8.5 Palux 371718
Tecnoinox 03804
Zanussi 003016
Ambach 6205403706
Electrolux 003012
3 416654 2000 230 230 230 22 63 96 8.5 Palux 371726
Tecnoinox 03706
Zanussi 003012
4 415620 2000 230 232 280 22 62 96 8.5 Tecnoinox 3804
without screw connection
= i Y
( 8
- N g
- L -
1
No. Part No. pt()vv;)er vo(l\t?)ge (ern) (m?n) tz‘r:?n)a suitable for equiv. no.
1 415452 750 230 400 55 6.3 Wiesheu 35682
12
!
(%) J £,
- ( :
: =
£ | Pt
o - L -
()
(=]
c
=
3
T No. Part No. P?,X;)er vo(l:ia)ge ‘ (mLm) (mBm) t(l::":‘f suitable for equiv. no. No. Part No. powey vog;n)ge (mLm) (mBm) t(ur:lenf suitable for equiv. no.

Eloma R0205

1 415539 = 2100 220 470 | 207 6.3 Palux 127132

2 | 415538 2200 230 365 | 178 6.3

Eloma 102644
Palux 102644

752



ELECTRIC salamander/toaster heating elements Heating elements

E ¥
L B
) 4
E 2
No. Part No. p?vv\;)er vogla)ge (mLm) (mBm) (nl;:n) (rﬁn?n) ‘("“t::‘;’ suitable for equiv. no.
Electrolux 056783
1 416579 1900 220 245 230 63 22 6.3 Whirlpool 771985003375
Zanussi 056783
: 1 i
\ B
F-:l
5 | .
No. Part No. p?‘xll)er vogla)ge (ml'm) (mBm) ("I;:“) (rﬁrzn) tz"r::‘)“ suitable for equiv. no.
Electrolux 056782
1 416580 2000 220 240 333 60 35 6.3 Zanussi 056782
i
—
1
é i
H
£ |
- L -
1
No. Part No. pm)er vogla)ge (ml}n) (mBm) (mHm) °°""e°'(ir:':“‘)ﬁ5ta"°e '("n?:,';' cab:;l:;gth suitable for equiv. no.
1 415758 1300 230 238 132 72 124 8.5 900 Angelo-Po 32G1441
e i |
I lf‘\ . _‘1
e —
B -/
(8 B2
1 G:D: L}
_\ :
H
f i }
1 2 - e .
No. Part No. pm;'r vogla)ge MP (mLm) (mBm) (mHm) connect(ino:'\“()iistance '("nl:;)’ cab:renl::;gth suitable for equiv. no. 1 2
EGO 20.26365.000
Eloma 318048 (T0119)
1 415541 2000 230 left 250 210 120 164 6.3 500 Franke 279801
Palux 720461
EGO 20.26364.000
. Eloma 318049 (T0120)
2 415540 2000 230 right 250 210 120 164 6.5 500 Franke 279802
Palux 720488

Heating elements

753



Heating elements

accessories

ELECTRIC

No. Part No. p?vv\;)er V°R7)9° (ml;“) (mBm) cab{:nlrzr)\gth MP application suitable for equiv. no.
1 418606 275 110 145 150 200 left toaster VEMA XRTP2SX
2 | 418605 275 110 145 150 200 right toaster VEMA XPTP2DX
3 | 416037 400 120 145 150 175 right/left toaster Aristarco 1104
accessories
power sockets
o=
" .
-
4 }
L)
1 2
No. Part No. Description suitable for equiv. no.
1 550404 | power socket 2-pole + earthing EGO 27.24002.010
. EGO 27.24002.510
2 550405 | power socket 2-pole + earthing flat plug 6.3mm Kiippersbusch 184583
terminals
1 2 3
No. Part No. Description suitable for equiv. no.
1 550119 | connecting clamp for E1 heating rods EGO 37.05061.000
2 550120 | connecting clamp for E2 heating rods EGO 38.05021.000
3 550118 | connecting clamp suitable for E1 heating rods EGO 37.33501.000
hexagonal nuts
12
(2]}
-
[=
[}
£
<
()
(=]
c
=
= Part No. TS aty AF (m“m) material No.  PartNo. 5 aty AF (m"m) material
ag
560130 M3 20 55 24 SS 5 560132 M5 20 8 4 SS
527169 M3 1 55 2.8 brass 6 520231 M10x1 1 14 6 steel zinc coated
521103 M4 1 7 3 brass 7 521129 M10x1 1 17 6 SS
560131 M4 20 7 3.2 SS 8 540436 M10 1 13 4 brass

754



ELECTRIC accessories Heating elements

No. | PartNo. TS aty AF () material No. | PartNo. TS aty AF () material
9 520229 M12x1 1 16 4 steel zinc coated 17 = 361183 3/8* 1 20 6 nickel-plated brass
10 | 521131 M12x1 1 17 3.5 SS 18 361184 2 1 24 6 nickel-plated brass
1" 550261 M14x1 1 19 4 SS 19 521102 2 1 32 8 stainless steel
12 = 521133 M14x1 1 19 6 steel zinc coated 20 520234 ¥a" 1 30 5 brass
13 521101 M14x1.5 1 19 5 SS 21 520233 1" 1 47 6 brass
14 = 520230 M14x1.5 1 19 5 steel zinc coated 22 520232 1" 1 47 8 brass
15 521004 | M36x1.5 1 46 14 brass 23 | 514022 1%%" 1 59 12 stainless steel
16 = 361182 Va* 1 17 5 nickel-plated brass
washers
No. Part No. Emﬂs ?r)::mq), material (%tcy) for thread (mm) No. Part No. ;:‘tm'; ?::m? material (%tcy) for thread (mm)
1 560110 3.2 7 SS 20 M3 0.5 4 560112 53 10 SS 20 M5 1
2 521104 4.3 8 brass 20 M4 0.5 5 560113 6.4 12 » SS 20 M6 1.6
560111 43 9 SS 20 M4 0.8
tooth lock washers
No. Part No. Emﬂs ?r’::m')’ material (gg) for thread ‘ No. Part No. ’ ;::m'; ‘ ?r):m? ’ material ‘ (gg) ‘ for thread ‘
1 560125 4.2 8 ss 20 M4 3 52028 153 24 seel 1 M4
2 560192 10.4 18 SS 1 M10

Heating elements

755



Heating elements accessories ELECTRIC

[ro und nuts
1 2 3
No. Part No. TS suitable for equiv. no. No. Part No. TS suitable for equiv. no.
Adler 10433 Emmepi )
1 520212 1% Electrolux 066079 Mareno ]
Zanussi 066079 3 550497 M54x1.5 MBM ltalien ]
Emmepi 808892 Offcar .
Mareno CM021600 Silko
2 | 550662 M54x1.5 MBM ltalien RTBF800319
Offcar 862047
Silko 0108054

retaining rings

No. Part No. Description

1 691621 | retaining ring shaft @ 40mm thickness 1.8mm

2 510244 | retaining ring shaft @ 60mm thickness 2mm steel

various

No. Part No. Description

-

550329 | screw connection M14x1.5 for pipe @ 8.5mm H 23mm
417323 | dummy plug M10x1 A/F 10 H 12mm brass

520211 | reducer internal thread 1'% external thread 2“

521004 | hexagonal nut M36x1.5 A/F 46 H 14mm brass

AW N

-
N

Heating elements

756



ELECTRIC accessories Heating elements

1 2 3 4
No. Part No. Description suitable for equiv. no.
1 550361 | blank flange 1%%" EGO 615.103
2 550362 | blank flange @ 64mm mounting @ 47.5mm EGO 24.106.41
3 550003 | tension strap L 26mm W 14mm H 20mm EGO 27.24039.000
Aristarco 1209
Ascobloc 9294008
. Dihr 16045
4 550002 | tension strap L 21mm W 10mm H 10mm hole @ 6.5mm EGO 27 24031.000
Kuppersbusch 144280
Meiko 0101183
flange gaskets
1
No. Part No. (mLm) (mBm) ?;Irn? (:2‘) material (mtm) suitable for equiv. no.
1 510413 43 19 12 24 copper 23 - -
- ~
1 2
No. Part No. L B suitable for equiv. no. No. Part No. L B suitable for equiv. no.
(mm) (mm) (mm) (mm)
1 691014 105 55 Fagor R145012 2 502004 235 92 Winterhalter 82000014
12
7]
i
c
£
1 2 3 4 5 o
No. Part No. (mLm) (mBm) (m‘m) suitable for equiv. no. No. Part No. (ml}n) (mBm) (mlm) suitable for equiv. no. g’
1 550940 70 31 1.2 Smeg 784130392 4 528090 100 22 1 Tecnoeka 01980518000 £
=)
Smeg 784130396 5 550938 103 25 1 Smeg 784131065 i
2| 5037 | T 2 ! Tecnoeka 01960368000 £
Electrolux 057534
3 550545 71 235 1.5 Whirlpool 771985003459
Zanussi 057534

757



Heating elements, accessories

-
N

Heating elements

ELECTRIC

6 7
‘ No. Part No. ‘ L ‘ B ‘ ¢ ‘ suitable for ’ equiv. no ‘ ‘ No Part No. L B i ‘ suitable for equiv. no ‘
. . (mm) (mm) (mm) e . : (mm) (mm) (mm) e
6 550839 130 70 15 MKN 211083 7 55069 140 62 2 Rational 4000332 |
1 2 3 4 5
No. Part No. (mm) (mBm) (mm) suitable for equiv. no. No. Part No. (mm) (mBm) (mm) suitable for equiv. no.
Electrolux - 4 550760 100 22 2 Fagor R673063
1 510368 56 23 2 Juno -
Zanussi - 5 550986 101 22 0.8 Unox GN224
2 550761 69 22 2 Fagor R693017
Electrolux 0H6829
3 510426 72 20 2 Juno 0H6829
Zanussi 0H6829
6 7 8 9 10
No. Part No. (mm) (mBm) (mtm) suitable for equiv. no. No. Part No. (mm) (mBm) (mm) suitable for equiv. no.
6 550548 144 25.5 2.2 Giorik 2005173 9 521127 210 24 2 Rational 51101009
7 550684 150 30 2 Angelo-Po 37Q3220 10 550069 210 46 2 Fagor T323021
8 510250 168 31 - Wiesheu 36010
2 3 4 5
No. Part No. (mLm) (mm) (mtm) suitable for equiv. no. No. Part No. (mLm) (mm) (mtm) suitable for equiv. no.
Electrolux 055327 4 550893 81 81 4 Rational 4000280
1 550256 75 50 3 Juno 055327
Zanussi 055327 5 510251 90 36 1.7 Wiesheu 36117
Electrolux 053840
2 | 580546 | 76 | 50 | 2 Zanussi 053840
Electrolux 003726
3 550547 80 45 1.8 Whirlpool 771985000380
Zanussi 003726

758




ELECTRIC

accessories  Heating elements

6 8
No. Part No. L B t suitable for equiv. no. ‘ No. Part No. ’ L ‘ B ‘ g ‘ suitable for ’ equiv. no. ‘
(mm) (mm) (mm) (mm) (mm) (mm)
6 550894 122 101 4 Rational 4400279 8 521126 146 8 4 Raonal 51101200 |
Electrolux 002689
Juno 002689
70850257 137 79 35 \whidpool 771985000169
Zanussi 002689
5
( 9
-
1 3 4 5
No. Part No. ;::"3 material (mtm) ?;I:“" (,ﬂg) suitable for equiv. no.
1 528008 30 fibre 3 9 44 Gaggia -
2 507048 30 silicone 3 10 41 IME Omniwash G42303S
3 528027 40 fibre 2 10 50 Marcfi-Ancas -
Brasilia 00819.0.00.02
4 | 528013 40 fibre 4 " 57 Vibiemme GUARRESTRT
5 528740 40 Teflon 35 9.5 58 Italcrem -
Visacrem -
6 8
No. Part No. z"m'm”) material (mtm) 'z:::‘)u (:2') suitable for equiv. no.
6 528340 40.5 fibre 3 10 49 Azkoyen -
7 528023 41 fibre 2 10 51 Pavoni 361000
8 528015 55 fibre 2 8 62 La Spaziale -
1 3
No. Part No. material (ml'm) (mm) (mtm) 'E?nlren)o (,ﬂg) suitable for equiv. no.
1 510565 rubber 82 82 4 9 64 Rational 31101003
2 510235 rubber 91 50 2 6 76/26 Comenda 200932
3 510745 silicone 73 62 3 4 62/55 Lohberger F7107004

759

12

Heating elements




-
N

Heating elements

Heating elements

accessories

ELECTRIC

1
No. Part No. material (ml;n) (mBm) (mtm) ?:::1)” (:g) suitable for equiv. no.
1 510401 rubber 88 73 5 7 65 Elframo 00003430
1 2 4
No. Part No. material (Dm1mn) (D“f’:) (mlrn) ?:::1;’ (rlr:n?n) suitable for equiv. no.
1 528019 fibre 39 76 2 9 39 Bezzera 5492006
2 503105 fibre 54 96 3 7.4 55 Fabar 10160
3 528020 fibre 95 56 2 10 54 Aurora -
4 529496 fibre 98 54 3 6.7 55 Cimbali -
'
N N I
r’ n ﬁ
€ ~)
.
= D Dz M
~— —
S ]
O o)
S
1 2 3
No. Part No. material ([I)T:l:) (D"fnf) (mtm) 'z::len)” (:B') suitable for equiv. no.
1 528437 fibre 99 66 2 " 69/65 Conti -
2 528438 teflon 99 68 2 12 68 Conti -
3 512237 cork 114 91 2 - 113/80 Hoonved 31785
No. Part No. (mm) (mm) suitable for equiv. no. No. Part No. (mm) (mm) suitable for equiv. no.
Electrolux 0H6665 Electrolux 0H6648
1| 521142 68 13 Zanussi OHB665 2 | 520239 | 10 3% Zanussi OHB648

760



ELECTRIC

accessories  Heating elements

No. Part No. ;mm”) ?":‘tm'; (:2‘) Iz?nlﬁnf suitable for equiv. no. No. Part No. ;:lntmz) ((’:]tl'n'; (:z) 'z::ren? suitable for equiv. no.
EGO 604.053 EGO 624.074
1 520324 160 200 90/180 7 Nayati PD404S Nayati PD404F
Thielmann 144343 2 | 520323 | 160 | 200 | 901180 | 7 Scholl 71.01.73
Thielmann 144334
1 4 5
No. Part No. (mm) (mm) (mﬁm) suitable for equiv. no.
Bonamat 6.011.031.000
Electrolux 048483
1| 510387 46 22 ) Elettrobar 437086
Zanussi 048483
Bonamat 6.006.015.001
2 510388 Electrolux 048483
Zanussi 048483
3 510364 - - 36 Meiko 0101175
4 510365 - - 36 - -
5 521128 66 21 - Eurotec 437048
Giga
1 3 4 5
No. Part No. (ml;“) (mBm) (:E'.) ""m?:&:;;mles suitable for equiv. no.
1 510415 75 23 50 4 - -
2 508171 75 25 12 4 Aristarco 2750
3 510429 76 23 25 3 - -
4 510412 77 24 50 5 - -
5 520238 80 28 13 5 - -

761

12

Heating elements



Heating elements accessories ELECTRIC

1 2
No. Part No. L ‘ B suitable for equiv. no. No. Part No. L B suitable for equiv. no.
(mm) (mm) (mm) (mm)
1 691433 290 230 TurboChef C0342 2 691396 320 145 TurboChef NGC-1043
1
No. Part No. (mLm) (mBm) (:E‘) (m‘m) suitable for equiv. no.
1 695245 43 48 38 9 Elframo 00202180
counterflanges
1 2 3 4 5
No. Part No. Description
1 510365 | counterflange @ 36mm
2 520237 | flange @ 63mm
3 520236 | flange for heating element int. @ 50mm ext. @ 90mm
4 520324 | counterflange int. @ 160mm ext. @ 200mm
5 520235 | 3 hole flange hole distance 70.5mm
12
6 7 8 9 10
No. Part No. Description

6 520238 | flange L 80mm W 28mm hole distance 13mm 5 hole
7 520239 | counterflange

8 510388 | counterflange for heating element
9 550003 | tension strap L 26mm W 14mm H 20mm
10 = 550002 | tension strap L 21mm W 10mm H 10mm hole g 6.5mm

Heating elements

762



ELECTRIC accessories Heating elements

sealing rings )
copper gaskets
K
t
i
i
[
D2 DI
1
L
D1 D2 t D1 D2 t D1 D2 t
No. Part No. (mr:) (mr:) (mm) No. Part No. (mn?) (mr:) (mm) No. Part No. (mr:) (mma) (mm)
1 | 510414 18 14 1 3 510421 31.8 26.4 2.2 5 510424 55 48 22
2 | 550262 20 14 2 4 | 510422 37.7 325 2.7
fibre gaskets
K
t
N
[
i
D2 Di
L}
L]
D1 D2 t D1 D2 t D1 D2
No. = PartNo. (m"’;’) (mnf) (mm) No. = PartNo. (m,:) (mnf) (mm) No. = PartNo. (m"f) (m,:) (mm)
1 | 507332 18 12 2 9 510403 36.5 27 2 17 | 528880 57 40 3
2 | 510416 19 105 15 10 | 528488 42 57 3 18 | 528304 58 46 2
3 521110 20 13 2 11 510404 44 34 2 19 | 529484 58 50 2
4 | 510417 20 14 2 12 | 510459 50 40 3 20 510406 60 48 3
5 521137 20 18 15 13 | 528017 53 42 2 21 528879 63 48 3
6 | 528401 22 16 2 14 | 528171 55 42 2 22 528804 65 56 2
7 521122 31 215 2 15 | 510405 56 42 2 23 510407 78 60 2
8 503106 32 26 3 16 | 528001 56.5 41.8 3.2
graphite gaskets
K
t
i
i
[
D2 D1
L}
L]
1
D1g D2 g t
No. Part No. (mm) (mm) (mm) 1 2
1 | 528016 62 50 2

Heating elements

763



-
N

Heating elements

ELECTRIC

Heating elements, accessories
-

rubber gaskets

ﬂ

No. | Pertho (o () (o
1 521124 52 425 4
teflon gaskets
r L]
I
\ :
[
\ D2 D1
1
L]
No. | Patho. () () ‘ (om) No. | Partho. (o) () () No. | Partho. (o () ()
1 528011 14.5 10 2 7 528007 50 40 2.5 13 = 527156 57.8 43.3 21
2 528885 26 17 2 8 528857 50 40 3.2 14 = 528004 58 50 2
3 | 528018 41 33 3 9 | 528022 52 41 2 15 | 528003 59 45 2
4 | 514016 45 40 4 10 | 528010 56 47 3 16 | 528925 59.5 42 3
5 | 550674 46 36 4 11 528002 57 422 33 17 | 528805 68 55 2.4
6 550673 46 36 5 12 | 528021 57.5 425 3
o-rings
1
i
[}
D
L]
No. Part No. material (mtm) ;::"5 (?)::y) No. Part No. material (mtm) z"mtm') (?)::y)
1 | 510901 EPDM 2 13 1 17 | 510409 EPDM 5.34 56.52 1
2 510418 EPDM 2.62 9.92 1 18 = 532161 EPDM 5.34 56.52 10
3 532049 EPDM 2.62 9.92 10 19 | 532162 EPDM 5.34 59.69 10
4 511508 EPDM 2.62 12.37 10 20 510410 EPDM 5.34 75.57 1
5 511509 EPDM 2.62 13.95 10 21 532168 EPDM 5.34 75.57 10
6 510563 EPDM 3 28 1 22 521121 EPDM 8 62 1
7 510072 EPDM 3.53 32.93 1 23 | 532484 silicone 2.62 37.77 1
8 510899 EPDM 3.53 37.69 1 24 510564 silicone 3 275 1
9 | 510898 EPDM 3.53 39.69 1 25 | 510561 silicone 3 55 1
10 532113 EPDM 3.53 49.21 10 26 417205 silicone 3 74 1
1 528902 EPDM 3.53 66.27 1 27 = 514017 silicone 3.53 32.93 1
12 521120 EPDM 5.34 37.47 1 28 532319 silicone 3.53 37.69 10
13 | 532155 EPDM 5.34 37.47 10 29 = 514021 silicone 3.53 49.21 1
14 | 505092 EPDM 5.34 43.82 1 30 510562 silicone 5.34 47 1
15 | 510408 EPDM 5.34 47 1 31 532375 silicone 5.34 47 10
16 | 532158 EPDM 5.34 47 10 32 532416 Viton 1.78 12.42 10

764




ELECTRIC accessories Heating elements

0 t int. o Q : t int. o Qf
No. | PartNo. material ) Emm) (ptcy) No. | PartNo. material (s ;mm) (ptg)
33 528231 Viton 2.62 12.37 1 38 510245 Viton 3.53 50.8 1
34 532544 Viton 3.53 37.69 1 39 510243 Viton 3.53 55.56 1
35 550494 Viton 3.53 47.22 1 40 521116 Viton 3.53 78.97 1
36 532545 Viton 3.53 49.21 1 41 550675 Viton 6 47 1
37 = 550496 Viton 3.53 50.39 1
other
1
Q. Oz
i
\ \
| D
il 1
1 2 -
No. Part No. material (mtm) znm'ma) (%% suitable for equiv. no. No. Part No. material (mtm) znm'ma) (%tcy) suitable for equiv. no.
Electrolux 0K5577 - Baron 0A037485
1 510560 EPDM =~ 6 200 1 Juno 285128 2 550692 silicone 7 19371 Toic 6a037485
Zanussi 0K5577

protective caps

1 2 3 4 5

No. Part No. Description suitable for equiv. no.

. Comenda 161102

1 510490 | protection cap Mareno 161102
Angelo-Po 3150321

. Comenda 161123
2 520357 | protection cap Fagor 2101723
Lamber 0301112

3 550444 | protection cap Adler 10417

12

4 520240 | protection cap aluminium - -
5 550304 | cable terminal MVS11,PG11 - -

Heating elements

765



Heating elements, accessories

No. Part No. Description suitable for equiv. no.
6 550322 | nut PG11 brass MGM11 - -

7 520328 | protective cap for heating element Meiko 9532401
8 501120 | protective cap Meiko 8400056
9 511923 | protective cap for heating element M12 IME Omniwash CEPRV
10 = 520332 | protective cap for heating element IME Omniwash GBO083F

-
11 12 13 14
No. Part No. Description suitable for equiv. no.
11 | 501084 | protective cap @ 66.5mm mounting distance 93mm Meiko 0620312
Elettrobar
- 467002
12 | 510093 | protective cap Eur_otec 467002
Giga
13 | 520226 | protective cap suitable for heating element ATA 13620
14 = 511486 cap L 98mm H 47mm W 80mm Elframo 00003420
. Elettrobar 467001
15 = 510084 | protective cap Eurotec 467001
capillary pipe clamps
1 2 3 4
No. Part No. (fr;rr:) No. Part No. {ronrmz) No. Part No. (f:";r"a) No. Part No. (fr%rr:) No. Part No. (f:lrm")
1 550004 17x6 2 550970 8.5 3 550980 8.5 4 550138 8.5 5 550491 8.5

766




ELECTRIC

clamp springs

Y%,

accessories  Heating elements

No.  PartNo. f°?m;’ g f°’(;:'n‘z)e g No.  PartNo. '°’(:“,""l)’ g f°’(,":‘£§ g
1 550390 4 8 4 | 550258 6 8
2 | 550498 4 8.5 5 | 550419 6 8.5
3 | 550041 6 7
1 2 3 4
No. Part No. f°?;:,l|l)’ J fo?r:':lnl')nf 2 No. Part No. for(:]::l)a 2 f°2,::":)e 2
1 550039 3.1 8.5 4 | 550005 6 17x6
2 550795 3.5 6 5 550417 6 8.5
3 | 550006 4 8.5
6
No. Part No. f°’(:1';'ll')’ 4 for( rt':.m °
6 | 550539 6 8.5
1
for bulb for tube L B
No. = PartNo. °?m',‘“) o °?n:'m) ° (mm) (mm)
1 550398 4 9 42 11

767

12

Heating elements



12

Heating elements

Heating ele

S accessories

(

clamps

for bulb Q! for bulb for bulb
No.  PartNo. o s © (p'g; No.  PartNo. fonid (%‘g; No. | PartNo. o s ® (%g
1 550878 6 1 3 550877 8 1 4 550137 8 10
2 550136 6 10
for bulb o Qty for bulb & Qty
No. | Partho. (mm) (pe) (mm) (mm) No. | Parto. (mm) (pe) (mm) (mm)
1 550556 8.5 1 37 10 3 | 691170 9 1 38 20
2 691171 9 1 30 20
for bulb & for tube o Qty
No. Part No. (mm) (mm) (pc)
1 550403 6 8.5 1
for bulb o for tube o L Qty for sonsor o for tube o L Qty
i | G (mm) (mm) (mm) (pe) i | G (mm) (mm) (mm) (pe)
1 550930 6 8 25 1 2 550135 6 8 25 10

768




accessories Heatinglele

for bulb & for tube o Qty
No. Part No. (mm) (mm) (pc)
1 550117 6 8

/

1 2
for bulb for tube L B for bulb for tub: L B
No. Part No. r(mlrln) 2 or(n:Im) 2 (mm) (mm) No. Part No. °'im:,'m 2 °'(r:m)e 2 (mm) (mm)
1 550061 1x 23.1mm + 1x 5.0 8.5 - 2 550062 2x 3.1 8.5 28
&
1 2 3 4 5
No. Part No. f°'i;::|)’ 2 fo?r:rnl')nf 2 No. Part No. for(:]:il)a 2 f°2,::":§ 2
1 550357 3.1 - 4 550043 6 17x6
2 691175 4 9 5 550401 6 9
3 550939 6 -

12

Heating elements

769



Notes

770



